
���������
	��
� �����������
����������� �!	���"#�$�%����& ' ���(��&)� �!��&)�����*���
�,+

' �*�%��&)� -.�)/ �0�1�%�*��"#2

3�46587:9<;>=@?BADC

E1FHG
IKJ!JMLON�PDQSRKPDTVU*WXRSPDYZT[G
THYZP\T]WXW�Q^P\T]Y)N�T]_VJMLON8P\QSR#PDTVG`Tba6P\Q^cZT]d)W�TbefN�g>U*W�RSPDYZT[G`T]YZP\THW�W�Q^P\T]Y

hOW�i]Q^jON�Q^kmlonZpql�r�rbs

tu vBw:xzy|{[{~}��������>���*�B�^�<�����*xq�:�X���:�^���������M������xz�����������:�����������b���S��������xz�:�����:���^�<���:�8���������



���



���������
	���
�
����������������
���

�����! "�#%$&��'('*),+ �.-0/ � )21435)�6 / #7$8�:97; - 17+<$>=�$>1 / )�3?�@)2' /  A1%B � 17$C$C6 � 1%B
��D@ E" ��+C+<6($>9 �F/(-0/ � )21GD@) - 6H9�3I)�6: A17B � 1%$C$C6 � 17B - 179
"J$>+K#71%)2LF)�B�M
�!��N �@)2=PORQ / $C6*ST� � 9%$>9�N�$>' � B21
�!�� �@)2=PORQ / $C6*ST� � 9%$>9� A17B � 1%$C$C6 � 17B
���!UE � - 1 - 9 �.- 1
�@)2Q717+ � LV)�3WUA6()�35$>'H' � )21 - LX E1%B � 1%$C$C6H'
�!NY �!# - � 6H' � 1�N�$>' � B214 E1%B � 1%$C$C6 � 1%B
�!N�Z([ �@)217+<$ � ; � 17B%\7N:$>' � B21 � 1%B%\,Z]=PO^LF$>=�$>1 / � 17B - 1^9G[�OV$C6 -0/ � 1%BP_�$ - L`SbaE)�6KL.9

c M,' / $>=�' - 1^94U?6(),97Q7+ / '
�! E�:D � - 1 - 9 �.- 1� A1%B � 1%$C$C6 � 1%BP��+C+<6($>9 �F/(-0/ � )214D@) - 6H9
�!U@d �@6 �./ � + - LXU -0/ #Gd
$ / #%)e9
� c � � - 1 - 9 �.- 1 c /(- 179 - 6K97'f�:'H'*)e+ �g-0/ � )21
NYhWi N�$>' � B21
35)�6�i�\%a�#%$C6H$jik+ - 14lm$ - 1nM�)21%$&)�3o+<)2' / \^6H$>L �.- l � L �F/ M�\

$>1n; � 6H)217=P$>1 / \7)�6 - +<)2=pl � 1 -0/ � )21 / #%$C6($C)�3
 A���  A17B � 1%$C$C6 � 17Bq��+C+<6($>9 �./(-0/ � )21G�@)2=�= � '(' � )21
h�d
 E� h - � LgQ%6($8d
)e9%$ - 1^94 �rV$>+ / ��1 - LFM,' � '
ho"s� h - � LgQ%6($&"s6($>179���1 - LFM,' � '
t �Yuv[jU t�-0w>- 6H97' - 1^9G[�OV$C6 - l � L �F/ M�"s$>+H#71 �.x Q7$>'
Z]U Z]1 / $>L.L.$>+ / Q - LvU?6H)�Om$C6 / M
Z c [ Z]1 / $C6H1 -0/ � )21 - Ls[�6HB - 1 �Fw>-0/ � )21�3I)�6 c /(- 1^9 - 6H9 �Fw>-0/ � )21
dG @y d � 1 � ' /Cz$C6($p9%$&L|{0} A9^Q7+ -0/ � )21�97Q
yYQ }$ClV$>+�~byjQ%$ClV$>+0{�'�N�$CO - 6 / =P$>1 / )�3

 A9^Q7+ -0/ � )21R�
� c  A_�� c + � $>1^+<$ - 1794 A17B � 1%$C$C6 � 17Bq_�$>'*$ - 6H+K#�� - 1 - 9 -
c �� c ),+ � $ / M�)�3���Q / )2=P) / � ;�$8 E1%B � 1%$C$C6K'
c �!�YdGUA A_ c Q%lR' / �F/ Q / $�\%+<)2=pl � 1%$�\ - 9 - O / \^=P),9 � 3IM�\,O^Q /f/ ) - 1%) / #7$C6�Q7'*$�\

$>L � = � 1 -0/ $�\%6($C;�$C6H'($
"fZ]NY A "s6 - 17'*3I$C6 - l^LF$jZ]1 / $CB�6 -0/ $>9
N�$>' � B21
 A1%B � 17$C$C6 � 1%BP A9^Q7+ -0/ � )21
"�_�Z*u "�#%$C)�6HM�)21�Z]1n;�$>1 / � ;�$�U?6()�lRLF$>= c )2LF; � 1%B
"��j� "s6 � ��1 � ;�$C6H' �./ M��Y6()2Q%O
��t d
Z c � )�6(�eO^L - +<$ t:-0w>- 6H97)2Q7'�d -0/ $C6 �.- L.'�Z�1%3I)�6H= -0/ � )21 c Me' / $>=

� ���



� ;



� ����� ��� 	 
�� 
����

����� N�$��^1 �./ � )21�)�3 - U?6()�3I$>'(' � )21 - L?~��v$8D@) / $C6(3�\��������2� � � �!�"� � �!� � �!�"� �!� � � �!�"� � �$#
��� � _�$>'*)2Q%6H+<$>'�35)�6�lRQ � L.9 � 1%B8+<)2=POV$ / $>17+ � $>' �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � � �
%���� UA6()�OV)2'*$>94N�$��^1 �F/ � )21�)�3 / #%$pN:$>' � B214 A17B � 1%$C$C6 � 17BP�@)2=�Om$ / $>1^+<M � �!�"� �!� � � �!�"� � � �

;



; �



� � � � 
�� �

� c  A_�� # - 'f6H$>+<)�B21 �Fw $>9 / #%$j1%$C$>9 / ) � =PO76()�;�$ / #%$ x Q - 1 / �F/ M - 1^9 x Q - L �F/ M�)�3W9%$>' � B21�$>1%B � 1%$C$C6 � 1%B / 6 - � 1,S
� 1%B � 1 � - 1 - 9 - � � c  A_���{�'��!# - � 6H' � 1 N:$>' � B21� A1%B � 17$C$C6 � 1%B - 1^9��!# - � 6H' � 1  E1 ; � 6()217=�$>1 /(- L:N:$>' � B21
 A17B � 1%$C$C6 � 17Bq=�$C$ /�/ a � +<$ - M�$ - 6 / )�9 � '(+CQ7'H' � '('(Q%$>'!)�3�+<)2=�=P)21 � 1 / $C6H$>' /�- 179�6H$C; � $Ca O^6()�B�6($>'(' �

� 3I)e+CQ7'o)�3 / #%$>'($�+H# - � 6K'?=P$C$ / � 1%B2'A# - '�lV$C$>1 - 979%6H$>'(' � 1%B / #%$ x Q%$>' / � )21�� � # -0/A- 6($ / #%$�+<)2=�Om$ / $>1^+ � $>'
/ # -0/ 9%$��^17$�9%$>' � B21
$>17B � 1%$C$C6 � 17B��	� [�;�$C6 / #%$�O - ' /Y/ aE)�M�$ - 6H'>\ / #%$qB�6()2Q%O�# - '�$�
eORLF)�6($>9 / # � ' x Q7$>' / � )21X\
a �F/ # - O - 6 / � +CQ7L - 6o6($C3I$C6($>17+<$ / )8$�
 � ' / � 1%BYaE)�6H� � "�#%$!a@)�6(��)�3 / # � 'oB�6()2Q%OP)21 / #%$ x Q%$>' / � )21q)�3R$>1%B � 1%$C$C6 � 1%B
9%$>' � B21�+<)2=POV$ / $>17+ � $>' � '!O76($>'*$>1 / $>9 � 1 / # � '!a�# �F/ $YO - OV$C6�3I)�6�6($C3I$C6($>17+<$ - 179�+<)2=�=P$>1 / �

��L / #%)2Q%B2# � c  A_���'(Q%O7OV)�6 / ' / #%$>'*$�+H# - � 6H'C\ � c  E_f� � ' � 1 1%) a - M 6($>'*OV)217' � l^LF$�3I)�6 / #%$�+<)21 / $>1 /
O76($>'($>1 / $>9
��+<6($>9 �F/&- 179�6($>'*OV)217' � l � L �F/ M�L � $Pa �F/ # / #%$�+H# - � 6K#%)2L.9%$C6H' � 1n;�)2LF;�$>9�����)�6(B�$���1%B�$>LF$>' ~|d
+ � � L.L5�K\
� � Q7+H#%$>1 �!# - 1%B ~ � � Df�K\f_�)21 D@6 �F/*/ )21 ~|d - 1 �./ )�l - �K\�h%6 - 1��+<) � '��f# - 6(6()21 ~ c #%$C6(l76()e)���$��K\�UW$ / $C6��Y6($CB0S
'*)21 ~ N - L.#%)2Q7' � $p��1 � ;�$C6H' �./ M7�K\mUW$ � #eQ - �jQ ~b� - L.B - 6(M%�K\ c / $COR# - 1 � - =8lV$C6 / ~ ��-0/ $C6HLF)e)n�K\vUW$ / $C6 � - a�6($>17+<$
- 179 t $>Lg=pQ / U?6 � )21 ~ ��D����K\ ��- 6(6($>1 c / � ;�$C6q~b�YQ7$>LFO^#R�K\VN - ; � 9 c / 6()21%B�~byYQ%$C$>1X{�' �K\VU - Q7L c / Q - 6 / ~ } E+<)2LF$
UW)2LFM / $>+H#71 �gx Q%$�� - 179 DE6 �.- 1 "�#%)2=PO^'*)21v\Ja�#%)2'($ +<)2L.L - lm)�6 -0/ � )21 97Q76 � 1%B4# � ' / $>1eQ%6($ - ' � c  A_�� N:$>' � B21
 A17B � 1%$C$C6 � 17B��f# - � 6 t )2Lg9%$C6 -0/�/ #%$p�:1 � ;�$C6H' �F/ M�)�3 � $>' / $C6H1�[Y1 /(- 6 � )%\ � '�97Q^LFM - +(�,1%)�a�LF$>9%B�$>9 �

D@$C6 / ; - 149%$>1
DE$C6HB%\
��+C+<)2Q71 / d - 1 - B�$C6>\ ��-0/ Q%6 - L c + � $>17+<$>'��  A1%B � 17$C$C6 � 1%Bq_�$>'*$ - 6K+H#��!)2Q717+ � L
� c  A_�� [Yl^'*$C6(;�$C6

; ���



; ��� �



���������	��
���
��������������	���

��)�6HB�$8�:17B�$>LF$>' dG+ � � LgLX�:1 � ;�$C6H' �F/ M
d
$>+H# - 1 � + - LJ A17B � 1%$C$C6 � 17B d - +C9%)21 - Lg94 A1%B � 1%$C$C6 � 1%BqD!Q � L.9 � 1%B%\,_�)e)2=�� % �

� ��� c #%$C6(l76H)n)���$ c / 6H$C$ /�� $>' /
d
)21 / 6($ - L|\myYQ7$Clm$>+0\ t � � ���! 
"s$>L ��~ % � �n� ��#�� S" � �$%
h - 
 �:~ % � �n� ��#�� S ���  %
 E= - � L � - 1%B�$>L.$>'$#Y+ � = � =�+<B � L.L � + -

d
Mn6()21
DE6 �F/*/ )21 ��1 � ;�$C6K' �F/ M�)�3?d - 1 �./ )�l -
N�$>' � B214 E1%B � 1%$C$C6 � 1%B ��% D �f# - 17+<$>L.LF)�6K'�� � 6H+CLF$

� � 171 � OV$CBqdGD�\^_ � " %&%  
"s$>L ��~ �����n�TS�� � �0S" �� %�#
h - 
 �:~ �����n�TS�� � �0S �  �  
 E= - � L �o6()21 l76 �./*/ )21'#YQ7= - 1 �F/ )�l - � + -

� � Q7+H#%$>1
�f# - 1%B ��1 � ;�$C6K' �F/ M�)�3 � $Ca D@6HQ^17'*a � +H�
N�$CO - 6 / =P$>1 / )�3� AL.$>+ / 6 � + - L - 179 U![ D@)	
(������� c / 14�
�@)2=PORQ / $C6� A1%B � 1%$C$C6 � 1%B h76($>9%$C6 � + / )21 � D�\^ � D % �: 

"s$>L ��~ % �) 2�TS���� � S � � � %
h - 
 �:~ % �) 2�TS�� %�� S ��%��  
 E= - � L ��L.+K# - 1%B�#YQ^1 l � + -

h%6 - 1��+<) � ':�!# - 6H6()21 ��1 � ;�$C6K' �F/ }$&9%$ c #%$C6Hl76()e)���$
N }$CO - 6 / $>=P$>1 / 97$jB }$>1 � $8= }$>+ - 1 �.x Q%$ � % ����D@)2Q7L � ��1 � ;�$C6H' �./ }$

c #%$C6(l76()e)���$8y&��\ � � � �0_ �
"s$>L ��~ � �$# �TS � � � S � ������$�
 / � � �$��#
h - 
 �:~ � �$# �TS � � � S ���  �
 E= - � L �o3I6 - 17+<) � ' � +H# - 6(6H)21'#�B2=P$ � Q7'H#%$C6(l � + -

UW$ / $C6Y��6H$CB2'*)21 N - L.#7)2Q7' � $j��1 � ;�$C6H' �./ M
N�$CO / � )�3� AL.$>+ / 6 � + - L � �@)2=�O^Q / $C6 c $�
 / )21G� - =PO^Q7'f_:=�� �  � \RU![kD@)	
 � �����
 A17B � 1%$C$C6 � 17B t�- L � 3 - 
 � c \^D � � � i��

"s$>L ��~ # ���2�TS�� # �0S � ����%
h - 
 �:~ # ���2�TS�� # �0S ��� #  
 E= - � L �oOV$ / $C6 � B�6($CB2'()21'#Y9 - L � + -

� 




UW$ � #eQ - �YQ ��1 � ;�$C6H' �F/ M )�3�� - LFB - 6(M
N�$CO - 6 / =P$>1 / )�3?d
$>+H# - 1 � + - L - 179 � % �����:1 � ;�$C6H' �F/ M N�6 � �:�
d - 1nQ%3 - + / Q%6 � 1%B� A1%B � 1%$C$C6 � 1%B � - L.B - 6(M ��D�\^" � � � � �

"s$>L ��~ ��� � �TS ����� S ���  �
h - 
 ��~ ��� � �TS � � ��S � ���) 
 E= - � L �oB2Q'#�$>1^=P$ � Q7+ - LFB - 6(M � + -

UW$ / $C6:N � � - a�6($>1^+<$ ��1 � ;�$C6H' �F/ M )�3WD@6 �./ � '(#
�@)2L.Q^=8l �g-
N�$CO / � )�3� AL.$>+ / 6 � + - L - 179G�!)2=PO^Q / $C6 � ��%  �d - � 1Gd - L.L
 A17B � 1%$C$C6 � 17B % - 17+<)2Q7;�$C6�D���\ %  0" � uV"

"s$>L ��~  ����n�TS � ����S %�#�� �
h - 
 ��~  ����n�TS � ����S %�# � #
 E= - � L �oOV$ / $C6HL #�$>+<$ � Q7lV+ � + -

t $>L.=pQ / U?6 � )21 ��1 � ;�$C6H' �F/ M )�3WD@6 �./ � '(#
�@)2L.Q^=8l �g-
N�$CO - 6 / =P$>1 / )�3A� � ; � LV A17B � 1%$C$C6 � 17B � � �&��d - � 1Gd - L.LX_:= ��� � �

% - 17+<)2Q7;�$C6�D���\ %  0" � u �
"s$>L ��~  ����n�TS � ����S ���  &�
h - 
 ��~  ����n�TS � ����S" # � �
 E= - � L �oO76 � )21'#Y+ � ; � L � Q%lX+ � + -

��- 6(6($>1 c / � ;�$C6 ��1 � ;�$C6H' �F/ M )�3��jQ%$>LFO^#
c +K#%)n)2Lv)�3W E1%B � 1%$C$C6 � 1%B "�#7)�6H1 l^6()2Q%B2#�D!L.9%B

% � c / )21%$8_�9� 
�YQ7$>LFO^#
[ � \ � � � � � �
"s$>L ��~ % �$# �TS � �&�0S�� � ����$�
 / � % � �  ��
h - 
 ��~ % �$# �TS ���  �S ����� �
 E= - � L �oa�' / � ;�$C6 #YQ%)�B2Q%$>L.O^# � + -

N - ; � 9 c � c / 6()21%B yYQ7$C$>1X{�'���1 � ;�$C6H' �./ M
Z]1 / $CB�6 -0/ $>9 �v$ - 6H1 � 1%B��@$>1 / 6($ D@$ - = � 'H#,S d
Q^1%6() t�- L.L|\%_�= � � �
h - +CQ7L / M�)�3���O7ORL � $>9 c + � $>17+<$ � � 1%B2' / )21X\R[ � � � � � �  

"s$>L ��~  �$� � %���� S �� ��) 
h - 
 ��~  �$� � %���� S � � � �
 E= - � L ��' / 6()217B29'#�OV)2' / � x Q%$C$>17'(Q � + -

U - Q7L c / Q - 6 /  E+<)2LF$8UW)2LFM / $>+H#71 �gx Q%$&97$8d4)21 / 6($ - L
N�$CO - 6 / =P$>1 / )�3A�!#%$>= � + - L �!U  �� ��# c �j��� �@$>1 / 6($<S % � L.LF$
 A17B � 1%$C$C6 � 17B d
)21 / 6H$ - LWy&��\ t � � � � �

"s$>L ��~ % � �n�TS � ��� S�� ����� $�
 / � � ��� �
h - 
 ��~ % � �n�TS � ��� S % �$% �
 E= - � L �oO - Q7L � ' / Q - 6 / #�OV)2LFM,= / L � + -






� ��� � ��� � �

� ���	��

���������
���	� �
����� D - +(�eB�6()2Q7179 - 179 c � B21 � �^+ - 17+<$ � � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �
��� � d
) / � ; -0/ � )21 - 179G[Yl��]$>+ / � ;�$>' �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �
��� � U?6H)e+<$>'(' �!� � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �
��� � N�)e+CQ^=P$>1 / [YQ / L � 1%$ � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �

� ������

 "!#!%$&���	���('��)�"*,+-�/.��#�/�(��
0�1�/.324��5��1.��6+-�����7 8�9�1���6�1�:$; "�/ 8�< =
� ��� ��+C+<6($>9 �F/(-0/ � )21 �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �

� ������� �! E�:D ��+C+<6($>9 �./(-0/ � )21G�@6 �./ $C6 �.- � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �
� ����� � "s6($>1797' � 1� A1%B � 1%$C$C6 � 1%Bq��+C+<6($>9 �F/(-0/ � )21 � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � %

� � � c / 6 -0/ $CB � +&Z]'('(Q%$>' � 1� E1%B � 1%$C$C6 � 1%B - 1794 E1%B � 1%$C$C6 � 1%B�N�$>' � B214 A97Q^+ -0/ � )21 � �!� � � �!�"� � �

� � � ��� h - +CQ^L / M4_�$>1%$Ca - L � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �

� � � � � UA6()�B�6 - = c / 6HQ7+ / Q%6($YleM�N � '(+ � O^L � 1%$ - 179 c Q%l��*$>+ / �"� � �!� � �!�"� �!� � � �!�"� � �

� � � � � "�#7$&U - +<$p)�3�"J$>+K#71%)2LF)�B�M
�!# - 17B�$>' - 179(�&17) a�LF$>97B�$p��6() a / # �"� �!� � � �!�"� � #
� � � � � �@)2=�Om$ / �./ � ;�$ � - 179^'(+ - OV$�\7�:+C+<)2Q71 /(- l � L �F/ M�U?6($>'H'(Q%6($>' - 179��@)2' / ' � �!� � � �!�"� � #
� � � � % Z]171%)�; -0/ � )21 � � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � � �

� � � �!# - LgLF$>1%B�$>'f3I)�6� A17B � 1%$C$C6 � 17B�N�$>' � B21
 A97Q7+ -0/ � )21 �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � � �
� � ����� h - +CQ^L / M �!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � ���
� � ��� �  A; - L.Q -0/ � )21 - 179�_�$Ca - 6H9 c M,' / $>= �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � ���
� � ��� � N�$>' � B21Gh - + � L �./ � $>' � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � ���
� � ��� � % - 6 � $ / M�)�3oN:$>' � B21 c $ /*/ � 1%B2' �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � � �
� � ��� % �@)21 / � 1eQ �F/ M � 1�N�$>' � B214 A97Q^+ -0/ � )21 �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �$�

= >? 8�
@A���B>& "5��1�75 ��C
�����  A17B � 1%$C$C6 � 17B - 1^94 A1%B � 1%$C$C6 � 1%BqN�$>' � B21 � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �$%

���������  E1%B � 1%$C$C6 � 1%BPN:$>' � B21 �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � �  
������� � N�$>' � B21G A1%B � 1%$C$C6 � 1%B �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � ���

��� � "�#%$& E1%B � 1%$C$C6 �?� UA6()�35$>'H' � )21 - L � � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � ���
��� � ��� �kD - ' � +&N�$��^1 �F/ � )21 )�3 - �*U?6()�3I$>'(' � )21 � � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � ���
��� � � � �kN�$��^1 �F/ � )21�)�3 / #%$p A1%B � 17$C$C6 � 1%BqU?6()�3I$>'(' � )21 � �!�"� � �!� � �!�"� �!� � � �!�"� � � �
��� � � � � t )2L � ' / � +YN�$��^1 �./ � )21�)�3 - �*U?6()�3I$>'(' � )21 - L � � � �!�"� � �!� � �!�"� �!� � � �!�"� � � �

��� � �@)2=POV$ / $>17+<M � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� �!� � � �!�"� � ���


 �



� + �/.��#������

�#�/.B24��5��1.��:$;����� �(�����������
	�� �����(

 �9�/

��
 � ���1��� �"=
� ��� � �@)2=POV$ / $>1 / N�$>' � B214 E1%B � 1%$C$C6 � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �
� � �  A' /(- l^L � '(#7$>9 c � � L.L.'E35)�6�N�$>' � B214 A1%B � 1%$C$C6H' �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � �&�

� � � ��� c OV$>+ � �R+�N�$>' � B21,STU?6(),+<$>'(':�:+ / � ; �F/ � $>' �!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � �&�
� � � � �  
eOV$C6 � $>1^+<$ - 179 � �&1%)�afST#%) a � � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � %
� � � � � � /*/ �F/ Q^9%$>'�"s) a - 6H9
N�$>' � B214 A1%B � 1%$C$C6 � 1%B �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � %
� � � � � D!Q7' � 1%$>'(' c � � L.L.' � � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � %
� � � � % �@)2=�=pQ71 � + -0/ � )217' c � � L.Lg' � � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � �� 
� � � �  "s$ - =8a@)�6(� c � � L.Lg' � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � �� 
� � � � � "s$>+H#71 � + - L c � � L.L.' � � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � �� 

� � � ��'('*$>'('(=�$>1 /�- 1^94 ?; - L.Q -0/ � )21 �!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �
� � ����� Z]1 / 6H)e97Q^+ / � )21 �!� � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �
� � ��� � c / Q^9%$>1 / ��'('*$>'H'(=P$>1 / �!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �
� � ��� � UA6()�B�6 - =  A; - LgQ -0/ � )21 �!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �
� � ��� � �!Q76(6 � +CQ7LgQ7= N�$>' � B21 - 1794 A; - L.Q -0/ � )21 � � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �
� � ��� % N � '(+CQ^'(' � )21 � � �!� � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �

C + �/.��#������

�#�/.B24��5��1.��:$;����� �(�����������
	�� 

��� �"5� "! ���
%����  A17B � 1%$C$C6 � 17BqN�$>' � B21G�@)2=POV$ / $>17+<M 35)�6 - L.LX A17B � 1%$C$C6 � 17B�N � '(+ � O^L � 1%$>' �!�"� � �!� � �!�"� � � #

%�������� c OV$>+ � �R+ �81%) a�L.$>9%B�$ � 1 - UA6()�35$>'H' � )21 - LX E1 ; � 6()217=�$>1 / �!� � �!�"� � �!� � �!�"� � � �
%������ � �&17) a�LF$>97B�$j)�3oUA6(),+<$>97Q%6($>' �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � ���
%������ � [�OV$C6 -0/ � )21 - L c � � L.L.' �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � ��%
%������ �  
eOV$C6 � $>1 / �.- L c � � L.Lg' �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � �  
%������ % c ),+ �.- L�� UW$C6H'()21 - L c � � L.L.' � � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � �  
%������  �@)�B21 �F/ � ;�$ c � � L.L.' � � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � ���

� $;�	���(!1�/5��1���/5 �/�
 ��� h7Q / Q76($ � )�6(� �"�!� � �!� � �"�!� � �!� � �"�!� � �!� � �!�"� � �!� � �!�"� � �!� � �!�"� � � �

>����<!#�1�".�
9 ������ �	=


 ���



� �������	��
 �


 � � � ��� � � � �����

����� ����������� �"!$#&%'�(#&%*),+-�.#$+0/	�1�(#&�12
Z]17+<6($ - ' � 17BPB2LF)�l - Lv9%$>= - 179�3I)�6�lV$ /*/ $C6�O76H)e97Q^+ / ' - 179�O76H)e+<$>'('($>' � 1�; - 6 � )2Q^' - '*OV$>+ / ' � ' - O7O - 6($>1 / �A3 Q717+ S
/ � )21 - L �F/ M43E# � B2#%$C6 x Q - L �F/ M53@LF) a@$C6P+<)2' / '63f# � B2#7$C6pO76H)e97Q^+ / +CQ7' / )2= �Fw>-0/ � )21 3E$ - ' � $C6P'*$C6(; � + � 1%B73A6($>Q7'*$ - 179
6($>+<M,+CL � 1%Bp)�3J= -0/ $C6 �g- L.' - 179�) / #7$C6@$>17$C6(B�M - 179 $>1n; � 6H)217=P$>1 /(- LR+K# - L.LF$>1%B�$>' � "�# � 'E9%$>= - 179�6($ x Q � 6($>' / # -0/
� - 1 - 9 �.- 1 � 1^97Q7' / 6(M - 179 '*),+ � $ / M�lV$ =P)�6($ � 171%) ; -0/ � ;�$ - 179�6H$>'*OV)217' � ;�$ � 1�)�6H97$C6 / )�' /(- M +<)2=POV$ / �F/ � ;�$
� 1 / $C6H1 -0/ � )21 - L.LFM � � - 1 - 9 �.- 1 + - O - l � L �./ M � 1 $>1%B � 17$C$C6 � 1%B�9%$>' � B21 � ' -0/P/ #%$�;�$C6(M +<)�6($�)�3�)2Q%6 - l � L �F/ M / )
- +H# � $C;�$ / # � '!B�) - L �

Z]1 / #%$ �$#�# �,{�'C\ / #%$ �:-0/ Q76 - L c + � $>17+<$>' - 179  E1%B � 1%$C$C6 � 1%B4_�$>'*$ - 6K+H#��@)2Q717+ � L�)�3:� - 1 - 9 - ~ � c  A_����
+<)21797Q^+ / $>9�1 -0/ � )21,Sba � 97$p+<)217'(Q^L /(-0/ � )217' - ' / )�#7) a � - 1 - 9 - a - ' - 979%6($>'(' � 1%B / #%$>'($q+K# - L.LF$>17B�$>' / #76()2Q%B2#
$>97Q7+ -0/ � )21X\ - 179�6($>'($ - 6H+H# - 17949%$C;�$>LF)�OR=P$>1 / �

Z / lV$>+ - =P$ - O7O - 6H$>1 /s/ # -0/ � - 1 - 9 �.- 1p$>1%B � 1%$C$C6 � 1%B�'(+K#%)e)2L.'J$>10�])�M - ' / 6()21%B�6($>'*$ - 6H+K#�+CQ^L / Q%6($ - 1^9p# - ;�$
- 1�$�
%+<$>L.LF$>1 / 6H$CO^Q /(-0/ � )21�3I)�686H$>'*$ - 6H+H# )�6 � B � 1 - L �F/ M�\ x Q - L �F/ M - 179 O76(),97Q7+ / � ; �F/ M � t ) a@$C;�$C6>\ / ) / 6 - 1^'(L -0/ $
/ #%$>'*$:6($>'*$ - 6H+K# 6($>'(Q7L / ' � 1 / )pO76(),97Q7+ / ' - 179�'*$C6H; � +<$>' / # -0/ lm$>17$�� /?/ #%$j� - 1 - 9 �.- 1�$>+<)21%)2=8M�\ - 9%$>' � B21 - 179
� 1717) ; -0/ � )21G+CQ^L / Q%6($�+<)2=PO^LF$>=P$>1 / � 1%B / #%$�6($>'*$ - 6H+K#�+CQ7L / Q%6($ � ':17$>+<$>'(' - 6(M � "�# � '�+CQ7L / Q76($p'(#7)2Q7L.94O^6() ; � 9%$
- O^L -0/ 3I)�6H= 3I)�6 / #7$ � 1 / $CB�6 -0/ � )21�)�3X6($>'*$ - 6K+H# - 179 � 171%)�; -0/ � )21 / #%6()2Q%B2#�$>1%B � 17$C$C6 � 1%B897$>' � B21 � � / lm) / # / #%$
Q71797$C6(B�6 - 97Q -0/ $ - 179�B�6 - 97Q -0/ $�LF$C;�$>L.'>\XaE$�=�Q7' / � =PO^6() ;�$ / #%$P+ - O - l � L �F/ M - 179�+ - O - + �F/ M�)�3E$>1%B � 1%$C$C6 � 1%B
B�6 - 97Q -0/ $>'�'*) / # -0/�/ #%$CM - 6($G+ - O - l^LF$4)�3&L.$ - 9 � 1%B � 1717) ; -0/ � )21X\ - 179 +<)21n;�$C6 / � 1%B 6($>'*$ - 6H+K# 6H$>'(Q7L / ' � 1 / )
; - L.Q%$<S - 979%$>9�O^6()e9^Q7+ / ' - 179�'*$C6(; � +<$>' � � - 1 - 9 �g- 1�$>1%B � 1%$C$C6 � 1%B�3 - +CQ7L / � $>'j'(#%)2Q7L.9�'*$ �Fw $ / #7$P)�O7OV)�6 / Q71 �F/ M
/ )�$>=POR# - ' �Fw $j$>1%B � 1%$C$C6 � 1%BP9%$>' � B21 / ) - B�6($ -0/ $C6�$�
 / $>1 / \ - 1794+CQ7L / � ; -0/ $ - 1 � 171%) ; -0/ � )21�+CQ7L / Q%6($ �

Z]1 �$#�#�# \ - 17$Ca � c  A_���+K# - � 6JO^6()�B�6 - = a - 'W+<6($ -0/ $>9 � 1&9%$>' � B21&$>1%B � 1%$C$C6 � 1%B73 / #7$A+H# - � 6s#%)2L.97$C6H'X)�3 / #%$
O76()�B�6 - = aE)2Q7Lg9�lV$Y+H# - 6HB�$>9�a �F/ # / #%$Y6($>'*OV)217' � l � L �./ M / )PO76()2=P) / $ - 179�#7$>LFO�$>1^# - 17+<$&9%$>' � B21�$>9^Q7+ -0/ � )21
- 179 � 171%)�; -0/ � )21 -0/ � - 1 - 9 �.- 1�Q71 � ;�$C6H' �F/ � $>' � "s) / # � '�$>179X\ / #%$GN�$>' � B21 �!# - � 6 ��6()2Q%O Q7179%$C6 / )n)�� - 1
� 1 �./ �.-0/ � ;�$ / )�$�
 - = � 1%$q$>1%B � 1%$C$C6 � 1%B 97$>' � B21�+<)2=POV$ / $>17+<M - ' / #%$ �76H' / ' / $CO / ) a - 6H9 - l^L.Q7$CO76 � 1 / 3I)�6 / #%$
$>97Q7+ -0/ � )21X\ � 1 / #%$�� - 1 - 9 �.- 1�$>97Q^+ -0/ � )214'*M,' / $>=�\7)�3�+ - O - lRLF$&9%$>' � B21�$>17B � 1%$C$C6H' �

���98 : ��; +9<��=;>+-�.#'�(#&%�?A@�BC2D�E; +9<.2GF
� - 1 - 9 �.- 1�$>1%B � 1%$C$C6 � 1%B�'(+H#%)e)2L.'j# - ;�$�lV$C$>1�O76(),97Q7+ � 17B�# � B2#%S x Q - L �F/ M4$>17B � 1%$C$C6 � 17B�B�6 - 9^Q -0/ $>'j3I)�6&= - 1 M
M�$ - 6H' � � - 1 - 9 - # - ' - +C+<6H$>9 �F/(-0/ � )21 O76(),+<$>'('*$>' / # -0/q- 6($ - 6(B2Q - lRLFM - =P)21%B / #%$�# � B2#%$>' / )�3�$>1%B � 1%$C$C6 � 1%B
' /(- 179 - 6H97' � 1 / #7$jaE)�6HLg9 � h7Q%6 / #7$C6�$>17# - 1^+<$>=P$>1 / )�3s)2Q%6�$>1%B � 1%$C$C6 � 1%Bq$>97Q7+ -0/ � )21
O76()�B�6 - =�'�9%$COV$>1797'@)21
/ #%$Y+<6 �F/ $C6 �g-&/ # -0/ a@$�\ - '@O76H)�35$>'(' � )21 - L.'C\ - 6 / � +CQ7L -0/ $ / ) - 979%6($>'H' / #%$ � 17+<6H$ - ' � 1%B - 179�$>=�$C6(B � 1%B�+H# - L.L.$>1%B�$>'

�



/ # -0/ � - 1 - 9 �.- 1�'*),+ � $ / M � '!3 - + � 17B / )e9 - M�\7l^Q / aE$C6($p1%) / '*)�+<6 �./ � + - L - 3I$Ca 9%$>+ - 9%$>' - B�) �
"�#7$A= - � 18)�l��]$>+ / � ;�$E)�3 / # � 'v9%),+CQ7=P$>1 / � ' / )Y9%$��^17$ / #%$��������	��

��������������
���� \�3I6()2= a�# � +K#8Q71 � ;�$C6H' �F/ � $>'

= - M 9%6 - a � 1^'*O � 6 -0/ � )21 � 1 / #%$&97$C;�$>LF)�O^=P$>1 / )�3W17$Ca - 179 � 171%)�; -0/ � ;�$j$>1%B � 1%$C$C6 � 1%Bp$>9^Q7+ -0/ � )21�O76()�B�6 - =�'C\
'*) / # -0/ � - 1 - 9 - + - 1�O76(),97Q7+<$�# � B2#7LFM x Q - L � �7$>9�$>1%B � 1%$C$C6K'?a �F/ # - ' / 6()21%B8+ - O - l � L �F/ M / )�LF$ - 9 � 1^1%) ; -0/ � )21 �

����� � � ���12DF4F
� /&/ #%$P;�$C6HMG)2Q / '($ / )�3 / #7$��!# - � 6H' � 1�N�$>' � B21� A1%B � 17$C$C6 � 1%B�~b�!NY @�YUA6()�B�6 - =�\ � c  E_�� - 179 / #%$�+K# - � 6
#%)2L.97$C6H' � 1p97$>' � B21�$>1%B � 1%$C$C6 � 1%B �]) � 1 / LFM897$>+ � 9%$>9 / # -0/ �F/ a - '�# � B2# / � =P$ / ) � 1 �./ �.-0/ $ - 1 - 1^1nQ - L,=P)21 �F/ )�6 � 1%B
)�3 / #%$ - + / � ; �F/ � $>'�)�3 / #%$�; - 6 � )2Q7'A+H# - � 6K'?leMq=�$ - 17'?)�3V6($CB2Q7L - 6A=P$C$ / � 1%B2' � "�#%$>'*$�=P$C$ / � 1%B2'?a@)2Q7L.9PO^6() ; � 9%$
- 1q)�O7OV)�6 / Q71 �F/ M / )&'H# - 6($ / #%$!6($>'(Q7L / 's)�3 / #%$ / 6 - � 1 � 1%B - 179�6($>'*$ - 6H+K#P$�
eOV$C6 � $>17+<$>'o)�3 / #%$�+K# - � 6H'WO76H)2=PO / LFM �
"�#%$!�^6H' / =P$C$ / � 1%B�a - ':#%$>L.9 � 1 � Q71%$ ������� � 1
[ /*/(- a - �

NYQ%6 � 1%B / # � '?=P$C$ / � 1%B%\ - 1eQ7=plV$C6�)�3m3I6HQ �./ 3IQ7Ln$�
%+H# - 1%B�$>' - L.LF)�aE$>9 / #%$ � c  A_�� 97$>' � B21P+H# - � 6H' / )�'(# - 6($
/ #%$&6H$>'(Q7L / 'f)�3 / #%$ � 6�6($>'*OV$>+ / � ;�$&O^6()
�]$>+ / ' � Z / a - ' x Q � +H�eLFM )�l^'*$C6H;�$>9 / # -0/ # - ; � 1%B - +<)2LgLF$>+ / � ;�$pL - 1%B2Q - B�$
a@)2Q7L.9�lV$P)�3!; - L.Q7$P35)�6	�p9 � '(+CQ7'H' � 1%B 9%$>' � B21 3W3 - + � L �F/(-0/ � 17B $�
%+H# - 1%B�$>'63 - 179X\s=P)�6($ � =�Om)�6 /(- 1 / LFM�\s#%$>LFO � 17B
/ )�O^Q / 35)�6(a - 6H9 - ; � ' � )21 )�3�97$>' � B21 / ) Q^1 � ;�$C6H' �./ � $>'C\?O76H)�35$>'(' � )21 - L - '('*),+ �.-0/ � )21^'C\@+<$C6 / � �^+ -0/ � )21 )���+<$>'C\
= - 1eQ%3 - + / Q%6 � 1%B�+<)2=PO - 1 � $>'>\R'*$C6(; � +<$�+<)2=PO - 1 � $>'>\ - 179
) / #%$C6�' /(- ��$<ST#%)2L.9%$C6H' � "�#%$C6($C3I)�6($�\ �F/ a - ':97$>+ � 9%$>9
/ )�#%)2Lg9 / #%$>=P$8=P$C$ / � 1%B2'f$C;�$C6(M�' � 
�=P)21 / #7' / )�9 � '(+CQ7'(' / )�O � +C'�9 � 6H$>+ / LFM�6($>L -0/ $>9 / )�$>1%B � 17$C$C6 � 1%BP9%$>' � B21 �

"�#7$ �76H' /j/ #%$>=�$�=P$C$ / � 1%B4a - '8#7$>L.9 -0/8/ #%$���1 � ;�$C6H' �F/ M�)�3 c #%$C6(l76()e)���$ � 1�N�$>+<$>=plm$C6 �������e\�Q7179%$C6
/ #%$ / #%$>=P$���
 ���!
"���$#��!
����������	��
%��������������
���� � ��L.LR+K# - � 6!#%)2L.9%$C6K'AO76H$>'*$>1 / $>9 O - OV$C6H'E)21 / #%$ / )�O � + � � # � LF$
/ #%$�O76($>'*$>1 /(-0/ � )217'Y6H$$&7$>+ / $>9 / #%$qOm$C6K'*)21 - LsOm$C6K'*OV$>+ / � ;�$8)�3?$ - +K#�+H# - � 6j#%)2L.9%$C6>\ / #%$CM - Lg'*) � 17+CL.Q79%$>9
l � l%S
L � )�B�6 - O^# � +86($>'*$ - 6H+K# - 179 � 1 / $C6(; � $Ca�'�a �F/ #�+<)2L.LF$ - B2Q7$>' - 179�OV$C)�O^LF$�356H)2= � 1797Q7' / 6(M � � /&/ #%$q$>179�)�3 / # � '
�76H' / =P$C$ / � 17B%\eO - 6 / � + � O - 1 / ' - B�6($C$>9 / )q6($C; � ' �F/A/ #7$ / )�O � + -0/!/ #%$Y+H# - � 6!#7)2L.9%$C6H'C{ - 171eQ - LR=�$C$ / � 1%B � 1 � Q71%$
����� � -0/E/ #%$:�:1 � ;�$C6H' �F/ M�)�3s� - LFB - 6(M � "�#%$�)�l �]$>+ / � ;�$�)�3 / #%$�'($>+<)2179�9 � '(+CQ7'(' � )21 - lV)2Q / 9%$>' � B21 - 179�97$>' � B21
+<)2=POV$ / $>17+<M a - ' / #%$
'*M,1 / #%$>' � 'q)�3 / #%$
9%),+CQ7=P$>1 / 'PO76H$>'*$>1 / $>9 97Q%6 � 17B / #%$4N�$>+<$>=plV$C6 ��������=�$C$ / � 1%B
- 179 / #%$ � 1 �F/ �g-0/ � )214)�3 - O - Om$C6Y9%$��^1 � 1%B�9%$>' � B21 - 179G97$>' � B21�+<)2=POV$ / $>17+<M � "�#7$83I)2L.LF) a�STQ%O�=�$C$ / � 1%B2' � 1
� - LFB - 6HM�\Rd4)21 / 6($ - L - 179 t�- L � 3 - 
 +<)21 / � 1nQ7$>9 / #%$&9 � '(+CQ7'(' � )217' �

"�# � '?9%),+CQ7=P$>1 / � ' / #7$�6($>'(Q^L / )�3 / #%$>'*$ / #%$>=P$�=P$C$ / � 1%B2' - lV)2Q /A/ #%$�$>1%B � 17$C$C6 � 1%B&9%$>' � B21�+<)2=POV$ / $>17+<M
#%$>L.9�Q7O / ) / #%$ t�- L � 3 - 
�=�$C$ / � 1%BP)21 � Q7LFM % - 179� e\ ������� �

����' ( ���D!*) 2 #"; ?A!,;,+-+�#&2
�!# - O / $C6 � O^6() ; � 9%$>' - B�$>1%$C6 - L&l - +(�eB�6()2Q7179�)�3p$>1%B � 1%$C$C6 � 1%B 9%$>' � B21 � 1 / #%$�+<)21 / $�
 / )�3p$>1%B � 1%$C$C6 � 1%B
$>97Q7+ -0/ � )21 � 1�� - 1 - 9 - � h � 6H' / \^a@$�$�
 - = � 1%$p'*)2=�$8)�3 / #%$�+CQ%6(6($>1 /:- +C+<6H$>9 �F/(-0/ � )21 - O7O76H) - +H#%$>' - 179G35),+CQ7'
)21 / #7$�)21%$>'8+<)21^+<$C6H1 � 1%B�$>17B � 1%$C$C6 � 17B49%$>' � B21�$>97Q^+ -0/ � )21 � c $>+<)2179X\W; - 6 � )2Q7' � '('(Q7$>' - 179�+K# - L.LF$>1%B�$>' - 6($
- 979%6H$>'('*$>9X\ / #%$!3I)e+CQ7'slV$ � 1%B�Q7179%$C6(B�6 - 97Q -0/ $@$>1%B � 1%$C$C6 � 1%B�$>97Q^+ -0/ � )21 � 18B�$>17$C6 - L|\ - 179p$>1%B � 1%$C$C6 � 1%B:97$>' � B21
$>97Q7+ -0/ � )21 � 1�O - 6 / � +CQ7L - 6 �

�!# - O / $C6 � $�
 - = � 1%$>'�'*)2=P$&)�3 / #%$&3 Q7179 - =�$>1 /(- L x Q%$>' / � )217'!6($>L -0/ $>9 / )�$>1%B � 1%$C$C6 � 1%BP9%$>' � B21 - 1^9 / #%$
O76()�3I$>'(' � )21X\�a:# � +H#p+ - 18lV$@Q7'*$>9 - ' - l - ' � 'J35)�6 - 6 / � +CQ7L -0/ � )21&)�3 / #7$E9%$>' � B218+<)2=POV$ / $>17+<M � �:3 / $C6 - 979%6H$>'(' � 1%B
'*)2=P$A)�3 / #%$>'($?3IQ^179 - =P$>1 /(- L x Q7$>' / � )217'C\ - +<)2=PO76H$>#%$>17' � ;�$�6H$C; � $Ca�)�3 / #%$�$>17B � 1%$C$C6 � 17B!97$>' � B21&+<)2=POV$ / $>17+<M
L �F/ $C6 -0/ Q%6($ � ' � 17+CL.Q797$>9 � 1G�!# - O / $C6 � � D - '*$>9G)21 / #%$>'*$�' / Q79 � $>' - 179
+<)21^'(Q7L /(-0/ � )21^'�a �F/ #4)2Q%6 � 1^97Q7' / 6 �g- L
O - 6 / 17$C6H'C\%a@$&O76()�OV)2'*$ � 1
�!# - O / $C6 % - 97$��^1 �F/ � )21 )�3W$>1%B � 1%$C$C6 � 1%BP9%$>' � B21
+<)2=POV$ / $>17+<M �

"�#7$&9%)e+CQ^=P$>1 / $>1^97'fa �F/ #�+<)21^+CL.Q7' � )21^'C\ � 17+CL.Q79 � 1%B - O76()�OV)2' - Lm35)�6:3IQ / Q%6($YaE)�6H� �

�



� �������	��
 �

� � � � 
 
 
 � ��� � ��� � ��� � � � � � � � � � � �

� ��� ����� � � � � 
 � ����� � � � 
 � 
 � 


8 ��� 	 �1�1� 2D%	+ ;>�=;>+0�"#
 A17B � 1%$C$C6 � 17B - '('*),+ �.-0/ � )21^' � 1 = - 1 M +<)2Q71 / 6 � $>'P# - ;�$�$>' /(- l^L � '(#%$>9 - +C+<6($>9 �F/(-0/ � )21�=P$>+H# - 1 � '(=�' / )�$C; - L`S
Q -0/ $ - 179 - +C+<6($>9 �F/�/ #%$GQ7179%$C6(B�6 - 97Q -0/ $4$>1%B � 1%$C$C6 � 1%B�O^6()�B�6 - =�'�)�3j$>97Q7+ -0/ � )21 � 17' / �F/ Q / � )217' / ) $>1^'(Q%6($
/ # -0/ ' /(- 179 - 6H97' - +C+<$CO /(- l^LF$j3I)�6!O76()�3I$>'(' � )21 - LR$>1%B � 17$C$C6@6H$CB � ' / 6 -0/ � )21 - 6($Y=P$ / \ - 179 / # -0/!/ #%$ x Q - L �F/ M - 179
6($>LF$C; - 17+<$�)�3:$>1%B � 1%$C$C6 � 1%BG$>9^Q7+ -0/ � )21 +<)21 / � 1nQ7)2Q7'(LFM � =PO76()�;�$ � ��+C+<6($>9 �F/(-0/ � )21 � 'PQ7'(Q - LgLFM - ;�)2L.Q71 /(- 6(M�\
1%)21,SbB�)�;�$C6H17=P$>1 /(- LVO76(),+<$>'('E)�3vOV$C$C6E6H$C; � $Ca � Z / 6($ x Q � 6($>' - 1 $>97Q^+ -0/ � )21 � 17' / �F/ Q / � )21P)�6!O76()�B�6 - = / )q=P$C$ /
+<$C6 /(- � 1G9%$��^1%$>9
' /(- 179 - 6H9^'f)�6:+<6 �./ $C6 �.- � Z]1G� - 1 - 9 - \ / #%$q� - 1 - 9 �.- 1
 A1%B � 17$C$C6 � 1%BP��+C+<6($>9 �F/(-0/ � )21GD@) - 6H9
~b�! E�:D��K\ - ' /(- 179 � 17B�+<)2=�= �./*/ $C$�)�3 / #%$�� - 1 - 9 �.- 1��@)2Q71^+ � Lv)�3AUA6()�3I$>'(' � )21 - LW A17B � 1%$C$C6H'q~b���!UE @�K\X# - '
lV$C$>1 6($>'*OV)217' � lRLF$P35)�6 / #7$ - +C+<6($>9 �F/(-0/ � )21 )�3Y� - 1 - 9 �.- 1 $>1%B � 1%$C$C6 � 1%B
$>9^Q7+ -0/ � )21 O76()�B�6 - =�'�' � 17+<$ �$#  %��
"�#%$q��1 �F/ $>9 c /(-0/ $>'C{J�! E�:D +<)2Q71 / $C6(O - 6 / � ' / #%$P�:+C+<6H$>9 �F/(-0/ � )21�D@) - 6H9�3I)�6& A1%B � 17$C$C6 � 1%B - 1^9�"s$>+H#^1%)2L`S
)�B�M ~ ��D! A":�K\Va�# � +H# � '�6($>'*OV)217' � l^LF$j3I)�6 / #7$ - +C+<6($>9 �F/(-0/ � )21�)�3A$>17B � 1%$C$C6 � 17B - 179 / $>+H#717)2LF)�B�MG$>9^Q7+ -0/ � )21
O76()�B�6 - =�' � Z]1�B�$>17$C6 - L|\ - +<)2Q71 / 6HMR{�'!O76H)�35$>'(' � )21 - Lm$>1%B � 1%$C$C6 � 1%B - 'H'*)e+ �g-0/ � )21 � ' / #%$ - +C+<6($>9 �F/(-0/ � )21�)�6HB - 1 � S
w>-0/ � )21
35)�6 �./ 'f$>1%B � 1%$C$C6 � 1%BqO76()�B�6 - =�' �

Z]1 � - 1 - 9 - \ �  4$>97Q7+ -0/ � )21 - L � 17' / �./ Q / � )217'Y)0rV$C6 - +C+<6H$>9 �F/ $>9 Q^179%$C6(B�6 - 9^Q -0/ $�$>1%B � 17$C$C6 � 1%B�O76H)�B�6 - =�'
LF$ - 9 � 1%B / ) - 14$>17B � 1%$C$C6 � 17Bq97$CB�6($C$ -0/�/ #7$&l - +H#7$>LF)�6>{�'�L.$C;�$>L � "�#7$C6($ - 6($p+CQ76(6($>1 / LFM � �  - +C+<6($>9 �F/ $>9
$>1%B � S
1%$C$C6 � 1%BYO76()�B�6 - =�' � 1 - a � 97$@6 - 1%B�$�)�3m$>1%B � 1%$C$C6 � 1%Bj9 � '(+ � ORL � 1%$>' � Z]1 - 979 �F/ � )21 / ) / #%$fB�$>17$C6 - L7$>1%B � 1%$C$C6 � 1%B
9 � 'H+ � O^L � 17$>'W'HQ7+H# - '!+ � ; � L|\2$>LF$>+ / 6 � + - L|\e=�$>+H# - 1 � + - L|\e+K#%$>= � + - Lb\ � 1^97Q7' / 6 �g- L|\�= - 1nQ73 - + / Q%6 � 1%B%\n= -0/ $C6 �.- L.' - 179
+<)2=PO^Q / $C6�$>1%B � 1%$C$C6 � 1%B%\ / #%$C6($ - 6H$ - L.'*) - +C+<6($>9 �./ $>94O76()�B�6 - =�'f3I)�6�'*OV$>+ � �^+Y'*$>+ / )�6H' - 179�9 � 'H+ � O^L � 17$>'E'(Q^+H#
- ' - $C6()2'(O - +<$�\ - B�6 � +CQ7L / Q%6 - L|\Vl � )�6($>'*)2Q76H+<$>'C\J= � 1 � 1%B%\Vl^Q � L.9 � 1%B%\m+<$C6 - = � + - 179�35)�6H$>' / $>1%B � 1%$C$C6 � 1%B � c � 17+<$
/ #%$ �$#�# �,{�'C\^'($C;�$C6 - LX1%$Ca�$>1%B � 1%$C$C6 � 1%B8O^6()�B�6 - =�'!# - ;�$jlm$C$>1 - +C+<6($>9 �F/ $>9X\,6($CO76($>'($>1 / � 17B�1%$Ca:LFM�9%$C;�$>LF)�OV$>9
9 � 'H+ � O^L � 17$>' - 1794=�Q7L / � ST9 � '(+ � ORL � 1%$>' �

���
���
 
 �q��
������ ������� ��� ������
 
���� ��� �����
"�#%$ - +C+<6($>9 �F/(-0/ � )218)�37Q71^9%$C6(B�6 - 97Q -0/ $AQ71 � ;�$C6K' �F/ MY$>1%B � 1%$C$C6 � 1%B�O76()�B�6 - =�' � 1�� - 1 - 9 - 9 -0/ $>'sl - +(� / ) �$#  % \
- 179 � 'YQ71797$C6 /(- ��$>1�35)�6p���!UA �leM / #%$�� - 1 - 9 �.- 1� A1%B � 17$C$C6 � 1%B��:+C+<6H$>9 �F/(-0/ � )21�D@) - 6H9 � Z�1�)�6H97$C6 / )�lV$
- +C+<6($>9 �./ $>9X\ - 1P$>17B � 1%$C$C6 � 17BjO76()�B�6 - = =�Q7' / =�$C$ / )�6?$�
%+<$C$>9 / #7$ - +C+<6($>9 �F/(-0/ � )21�+<6 �F/ $C6 �g- $>' /(- l^L � 'H#%$>9 - 179
O^Q%lRL � '(#%$>9�leMG�! E�:D - 171nQ - L.LFM � "�#%$�+<6 �F/ $C6 �g-�- 6($�lV) / # x Q - 1 / �F/(-0/ � ;�$ - 179 x Q - L �./(-0/ � ;�$�\Ra �F/ #4$>=POR# - ' � '
)21 / #%$ x Q - L �F/ Mp)�3 / #7$�' / Q79%$>1 / 'C\ - + - 97$>= � +�' /(- ro\n'HQ%O7OV)�6 / ' /(- r - 179P$>97Q7+ -0/ � )21 - L%3 - + � L �F/ � $>' � "�#%$�+<6 �F/ $C6 �.-
# - ;�$4$C;�)2LF;�$>9�)�;�$C6 / #%$�M�$ - 6K' / )�6($$&7$>+ / 'HQ7+H# � '('(Q%$>' - ' / $>+K#71%)2LF)�B � + - L - 9%; - 17+<$>' - 179 / #%$�B�6H) a / # )�3

�



/ #%$q$>1%B � 17$C$C6 � 1%B / $ - = � 1 / #%$Pa@)�6(�eO^L - +<$ � Z]1�6($>+<$>1 / M�$ - 6H'C\W�f A��D # - ' � =PO^LF$>=P$>1 / $>9�+H# - 17B�$>' � 1 / #%$
- +C+<6($>9 �./(-0/ � )21
+<6 �./ $C6 �.- ~b�! A��D�\ ������� 3VN:$pDE)21 �$�������g\ �������2�K\V'(Q7+K# - ' �

� 6H$��^1 � 1%B / #%$&+CQ76(6 � +CQ7LgQ7= +<)21 / $>1 / 6($ x Q � 6H$>=P$>1 / '!3I)�6�l - ' � +j'(+ � $>17+<$>' - 1794= -0/ #%$>= -0/ � +C'63
� � 17+CL.Q79 � 1%B�=�)�6 - LF$ - 1794+<)2=�= �F/ =P$>1 / )�3o3 - +CQ^L / M�\m'(Q%O7OV)�6 / ' /(- r - 1794' / Q79%$>1 / ' - ' - +<)2=�Om)217$>1 / )�3
/ #7$ x Q - L �F/(-0/ � ;�$j$C; - L.Q -0/ � )21 3 - 179X\

� 6H$ x Q � 6 � 1%B / # -0/ ' / Q^9%$>1 / '�lm$j$�
,OV)2'*$>9 / ) / #7$8+<)217+<$CO / '�)�3sO76H)
�]$>+ / = - 1 - B�$>=P$>1 / �
��+C+<6($>9 �F/ $>9�$>1%B � 1%$C$C6 � 1%B&O76()�B�6 - =�'A=�Q7' / � 17+CL.Q79%$f1%) / )217LFM - 9%$ x Q -0/ $:= -0/ #%$>= -0/ � +C'C\,'(+ � $>1^+<$>' - 179�$>1%B � S
1%$C$C6 � 1%BP+<)21 / $>1 / \RlRQ /�- L.'*) - 9%$ x Q -0/ $�+<)2=PO^LF$>=P$>1 /(- 6(M�' / Q79 � $>' / # -0/ 9%$ - LXa �F/ #�+<$>1 / 6 - L � '('HQ%$>'C\7=P$ / #%),9,S
)2LF)�B � $>' - 179 / #%)2Q%B2# / O76H)e+<$>'('($>'&)�3 / #%$�#nQ^= - 1 �F/ � $>' - 179 '*),+ �.- LE'(+ � $>17+<$>' � UA6()�B�6 - =�'�=�Q7' /p- Lg'*) - L.L.) a
' / Q797$>1 / ' / ) 9%$C;�$>LF)�O +<)2=�=pQ^1 � + -0/ � )21�'(� � LgL.'C\ - 179 - 1 Q71797$C6H' /(- 179 � 1%BG)�3 / #%$
+<)21^+<$CO / )�3j'(Q7' /(- � 1 - l^LF$
9%$C;�$>LF)�OR=P$>1 /p- 179�)�3 / #%$�$>1n; � 6H)217=P$>1 /(- L|\J+CQ7L / Q76 - L|\X$>+<)21%)2= � + - 179�'*),+ �.- L � =PO - + / 'j)�3@$>1%B � 1%$C$C6 � 1%B�)21
'*),+ � $ / M � "�#%$ x Q - 1 / �./(-0/ � ;�$&+<6 �F/ $C6 �g- 3I)�6�+CQ%6H6 � +CQ7L.Q^= +<)21 / $>1 /�- '('(Q%6($ - 3I)2Q7179 -0/ � )21 � 1�= -0/ #%$>= -0/ � +C' - 179
l - ' � +8'(+ � $>1^+<$>'C\ - l76() - 9GO76($CO - 6 -0/ � )21 � 14$>1%B � 17$C$C6 � 1%B '(+ � $>17+<$>' - 179G$>1%B � 1%$C$C6 � 1%B�9%$>' � B21X\ - 179 - 1G$�
eOV)0S
'(Q%6H$ / )�1%)21,S / $>+K#71 � + - Lo'(Q7l��]$>+ / ' / # -0/ +<)2=PORLF$>=P$>1 /�/ #7$ / $>+K#71 � + - L - '*OV$>+ / '�)�3 / #7$q+CQ76(6 � +CQ7LgQ7= ~b�! E�:D�\
�������2� �

�:O7O76()�O^6 �.-0/ $YL - lV)�6 -0/ )�6(M�$�
,OV$C6 � $>17+<$Y=�Q7' / lV$ - 1 � 1 / $CB�6 - LX+<)2=�Om)217$>1 / )�3 / #%$Y$>1%B � 1%$C$C6 � 1%B�+CQ76(6 � +CQ,S
L.Q7= �  - +H#�O76()�B�6 - = =pQ7' /A- L.'*)&$>1^'(Q%6($ / # -0/ ' / Q797$>1 / ' - 6($:= - 97$ - a - 6($�)�3 / #7$�6()2LF$ - 179P6($>'*OV)217' � l � L �./ � $>'
)�3 - O76()�3I$>'(' � )21 - Le$>1%B � 1%$C$C6 � ��O7O^6()�O76 �.-0/ $@$�
,Om)2'HQ%6($ / )j$ / # � +C'C\ $ x Q �./ M�\2O^Q7l^L � + - 179qaE)�6H��$C6A' - 3I$ / M�\,#%$ - L / #
+<)217' � 9%$C6 -0/ � )217'>\ - 1^94+<)217+<$CO / '�)�3W'(Q^' /(- � 1 - l^L.$�9%$C;�$>L.)�O^=P$>1 /�- 179�$>1n; � 6H)217=P$>1 /(- Lv' / $Ca - 6H97'(# � O�=�Q7' / lV$
O - 6 / )�3 / #%$P$>1%B � 1%$C$C6 � 1%B�+CQ%6(6 � +CQ^L.Q7= � "�#%$�O76()�B�6 - = =pQ7' / O^6($CO - 6($P' / Q797$>1 / ' / )4LF$ - 6K1 � 179%$COV$>179%$>1 / LFM
- 179�=�Q7' / $�
eOV)2'*$ / #%$>= / )�$>1%B � 1%$C$C6 � 1%B 6($>'*$ - 6K+H# - 179�9%$C;�$>L.)�O^=P$>1 / )�6j) / #7$C6 � 171%)�; -0/ � ;�$q$>1%B � 1%$C$C6 � 1%B
- + / � ; �F/ � $>' �

Z]1 - 979 �F/ � )21 / ) x Q - 1 / �F/(-0/ � ;�$4+<6 �./ $C6 �.- \@�! E�:D - L.'()�ORL - +<$>' - ' / 6()217B�$>=�O^# - ' � '�)21 / #7$ x Q - L �./ M )�3
/ #%$�$>97Q7+ -0/ � )21 - L^$�
,OV$C6 � $>17+<$�\ - '@6($$&7$>+ / $>9�leM / #%$ x Q - L �./ MP)�3 / #%$ - 97= � 1 � ' / 6 -0/ � )21X\ L - lV)�6 -0/ )�6 � $>'C\eL � l76 - 6(M�\
- 179�+<)2=PO^Q / � 17B - 179�) / #%$C6@'HQ%O7OV)�6 / � 1%Bj3 - + � L �./ � $>'63 - 179�leM / #%$ x Q - L �F/ M�\n=P)�6 - LF$ - 179 +<)2=�= �./ =P$>1 / )�3 / #%$
3 - +CQ7L / M�\R'(Q%O7OV)�6 / ' /(- r - 1^9�' / Q79%$>1 / ' � "�#7$Y1eQ7=plV$C6@)�3s3 - +CQ^L / M�9%$C;�) / $>9 / ) / #7$jO76()�B�6 - = =�Q7' / lV$jL - 6(B�$
$>1%)2Q%B2# / )�+<)�;�$C6 - L.Lm+CQ%6(6 � +CQ^L - 6 - 6($ - ' � "�#%$�3 - +CQ^L / M�a�#%) / $ - +H#4+<)2Q%6K'*$>' � 1 / #%$:$>17B � 1%$C$C6 � 17B�+CQ%6H6 � +CQ7L.Q^=
- 6($P$�
,OV$>+ / $>9 / )4# - ;�$ - # � B2#�L.$C;�$>Ls)�3!+<)2=POV$ / $>17+<$ - 179 / )�lV$P9%$>9 � + -0/ $>9 / ) / #7$ - � =�'�)�3E$>1%B � 1%$C$C6 � 1%B
$>97Q7+ -0/ � )21 � Z�1^9 � ; � 97Q - L.' / $ - +K# � 1%BqO76 � = - 6 � LFMp$>1%B � 1%$C$C6 � 1%B8'(+ � $>17+<$>' - 179�97$>' � B21 +<)2Q%6H'*$>' - 6($�$�
eOV$>+ / $>9 / )
lV$j6($CB � ' / $C6H$>9�O76()�3I$>'(' � )21 - LV$>1%B � 1%$C$C6H' � 1
� - 1 - 9 - �

�!# - 1%B�$>' / ) - +C+<6($>9 �F/(-0/ � )21 / # -0/8- 6H$�Q71797$C68+<)217' � 97$C6 -0/ � )21 -0/ �! A��D�\v35)�6p3IQ / Q%6($ - +C+<6($>9 �F/(-0/ � )21�)�3
$>1%B � 17$C$C6 � 1%BqO76()�B�6 - =�' � 1
� - 1 - 9 - \ � 17+CLgQ79%$P~ N:$pDE)21 �$�������.\ �������2� �

� $>1^# - 17+ � 1%BP)2Q / +<)2=P$<Sbl - '*$>9 - '('*$>'('(=�$>1 / 3I$ -0/ Q%6($>' 3
� =�)e9 � 35M � 1%B / #%$&)�O / � )217' - ; - � L - l^L.$ / )�Q71 � ;�$C6K' �F/ � $>'@3I)2L.LF) a � 1%B - 9%$>1 �g- LR)�3 - +C+<6($>9 �F/(-0/ � )21 3
� � =PO76()�; � 17B / #%$ / $C6K=
	 �@)2=�O^LF$>=P$>1 /(- 6(M c / Q79 � $>'C{ / ) lV$ /*/ $C6:6($$&^$>+ /�/ #%$�$>'('*$>1 / �.- LW1 -0/ Q%6($p)�3 / #%$>'*$
'(� � LgL.'63 - 179X\

� 6H$C; � ' � 1%B / #7$ �*��9%; - 17+<$>9 c /(- 1^9 � 1%B%\VU?6 � )�6 c / Q79 � $>' - 179� �
%+H# - 17B�$ c / Q79 � $>'�_�$CB2Q^L -0/ � )217' ��9%),+CQ,S
=�$>1 / \7a:# � +H# � ' - '(Q%O^O^LF$>=P$>1 /E/ ) / #%$p�! E�:D ��+C+<6($>9 �F/(-0/ � )21G�@6 �F/ $C6 �.-q- 1794U?6H)e+<$>97Q76($>' �

�




���
�� 
 � ���'
 � � ��
 � 
����"
 � � ����
�� ����� ������� ��� �)����

 A17B � 1%$C$C6 � 17Bf$>97Q7+ -0/ � )21�# - 'slm$C$>186($>'*OV)2179 � 1%B / ) / $>+K#71%)2LF)�B � + - L - 9%; - 17+<$>'C\0OV)2L �F/ � + - L - 179p$>+<)21%)2= � +A6($ - L � S
/ � $>'C\ / #%$��*)�lq= - 6(��$ /W- 1^9pORQ%l^L � + � 1 / $C6($>' / � ��' -:x Q - L �F/ M S - 'H'(Q%6 - 17+<$EO76()�B�6 - =4\�$>1%B � 1%$C$C6 � 1%B - +C+<6($>9 �./(-0/ � )21
� ' - L.'()j$C;�)2LF; � 1%B � "�#%$ / 6($>1797'olV$>LF)�a�# - ;�$�lm$C$>1q)�lR'*$C6(;�$>9 � 1q$>17B � 1%$C$C6 � 17B - +C+<6H$>9 �F/(-0/ � )21 � 1p6H$>+<$>1 / M�$ - 6K' �

� � �9�7���B� 	 5�5���5�5 �B���	�
d - 1 M $>1%B � 1%$C$C6 � 1%B - +C+<6H$>9 �F/(-0/ � )21�)�6(B - 1 �Fw>-0/ � )217'�)2Q / ' � 9%$�� - 1 - 9 - \�O - 6 / � +CQ^L - 6HLFM / #%)2'*$ � 1 � 1^97Q7' / 6 �g- L
+<)2Q71 / 6 � $>'?'HQ7+H# - ' / #%$��:1 �F/ $>9 c /(-0/ $>'C\e�:Q7' / 6 - L �.- \ � - O - 1X\ - 179 � 1 / #%$� AQ%6H)�Om$ - 1P��1 � )21P# - ;�$�3I)e+CQ^'*$>9q)21
�������7���3�4 "5�5���5�5 �B���	�&* �"
�� �� "!#��� �B 85�59��

 "�/�7� � 1 / #%$ - '('*$>'('(=�$>1 / )�3v$>1%B � 1%$C$C6 � 1%B8O76()�B�6 - =�' � Z�1 �F/ '
�* A17B � 1%$C$C6 � 17B��@6 �F/ $C6 �.- ������� �,\ / #%$!�:1 �F/ $>9 c /(-0/ $>'>{ ��D! A" '(# � 3 / $>9 - a - Mp356H)2= -�/ 6 - 9 �F/ � )21 - L2O76($>'H+<6 � O / � )21
)�3qa�# -0/ $>1%B � 1%$C$C6 � 1%B O76H)�B�6 - =�'
'H#%)2Q7L.9 lV$�L � ��$�\ / ) a - 6H9 $�
 - = � 1 � 1%B / #%$�)2Q / +<)2=P$>'
)�3q$>1%B � 1%$C$C6 � 1%B
$>97Q7+ -0/ � )21 � "�#%$�)2Lg9�+<6 �./ $C6 �.- '*$ / ' /(- 179 - 6H97'E35)�6@3 - + / )�6K'@L � ��$�3 - +CQ7L / M�' �Fw $�\,+CQ%6(6 � +CQ^L - 6?6($ x Q � 6($>=�$>1 / 'C\ - 179
/ #%$ x Q - L �./ M�)�3fL - lV)�6 -0/ )�6 � $>' - 179�) / #%$C6p3 - + � L �F/ � $>' � "�#%$�17$Ca +<6 �F/ $C6 �g- 35),+CQ7'p=P)�6($�)21 / #%$�$>97Q^+ -0/ � )21 - L
)�l��*$>+ / � ;�$>'!)�3J$>17B � 1%$C$C6 � 17B8O76()�B�6 - =�' - 179 / #%$Y$C; - L.Q -0/ � )21 O76(),+<$>97Q%6($>' / ) - '(+<$C6 /(- � 1�a:#%$ / #%$C6@)�l��]$>+ / � ;�$>'
- 6($&=P$ / �  A1%B � 17$C$C6 � 1%BpO76()�B�6 - =�'f=�Q7' / 97$>=P)217' / 6 -0/ $ / # -0/f/ #%$ � 6!B�6 - 97Q -0/ $>'�# - ;�$ / #7$ - l � L �F/ M / ) � - O7ORLFM
�,1%) a�L.$>9%B�$�)�3X= -0/ #%$>= -0/ � +C'C\e'H+ � $>17+<$ - 179�$>1%B � 1%$C$C6 � 1%B73 9%$>' � B21 - 179�+<)21797Q7+ / $�
,OV$C6 � =P$>1 / '63 - 1 - LFM w $ - 179
� 1 / $C6(O76($ / 9 -0/(- 3 �<��5��1.��  5 � 5 �9� �����7����� ���/���	��� �"
 �/

���7��5�5 �9� �B�(�(� 5 � ��� �	�<���A�������/5 3e3 Q717+ / � )21
)214=�Q7L / � 9 � '(+ � O^L � 1 - 6(M / $ - =�'63 - 179X\ � 9%$>1 / � 3IM�\%35)�6K=pQ7L -0/ $ - 179�'*)2LF;�$8$>1%B � 1%$C$C6 � 1%BPO76()�l^L.$>=�' �  A1%B � 1%$C$C6 � 1%B
B�6 - 97Q -0/ $>'f=pQ7' /E- L.'*)q# - ;�$ � - 1�Q7179%$C6H' /(- 179 � 1%Bj)�3sO76()�3I$>'(' � )21 - L - 179�$ / # � + - Lm6($>'*OV)217' � l � L �./ � $>'63 - 1 - l � L �F/ M
/ )Y+<)2=�=pQ^1 � + -0/ $@$<rm$>+ / � ;�$>L.M53 / #7$El76H) - 9&$>97Q7+ -0/ � )21p1%$>+<$>'H' - 6(M / )YQ7179%$C6K' /(- 179 / #7$ � =PO - + / )�37$>1%B � 1%$C$C6 � 1%B
'*)2L.Q / � )217' � 1 - B2LF)�l - L - 179
'()e+ � $ /(- LW+<)21 / $�
 / 3 - 6H$>+<)�B21 �F/ � )21G)�3 / #%$p1%$C$>9G3I)�6>\ - 179 - 1 - l � L �F/ M / ) $>1%B - B�$
� 1X\VL � 3I$<STLF)21%B�LF$ - 6H1 � 17B73 - �,1%) a�L.$>9%B�$p)�3E+<)21 / $>=POV)�6 - 6HM � '('HQ%$>'63 - 179 / #%$ - l � L �F/ M / ) Q7'($ / #%$ / $>+H#^1 �.x Q%$>'C\
'*� � L.L.'>\ - 179
=P)e97$C6H1�$>1%B � 1%$C$C6 � 1%B / )n)2Lg'�1%$>+<$>'(' - 6HM 3I)�6�$>1%B � 1%$C$C6 � 1%BqO76 - + / � +<$�~ ��D@ E"j\ ����� � � �

+ ��.	�#�����(
0�#��.B24�(59��.	�
��179%$C6!)2Q / +<)2=P$<Sbl - '($>9�+<6 �F/ $C6 �.- \ - +C+<6($>9 �F/(-0/ � )21 )�6(B - 1 �Fw>-0/ � )217'f# - ;�$Y$>=POR# - ' �Fw $>9 $>1%B � 17$C$C6 � 1%B�9%$>' � B21 - '
- ��$CMp+<)2=POV)21%$>1 / � �:D! E" 6H$ x Q � 6($>'JO^6()�B�6 - =�' / ) � 17+CL.Q^9%$ ��� % M�$ - 6H'o)�3R$>1%B � 1%$C$C6 � 1%B / )�O � +C'C\2+<)217' � ' / � 1%B�)�3
$>1%B � 17$C$C6 � 1%BY'(+ � $>17+<$>' - 179q$>1%B � 1%$C$C6 � 1%BY9%$>' � B21 - O7O^6()�O76 �.-0/ $ / ) / #%$�' / Q79%$>1 / {�' �7$>L.9�)�3V' / Q79%M � Z�1�� - 1 - 9 - \
�! E�:D '*OV$>+ � �^$>' - = � 1 � =pQ7= )�3 ��� % - + - 9%$>= � +�Q71 �./ 'Y35)�6p$>1%B � 1%$C$C6 � 1%B�9%$>' � B21�
 - 179�$�
eOV$>+ / ' / # -0/&/ #%$
3 - +CQ7L / M / $ - +K# � 1%B�$>17B � 1%$C$C6 � 17Bq'H+ � $>17+<$ - 179�$>17B � 1%$C$C6 � 17Bq97$>' � B21�lV$j6($CB � ' / $C6H$>9�O76()�3I$>'(' � )21 - LV$>1%B � 1%$C$C6H' �

Z]1���Q7' / 6 - L �.- \ / #7$�' / 6KQ7+ / Q%6($ - 179�+<)21 / $>1 / )�3 - 1�$>17B � 1%$C$C6 � 17B8O76()�B�6 - = =�Q7' / $>17'(Q%6($ / # -0/ �F/ 'EB�6 - 97Q,S
-0/ $>' - + x Q � 6H$ -0/*/ 6 � l^Q / $>' � 17+CL.Q79 � 1%B / #%$ - l � L �F/ M / )�Q7179%$C6 /(- ��$jO76()�l^LF$>= � 97$>1 / � �R+ -0/ � )21X\,35)�6K=pQ7L -0/ � )21 - 179
'*)2L.Q / � )21X\ - 179 / )4Q / � L �.w $ - '*M,' / $>=�' - O^O76() - +H# / )497$>' � B21 - 179�)�OV$C6 -0/ � )21 - LWOV$C6(3I)�6H= - 17+<$ � c OV$>+ � �^+ - L.LFM�\
$>1%B � 17$C$C6 � 1%B�9%$>' � B21 - 179 O^6()
�]$>+ / '�'(#%)2Q7L.9 lV$ - lm)2Q / ����Om$C6K+<$>1 / )�3 / #%$ / ) /(- LfO76()�B�6 - = +<)21 / $>1 / � 1 -
/ MeO � + - Lv35)2Q%6(SbM�$ - 6�O76()�B�6 - = �

Z]1  EQ%6()�OV$�\o97Q%$ / )�+CQ7L / Q76 - L?9 � ;�$C6K' �F/ M - 1^9 - LF)21%BG# � ' / )�6(M�)�3f$>97Q^+ -0/ � )21X\o$>1%B � 1%$C$C6 � 1%B - +C+<6($>9 �F/(- S
/ � )21 - 179 / #%$ / 6($ -0/ =P$>1 / )�3�$>1%B � 1%$C$C6 � 1%B�97$>' � B214# - ;�$ /(- ��$>1G; - 6 � )2Q7'f3I)�6H=�' - 179 - O^O76() - +H#7$>'63m#7) a@$C;�$C6>\
$>1%B � 17$C$C6 � 1%BP9%$>' � B21 � 'f1%) / $>=PO^# - ' �Fw $>9 � 1 / #%$ - +C+<6H$>9 �F/(-0/ � )21
O76(),+<$>'(' � Z]1 � - O - 1X\%$>17B � 1%$C$C6 � 17B - +C+<6H$>9 � S
/(-0/ � )21P6H$ x Q � 6($>' / # -0/A- O76H)�B�6 - = $>' /(- l^L � '(# - 179P9 � '(+CLF)2'*$f+<)217+<6($ / $�LF$ - 6H1 � 1%B - 1^9P$>97Q7+ -0/ � )21 - L,)�l��]$>+ / � ;�$>'C\
� 17+CLgQ79 � 1%Bf9%$>' � B21 - l � L �F/ � $>'>\ � 18)�6H9%$C6 / )�)�6HB - 1 �Fw $!+<)2=PO76($>#%$>1^' � ;�$E'()2L.Q / � )217' / )�'()e+ � $ /(- L,1%$C$>9^'JleM&$�
,O^LF) �F/ S
� 1%BP; - 6 � )2Q^'�9 � 'H+ � O^L � 17$>'A)�3�'(+ � $>1^+<$�\ - ':aE$>L.L - '�; - 6 � )2Q7' / MeOm$>'�)�3 / $>+H#71%)2L.)�B�M - 179 � 1%35)�6K= -0/ � )21 � c � = � L - 6

��
���������������������� �"!�#$���%� �&#$�"!(')�%*+#$!��,�&�%-��&�%*+� �/.&*102�/3 ��45�6�7.&���8�:9;� �=<6>?>@-��&��!��=<6AB<��"',�%��!�#$�"� � �&#$�"!(')�%*+#$!��C.&��!�� .&��� �
D #E.&�F�%��!�#$�"�%�G�&#?��!1*+H%#$�%��H%�%*IA8J"*K.MLN�PO�Q�QR���

%



/ ) �! E�:D�\ � - O - 1 '*OV$>+ � �7$>' x Q - 1 / �F/(-0/ � ;�$
+CQ%6H6 � +CQ7L.Q^= 6($ x Q � 6($>=�$>1 / ' � 1 a:# � +H# $>17B � 1%$C$C6 � 17B�9%$>' � B21 � '
6($CB - 6H97$>9 - ' - 1 � =POV)�6 /(- 1 / $>L.$>=P$>1 / 35)�6�+<$C6 /(- � 1�$>1%B � 17$C$C6 � 1%BqO76()�B�6 - =�' �

���	����

�/ �9�1�	�� "!#���7 �
���	�
�YLF)�l - L �Fw>-0/ � )21�# - 'YlV$C$>1 - 1�Q^179%$>1 �.- lRLF$&O^#%$>17)2=P$>1%)21 � 1
$>17B � 1%$C$C6 � 17B�O76()�3I$>'(' � )217'C\ - 'j= - 6(��$>9�leM / #%$
� 1 / $C6H1 -0/ � )21 - Lf=P)�l � L �./ M )�3�O76 - + / � + � 1%B�$>1%B � 17$C$C6H' - 179�' / Q^9%$>1 / ' � d4)�6H$ - 179�=P)�6H$�$>97Q7+ -0/ � )21 - L � 17' / � S
/ Q / � )21^'�# - ;�$�' � B21%$>9 - B�6($C$>=P$>1 / '�)�38+<)2L.L - lV)�6 -0/ � )21 a �F/ # � 17' / �./ Q / � )217'P)�38) / #%$C6�+<)2Q71 / 6 � $>' � Z]1 =P)2' /
$>1%B � 17$C$C6 � 1%BG3 - +CQ7L / � $>'C\ � 1 / $C6H1 -0/ � )21 - L@' / Q797$>1 / 'q# - ;�$ lV$>+<)2=P$ - 1 � 1 / $CB�6 - L@O - 6 / )�3 / #%$�' / Q79%$>1 / lm),9%M �
��LF)21%B�a �F/ # / #%$>'*$j9%$C;�$>LF)�OR=P$>1 / '>\ � 1 / $C6H1 -0/ � )21 - L - B�6($C$>=P$>1 / 'f)21�$>1%B � 1%$C$C6 � 1%B8$>9^Q7+ -0/ � )21X\ - +C+<6($>9 �./(-0/ � )21
- 179�O^6 - + / � +<$&# - ;�$&lV$C$>149%$C;�$>LF)�OV$>9 � [Y17$�)�3 / #%$!�^6H' /�- B�6($C$>=P$>1 / '�a - '�' � B21%$>9 � 1 �$#�� �,\RlnM / #%$p�! E�:D
- 179 / #%$j A17B � 1%$C$C6 � 17Bp��+C+<6($>9 �F/(-0/ � )214�@)2=�= � '(' � )21�~  E�����A)�3s��D@ E"j\,a�#%$C6($ / #%$ / a@)PO - 6 / � $>'@=�Q / Q - LgLFM
6($>+<)�B21 �.w $ / #%$�B�6 - 97Q -0/ $>'�)�3 - L.L?$>17B � 1%$C$C6 � 17B�O76()�B�6 - =�' - +C+<6($>9 �./ $>9 leM�$ - +H# O - 6 / M � � =pQ7+K# l^6() - 9%$C6
=�Q / Q - L�6H$>+<)�B21 �F/ � )21 - B�6($C$>=P$>1 / \�$>1 / �F/ LF$>9 �*_�$>+<)�B21 �F/ � )21 )�3& x Q � ; - LF$>1^+<M )�3& E1%B � 1%$C$C6 � 1%B� A9^Q7+ -0/ � )21
�@)2Q%6K'*$>' � U?6H)�B�6 - =�' �v$ - 9 � 1%B / ) / #%$q��+C+<6($>9 �F/ $>9� A17B � 1%$C$C6 � 17B�N�$CB�6($C$�\ � - L.'()��,1%) a:1 - ' / #7$ ��- '(# � 1%B0S
/ )21 �:+C+<)�6H9v\Wa - '�9%$C;�$>LF)�OV$>9 '*$C;�$C6 - LAM�$ - 6H' - B�) � c $C;�$C6 - LA+<)2Q71 / 6 � $>'p)�686($CB � )217'C\ � 17+CL.Q79 � 1%B��:Q7' / 6 - L �.- \
� $Ca um$ - L - 179v\s� - 1 - 9 - \ / #%$���1 �F/ $>9 c /(-0/ $>'C\vZ�6($>L - 179X\ / #7$q��1 �F/ $>9 � � 1%B29%)2=�\ t )21%B(�j)217B - 1^9 c )2Q / #
�:356 � + - \Aa@$C6($4' � B21 -0/ )�6 � $>'�)�3 / #%$4��+C+<)�6H9 � Z]1 �2Q71%$ ����� � \���$C6H= - 1nM�\fd - L - Me' �.-�- 179 c � 17B - Om)�6H$�a@$C6($
- 97= �./*/ $>9 - '�1%$Ca =P$>=8lV$C6H' � c $C;�$C6 - LX) / #%$C6�+<)2Q71 / 6 � $>' - 6($p+CQ%6(6($>1 / LFM � 149 � '(+CQ^'(' � )217' / )-�*) � 1 / #%$ ��- 'H#,S
� 1%B / )21 ��+C+<)�6H9 � �&Q a - �F/ \ / #%$��:1 �F/ $>9 �:6 - l  A= � 6 -0/ $>' - 1^9 ) / #%$C6�d � 9797L.$<ST - ' / +<)2Q^1 / 6 � $>'p# - ;�$�Q7'*$>9
��D@ E" +<6 �F/ $C6 �.- 35)�6�$�
 / $C6H1 - L - '('*$>'('H=P$>1 / )�3 / #7$ � 6�$>1%B � 17$C$C6 � 1%BqO76()�B�6 - =�' �

� ���  "�/� ���<�/�(�  �
� �	� � 
9��."

 ��35
_ - O � 9&9%$C;�$>LF)�OR=P$>1 / � 1 / $>+K#71%)2LF)�B�M&# - 'sLF$>9 / ) / #%$E35)�6K= -0/ � )21&)�371eQ7=P$C6H)2Q7'J1%$Ca $>1%B � 1%$C$C6 � 1%B�9 � 'H+ � O^L � 17$>' �
 A=�O^LF) M�$C6K' - 6($
1%)�a 9%$>= - 1^9 � 1%B�$>1%B � 17$C$C6H'qa �F/ # '*OV$>+ �.- Lf'(� � LgL.' � 1 / #%$>'*$
9 � '(+ � O^L � 1%$>' � ��+C+<6($>9 �./(-0/ � )21
)�6(B - 1 �.w>-0/ � )217'A# - ;�$�6H$>'*OV)2179%$>9 / ) / #7$�1%$C$>97'A)�3 / #7$�$>1%B � 1%$C$C6 � 1%B&+<)2=�=�Q71 �F/ MqlnM - +C+<6($>9 �./ � 1%B / #%$>'*$�1%$Ca
$>1%B � 17$C$C6 � 1%BGO76()�B�6 - =�' � N � 'H+ � O^L � 17$>' - +C+<6($>9 �./ $>9 � 1 / #%$�O - ' / 9%$>+ - 97$ � 17+CL.Q79%$�+<)2=PO^Q / $C6q$>1%B � 17$C$C6 � 1%B%\
B�$C)2= -0/ � +E$>1%B � 17$C$C6 � 1%B%\�) � L - 1798B - 'J$>1%B � 1%$C$C6 � 1%B%\ '*)�3 / a - 6($E$>17B � 1%$C$C6 � 17B - 179&$>1n; � 6()217=P$>1 /(- L�$>1%B � 17$C$C6 � 1%B �
[ / #%$C6:1%$Ca�LFM - +C+<6($>9 �F/ $>9�$>17B � 1%$C$C6 � 17B�O^6()�B�6 - =�'�# - ;�$&$>=P$C6HB�$>943I6()2= =pQ^L / � 9 � 'H+ � O^L � 1 - 6(Mpa@)�6(�m\7'(Q7+K# - '
+H#7$>= � + - L - 179ql � )2LF)�B � + - Le$>1%B � 1%$C$C6 � 1%B%\0$>1%B � 1%$C$C6 � 1%BY'*Me' / $>=�' - 179P+<)2=PORQ / � 1%B%\�+H#7$>= � + - L`ST+ � ; � L`ST+<)2=�O^Q / $C6*S
=P$>+K# - 1 � + - L`ST= - 1nQ%3 - + / Q%6 � 1%B
$>1%B � 1%$C$C6 � 1%B%\�$ / + � Z / � 'p$�
eOV$>+ / $>9 / # -0/ \ � 1 / #%$ 3 Q / Q%6($�\?=P)�6H$ � 1^1%) ; -0/ � ;�$
$>1%B � 17$C$C6 � 1%Bq$>97Q7+ -0/ � )21�O76()�B�6 - =�'fa � L.LmlV$&9%$C;�$>LF)�OV$>9 - 179 - +C+<6($>9 �F/ $>9 �

�  8
��
����
95 �/��� �1� +-�<�/�7 �
���	�
Z]1 / $C6 - + / � )217' - 179
O - 6 / 1%$C6H'(# � O^'flV$ / a@$C$>1�$>1%B � 1%$C$C6 � 1%B�'H+H#%)e)2L.' - 179
)2Q / ' � 9%$�' /(- ��$<ST#%)2L.9%$C6K'C\X'(Q7+H# - ' � 1,S
97Q7' / 6(M�\ - 1^98$>1%B � 1%$C$C6 � 1%Bf)�6HB - 1 �Fw>-0/ � )217' - 179 - '('*),+ �.-0/ � )217'>\ # - ;�$!lm$C$>186 - O � 9^LFM:9%$C;�$>L.)�O � 1%B - 1798' / 6H$>1%B / #,S
$>1 � 17B � "�#%$pO - 6 / 1%$C6H'(# � O^' � 1
$>1%B � 1%$C$C6 � 1%B�$>97Q7+ -0/ � )21�# - ;�$PlV$C$>1
)21%B�) � 1%B � 1 / aE) - 6H$ - ' ��~�����O76H) ; � 9 � 1%B
$>1%B � 17$C$C6 � 1%B�' / Q79%$>1 / 'oa �F/ #p6($ - L`Sba@)�6HL.9�O76 - + / � + - Ln$�
,OV$C6 � $>17+<$ - ' - 1 � 1 / $CB�6 - LeO - 6 / )�3 / #%$ � 6 - + - 9%$>= � +!O76()0S
B�6 - = 3 - 1794~������ � 1 ; �F/ � 17B:O76 - + / � + � 1%B�$>1%B � 1%$C$C6K'o)21 / ) - 97; � '()�6(M - 179P97$>+ � ' � )21,ST= - � � 17B:lV),9 � $>' / # -0/ +<)21 / 6()2L
/ #%$!$>1%B � 17$C$C6 � 1%B�+CQ%6(6 � +CQ^L.Q7= � "�# � ' / 6H$>179q# - 'o+H# - 1%B�$>9 / #7$!+CQ76(6 � +CQ7LgQ7= - 179q9%$>L � ;�$C6(Mj)�3^$>1%B � 1%$C$C6 � 1%B:$>9,S
Q7+ -0/ � )21v\ - +C+<$>LF$C6 -0/ $>9 / #7$@$>=�O^# - ' � 's)21q$>1%B � 17$C$C6 � 1%B�9%$>' � B21 - 179�O76()
�*$>+ / Sbl - '*$>9PL.$ - 6H1 � 1%B%\ - 179�O76H)2=P) / $>9
/ #%$ � 17+CL.Q7' � )21�)�3 �*'*)�3 / ��'*� � L.L.'!'(Q^+H# - '�+<)2=�=pQ71 � + -0/ � )217'C\ / $ - =pa@)�6(� - 179�O76H)
�]$>+ / = - 1 - B�$>=P$>1 / �

 



8 �98 ) ;>� �=;42D�"+0���7F4F4!&2GF +-#�� #&�.+�#&2D2D� +-#&� �(#&%�� #&�"+-#&2D2D� +�#&� ( 2DF>+0�"#�� %��
!&�1�=; +0�.#

� - 1 - 9 �.- 1�$>17B � 1%$C$C6 � 17Bp$>97Q^+ -0/ � )21�# - '!lV$C$>1 'HQ7+C+<$>'('*3 Q7L -0/ O76(),97Q7+ � 1%B8B�6 - 97Q -0/ $>'!a�#7)%\e)�;�$C6 / � =P$�\%# - ;�$
+<)21 / 6 � l^Q / $>9 / )
� - 1 - 9 - {�'j# � B2#�' /(- 179 - 6H9�)�3AL � ; � 1%B � t ) a@$C;�$C6>\s$>1%B � 1%$C$C6 � 1%B�$>97Q^+ -0/ � )21�=pQ^' / +<)21 / � 1eQ%$
/ ) - 9%; - 17+<$�\W97Q%$ / ) / #%$P6 - O � 9�O - +<$�)�3!+H# - 1%B�$ � 1�$>17B � 1%$C$C6 � 17B - 1^9 / $>+H#71%)2L.)�B�M ~ DE$>LgL|\ ������� �K\ / #%$ � 1,S
+<6($ - ' � 1%B2LFM�+<)2=�Om$ / �./ � ;�$YB2LF)�l - LV$>+<)21%)2=pM - 179 / #%$jB�6()�a � 1%BPO76H$>'('(Q%6($�)21 / #%$&'*),+ �.- L - 179�$>1n; � 6()217=P$>1 /(- L
9 � =�$>17' � )217'@)�3 x Q - L �F/ M )�3oL � 3I$ �

 E1%B � 1%$C$C6 � 1%BP$>97Q7+ -0/ � )21
a - '�L - 6(B�$>L.M O^6 - + / � +<$<Sb)�6 � $>1 / $>9G356()2= �F/ ' � 17+<$CO / � )21 / #%6()2Q%B2# / ) / #%$�= � 9797L.$
)�3 / #%$ ��� / # +<$>1 / Q%6(M ~b�!6 - a�L.$CM�\ �������2� � Z / a - '&97Q%6 � 1%B - 1^9 - 3 / $C6 � � Z(Z / # -0/ $>17B � 1%$C$C6 � 17B $>9^Q7+ -0/ � )21
'(# � 3 / $>9 �F/ 'E35),+CQ7' / )q$>17+<)2=PO - '('!=P)�6H$:3 Q7179 - =�$>1 /(- L - 179 B�$>1%$C6 - L �.w>- l^LF$ / )e)2L.' - 179 - O7O76H) - +H#%$>'C\%'*ORQ%6(6($>9
leM / #7$�a�6 �./ � 1%B2'�)�3XN�6 � % � D!Q7'(#
~ D!Q7'H#X\ �$# � % � - 179 / #7$:+<6($ -0/ � )21�)�3 / #%$ �:-0/ � )21 - L c + � $>1^+<$�h%)2Q7179 -0/ � )21 �
� # � LF$ / # � '?'(# � 3 / # - 'ALF$>9 / ) - 1�$�
eO^L.)2' � )21P)�3X�,1%) a:LF$>9%B�$�\ �F/ # - ' - L.'*)8# - 9 / #%$:Q71%3I)�6 / Q71 -0/ $�+<)217'*$ x Q%$>17+<$
)�3 �<�15�� ���<�������9�#�/. ����.	�#�����(
0�#��. �(���/�7 �9�1��� * 

��� �/

 8���9�1�7� - 179�lV$>+<)2= � 1%B � 17+<6H$ - ' � 1%B2LFM�3I),+CQ7'*$>9
)21�$>1%B � 1%$C$C6 � 1%BP'(+ � $>17+<$�~b�@6 - a�LF$CM�\ �������2� �

"�#7$C6($:# - 'ElV$C$>1 - B�6() a � 1%B - a - 6($>1%$>'('@)�3 / #%$ � '('(Q7$>'?3 - + � 1%B8$>17B � 1%$C$C6 � 17B&$>97Q7+ -0/ � )21 � �:'E3 - 6@l - +H� - '
�$#�%�% \ / #%$8��6 � 1 / $C6�_�$COV)�6 / ~b�Y6 � 1 / $C6>\ �$#�%�% � ��# ���$�$
 ��� � / #%$j1%$C$>9 / )P$>17'(Q%6H$ / # -0/ +CQ76(6 � +CQ7L - +<)21 /(- � 1 � � 1,S
/ $CB�6 -0/ $>9�' / Q797Mp)�3V$>1%B � 17$C$C6 � 1%B&9%$>' � B21X\ - 1 - L.Me' � ' - 179�$>1%B � 1%$C$C6 � 1%B&'(Me' / $>= � 3 �*+<)21 / � 1eQ � 1%B%\e+<)217+<$>1 / 6 -0/ $>9
$<rV)�6 /?/ )&' / 6($>17B / #%$>1 - 179 � 1 / $CB�6 -0/ $�a@)�6(� � 1 / #%$�#eQ7= - 1 � ' / � + - 179P'*),+ �.- L%'(+ � $>17+<$>' � 3 � - 1 � 1^' � ' / $>17+<$fQ%OV)21
/ #%$&9%$C;�$>L.)�O^=P$>1 / )�3 - # � B2# L.$C;�$>LX)�3JOV$C6(3I)�6H= - 17+<$ � 1 / #7$j)�6 - L|\%a�6 �./*/ $>1 - 1^9�B�6 - O^# � + - LX+<)2=�=pQ71 � + -0/ � )21
)�3 � 9%$ - ' � 3 - 179v\ � / #%$P$>17+<)2Q%6 - B�$>=�$>1 / )�3E$�
eOV$C6 � =P$>1 / ' � 1 - L.L - 6($ - '&)�3A$>1%B � 17$C$C6 � 1%B $>97Q7+ -0/ � )21 � � d
)�6($
6($>+<$>1 / a@)�6(��# - '�+<)21 �76K=P$>9 - 179�$�
 / $>179%$>9 / # � '!; � $Ca / ) � 17+CLgQ79%$ / #%$&1%$C$>9�3I)�6:=P)�6H$&=pQ7L / � 9 � '(+ � O^L � 1 - 6HM
$>97Q7+ -0/ � )21�~b�!6 - a�L.$CM�\ �������2� � [Y1%$�=pQ7' /@- '*��a�#nM / #%$>'*$j1%$C$>97'!# - ;�$Y17) / lV$C$>1�=P$ / 35)�6f1%$ - 6HL.M % �pM�$ - 6K' �

��'pD@)�6H97)�B21 - ~ �$#�#)� ��' - M,' ���*"�#%$�$>1%B � 1%$C$C6q=pQ^' / lV$ - l^L.$ / )�aE)�6(� - +<6H)2'('q= - 1 M�9 � rm$C6H$>1 / 9 � '(+ � S
O^L � 1%$>' - 179 �7$>Lg97' � "J)2=�)�6(6() a8{�'P$>1%B � 1%$C$C6K'pa � L.LA17$C$>9 / )�Q7'($ - lR' / 6 - + /P- 179 $�
eOV$C6 � $>1 / �.- L@LF$ - 6H1 � 1%B%\ / )
a@)�6(� � 179%$COV$>179%$>1 / LFM - 179 � 1 / $ - =�'C\ - 1^9 / )�=P$>L.9�$>17B � 1%$C$C6 � 17Bq'H+ � $>17+<$ - 1794$>1%B � 1%$C$C6 � 1%BqO76 - + / � +<$ � �

"s)2=P)�6(6()�a&{�'�$>1%B � 1%$C$C6H'o=pQ^' / lm$ - l^LF$ / )&+<)�OV$!a �F/ #�O76()�l^L.$>=�' - 1^9�+K# - L.LF$>17B�$>'�' � B21 � �R+ - 1 / LFM&9 � rm$C6H$>1 /
3I6()2= / #%$ � 6oO76($>97$>+<$>'('*)�6H' � "�#7$@$>17B � 1%$C$C6 � 17B:O76H)�35$>'(' � )21q'(#%)2Q7L.9plV$f+CLF)2'*$>LFM � 1 / $CB�6 -0/ $>9Pa �F/ #�l^Q7' � 1%$>'(' - 179
'*),+ � $ / M43 $>17B � 1%$C$C6 � 17B:' / Q797$>1 / 'o=�Q7' / LF$ - 6H1 / # -0/ $>1%B � 1%$C$C6 � 1%B - 1^9p$>17B � 1%$C$C6 � 17B:9%$>' � B21p'(#7)2Q7L.9p)0rm$C6�; - L.Q%$
/ )�lV) / # � 1^97Q7' / 6(M - 179 '*),+ � $ / M � ��1 � 1797Q7' / 6(M Sbl - '*$>9�; - L.Q%$�O^6()�OV)2' �F/ � )21 � 'pQ^'(Q - L.LFM�$ - '*M / ) x Q - 1 / � 3IM �
/ #%$�1%$Ca '()2L.Q / � )21�9%$>+<6($ - '($>'&+<)2' / 'C\ � 17+<6($ - '*$>'YO^6()�� / 'Y)�6&+<)21%3I$C6H' - 1%$Ca + - O - l � L �F/ M43I)�6ja�# � +K# / #%$C6($ � '
- 97$>= - 179 � �k'*)e+ � $ /(- LJ; - L.Q%$&O^6()�OV)2' �F/ � )21�+ - 1717) / lV$8' /(-0/ $>9�'*)�'HQ7+C+ � 17+ / LFM�\^l^Q / � '�)�3 / $>1G$>=8lV$>9797$>9 � 1
/ #%$&6H$CB2Q7L -0/ )�6(M $>1 ; � 6()21^=P$>1 / � 1�a�# � +K# / #%$&$>1%B � 17$C$C6 � 1%BqB�6 - 97Q -0/ $ - 1794# � ' � #%$C6!$>=PO^LF)�M�$C6�)�OV$C6 -0/ $ �

"EMnO � + - L.LFM�\e3 - +CQ^L / M�=�$>=8lV$C6H' � 1�� - 1 - 9 �g- 1 - 179�� � c � Q71 � ;�$C6H' �F/ � $>'A97)�1%) / # - ;�$&' � B21 � �^+ - 1 / � 1797Q^' / 6(M
$�
,Om$C6 � $>17+<$ � [Y1 / #%$:) / #7$C6!# - 179X\nQ^1 / � L^6($>+<$>1 / LFM�\ � � / ) �$% M�$ - 6H' � 1 � 1797Q7' / 6(Mpa - ' / #%$�6HQ7LF$ � 1���$C6K= - 1 M
/ )�lm$>+<)2=�$ - 1 $>1%B � 17$C$C6 � 1%B4O^6()�35$>'H'*)�64~ �:L /(- 1v\ ����� � � � c )2=P$�'(+K#%)n)2Lg'p# - ;�$ � =PO^LF$>=�$>1 / $>9 - + / � ;�$�O76()0S
B�6 - =�' / )�$>17B - B�$�3 - +CQ^L / M - 179�' / Q79%$>1 / 'Ya �F/ # � 179^Q7' / 6(M ~ N�$>1 / )21 - 179 t Q /*w $>L|\ ����� � �K\W'() - ' / )�$>1^'(Q%6($
/ # -0/ 3 - +CQ7L / M - 6H$&3 - = � L �.- 6!a �F/ # / #7$8=P),9%$C6H1�= - 1eQ%3 - + / Q%6 � 1%Bq$>1n; � 6()217=P$>1 /�- 1794+CQ%6H6($>1 /f/ $>+K#71%)2LF)�B�M �

Z]1 / #%$&'*$>+ / � )21^'!lm$>L.) a&\ / #%$j= - �*)�6 � 'H'(Q%$>' - 179�'*)2=P$&'(Om$>+ � �^+Y+H# - L.L.$>1%B�$>'!3 - + � 1%BP$>1%B � 1%$C$C6 � 1%B�$>97Q7+ - S
/ � )21 / )e9 - M - 6($:9 � '(+CQ7'('($>9 � "�#7$>'*$ � 17+CLgQ79%$ � / #7$�1%$C$>9�3I)�6@3 - +CQ7L / Mq6($>1%$Ca - L 3 / #%$�' / 6HQ^+ / Q%6($�)�3X$>1%B � 1%$C$C6 � 1%B
O76()�B�6 - =�'fleM 9 � '(+ � O^L � 1%$ - 179
'(Q%l��*$>+ / 3 / #%$&O - +<$8)�3W+K# - 1%B�$ 3R+<)2=�Om$ / �./ � )21 3 - 179 � 1^1%) ; -0/ � )21 �


�� 
 ��
 	 � � ��� �
	 � �'
 ��� �
�
�:O7O76() 
 � = -0/ $>LFM�)21%$<S / # � 6H9G)�3�$>1%B � 17$C$C6 � 1%B�3 - +CQ7L / M � 1 / $>1nQ%6H$>9
)�6 / $>1nQ76($<S / 6 - +(�GOV)2' �F/ � )217' � 1�� - 1 - 9 �.- 1
Q71 � ;�$C6H' �F/ � $>' - 6($�) ;�$C6 / #%$ - B�$�)�3 % � - 179X\ / #nQ7'>\AL � ��$>LFM / )�6H$ / � 6($�a �F/ # � 1 / #%$�1%$�
 / �$% M�$ - 6H'
~b���!UE �\

�



����� � � � [�;�$C6 - L.L|\7Q^179%$C6(B�6 - 9^Q -0/ $j$>1%6()2L.Lg=P$>1 / � 1^+<6($ - '*$>9�leM 17$ - 6HLFM ���POV$C6H+<$>1 / 356()2= �$#�#)� / ) ����� � \ - 179
= - M�Om) / $>1 / �.- L.L.M�B�6()�aklnM - 3 Q%6 / #7$C6 ����� � � Om$C6K+<$>1 / lnM ��� ��� ~b���!UE �\ ����� � � � ��1 - 97$ x Q -0/ $q'(Q%O^O^LFM�)�3
3 - +CQ7L / M�\^35)�6�B�6H) a / #
)�6�$C;�$>1
6H$CO^L - +<$>=P$>1 / \ � 'fQ71^+<$C6 /(- � 1 �

Z]1 / #%$:O - ' / 35$Ca 9%$>+ - 9%$>'>\ / #%$ / $>1eQ%6($ - 179�O76()2=�) / � )21�'*Me' / $>= # - ' / $>179%$>9 / )q6($Ca - 6K9 - 6K+H# � ; - LmO^Q%l%S
L � + -0/ � )217'C\ - 179417) / � 1 / $C6 - + / � )21�a �./ # � 1797Q^' / 6(M � h - +CQ7L / M -0/�- L.LvL.$C;�$>L.'fa@$C6($&6($>L.Q^+ /(- 1 /�/ ) - 979 � 1^97Q7' / 6 �g- L
� 1n;�)2LF;�$>=P$>1 /E/ ) / #%$ � 6 - LF6($ - 97M�+<)217' � 97$C6 - l^LF$�a@)�6(�,LF) - 9 - 179 / )qO^L - +<$�OV)2'(' � lRLF$�6($>' / 6 � + / � )217'A)21 - + - 97$>= � +
3I6($C$>9%)2=�\7'(Q^+H# - ' / #%$&3I6($C$>9%)2= / )�ORQ%l^L � 'H#�6($>'HQ7L / '&~ D@$ - Q%3 - �F/ \ �$#�#)� � �

"�#7$q' � B21 � �^+ - 1 /�/ Q76H1%) ;�$C68)�3A3 - +CQ7L / M � 1 / #%$P1%$ - 6j3IQ / Q%6($ - 179 / #%$qOV) / $>1 / �.- Lo1%$C$>9�3I)�6Y3 - +CQ^L / M�O76()0S
; � 9%$>' - 1�)�O^Om)�6 / Q71 �F/ M
3I)�68+H# - 17B�$ � [�;�$C6 / #%$�1%$�
 / �$% M�$ - 6H'>\ / #%$�+K# - 17+<$�$�
 � ' / ' / ) / 6 - 17'(35)�6H= # � 6 � 17B
1%)�6H=�'C\ - 1^9GO^6()2=P) / � )21 - 179 / $>1nQ76($pOV)2L � + � $>' � Z]17' / $ - 9v\ � 1 / $C6 - + / � )21�a �F/ # � 1797Q7' / 6HM�= - M
lV$�6($Ca - 6H9%$>9X\
� 1�)�6K9%$C6 / ) -0/*/ 6 - + / � 179^Q7' / 6 �.- LR$�
,Om$C6 / � '*$ - 179 / )�6($>' / 6HQ^+ / Q%6($8+<)2Q%6K'*$>' / )�lV$ /*/ $C6:6($$&7$>+ /�/ #7$ / $ - =8a@)�6(�m\
+<)2=�=�Q71 � + -0/ � )21 - 179q+<)2L.L - lV)�6 -0/ � )21q'*� � L.L.'W9%$>= - 1^9%$>9�lnM � 1797Q7' / 6(M - 179P'*),+ � $ / M�~b��6 � 1 / $C6>\ �$#�%�% 3 N�$>1 / )21X\
�$#�#)� 3RD@$ - Q%3 - �F/ \ �$#�#)� 3RD@$>L.L|\ ������� � �

�� 
 � 
 � �)�M�	� ��� ������� � �)� ��� � 	�� ��� � ��� ����
 � � 
 � � ���
	 � � �
 A17B � 1%$C$C6 � 17BGO76H)�B�6 - =�' -0/ � - 1 - 9 �.- 1 Q71 � ;�$C6H' �F/ � $>' - 6($4' / 6HQ7+ / Q76($>9 lnM l76() - 9 $>1%B � 1%$C$C6 � 1%B�9 � 'H+ � O^L � 17$>'
- 179X\ -0/j/ � =P$>'C\vleMG'HQ%l%ST9 � 'H+ � O^L � 17$>' � ~b���!UA �\ �������n� � 97$>1 / � �^$>' - O^O76()	
 � = -0/ $>L.M �  �9 � rm$C6($>1 / 1 - =P$>'j3I)�6
- + / � ;�$>LFM - +C+<6($>9 �F/ $>9�$>17B � 1%$C$C6 � 17B�O76H)�B�6 - =�' � 1�� - 1 - 9 - �  A;�$>1�lnMGB�6()2Q%O � 1%B / #7$>'*$ � 1 / )�' � = � L - 6 �7$>L.97'C\
/ #%$C6($ - 6($
' / � LgL �$� 9 � rV$C6($>1 / 9 � '(+ � O^L � 1%$>' � � L - 6(B�$41nQ^=8lV$C6P)�3YO76()�B�6 - =�'C\@=�)2' / )�3�a�# � +K# - 6($4# � B2#^LFM
'*OV$>+ �.- L �.w $>9X\%' � =PO^L.M�9%)�1%) / � / $ - ' � LFM � 1 / ) - 1 M�+ -0/ $CB�)�6(M ~b���fUA �\ ����� � � �

� $ - 6HLFM - L.L �  �� - 1 - 9 �g- 1�$>1%B � 1%$C$C6 � 1%B4'(+K#%)n)2Lg' - 6($ 9%$CO - 6 / =P$>1 /(- L �Fw $>9 � "�# � '&LF$ - 97' / )G'*$CB�6($CB -0/ � )21
)�3!3 - +CQ^L / M - 179 ' / Q79%$>1 / '&a �./ # � 1�9 � 'H+ � O^L � 17$8lV)2Q7179 - 6 � $>' � ��' - 6H$>'(Q7L / \ - + - 9%$>= � + / $ - =�' - 179 O76()
�*$>+ / '
6 - 6($>L.MP$>1%B - B�$�' / Q79%$>1 / 'E3I6()2= =pQ7L / � O^LF$f$>1%B � 1%$C$C6 � 1%Bp9 � '(+ � ORL � 1%$>'o)�6!' / Q79%$>1 / 'E356()2= )2Q / ' � 9%$�$>1%B � 17$C$C6 � 1%B �
��':�@) -0/ $>'q~ ������� �fO^Q / ' �F/ �

�*"�#%$�L - ' / # - LF3V)�6!=�)�6($:)�3 / #%$ ��� / #�+<$>1 / Q%6(M�\%#%)�aE$C;�$C6>\7# - 'E3I)2Q7179 / # -0/@/ #%$:a@)�6HL.9�)�3vO76 - + S
/ � + - L - O^O^L � + -0/ � )21^' � ' � 17+<6($ - ' � 1%B2LFM�+<6()2'('*ST9 � '(+ � ORL � 1 - 6(M�\ - 179 $C;�$>1 =P)�6($ 6 - O � 97L.M�lV$>+<)2= � 1%B
� 1 / $C6H9 � '(+ � O^L � 1 - 6(M � "�#%$ � 1 / $CB�6 -0/ � )21 - +<6()2'(' �7$>L.9^' � 1 / #7$�a@)�6HL.9�)�3fO^6 - + / � + - L - O7O^L � + -0/ � )217'
� '�)�3 / $>1
9%$>L - M�$>9GQ^1 / � L / #%$&$>1%B � 17$C$C6:# - ':=P) ;�$>9 � 1 / ) - �*)�l
6 -0/ #7$C6 / # - 1
lm$ � 1%BPO - 6 / )�3?# � '
)�6Y#%$C6YQ71 � ;�$C6K' �F/ M $>97Q7+ -0/ � )21 � ��1 � ;�$C6H' �./ � $>' / )�=P$C$ /:/ #7$ � 6�)�l^L � B -0/ � )217' / )�' / Q797$>1 / ' - 179 / )
'()e+ � $ / M�1%$C$>9 / )�=�) ;�$ / )�a - 6H9 / 6HQ%$ � 1 / $C6H9 � '(+ � O^L � 1 - 6 �F/ M � �

"�#7$q17$C$>9�35)�6 / 6HQ7$ � 1 / $C6K9 � '(+ � ORL � 1 - 6 �./ M � 'Y9%6 � ;�$>1�leM � 17+<6H$ - '*$>9�LF),+ - L - 179�B2LF)�l - Lo+<)2=POV$ / �F/ � ;�$>17$>'('C\
lV) / #�lV$>+ - Q7'*$ � 179^Q7' / 6(M � 'A6H$Ca - 6H97$>9�3I)�6EB�$ /*/ � 17B / )q= - 6(��$ / �76H' / ~ �76H' / ST=�) ;�$C6 - 9%; - 1 /(- B�$�� - 179�lV$>+ - Q7'*$
= - 6(��$ / ' - 6($�1%)4LF)217B�$C689%$��^1%$>9�B�$C)�B�6 - OR# � + - L.LFM ��� � �3��� �4� �/�15 �/�(��� � �/

���<�/��� 
9�� "!#���7 �9�1��� �/ 85
� ���7���B�6 �3��
9� �7���/� �/
9

���	�B "�/� !1��5�5B!#�#�/�( 8
 �<
9���7��5�5 �1� �B�"5 � �7��� �< "�<�1�(5N�&
9� � �<��
0�#��.  
!1 8

."�A�  8
0�1� � � ��*�5�@ �#!#!�5 �	� � �/� �< 8
�� �"*)� ���A�<��5��1.�� �9�( �� � Z]1 - 979 �F/ � )21X\ / #%$�B�6H$ -0/ $>' / 6 -0/ $�)�3
� 1717) ; -0/ � )21 - 179�$>=PO^L.) M,=P$>1 / � '@1%) a � 1�'H= - L.L`S / )q=P$>9 � Q7=qST' �Fw $>9�$>1 / $C6(O^6 � '*$>' � "�#7$>'*$�)�6(B - 1 �Fw>-0/ � )217'E6($<S
x Q � 6($f$>=PORLF) M�$C$>' / )p# - ;�$:+<)217' � 9%$C6 - l^L.$@3 - = � L �.- 6 �F/ M8a �F/ # - L.L - '*OV$>+ / '?)�3v97$>' � B21 � �@)2=PO - 6 / =P$>1 /(- L �Fw>-0/ � )21
� 'f1%)�LF)21%B�$C6 - 1�)�O / � )21 �

Z]1 - '(Q%6H;�$CM4)�3 � � ��� � 17' / �F/ Q / � )217'>\ / #%$q=P)e9^Q7L - 6 �Fw>-0/ � )214)�3A9%$CB�6H$C$>' / $>1^9%$>9 / )�L � = �F/ +<)e)�Om$C6 -0/ � )21
- 179 = - ��$ '(Q7' /(- � 1 � 1%B =�Q7L / � 9 � '(+ � ORL � 1 - 6(M O76()
�*$>+ / '49 � ��+CQ7L / ~ N:$>1 / )21X\ �$#�#)� � � ~ � � 1%B ~ �$#�#�% � - 6HB2Q%$>'
/ # -0/E/ #%$�3I6 - B2=P$>1 /(-0/ � )21�)�3X$>1%B � 1%$C$C6 � 1%B&9 � '(+ � O^L � 1%$>'o' / � &7$>'�$>1%B � 17$C$C6 � 1%B&9%$>' � B21�+<6($ -0/ � ; �F/ M / #%6()2Q%B2# � / #%$
1 - 6(6H) a@$C6�OV$C6H'*OV$>+ / � ;�$ - rV)�6H9%$>9�leM - # � B2#�9%$CB�6($C$8)�3o'(Om$>+ �g- L � '(= � �

d
$>+H# -0/ 6H)21 � +C' � ' - 1 $�
 - =�O^LF$�)�3 - B�$>1nQ � 1%$>LFM � 1 / $CB�6 -0/ $>9 �7$>L.9 / # -0/ � '@LF$ - 9 � 17B / )P+<6()2'(']ST9 � '(+ � O^L � 1 - 6(M
a@)�6(� - =�)21%B�lV) / #�3 - +CQ^L / M - 179�' / Q797$>1 / ' � ��6()2Q%O^'!3I6()2= =P$>+K# - 1 � + - Lv$>1%B � 1%$C$C6 � 1%B%\,$>LF$>+ / 6 � + - LX$>17B � 1%$C$C6*S
� 1%B - 1^9�+<)2=PO^Q / $C6�'(+ � $>17+<$ - 1794$>1%B � 1%$C$C6 � 1%B - 6($&) ;�$C6K+<)2= � 1%B�9 � '(+ � O^L � 1 - 6(MP#eQ%6H97LF$>' �

�



 E1 ; � 6()217=�$>1 /(- L@$>1%B � 17$C$C6 � 1%B � ' -�/ 6HQ7LFM +<6()2'(']ST9 � '(+ � O^L � 1 - 6(M �7$>L.9 )�3�$>1%B � 1%$C$C6 � 1%B�O76 - + / � +<$�\A6($>LFM � 1%B
)21 / #7$8'*� � L.L.'@)�3o$>LF$>+ / 6 � + - Lb\7=P$>+H# - 1 � + - L|\^+K#%$>= � + - L - 1794+ � ; � LV$>1%B � 17$C$C6 � 1%B � � / '*)2=P$ � 1^' / �F/ Q / � )21^'C\%9 � '(+ � S
O^L � 1 - 6(M�lV)2Q7179 - 6 � $>' - 1^9�l -0/*/ LF$>'YlV$ / a@$C$>1�9%$CO - 6 / =P$>1 / '8# - ;�$�L.$>9 / ) - =�)�6($�1 - 6(6()�a�LFMnST9%$��^1%$>9�'(+<)�OV$
3I)�6�$>1 ; � 6()21^=P$>1 /(- Lv$>1%B � 1%$C$C6 � 1%B / # - 1�a@)2Q7L.9�) / #%$C6(a � '*$jlV$ - O7O76()�O^6 �.-0/ $ �

"�#7$ � '('(Q%$>'�'(Q%6(6()2Q^179 � 1%B - 1 $<rV$>+ / � ;�$ � 1 / $C6H9 � '(+ � O^L � 1 - 6(M�' / Q79 � $>'PO76()�B�6 - = '(#%)2Q7L.9 17) / lV$4Q7179%$C6*S
$>' / � = -0/ $>9 � � # � LF$ 3 - +CQ7L / M � 1 = - 1nM 9%$CO - 6 / =P$>1 / ' - 6($ � 1 3 - ;�)2Q%6�)�3 / #7$ - O^O76() - +H#v\E#eQ%6H97LF$>'�'(Q7+K# - '
'(+K#%$>97Q7L � 1%B%\e+<)2Q76H'*$jO76($C6H$ x Q � ' �F/ $>'C\ - 179�9 � '*OV$C6H'*$>9 + - =PO^Q7'*$>'�+ - 14+<6($ -0/ $&; � 6 / Q - LgLFM � 17'HQ%6H=P)2Q71 /(- l^LF$:)�l%S
' /(- +CLF$>' �

� - 1 - 9 - {�'�Z�1717) ; -0/ � )21 c / 6 -0/ $CB�M ~b�Y) ;�$C6H17=�$>1 / )�3f� - 1 - 9 - \ �������2�:OV) � 1 / ' / ) / #%$ �*1%$C$>9 / ) $>1^+<)2Q%6*S
- B�$8+<6()2'H']S / 6 - � 1 � 1%B - 1^9 - =�Q7L / � 9 � '(+ � ORL � 1 - 6(M - O7O76() - +K#X\ � 1 )�6H9%$C6 / )PlRQ � L.9�+ - O - + �F/ M - =P)217B�d
D!��' - 179
$>1%B � 17$C$C6H'!35)�6 / #7$&+<)2=�=P$C6H+ �.- L �Fw>-0/ � )21�)�3 / #7$>'*$&1%$Ca / $>+H#^1%)2LF)�B � $>' � � "�# � '@' /(-0/ $>=P$>1 / 6H$C35$C6H' / )P$>1n; � 6()21,S
=P$>1 /(- L - 179�B�6H$C$>14$>1%$C6(B�M43^#%)�aE$C;�$C6 \ �F/ +<)2Q7Lg9�$ x Q - LgLFM - O7ORLFM / ) - 1nM � 171%)�; -0/ � ;�$ / $>+H#71%)2L.)�B�M �

�@)2=�O - 6 / =P$>1 /(- L �Fw>-0/ � )21 � ' - L.'*) - O76()�lRLF$>= -0/�/ #%$4+<)2Q%6H'($4LF$C;�$>L � c / Q79%$>1 / 'P)�3 / $>1 3 - � L / ) '*$C$ / #%$
6($>LF$C; - 17+<$:)�3V'()2=P$�)�3 / #%$�= -0/ $C6 �.- L /(- Q%B2# / � 1 - B � ;�$>1�+<)2Q%6K'*$ - 179�a � L.L%1%) / '*$C$ / #7$�+<)2171%$>+ / � )21�lV$ / a@$C$>1
+<)2Q%6H'($>'�Q717LF$>'H' / #%$ � 6 -0/*/ $>1 / � )21 � '!$�
eO^L � + �F/ LFM�976 - a�1 / ) �F/ �

�� 
 ��� ��� � � � � � ���p� ������
�� ���M�
	 
�� � 
����'� � 
 ��� 
�� � ���������	� �)� ���
�

"�#%$ � 17+<6($>9 � lRLFM&6 - O � 9qO - +<$�)�3V�,1%) a�L.$>9%B�$�B�6()�a / # � 1�$>1%B � 1%$C$C6 � 1%BjOV)2'*$>' - +K# - L.LF$>1%B�$ / )8$>97Q7+ -0/ )�6K' � "�#%$
=P) / � ; -0/ � )21 3I)�6 � 1^+<6($ - '*$>9 '*OV$>+ �.- L �Fw>-0/ � )21 a �F/ # � 1�$>1%B � 17$C$C6 � 1%B � '&)�3 / $>1 9%6 � ;�$>1 lnM / # � 'pB�6() a / #v\�a�# � LF$
9%$>= - 1^97'f3I)�6�+CQ%6(6 � +CQ7L.Q7= 6($>1%$Ca - Lv+<)21 / � 1eQ%$ / )�lV$ - 97976($>'('*$>9�leM - 979 � 17Bq+<)21 / $>1 /:/ )�6H$$&7$>+ / 1%$Ca �7$>L.97'
- 179�1%$Ca / $>+K#71%)2LF)�B � $>' � t )�aE$C;�$C6>\W+CQ%6(6 � +CQ7L.Q7=�6($>1%$Ca - LolV$ � 1%B -�w $C6()0ST'(Q7= B - =�$�\v35)�68$C;�$C6(M - 9^9 �F/ � )21X\
'*)2=P$p+<)21 / $>1 / =�Q7' / lV$j6($>=P)�;�$>9 �

"�#7$�'(#7)�6 / S - 1^9 L.)21%B0S / $C6H= 1%$C$>97'@)�3s' / Q79%$>1 / ' - 1^9�$>=�O^LF) M�$C6K' - 6H$�)�3 / $>1 � 1 +<)21�& � + / � Z�3v$>1%B � 1%$C$C6 � 1%B
$>97Q7+ -0/ � )21 - � =�'�35)�6&= - 
 � =�Q7= $>=PO^L.) M,=P$>1 / )�3EB�6 - 97Q -0/ $>' � 1 / #%$P'(#%)�6 /Y/ $C6H=�\ / #7$C6($ � '�B�$>1%$C6 - L.L.M / #%$
6 � '(� )�3YO76()�; � 9 � 1%B�' / Q79%$>1 / 'Pa �F/ # / 6 - � 1 � 1%B � 1 / #7$4L -0/ $>' / �!��N '*)�3 / a - 6($
)�6 / #%$
Q7'*$�)�3 - O - 6 / � +CQ7L - 6
� 17' / 6HQ7=P$>1 / )�6fO76H)e+<$>'('>\n6 -0/ #7$C6 / # - 1 O76() ; � 9 � 1%B / #%$>= a �./ # - �76H= Q71797$C6H' /(- 179 � 1%B&)�3 / #7$:O76 � 17+ � O^L.$>'�)21
a�# � +H# / #7$>'*$ / )e)2L.'p6($>' / � t ) a@$C;�$C6>\ / ) � B21%)�6($ / #%$�L -0/ $>' /p/ $>+K#71%)2LF)�B�M�\ / #%$�L -0/ $>' / '*)�3 / a - 6($�\ / #%$ L -0/ $>' /
+<),9%$4)�6 / #7$4L -0/ $>' / 6H$CB2Q7L -0/ )�6(M +H# - 1%B�$>'�LF$ - 9^' / ) B�6 - 9^Q -0/ $>' / # -0/�- 6($4)2Q / Sb)�35ST' / $CO a �F/ # $>1%B � 1%$C$C6 � 1%B
O76 - + / � +<$ �

��1%) / #%$C68+<)21^' � 9%$C6 -0/ � )21 � ' / #%$qO76()�3I)2Q7179�9%$CB�6($C$ / )�a:# � +H# - 9%; - 17+<$>' � 1 / $>+K#71%)2LF)�B�M�# - ;�$ - rV$>+ / $>9
/ #%$�3IQ^179 - =P$>1 /(- L�OR# � LF)2'*)�OR# M )�38$>17B � 1%$C$C6 � 17B � � ) / / )e) LF)21%B - B�)%\�+<)2=�O^LF$�
 �F/ M�a - ' / ) lm$ - ;�) � 9%$>9
lV$>+ - Q7'*$ �./ � 1%$C; �F/(- l^LFMp6($>'(Q7L / $>9 � 1P'*M,' / $>=�' / # -0/ a@$C6($�3I6 - B � LF$ - 179�9 � ��+CQ7L /W/ )�= - � 1 /(- � 1 � "�#%$ - 9%;�$>1 / )�3
= � +<6H)n$>LF$>+ / 6H)21 � +C'C\%1%$Ca - 1^9 - 9%; - 17+<$>94' � =�Q7L -0/ � )21 / )e)2L.' - 1^9 - 9%; - 17+<$>9G�!��Nk# - '�+H# - 1%B�$>9 / # � '!lm$>L � $C3 �
� ) a&\m35)�6:$�
 - =�O^LF$�\ �./ � '�' /(- 179 - 6H9
O76 - + / � +<$ / ) � 17+CLgQ79%$&= � +<6H)�O76(),+<$>'('*)�6H' - 1^9 - 9%; - 17+<$>9G$>LF$>+ / 6()21 � +C' � 1
=P)2' / O^6()e9^Q7+ / 'C\ � 1�'*O �F/ $q)�3 / #%$ � 6Y+<)2=�O^LF$�
 �F/ M � "�#7$ � 6 � 17#%$C6($>1 / 6($>L �.- l � L �F/ M�\mLF)�a +<)2' /8- 1^9 / #%$ / )n)2Lg'*$ / '
- ; - � L - lRLF$G3I)�6 / #%$ � 6�9%$CO^L.) M,=P$>1 / 6($>'HQ7L / � 1 =�)�6($G6H)�l^Q7' / \:$$��+ � $>1 /�- 1^9 +<)2' / Sb$<rm$>+ / � ;�$ O76(),97Q7+ / ' - 179
O76(),+<$>'('*$>'>\�a�# � +K#�+ - 1qlV$@l76()2Q%B2# /W/ )&= - 6(��$ / '*)e)21%$C6 � "�#%$ - 9%; - 17+<$>' � 1q+<)2=PO^Q /(-0/ � )21 - L &^Q � 9p9%Me1 - = � +C'C\
�^1 �./ $�$>LF$>=P$>1 /f- 179�=pQ^L / � SbO^#nMe' � +C'A=P),9%$>L.L � 1%B%\ndG Ed c \ - 179�= - 1 M�) / #%$C6 / $>+H#717)2LF)�B � $>'f# - ;�$j6($>'(Q7L / $>9 � 1
' � = � L - 6f+H# - 17B�$>' � 1�O^# � LF)2'*)�O^#nM�3I)�6 / #%$ - O^O^L � + -0/ � )21�97)2= - � 17' � 1�a:# � +H# / #7$CM - 6($pQ7'*$>9 �

�� 
 ��� 
�� � � � �)� �)��
 � � � 
 ��� � ��� ���:����� ��� 
���� ��� �"� �
	 � ��� ��������� � � 
�� 
 �����)�

U?6H) / $>+ / � 1%B l^6($ - 9 / # a�# � LF$�O76()�; � 9 � 1%B�9%$CO / # a �F/ # � 1 - 9 � '(+ � O^L � 1%$�)�6�'(Q%lX9 � '(+ � O^L � 1%$�# - '�)�3 / $>1 L.$>9 / )
'(Q%B�B�$>' / � )217'�3I)�6 - LF)217B�$C6*S / # - 1,Sb3I)2Q%6*SbM�$ - 6E$>1%B � 1%$C$C6 � 1%B�97$CB�6($C$ � t )�aE$C;�$C6 \ � 1 / #%$�+<)2=POV$ / �F/ � )21 / ) -0/*/ 6 - + /
' / Q797$>1 / 'C\ �F/ � 'P9 � ��+CQ7L / 35)�6 - Q^1 � ;�$C6H' �./ M / )�B�) �./q- L.)21%$ � Z�1 O76 - + / � +<$�\ / #7$ - ;�$C6 - B�$�97Q%6 -0/ � )21 )�3 - 1
$>1%B � 17$C$C6 � 1%BP9%$CB�6($C$ � 1
� - 1 - 9 - 1%) a 6KQ717' � � � M�$ - 6H'�~b���!UE �\ ����� � � �

#



c )2=�$p'(+K#%)n)2Lg':# - ;�$plV$C$>1�+<6($ -0/ � ;�$ � 1
97$C;�$>LF)�O � 1%B�O76()�B�6 - =�' / # -0/ $�
 / $>1^9
O76H)�B�6 - =�9^Q%6 -0/ � )21 � dG+ S
d - ' / $C6 ��1 � ;�$C6K' �F/ M # - '�'HQ7+C+<$C$>9%$>9 � 1 9%$C;�$>LF)�O � 17B - 1nQ^=8lV$C6P)�3 �7;�$<SbM�$ - 6 $>1%B � 1%$C$C6 � 1%B�= - 1 - B�$>=P$>1 /
O76()�B�6 - =�'�� � "�#%$:Om)2' �F/ � ;�$ � =PO - + / )�3s'(Q7+H#�O76()�B�6 - =�' � 'E' / � L.L / )�lV$:=P$ - '(Q76($>9X\el^Q / �./ � 'EO76()�l - lRLFM�97$>' � 6*S
- l^LF$ / ) � 1 / $CB�6 -0/ $�$>1%B � 1%$C$C6 � 1%B - 1^9�l^Q7' � 17$>'('�O76()�B�6 - =�'>\ - L / #%)2Q%B2#�'(+K#%$>97Q7L � 1%B - 179�+ - =PO^Q7'8L - M�)2Q / )�3
= - 1nM Q^1 � ;�$C6H' �./ � $>'@O76($>+CL.Q797$>'f=P)�6($ / # - 1 - 35$Ca +<)2=�=P)214+<)2Q%6K'*$>' �

��L.L,LF$C;�$>L.'o)�3mB�) ;�$C6H1^=P$>1 /E- 179P'*),+ � $ / M � 1qB�$>1%$C6 - L - 6H$ � 17+<6($ - ' � 1%B2LFM&LF)e)�� � 1%BY35)�6�$C; � 9%$>17+<$!)�3mlV$>1%$�� / ' �
"�#%$f� - 1 - 9 �g- 18B�)�;�$C6H17=P$>1 / 9%$>' � 6($>'s$>1%B � 17$C$C6H' / # -0/ + - 1 � 17+<6H$ - '*$E)2Q76W' /(- 1^9 - 6H9p)�3^L � ; � 1%B�a:# � LF$�$>17'HQ%6 � 1%B
/ # -0/�- 14$>1%B � 1%$C$C6 � 1%Bq$>97Q7+ -0/ � )21 � ' - rm)�6K9 - l^LF$ �

_�$>'(Q7L / 'W)�3 - 'HQ%6(;�$CMp+<)21^97Q7+ / $>9qleM�d
Z�" ~b�@6 - a�LF$CMm\��������2� � 179 � + -0/ $@'HQ%l^' /(- 1 / �.- L - B�6($C$>=P$>1 / lV$ / a@$C$>1
/ #%$j' /(-0/ $>9�1%$C$>9^'E)�3 � 1797Q7' / 6(M�\ - L.Q^=�1 �^- 1^9�3 - +CQ7L / M�a �F/ #�6($>'*OV$>+ /@/ )qB�6 - 97Q -0/ $>'C{%+ - O - l � L �F/ � $>' � "�#7$:)217L.M
' /(-0/ � ' / � + - L.LFM�' � B21 � �^+ - 1 / 9 � rm$C6($>1^+<$ - O7OV$ - 6($>9 / )�lV$ � 1 / #%$ - 6($ - )�3:9%$>' � B21X\oa �F/ # � 1797Q^' / 6(M�6($ x Q � 6 � 17B
'(L � B2# / LFMpLF$>'('�9%$>' � B21P+<)2=POV$ / $>17+<$ / # - 1q$ �F/ #7$C6 - L.Q7=�1 � )�6�3 - +CQ7L / M � "�#%$!��$CMpOV) � 1 / )�3 / #7$�' / Q79%M�\ #7) a@$C;�$C6>\
�? 85 � �/� 59� �<5 �� "�	�
�� �!/ "."

�(� �3���	� ���B� �/� �/

�( "��� �B "�/�B�<� ��� � ��* � �"� �3���/.��#������

�#�/.  "�/� � �/�
� 5���* ��� 5�@ �#!#!15 
9� � �<��

���B��* ."

 8���� 8�9�#��. ���/.��#������
95 � "�#%$>'*$f6($>'(Q^L / ' - 6($�'()2=P$Ca�# -0/ 'HQ%6(O76 � ' � 1%B � 1 / #%$
3 - +<$8)�3�+<)217' � 97$C6 - l^LF$j$C; � 9%$>17+<$ ~b��6 � 1 / $C6>\ �$#�%�% 3VD@)�6H9%)�B21 - \ �$#�#)� 3mD@$>L.L|\�������� 3m��L /(- 1X\ ����� � � / # -0/:/ #%$>'*$
6($ x Q � 6($>=�$>1 / 'f# - ;�$p1%) / M�$ / lV$C$>14=P$ / �

d - +CLF$ - 1X{�' �*_ - 1%� � 1%B
� - 1 - 9 �.- 1��:1 � ;�$C6H' �F/ � $>' ���p# - ' -0/*/ 6 - + / $>9 -0/*/ $>1 / � )21 - 179�B�6H) a�1 � 1 � 1�&^Q%$>17+<$
)21 = - 1 M�+ - =PORQ7'*$>' � Z]1 3 - +CQ^L / M / $C6H=�'C\f=P$ - '(Q%6($>=�$>1 / 35),+CQ7'*$>'�)21 / #%$GOV$C6H+<$>1 /(- B�$G)�3&UA# � N � {�' - 179
3 Q7179 � 17B
3I6()2= / #%$4= - �*)�6P6($>'*$ - 6H+K# B�6 - 1 / � 1%B�+<)2Q71^+ � L.' � [ / #%$C6 � =POV)�6 /(- 1 / =P$ - '(Q%6($>'q3I)�6�$>1%B � 1%$C$C6 � 1%B
'(#%)2Q^L.9 � 17+CL.Q^9%$ � � 1^97Q7' / 6 �g- Ln$�
,OV$C6 � $>17+<$ 3eU �  A1%B � ' /(-0/ Q7'C\ - 179�+<)2L.L - lm)�6 -0/ � )21���3 Q7179 � 17B:6($>L -0/ � )217'(# � O^'oa �F/ #
� 179^Q7' / 6(M �

�� 
 ��� �&
 
 � 
 � ������

 A17B � 1%$C$C6 � 17B�O^6()�B�6 - = +K# - 1%B�$>' � 1
� - 1 - 9 - # - ;�$pL - 6HB�$>LFM�lm$C$>14$C;�)2L.Q / � )21 - 6HM � [�;�$C6 / #%$&O - ' / ����M�$ - 6K'C\
/ # � 'A$C;�)2L.Q / � )21 # - 'ElV$C$>1�B2Q � 9%$>9�leM / #%$&� - 1 - 9 �.- 1��@)2Q717+ � L%35)�6!U?6H)�35$>'(' � )21 - L^ E1%B � 1%$C$C6K':~b���!UE �\ �$#�#)� �
/ #%6()2Q7B2#4~b�! A��D�\ �������2�
	 � "�#%$f' � B21 � �^+ - 1 / 3 - +CQ7L / Mp6($>1%$Ca - L / # -0/ � '�Q71^9%$C6(a - M&O76H$>'*$>1 / ' - 1q)�O7OV)�6 / Q71 �F/ M
3I)�6 � 1^1%) ; -0/ � )21 - 179 - 9%; - 17+<$>=P$>1 / � 18$>1%B � 1%$C$C6 � 1%Bf$>97Q7+ -0/ � )21X\0a�# � LF$�O^6($>'*$>1 / � 1%B%\ -0/J/ #%$@' - =P$ / � =P$�\�'*)2=P$
6 � '(�e' �

�k1eQ7=8lV$C6f)�3o$>1%B � 17$C$C6 � 1%B�'(+K#%)e)2L.'�# - ;�$pQ71797$C6 /(- ��$>14' � B21 � �^+ - 1 / � 171%)�; -0/ � )21^' � 1 / $ - +H# � 1%B � t�- 6(;�$CM
dGQ7979p�@)2LgLF$CB�$�~ D@6 � B2# /s- 179&UE# � L.L � O^'C\ �$#�#�# �v+<6($ -0/ $>9v\ � 1 �$#  � \ / #%$A A17B � 1%$C$C6 � 17B��fL � 1 � +0\ � 1ja�# � +K#j' / Q79%$>1 /
/ $ - =�'C\ea �F/ # - 'H' � ' /(- 17+<$:356H)2= '*$C;�$C6 - L^3 - +CQ7L / M - 179 � 1^97Q7' / 6(M�=P$>1 / )�6H'C\nQ^'*$�6($ - L`Sba@)�6HL.9P+ - 6H$C3IQ7LgLFM�'($>LF$>+ / $>9
� 179^Q7' / 6(MYO76()�lRLF$>=�' � dGQ7+K#p)�3 / #%$ / $ - +H# � 17B � 's+<$>1 / 6($>9 - 6()2Q7179 / # � 'W'*$ / Q%OJ\ �/
0�#��.	�1�/. 
9��!1� �  "�/�7�� "�/�  


�( "!�� �?�"
0!1��
� �	���/
 ��� ����.	�#�����(
0�#��. ���<�/�7 �9�1�	� � "�#%$A��1 � ;�$C6K' �F/ MY)�3 � $>' / $C6H1q[j1 /(- 6 � )�~ "�#%)2=�O^'*)21X\
����� � �A# - ' � 17' / �F/ Q / $>9P' / Q79 � )0Sbl - '*$>9 / $ - +K# � 1%B�=P$ / #%),97'�3I)�6 / #%$ � 6A$>1%B � 1%$C$C6 � 1%Bj9%$>' � B21�+<)2Q76H'*$>' � D@MP9%) � 1%B
'*)%\^' / Q79%$>1 / 'fB - � 1�6($ - Lv$�
eOV$C6 � $>1^+<$ja �F/ #�' � B21 � �^+ - 1 / \e6H$ - L`SbaE)�6KL.9�O76()�lRLF$>=�' - 179 / #%$ � 6�'*)2L.Q / � )21^' �

8 ��� ���&� +�+02 #&��2DF�� �.� � #&�"+-#&2D2G� +-#&� ( 2DF>+0�"# � %	!&�1�=;>+0�"#
� 1eQ7=plV$C6�)�3 � '('(Q7$>' - 1^9�+K# - L.LF$>17B�$>' - 6($�'*OV$>+ � �^+ / )�9%$>' � B21�$>97Q7+ -0/ � )21 � "�#7$>'*$ � '('(Q%$>' - 6($ � 1 / 6(),97Q7+<$>9
Q71797$C6 - 1nQ7=plV$C6�)�3 / #7$>=P$>' �f3 - +CQ7L / M�\X' / 6KQ7+ / Q%6($ - 179
3 Q7179 � 1%B � Z / � ' � =POV)�6 /(- 1 /�/ )�6($>+<)�B21 �Fw $ / # -0/�/ #%$
� '('HQ%$>' � 9%$>1 / � �7$>9 � 1 / #%$PO^6($C; � )2Q7'j'*$>+ / � )21�a � L.L - L.'*) � 1�&RQ%$>17+<$ / #%$�+ - O - + �F/ M�)�3f� - 1 - 9 �.- 1�$>1%B � 1%$C$C6 � 1%B
'(+K#%)n)2Lg' / )�9%$>L � ;�$C6�# � B2#,S x Q - L �F/ M�9%$>' � B21�$>97Q7+ -0/ � )21 �

������������� ��!������
�#" $&% �(')�*��"�+�,�- . ��'�/�'�"(.�,�"�%�� +&0 '�1(/�'2"3�����2$4��! %��
5
���������#"���6�� "&-�$7�*��"
8:9 � ���G�I.&�8*+�%H .&#$��� � ; <8�����I!6�&�2<6.&� � '��G.=<�#$>

� �




���� ��
 	 � � ��� �
	
h - +CQ7L / M - 6($ / #%$Y��$CM � 17B�6($>9 � $>1 / � 1 / #%$Y$>97Q^+ -0/ � )21�O76(),+<$>'(' � ��'!6($COV$ -0/ $>97LFM�' / 6($>'('*$>9 � 1 / # � '!9%),+CQ7=P$>1 / \
$>1%B � 17$C$C6 � 1%B
97$>' � B21 +<)2=�Om$ / $>1^+<M�6($>L � $>'8)21 �,1%) a:LF$>9%B�$ � 1 / #%$ 9%$>' � B21 O76(),+<$>'(' - 1^9�$�
,Om$C6 � $>17+<$ � 1 9%$<S
' � B21 � 1%B � � +<)2=�Om$ / $>1 / $>1%B � 17$C$C6 � 1%B�9%$>' � B21 � 17' / 6HQ7+ / )�6P=pQ^' / # - ;�$4L � ;�$>9 / #7$�97$>' � B21 O76(),+<$>'(' � 1 6($ - L
/ $C6H=�' �

Z]1 � )�6 / #��:=P$C6 � + - \X$>1%B � 1%$C$C6 � 1%B 3 - +CQ7L / M�=P$>=8lV$C6H'Y=P)2' / )�3 / $>1�$>' /(- lRL � '(# - + - 9%$>= � +q6($>'*$ - 6H+K#�O76()0S
B�6 - =�' / # -0/!- 6($�#%$ - ; � LFMP3I)e+CQ^'*$>9�)21�$>1%B � 17$C$C6 � 1%B�'(+ � $>17+<$ � "�# � 'A' / 6($>17B / # - 1^9�$>=PO^# - ' � ' � 1�$>1%B � 1%$C$C6 � 1%B
'(+ � $>1^+<$ # - 'qLF$>9 / ) - 1 � 17+<6($ - '*$ � 1 x Q - L �F/ M - 179 6 � B�)2Q%6p)�3 / #%$�$>17B � 1%$C$C6 � 17BG'(+ � $>1^+<$�$>97Q^+ -0/ � )21 � "�# � '
'(# � 3 / a - 'f35)2' / $C6($>9 � 1�O - 6 / leM / #%$jaE)�6H��)�3oN�6 � D!Q7'(#�~ �$# � % � - 179 / #%$j3I)�6H= -0/ � )21�)�3 / #%$&� � c � �:-0/ � )21 - L
c + � $>1^+<$�h%)2Q7179 -0/ � )21 � � - 1 - 9 - # - 'j3I)2L.LF)�aE$>9 - ' � = � L - 6�+<)2Q%6K'*$ � "�# � 'Y'(Q^+C+<$>'(' � 1 - 9%; - 17+ � 1%B�$>17B � 1%$C$C6*S
� 1%B�'(+ � $>17+<$�=�Q7' / lm$ 6($CO^L � + -0/ $>9 � 1 $>1%B � 1%$C$C6 � 1%BG9%$>' � B21 � Z]179%$C$>9X\ � c  A_���{�'qN�$>' � B21��!# - � 6pU?6H)�B�6 - =
� ' - 1 � =�Om)�6 /(- 1 / �76H' / ' / $CO � � /*/ 6 - + / � 17B 3 - +CQ7L / M / )�$>17B - B�$ � 1G9%$>' � B21 - 9%; - 17+<$>=P$>1 / ' - 1^9 - + / � ; �F/ � $>' � 1
/ #%$ � 6E1%)21,STLF$>+ / Q%6 � 1%B / � =P$ � ' - 1�$<rV$>+ / � ;�$Y=P$ - 17'?)�3X' / 6H$>1%B / #%$>1 � 17B&9%$>' � B21P$>9^Q7+ -0/ � )21�+ - O - l � L �F/ � $>' -0/E/ #%$
Q71797$C6(B�6 - 97Q -0/ $ - 1^9�B�6 - 97Q -0/ $8L.$C;�$>L.' �

N�$>1 / )21 ~ �$#�#)� � � 179 � + -0/ $>9 / # -0/ \ � 1 - '(Q%6(;�$CM )�3 � ��� � � 17' / �./ Q / � )217'C\�;�$C6HM 3I$Ca 3 - +CQ^L / M # - 9 - 1 M
$�
,Om$C6 / � '*$ � 1 / $ - =PSbl - '*$>9�9%$>' � B21 � N�$C;�$>LF)�O^=P$>1 / )�3?' / Q^9%$>1 / Sbl - '*$>9X\^=�Q7L / � 9 � '(+ � O^L � 1 - 6(M / $ - =�':a - ':B�$>1,S
$C6 - L.L.M�LF$>9�leM 3 - +CQ7L / M�a �F/ # / $ - =�$�
eOV$C6 � $>17+<$ - 179�a - '�1%) / 'HQ%O7OV)�6 / $>9�leM / #%$ � 6�+<)2L.LF$ - B2Q%$>'�a�#%)�L - +H��$>9
/ # � 'W$�
,OV$C6 � $>17+<$ � c Q7+C+<$>'('(3IQ7L,Q7'($@)�3V=�Q7L / � 9 � '(+ � O^L � 1 - 6(M / $ - =�'?)�3 / $>1P6H$>L � $>9�)21q$�
 / $C6K1 - L,$�
eOV$C6 / � '*$!)�6?'(Q%O%S
OV)�6 /�- 179q$>17+<)2Q%6 - B�$>=P$>1 / 356H)2= � 1797Q7' / 6 �.- L +<)21 /(- + / ' � ��)�6H= - 1 ��� �����m~ ����� � �o6($ � 1735)�6H+<$>9 / #7$ � =POV)�6 /(- 17+<$
)�3 / $ - = '*� � L.Lg'C\e' /(-0/ � 1%B / # -0/ \ / )�lV$Y'HQ7+C+<$>'('*3 Q7L|\ / $ - = / 6 - � 1 � 17B � 'f1%$C$>9%$>9�3I)�6�3 - +CQ7L / M �

"�#7$G'(Q%lR' /(- 1 / �g- L�3 - +CQ7L / M 6($>1%$Ca - L / # -0/ a � LgL!lm$G)e+C+CQ76(6 � 1%B ) ;�$C6 / #%$�1%$�
 / �$% M�$ - 6H' O76() ; � 9%$>' - 1
)�O7OV)�6 / Q71 �F/ M / ) -0/*/ 6 - + / 3 - +CQ7L / M�a �./ #�$>1%B � 17$C$C6 � 1%B
97$>' � B21�$�
,OV$C6 � $>17+<$ � "�#%$ - 1 / � + � O -0/ $>9 '(#7)�6 /(- B�$�)�3
UA# � N � $>1%B � 1%$C$C6 � 1%B�B�6 - 97Q -0/ $>' / ) �^L.Lo3 - +CQ7L / M�OV)2' �./ � )217'Y= - M�)�OV$>1�Q%O # � 6 � 17B / ) � 17+CL.Q79%$�$�
,Om$C6 � $>17+<$>9
$>1%B � 17$C$C6H'f3I6()2= � 179^Q7' / 6(M�\,+<)217'(Q7L / � 1%B - 179�B�)�;�$C6H17=P$>1 / �


���� � 
 � 
 �
��� � �)����
 � 
��k� � � � � � � 	 ����� �
"s$>1nQ%6H$�\^O76()2=�) / � )21 - 179G+<)2=POV$>17' -0/ � )21�OV)2L � + � $>'�# - ;�$ - 97)2= � 1 - 1 / 6()2LF$ � 14'(# - O � 1%B / #%$ - + / � ; �F/ � $>' - 179
O76 � )�6 �F/ � $>'p)�3 - LgL!3 - +CQ7L / M�\@l^Q / O^L - M - 1 $>'*OV$>+ �.- LgLFM � =POV)�6 /(- 1 / 6()2LF$�3I)�6�1%$Ca 3 - +CQ7L / M � "�#%$�Om$C6K+<$CO / � )21
)�3 / #%$ - + - 9%$>= � +8$>1%B � 1%$C$C6 � 1%B�+<)2=�=�Q71 �F/ M � ' / # -0/ '(Q7+C+<$>'(' � 1 - + - 9%$>=P$ � '�9%6 � ;�$>14leM 6H$>'*$ - 6H+H#�'(Q^+C+<$>'('C\
=P$ - '(Q76($>94L - 6(B�$>L.M�leM / #7$&1nQ7=plV$C6f)�3o6($C35$C6H$C$>9&�])2Q76H1 - LVO^Q%lRL � + -0/ � )217' �

 A; - L.Q -0/ � )21 - 179�6($Ca - 6H9�'(Me' / $>=�'&1%$C$>9 / )4lV$�=P)�6H$ � 17+CL.Q7' � ;�$ � ��)�6H= - 1 ��� �����!~ ����� � �YOV) � 1 / $>9 / )
=P),9 � �^+ -0/ � )217':17$>+<$>'(' - 6(M / )�6($Ca - 6H9 � 1797Q7' / 6 �.- Lv$�
,OV$C6 � $>17+<$ - 179 / )4#%)217)2Q%6j+<)2L.L - lV)�6 -0/ � )21 � 1 / $ - +H# � 1%B
- 179�6H$>'*$ - 6H+H# �

 E1%B � 1%$C$C6 � 1%BG9%$>' � B21 � 17' / 6HQ7+ / � )21 � 'p6($>+<)�B21 �.w $>9 - 'q6($ x Q � 6 � 1%BG+<)217' � 9%$C6 - l^LFM�=P)�6($ / � =P$ 3I)�6q+<)2Q76H'*$
9%$C;�$>LF)�OR=P$>1 / \XO^6()
�]$>+ / '*$>L.$>+ / � )21 - 179�' / Q79%$>1 / +<)217'(Q7L /(-0/ � )21 � "�# � ' / � =P$ � 1n;�$>' / =P$>1 /Y/(- ��$>' - a - M�3I6()2=
/ � =P$ - ; - � L - l^L.$�35)�6�6($>'*$ - 6K+H# � d - 1nM '*$>1 � )�683 - +CQ7L / M =P$>=8lV$C6H' - 9%; � '*$�17$Ca 3 - +CQ7L / M / )�L � = �F/j/ #%$ � 6p$>1,S
B - B�$>=P$>1 / � 1 9%$>' � B21 - + / � ; �F/ � $>'C\ -0/ LF$ - ' / Q71 / � L / #%$CM # - ;�$ / $>1eQ%6($�\A'() - ' / )�= - � 1 /(- � 1 / #%$ � 6q6($>'*$ - 6H+K#
O76(),97Q7+ / � ; �F/ M�)214a:# � +H#�O^6()2=P) / � )21 - 179 / $>1nQ%6H$&6($>' / ' �

�@)2Q76H'*$pL.) - 97'�3I)�6 / $ - =PS /(- Q%B2# / $>1%B � 1%$C$C6 � 1%B�9%$>' � B214+<)2Q76H'*$>'�=pQ7' / lV$p+<)2=PORQ / $>9 - O7O^6()�O76 �.-0/ $>L.M�\ � 1
)�6H9%$C6 / )�6($>+<)�B21 �Fw $ / #%$&$�
 / 6 - $<rV)�6 / 6($ x Q � 6($>9�3I)�6�9%$C;�$>L.)�O � 1%B - 179497$>L � ;�$C6 � 17B / #%$>'($8+<)2Q%6H'*$>' �


���� ��� � � ���&��
 	 � � � ��� �)��� �
"s$ - =qSbl - '*$>9�9%$>' � B21 - 179897$>' � B21 -0/ L - 6(B�$A6H$>LFMY)21 - 9 � rm$C6H$>1 / = � 
j)�3e$>9^Q7+ -0/ � )21 - Ln'*O - +<$ / # - 18$>1%B � 1%$C$C6 � 1%B
'(+ � $>1^+<$4+<)2Q%6H'*$>' � N�$>' � B21�' / Q79 � )2'C\?=�$C$ / � 1%B�6()e)2=�'C\Y~ = - +H# � 1%$�)�6�$ x Q � ; - L.$>1 / �p'(#%)�O \@' / )�6 - B�$�'*O - +<$�\

���



- 9%; - 17+<$>9�'*)�3 / a - 6($�\ - 179�L - 6(B�$<Sb3I)�6H= -0/ O^6 � 1 / $C6H' - 6($ �*Q^' / '*)2=P$P)�3 / #%$�Q71 �.x Q%$q1%$C$>97' � N�$>' � B21�' / Q79 � )2'
� 1�O - 6 / � +CQ7L - 6 - 6H$�1%) / +<)2=�=P)217LFM�35)2Q^179 � 1�$>1%B � 1%$C$C6 � 1%B4'H+H#%)e)2L.' � 1 � - 1 - 9 - \ - L / #%)2Q%B2# '*)2=P$�'H+H#%)e)2L.'
# - ;�$�9%$C;�$>LF)�OV$>9 / #%$>= � "�#7$���1 � ;�$C6K' �F/ M )�3 � $>' / $C6H1 [j1 /(- 6 � ) # - '�9%$C;�$>LF)�OV$>9�' / Q79 � )0Sbl - '*$>9 97$>' � B21
~ "�#%)2=�O^'*)21X\ ����� � ��3^yYQ%$C$>1v{�'?�:1 � ;�$C6H' �F/ M�# - ' / #%$fZ]1 / $CB�6 -0/ $>9 �J$ - 6H1 � 1%Bp�!$>1 / 6($�~ �������n�K\ / #7$�=P$>+H# - 1 � + - L
$>1%B � 17$C$C6 � 1%B�9%$CO - 6 / =P$>1 / ' -0/ c #%$C6Hl76()e)���$4�:1 � ;�$C6H' �F/ M - 179 / #%$
��1 � ;�$C6H' �./ M )�38� - L.B - 6(M # - ;�$G+<6H$ -0/ $>9
+<)217' � 9%$C6 - l^LF$@9%$>' � B21�3 - + � L �F/ � $>' - 179q'*O - +<$>'�35)�6�Q71^9%$C6(B�6 - 97Q -0/ $@' / Q^9%$>1 / ' 3nd
+ � � L.L,�:1 � ;�$C6H' �F/ M&$>' /(- l^L � '(#%$>9
- N�$>' � B21 c / Q79 � ) � 1 / #7$j$ - 6HLFM�1 � 1%$ / � $>' �

h - + � L �F/ � $>'@=pQ^' / � 1^+CL.Q79%$ - +C+<$>'H' / ) - O7O^6()�O76 �.-0/ $:$�
eOV$C6 / � '*$ � "�#%$: E1%B � 1%$C$C6 � 1%B8N�$>' � B21 "s6 � LF)�B�M � 1 / #%$
N�$CO - 6 / =P$>1 / )�3sD � )2'*M,' / $>=�'! E1%B � 1%$C$C6 � 1%B -0/!/ #%$Y�:1 � ;�$C6H' �F/ M�)�3sd - 1 �F/ )�l - � '!' / 6HQ^+ / Q%6($>9 '*) / # -0/ '($>1 � )�6
' / Q797$>1 / 'j+ - 1�=�$>1 / )�68=�)�6($,�*Q71 � )�6�' / Q79%$>1 / ' � Z]1 - 979 �F/ � )21X\V$>1%B � 1%$C$C6H' � 1 / #7$� A1%B � 17$C$C6H']S � 1,ST_�$>' � 9%$>1^+<$
U?6H)�B�6 - = l76 � 1%B O76 - + / � + - Lb\�6($ - L`Sba@)�6HL.9 $�
eOV$C6 � $>17+<$ / ) ' / Q797$>1 / 9%$>' � B21%SbO76()
�*$>+ /�/ $ - =�'�~ ��1 � ;�$C6H' �F/ M�)�3
d - 1 �F/ )�l - \ �������n� �


���� ��� � � ��� � �
	 ��� ��� ���=��
 � � ���)��
����

N�$>' � B21�'($ /*/ � 1%B2' - 179qO^6()�l^LF$>=�' - 6($:1%) /?- L.Le$ x Q - L � "�#%$CMp9 � rm$C6 � 1P' / M,LF$ - 179P= - Mq6($>LFM8)21 x Q �./ $!9 � rm$C6H$>1 /
- O7O76H) - +H#%$>' �

N�$>' � B21%S / )0ST'*OV$>+ � �^+ -0/ � )21 + - O / Q%6H$>' / #%$�'*$ /*/ � 17B � 1 a�# � +K# - +CL � $>1 / )�6�lV)2'('8$�
,O^L � + �F/ LFM�O76() ; � 9%$>' / #%$
OV$C6(3I)�6H= - 17+<$�'*OV$>+ � �^+ -0/ � )217'E)�3 / #%$�O76(),97Q7+ / � N�$>' � B21 � 1 / # � '@+<)21 / $�
 / )�3 / $>1�3I)2L.LF)�a�'?$>' /(- lRL � '(#%$>9�6($>+ � OV$>'
/ # -0/j- 6($ - ; - � L - lRLF$ � 1 / $�
 / lV)n)��,' - 179�'*)�3 / a - 6($ � N�$>' � B21,S / )0ST'(Om$>+ � �^+ -0/ � )21�+ - 1�)�3 / $>1�lm$ /(- Q%B2# / a �F/ # � 1
- ' � 1%B2LF$&+<)2Q%6H'($ � ��6 - 9^Q -0/ $>'�)�3A� - 1 - 9 �.- 1�$>1%B � 1%$C$C6 � 1%B�'(+K#%)n)2Lg' - 6($8a@$>L.LV6($>'(Om$>+ / $>9
35)�6 / #%$ � 6 - l � L �F/ M / )
9%$>' � B21 - 6 / � 3 - + / '�)217+<$&B � ;�$>1 / #%$&'*OV$>+ � �R+ -0/ � )217' �

N�$>' � B21%S / )0ST1%$C$>9�+ - O / Q%6($>' / #%$:'($ /*/ � 1%B � 1Pa�# � +K# - 1%$C$>9�# - 'ElV$C$>1 � 97$>1 / � �^$>9 - 179�97$��^1%$>9 � t )�aE$C;�$C6 \
/ #%$�9%$ /(- � LF$>9�'*OV$>+ � �^+ -0/ � )217' - 1^9�1 -0/ Q%6($q)�3 / #%$PO76(),97Q7+ /�/ )4' -0/ � '*3IM / #7$�1%$C$>97' - 6($ � 1 �F/ �.- L.LFM4Q^1%�e17) a�1 �
"�#%$�97$>' � B21q$>1%B � 17$C$C6A# - ' - B�6H$ -0/ LFM � 17+<6($ - '*$>9�'H+<)�Om$�)�3m+<6($ -0/ � ; �F/ M / # -0/ $>1 - l^L.$>'�# � = � #%$C6 / ) � 1 ;�$>' / � B -0/ $
1%$Ca - 179 � 171%) ; -0/ � ;�$ - O7O^6() - +H#%$>' / ) / #%$jO76()�l^L.$>= � N:$>' � B21 � 17' / 6HQ7+ / � )21�O - 6H+<$>L.L.$>9 � 1 / )P+<)21 / $>1 / ST'(Om$>+ � �^+
+<)2Q%6H'($>'E# - '@9 � ��+CQ7L / M - 97976($>'(' � 17B89%$>' � B21 / )�17$C$>9 � N:$>' � B21,S / )0ST1%$C$>9 � 'E=P)�6($ � 1 / $CB�6 -0/ $>9 - 1^9�3I6($ x Q%$>1 / L.M
� 1 / $C6H9 � 'H+ � O^L � 1 - 6(M � �!Q76(6($>1 / $>9^Q7+ -0/ � )21 - O7O^6() - +H#%$>':' / 6HQ%B�B2L.$ � 1 / # � '�97)2= - � 1 �

N�$>' � B21%Sb35)�6*Sb)�O^Om)�6 / Q71 �F/ M � ' - # � B2#^LFM�$>1 / 6($CO76($>17$>Q%6 �.- L - O^O76() - +H# / ):$>17B � 1%$C$C6 � 17B!97$>' � B21 � Z 3 / #%$A97$>' � B21
$>1%B � 17$C$C6 � ':3 - +<$>9�a �F/ # - OV) / $>1 / �.- LJ)�O^Om)�6 / Q71 �F/ M�\ - '�)�O7OV)2'*$>9 / ) - ' /(-0/ $>=�$>1 / )�3A17$C$>9G)�6 - '*OV$>+ � �^+ - S
/ � )21X\n#%$ � '(#%$�# - '?+<)217' � 97$C6 - l^LF$!L -0/ �F/ Q797$ - ' / ) / #%$ - O^O76() - +H# / )&lV$ /(- ��$>1 � "�# � 's3I)�6H= )�3X9%$>' � B21q6($ x Q � 6($>'
+<)217' � 9%$C6 - l^LF$��,1%) a�L.$>9%B�$q)�3@= - 6H��$ / � 1%B%\Xl^Q7' � 1%$>'(' - 179�$>1%B � 17$C$C6 � 1%B � � / O^6($>'*$>1 / \W� - 1 - 9 �g- 1G$>17B � 1%$C$C6*S
� 1%B4'H+H#%)e)2L.' - 6H$�1%) /8-0/�- L.L�a@$>L.L`Sb$ x Q � O7OV$>9 / ) / $ - +K# 9%$>' � B21,Sb3I)�6*Sb)�O7OV)�6 / Q^1 �F/ M�\ - L / #%)2Q%B2# / #7$C6($ � '8'*)2=P$
B�6()�a � 1%B � 1 / $C6($>' / � 1 / # � ' - O7O76() - +K#
~|d4$>=�)�6 �.- L%��1 � ;�$C6H' �./ M8)�3 � $Ca�35)2Q^1797L - 179 - 179 � - l76 - 9%)�6>\2N - L.#7)2Q7' � $
��1 � ;�$C6H' �./ M - 179 / #%$ �:1 � ;�$C6H' �F/ MG)�3 � $Ca D@6HQ717'(a � +(��# - ;�$ )21%$�+<)2Q76H'*$ / # -0/ � '&# � B2#^LFM
$>1 / 6($CO76($>17$>Q%6 �.- L
- 179 � ':lV$ � 1%B�O � LF) / $>9 - ' - '(Me17+K#%6()21%)2Q^'C\m9 � ' / 6 � lRQ / $>9
LF$ - 6K1 � 1%B�+<)2Q76H'*$q; �g-�/ #%$qa@$Cl -0/�/ # � ' / � =P$ � ��� /
LF$ - ' / )21%$�� � c � '(+H#%)e)2L|\@[jL � 1 �!)2L.LF$CB�$�\A# - 'q9%$>' � B21%$>9 - # � B2#7LFM�$>1 / 6($CO76($>17$>Q%6 �.- LA$>1%B � 1%$C$C6 � 1%BGO^6()�B�6 - =
~b[YL � 1X\ ����� � \��������n� �

��1 - 1 - LF)�B�M / ) / #%$�aE)�6KL.9 )�3p+<)n)��,' - 179 +K#%$C3 '�# - '�lV$C$>1 Q7'*$>9 / ) � L.L.Q7' / 6 -0/ $ / #%$�9 � rV$C6($>17+<$>' � 1
9%$>' � B21,S / )0ST'*OV$>+ � �^+ -0/ � )21v\^9%$>' � B21%S / )0ST1%$C$>9 - 179
9%$>' � B21,Sb3I)�6*Sb)�O7OV)�6 / Q^1 �F/ M � N:$>' � B21,S / )0ST'*OV$>+ � �^+ -0/ � )21
+ - 14lV$
/ #%)2Q%B2# / )�3 - ' / #%$�$ x Q � ; - LF$>1 / )�3 - B�)e)e9 +<)n)�� � � B�)n),9 +<)e)�� � ' - 1 � 179 � ; � 9^Q - L / # -0/ 3I)2L.LF) a:'j6($>+ � OV$>'
a@$>L.L - 179�9%$>L � ;�$C6H' / #%$j$�
eOV$>+ / $>94=�$ - L / ) / #%$ /(- l^LF$ � N�$>' � B21,S / )0ST1%$C$>9 � ' - =�Q7+K#4=P)�6($&+<6($ -0/ � ; �F/ M Sbl - '*$>9
$>1 / $C6(O76 � '($ - 179�= - MPlm$�+<)2=�O - 6 - l^LF$ / ) - '*)2Q7'*ST+H#%$C3�\na:#%)&+ - 1�+<6($ -0/ $ - �^17$fO^L -0/ $�a �./ # / #%$ - O7O76H)�O76 �.-0/ $
'*$ - '*)21 � 1%B2' - 179 '(Q%OV$C6(l O76($>'*$>1 /(-0/ � )21 � N:$>' � B21,Sb3I)�6*Sb)�O7OV)�6 / Q71 �./ M � ' / #%$
9%)2= - � 1 )�3 / #%$
= - ' / $C6 +H#%$C3�\
a�#%)P+<6($ -0/ $>' - 9 � 1 � 1%B&$�
,Om$C6 � $>17+<$ / # -0/ � 'fQ71 �.x Q7$ / ) / #%$&' �./ Q -0/ � )21 � D@M - O^O76()�O76 �g-0/ $>LFM�' / 6HQ7+ / Q76 � 1%B / #%$
=P$>1eQX\n+<6H$ -0/ � 1%B�6($>+ � OV$>' / # -0/ l - L - 17+<$ / #%$ & - ;�)2Q%6H'E)�3 / #%$:; - 6 � )2Q7'A+<)2Q%6K'*$>'A)21 / #%$:O - L -0/ $�\,'*$>LF$>+ / � 1%B / #%$

� �



a � 17$>' - 179�O - M � 17B -0/*/ $>1 / � )21 / ) / #%$YO76($>'*$>1 /(-0/ � )21X\ / #%$Y= - ' / $C6f+H#7$C3s9%$C;�$>LF)�OR' - O76(),97Q7+ /E/ # -0/ '*$ �Fw $>' - 1
)�O7OV)�6 / Q71 �F/ M 1%) /�- 979%6($>'H'*$>9�leM / #%)2'($8LF$>'('�'(� � LgLF$>9 �

��L / � = -0/ $>L.M�\na@$j=pQ7' / lV$�B�6 - 97Q -0/ � 1%Bp$>1%B � 1%$C$C6K' / # -0/@- 6($Y+<$C6 /(- � 1^LFM�B�)e)e9 +<)n)��,'!l^Q /@- L.'*)�lV$CB � 171 � 17B
+H#7$C3I' �

���� ��� 
���
����"
 � � � 	 ��
 ��� ���&��
 � ��� � � �)����

d - 1 M�� - 1 - 9 �.- 1 '(+K#%)n)2Lg'f# - ;�$ - �76H' / SbM�$ - 6�97$>' � B21�+<)2Q%6H'*$ - 179 - + - O^' / )21%$&97$>' � B21 +<)2Q%6H'*$ � Z]1 / #%$ �76H' / S
M�$ - 6A+<)2Q%6K'*$�\ ' / Q797$>1 / ' /(- +(�,LF$ - 6($>L -0/ � ;�$>LFMp' � =PO^LF$EO76()�l^L.$>= a �./ #�+<)21^' � 9%$C6 - lRLF$ - 'H' � ' /(- 17+<$!3I6()2= / $ - +H# � 1%B
- '(' � ' /(- 1 / ' - 179�3 - +CQ7L / M4=P$>=plm$C6K' � ��L.Lv' / Q^9%$>1 / '�aE)�6H��)21 / #%$�' - =P$&O76H)�l^LF$>=�\ - 1^94'*) / #7$CM�L.$ - 6H143I6()2=
$ - +H#G) / #%$C6 � "�# � ' � ' - 14$�
,+<$>L.L.$>1 / +K# - L.LF$>17B�$j35)�6 / #7$>= -0/�/ #%$ � 6 - + - 9%$>= � +&L.$C;�$>L �

"�#7$�+ - O^' / )21%$�+<)2Q%6H'*$ � '�356($ x Q%$>1 / LFM�l - '($>9 )21 O76H)
�]$>+ / ' O76($>'($>1 / $>9 leM � 1797Q^' / 6(M - 179���)�6�3 - +CQ7L / M
=P$>=plV$C6H' �  - +H# ' / Q79%$>1 /8/ $ - = Q71^9%$C6 /(- ��$>' - 9 � rm$C6($>1 / O^6()
�]$>+ / a �F/ # / #%$�6H$>'(Q7L /&/ # -0/p/ #%$ - l � L �F/ M / )
LF$ - 6H1�356H)2= $ - +H# ) / #%$C6 � 'E= � 1 � = �Fw $>9 � Z]1 / # � 'A=P),9%$>L|\n' / Q79%$>1 / 'E+ - 1 &7)2Q71^9%$C6 � 3 / #%$ � 6@9%$>' � B21�'*� � L.L.'�# - ;�$
1%) / O76()�B�6($>'('($>9 '(Q���+ � $>1 / L.M / )�# - 1797L.$ / #%$�9%$CB�6H$C$�)�3f)�OV$>1,Sb$>179%$>9^1%$>'('&+K# - 6 - + / $C6 � ' / � +�)�3 - 1 � 1797Q^' / 6(M
O76()
�*$>+ / � "�#7$CM = - M�L - +(��3I$C$>9%l - +(��)21�O^6($C; � )2Q7'!$�
eOV$C6 � $>17+<$ �

��1nQ7=plV$C6p)�3:$>1%B � 1%$C$C6 � 1%BG'H+H#%)e)2L.'�)0rm$C6 - �*+<)21 / � 1eQ7Q7= )�3:9%$>' � B21 � / #76()2Q%B2#%)2Q /q/ #%$�+CQ%6(6 � +CQ7L.Q7= �
t�- 6(;�$CM�dGQ7979��@)2L.LF$CB�$�~ D@6 � B2# /�- 179�UA# � L.L � OR'C\ �$#�#�# ��# - '�lV$C$>1G)0rm$C6 � 1%B - '*$ x Q%$>17+<$�)�3A9%$>' � B21
+<)2Q%6K'*$>'
3I)�6 - O7O76() 
 � = -0/ $>LFM ���qM�$ - 6H' � c � = � L - 6HLFM�\ - LgLR)�3W�:1 � ;�$C6H' �F/ M�)�3o�jQ%$>LFO^#X{�'@$>1%B � 1%$C$C6 � 1%B�O76()�B�6 - =�' - 179 / #%$
D � )2'*M,' / $>=�'� E1%B � 1%$C$C6 � 1%B�N:$CO - 6 / =P$>1 /�-0/�/ #%$4��1 � ;�$C6H' �./ M )�3jd - 1 �F/ )�l - # - ;�$
# � ' / )�6 � $>'q)�3�O76H) ; � 9 � 1%B
'*$C6 � $>'&)�3�9%$>' � B21�+<)2Q%6H'*$>' � "�#%$���1 � ;�$C6H' �./ M�)�3 c #%$C6(l^6()n)���$ � 1 / 6H)e97Q^+<$>9 - 1�$�
 / $>17' � ;�$ '*$ x Q%$>17+<$ � 1 / #%$
$ - 6HLFM �$#�# �,{�' �  ALF$>+ / 6 � + - L - 179G�!)2=PO^Q / $C6� E1%B � 1%$C$C6 � 1%B -0/ N - L.#%)2Q7' � $j�:1 � ;�$C6H' �F/ M # - '�# - 9 - +<)21 / � 1eQ7Q7=
)�3�9%$>' � B21�+<)2Q76H'*$>'�' � 17+<$ �$#�# � ~b��6H$CB2'*)21X\ �$#�#�� � �

UA6() ; � 9 � 17B - 9%$>' � B21 +<)2Q%6H'*$ +<)21 / � 1eQ7Q7= 6($ x Q � 6($>' - ;�$C6HM�L - 6(B�$�9%$CB�6H$C$�)�3f+<)n)�OV$C6 -0/ � )21 - =P)21%B�9%$<S
O - 6 / =�$>1 /(- L!3 - +CQ7L / M =P$>=plV$C6H' � "�#%$ O76() ; � ' � )21 )�3 - 1 � 1 / $C6H9 � 'H+ � O^L � 1 - 6(MG9%$>' � B21 +<)2Q%6H'*$4+<)21 / � 1eQ7Q7= � '
9 - Q71 / � 1%B � "�#7$�O76H)�l^LF$>=�' - '('*),+ �.-0/ $>9 a �F/ # $>17'(Q76 � 1%B4$�
 / $>17' � ;�$�+<)2LgL - lV)�6 -0/ � )21 - =P)21%B�3 - +CQ7L / M =P$>=qS
lV$C6H'&a �F/ # / #%$�6($ x Q � ' �F/ $P$�
,OV$C6 / � '*$ - 6H$�$�
 - +<$C6(l -0/ $>9 lnM�'H+H#%$>97Q^L � 1%B%\v6H$>'*)2Q%6H+<$ - L.LF),+ -0/ � )21X\o'*O - +<$�\ - 179
6($CB � ' / 6 -0/ � )21 � 'H'(Q%$>' �

�$�



� �



� �������	��
 �

� 
���� � � � 
�� � � �

� ��� � #&�.+�#&2D2D� +-#&� �(#&% � #&�.+-#&2G2D� +-#&� ( 2GF4+-�.#
"�#%$ / $C6H= 	�$>1%B � 1%$C$C6 � 1%B%{ � 'J6($>L -0/ � ;�$>L.MY=�)e9%$C6K1X\ # - ; � 1%B - O^Om$ - 6H$>9 � 1ph%6($>17+K#X\ - +C+<)�6H9 � 17B / )Y_�$CM - 179�_�$CMnS
N�$ClV) ;�$
~ �$#�# � �K\ � 1 ����%�# - ' ����$
 � �<\ - 97$C6 � ; -0/ � ;�$8)�3�� 
������
 � ��� # � � }$>1 � $�\ - LFa - M,'Y35)2L.L.) a@$>9GleM - x Q - L � �7$C6
� 1� AQ%6H)�Om$ - 1�h%6($>1^+H# ~IB }$>1 � $P= }$>+ - 1 �gx Q%$�\JB }$>1 � $ }$>L.$>+ / 6 �.x Q%$�\XB }$>1 � $�+H# � = �.x Q%$�\m$ / + � �K\va - ' � 1 / 6(),97Q7+<$>9 / )
� 179 � + -0/ $ / #%$ / $>+H#71 � + - L - + / � ; �F/ M � 1 / #%$G+<)217' / 6HQ7+ / � )21 - 179�= - � 1 / $>1 - 17+<$�)�3�l^Q � L.9 � 1%B2'>\W3I)�6 / � �R+ -0/ � )217'C\
l76 � 9%B�$>' - 179�6() - 97' � Z]1 - 1%) / #%$C6 - +C+<)2Q71 / ~ ��- LF��$C6>\ �$#��)� �K\ �*"�#%$P$>17B � 1%$C$C6 � 17B�O76H)�35$>'(' � )21 - 'ja@$P�e1%)�a
�F/�/ )e9 - M 9%$C;�$>L.)�Om$>9 / )�'*$C6(;�$ / #%$�1%)217+<)21%3I)�6H= � ' / � 1^97Q7' / 6 �g- L � ' / 'Y)�3 / #7$ � � / # +<$>1 / Q%6(M�\?a:#%)Ga@$C6($ / #%$
= � 97a � ;�$>'�)�3 / #%$ � 1^97Q7' / 6 �g- L�6($C;�)2L.Q / � )21 � � ��- L.��$C6
B�)e$>'�)21 / ) � =PO^L.M / # -0/�/ #%$�)�6 � B � 1^'�)�3q=P),9%$C6H1
$>1%B � 17$C$C6 � 1%B�+ - 1�lV$ / 6 - +<$>9 / ) / #%$j+<)2=PO^LF$ / � )21�)�3�� / #%$Ya@)�6HL.9X{�'��76H' / � 6H)21�l76 � 9%B�$ -0/ �@) - LFl^6()n)��,9 - LF$	� � 1
������#��

Z]1�3 - + / \W$>17B � 1%$C$C6 � 17B�+ - 1 lV$P6($CB - 6H9%$>9 - ' - O - 6 / )�3 / $>+H#717)2LF)�B�M � �:+C+<)�6H9 � 1%B / )�D@Q^1%B�$G~ �$#���� �K\ -
lV)e97M�)�3J�e1%)�a�LF$>9%B�$ � ' - l76 - 17+K#�)�3 / $>+K#71%)2LF)�B�M � 3 - 179�)217LFM � 3 � - � �F/ � '@+<)2=PO -0/ � l^LF$�a �F/ #�+<)21 / $>=POV)�6 - 6(M
'(+ � $>1^+<$ - 179 - =P$>1 - l^LF$ / )&; - L � 9 -0/ � )21qlnMP=P$ - 17'?)�3 / #7$�'(+ � $>1 / � �^+!=P$ / #%),9 3 - 179X\2lm� �F/ � '?Q7'($>9 / )p+<)21 / 6()2L|\
/ 6 - 17'(35)�6H= )�6EO^6()e9^Q7+<$fB�)n),97'E)�6AO76H)e+<$>'('($>'C\na:#%$ / #%$C6E1 -0/ Q%6 - L%)�6!'*),+ �.- L � [ / #%$C6El76 - 17+K#%$>'?)�3 / $>+K#71%)2LF)�B�M
� 17+CLgQ79%$j=P$>9 � + � 1%$�\,O^# - 6H= - +<)2L.)�B�M�\ - B�6 � +CQ^L / Q%6($�\7= - 1 - B�$>=P$>1 / \R$ / + � ��- L.��$C6q~ �$#��)� �K\ � 1 / Q%6K1X\ � 9%$>1 / � �7$>'
$>1%B � 17$C$C6 � 1%B - ' / $>+H#^1%)2LF)�B�M �F/ '($>LF3 \ - 179 x Q%) / $>'j� - LFl76 - �./ #X\ - '�' - M � 1%B / # -0/:/ $>+K#71%)2LF)�B�M � ' � / #%$q'*M,' / $>=qS
-0/ � + - O^O^L � + -0/ � )21 )�3�'(+ � $>1 / � �^+Y)�6�) / #%$C6�)�6(B - 1 �Fw $>9��,1%) a�L.$>9%B�$ / )�O76 - + / � + - L /(- '*�,' � �

U - 6 - O^#76 - ' � 1%B �YLF$CB�B ~ �$#)��� �K\�aE$�+ - 1�' - M / # -0/ '(+ � $>17+<$ � ' - lm)2Q / 9 � 'H+<) ;�$C6(M�\:$>1%B � 1%$C$C6 � 1%B - lV)2Q /
l^Q � L.9 � 1%B �

N � + / � )21 - 6(M 97$��^1 �F/ � )21^'E)�3W$>1%B � 17$C$C6 � 1%B � 17+CLgQ79%$ � � / #%$ - O7ORL � + -0/ � )21 )�3�'(+ � $>17+<$ - 1^94= -0/ #%$>= -0/ � +C'flnM
a�# � +H# / #%$�O76()�OV$C6 / � $>'8)�3f= -0/*/ $C6 - 179 / #%$ '*)2Q%6H+<$>'p)�3f$>1%$C6(B�M � 1�1 -0/ Q%6($ - 6($�= - 9%$�Q7'*$C3 Q7L / )�OV$C)�O^LF$	�
~ � $Cl^' / $C6 \ �$#�#)� � �  A1%B � 17$C$C6 � 1%B � ' - L.'*) 9%$��^1%$>9 - ' �*+<)217+<$CO / � )21X\ }$ / Q^9%$8B2LF)�l - LF$p9X{�Q^1�O76()
�*$ / � 1^97Q7' / 6 � $>L
'*)2Q7' / )2Q7'�'*$>' - '*OV$>+ / '�~ / $>+K#71 �.x Q%$>'C\ }$>+<)21%)2= �.x Q%$>'C\��^1 - 17+ � $C6H'C\^'*),+ �.- Q 
^�K\V+<)n)�6H97)2171 - 1 / LF$>' }$ / Q79%$>'�O - 6*S
/ � +CQ7L � z$C6($>':97$>':'*O }$>+ �g- L � ' / $>' ��~b[���+<$ x Q }$Cl }$>+<) � 'j9%$�L - L - 1%B2Q7$&356 - 1 �+ - � '*$�\ �������n� � "�# � '�97$��^1 �F/ � )21
+ - 1GlV$
LF)e)2'*$>LFM / 6 - 17'HL -0/ $>9 - ' �*"�#%$:97$>' � B21 - 179�+<)2=PO76($>#7$>17' � ;�$ - 1 - LFMe' � '�)�3 - 1 � 1^97Q7' / 6 �g- LnO^6()
�]$>+ / \,+<)217' � 9%$C6 � 1%B
- L.L �F/ ' - '*OV$>+ / '�~ / $>+H#71 � + - L|\V$>+<)21%)2= � +0\v'()e+ �.- Lb\m$ / + � �K\ � 1 / $CB�6 -0/ � 1%B / #%$qaE)�6(�G)�3A'*OV$>+ �.- L � ' / '�3I6()2= ; - 6 � )2Q7'
9 � 'H+ � O^L � 17$>' � � Z]1 3 - + / \ / # � 'p9%$��^1 �./ � )21 � ' / #%$�' - =�$ - ' / # -0/ 35)2Q71^9 � 1 ~ _�$CM - 179 _�$CMnSTN:$ClV)�;�$�\ �$#�# � ��3
#%)�aE$C;�$C6>\ �./ � ' / )e)PL � = �F/ $>9 � 1 / # -0/ �F/ OV$C6 /(- � 17' / ) / #%$ / $C6H= Q7'*$>9 � 1 - +<)2=�=P$C6H+ �.- LV+<)21 / $�
 / � h%)�6f$�
 - =qS
O^LF$�\ - +<)2=PO - 1 MPO76H) ; � 9 � 1%Bj+<)217'HQ7L / � 1%B&'($C6(; � +<$>'AQ7'(Q - L.LFMq'(Q%l^= �./ ' - O76()�OV)2' - L7l76()���$>1 9%) a�1 � 1 / )&; - 6 � )2Q7'
�F/ $>=�'>\%)21%$&)�3Wa�# � +K# � 'f$>1%B � 17$C$C6 � 1%B%\,) / #%$C6H'�lV$ � 1%BqO^L - 171 � 1%B%\,= - 1 - B�$>=P$>1 / \ - 179�'()�)21 �

Z]1�'(Q7=�= - 6(M�\ / #%$>1v\ $>1%B � 17$C$C6 � 1%B � ' - l76 - 17+K#P)�3 / $>+H#717)2LF)�B�M � Z / � ' - O^6 - B2= -0/ � + - + / � ; �F/ M � 1 / $>1^9%$>9 / )

�$%



' -0/ � '(35M�#eQ7= - 1 1%$C$>97'>\na�#7$ / #%$C6!O^# M,' � + - L^)�6 � 1 / $>LgLF$>+ / Q - L|\ - 179 �F/ '@O76 - + / � +<$ � 'El - '*$>9 )21�'*)2Q7179 '(+ � $>1 / � �^+
O76 � 17+ � O^LF$>' �

����
���
 � 
�����
 � � ���"
�� ��� ���&��

"�#%$�a@)�6H9 �*9%$>' � B21 � � 'P9%$C6 � ;�$>9 3I6()2= / #%$ � -0/ � 1 �*9%$>' � B21 - 6($�\ � =�$ - 1 � 1%B � / ) = - 6(� )2Q / � � "�# � 'qa@)�6H9
lV$ - 6H'�= - 1nM�=P$ - 1 � 1%B2' � 1� A1%B2L � '(#�� / #%$&O76H)e97Q^+ / \ / #7$&O76(),+<$>'('C\ / #%$j; � '(Q - LV6($CO76($>'*$>1 /(-0/ � )21X\^$ / + �

��' - ;�$C6(lJ\ / )P9%$>' � B21 � ' / )�+<)21^+<$CO / Q - L �Fw $ - O76(),97Q7+ / \ /(- 1%B � l^LF$�)�6 � 1 /(- 1%B � l^LF$�\ � 1 / $>1797$>9 / )P' -0/ � '*3IM -
#eQ7= - 1�1%$C$>9 � ��' - 1%)2Q71v\,97$>' � B21 � ' - l76() - 9�+<)21^+<$CO / \ � 17+CLgQ79 � 1%B � - � / #%$j'(Q%lRL � =P$�\e$ � B � \ - = - ' / $C6HO � $>+<$
L � ��$�"�#%$�d4)21 - � � ' - 32lm� / #7$�O76 - B2= -0/ � +0\ $ � B � \ - = - '(' / 6 - 17'*OV)�6 / '*M,' / $>= 3,+ � / #%$ � 1 /(- 1%B � l^LF$�\2L � ��$ - O � $>+<$
)�3?+<),9%$ 3 - 1^9X\R9R� / #%$p+<)217+<6H$ / $�\VL � ��$ - l76 � 9%B�$ �*) � 1 � 1%B / a@)�O � $>+<$>'�)�3?L - 179 � �:1 - 6H+H# �F/ $>+ / {�'�; � $Ca )�3 / #%$
'(Q%l �]$>+ / a - '�O76H) ; � 9%$>9�leM��@)�;�)�~ ����� � � �

�* E1%B � 1%$C$C6 � 1%BYN:$>' � B21 � ' �F/ $C6 -0/ � ;�$�\2+<6($ -0/ � ;�$�\ -0/o/ � =P$>'olV) / # - 1 - LFM / � + - 179q'*Me1 / #%$ / � +0\ - 1^9 � 1,S
+<)�6HOm)�6 -0/ $>'f$>LF$>=P$>1 / '!)�3JO76H)�l^LF$>=qST'*)2L.; � 17B%\ � 1 / Q �F/ � ;�$ - 179�#%$>Q%6 � ' / � +�=�$ / #%)e97)2LF)�B � $>' � N�$>' � B21
� ':9%$>+ � ' � )21,Sbl - '($>9 - 179GB�) - L`ST9 � 6H$>+ / $>9 3v9%$>' � B217$C6H' - 6($qO76H$>'*$>1 / $>9Ga �F/ #GO76()�lRLF$>=�'�=�) / � ; -0/ $>9
leM�#nQ^= - 141%$C$>97'�6($>L -0/ $>9 / )�O76(),97Q7+ / 'C\7= -0/ $C6 �.- L.' - 179
'*Me' / $>=�'�)�3 - L.LV� � 1797'>\ - 1^9�l76 � 17B / )
lV$ - 6�6 -0/ � )21 - L / )e)2L.' - 179 � = - B � 1 -0/ � )21 � 1�=P$ / #%),9%)2LF)�B � $>'�9%$C;�$>LF)�O � 17B�)�O / � = - Lv'*)2LgQ / � )217' � �

 E1%B � 1%$C$C6 � 1%B89%$>' � B21 � 'E)�3 / $>1�' - � 9 / )�lm$:O76()�l^L.$>=qST'*)2LF; � 1%B%\ - 1^9�'*)2=�$ / � =P$>'@9%$>+ � ' � )21%ST= - � � 1%B%\ l^Q / �F/
� 'Y=�Q7+H#�=�)�6($�\v= - � � 1%B �F/ 9 � ��+CQ^L /�/ )49%$��R1%$ � t ) a@$C;�$C6>\s' /(-0/ � 1%B / # -0/ $>1%B � 1%$C$C6 � 1%B�9%$>' � B21 � '�17) / # � 1%B
l^Q / O76H)�l^LF$>=qST'*)2L.; � 17B�)�6&9%$>+ � ' � )21,ST= - � � 1%B � ' /(- 1 /(- =P)2Q71 /&/ )4+CL - � = � 1%B / # -0/ =P$>9 � + � 17$ � 'j17) / # � 1%B l^Q /
O76($>'H+<6 � O / � )21%Sba�6 �F/ � 17B � c Q���+<$ �F/f/ )�' - M / # -0/ �

� $>17B � 1%$C$C6 � 17B!97$>' � B21YOV$C6(; - 9%$>'v9%)2= - � 17'C\>3I)�6 �F/ ),+C+CQ%6H' � 1 - L.L0$>1%B � 1%$C$C6 � 1%Bf9 � '(+ � O^L � 1%$>' � - B�6 � +CQ7L / Q%6 - L|\
+ � ; � Lb\2+H#%$>= � + - L|\n+<)2=PORQ / $C6>\ $>L.$>+ / 6 � + - L|\ = - 1nQ%3 - + / Q%6 � 1%B%\ =P$>+K# - 1 � + - L|\e=P$ /(- L.L.Q76(B � + - L|\2= � 1 � 1%B%\2'*)�3 / S
a - 6($&$>17B � 1%$C$C6 � 17B%\e$ / + � 3

� $>17B � 1%$C$C6 � 17B49%$>' � B21 � 'j=pQ7L / � 9 � '(+ � O^L � 1 - 6HM�\R3I)�6 �F/ 6H$>'*)�6 / ' / )G= - 1 M �7$>Lg97' / ) - +C+<)2=PORL � '(# �./ 'j$>179X\
/ #7$ � 1 / $CB�6 -0/ � )21�)�3 - O76H)e97Q^+ / 3 - 1^9X\

� $>17B � 1%$C$C6 � 17B�9%$>' � B21 � ' �76H' /�- 179G35)�6($>=�)2' / '*Me1 / #%$ / � +0\Vl^Q / = - M
= - ��$PQ7'*$p)�3 - 1 - LFM,' � ' - '�O - 6 / )�3
/ #7$89%$>' � B21�O^6()e+<$>'H' �

"�#7$p� - 1 - 9 �.- 1� E1%B � 1%$C$C6 � 1%BP�:+C+<6H$>9 �F/(-0/ � )214D@) - 6H9GQ7'*$>' - 97$��^1 �F/ � )21 )�3o$>1%B � 17$C$C6 � 1%BP9%$>' � B21��
� 
����!
"����#�� 
�� � �����	��
 �!
 ������# ������� � ����� �$� � � � �$����� � ��� � ����� �$
�������� ��
 ���!
"���$#��!
��%�$�$� ��
������ ��
��
������� � ������
 � ��#�� ��� � ��� ��� � 
 ������� � ����� 
 � � � ������
��!��� ��� ������� � ��
�� ��# ������������� � �
�����$� � �����$� 	 �

 ��� ��� ��
�� � � � ��# � ��� �����
� � ����# ��� ����� ��
�� �������$
 �����$
�� ��
�� ��� �"#���������� � ������� � � � � ����
 ��� # ��� 
��!�
��� ��� � ������� �������$#�
 � �����
��� ��
"� ��# � �
��# � � � � � ����� � ��
 � ������#�� �!
�� � � � # ������� � ����
���� 
��%��
 ��� �
��� �$�$� � � �!
"� ����� ����� � ����# ����� � ����# � ������� � �
� ����
���� � ����� � � � ����� � �����$� ��� ��
�� �!#���
 � �$
 � ��� � ��� �$� ���
��# ����� �$# ���$#�� �!
"��
��!� � � � ��#���~b�! A��D�\ �������2� �

�! E�:D - +C+<6($>9 �./(-0/ � )21�9%)e+CQ^=P$>1 / '!6H$ x Q � 6($ / #%$Y=P$ - '(Q76($>=P$>1 / )�3 / #%$YO76()�OV)�6 / � )21�)�3 / #%$Y$>1%B � 1%$C$C6 � 1%B
+CQ%6(6 � +CQ7L.Q7= / # -0/ � ' - '('*),+ �.-0/ $>94a �F/ #�$>1%B � 1%$C$C6 � 1%BP9%$>' � B21 � "�#nQ^'C\ � 1
� - 1 - 9 - \7$>1%B � 1%$C$C6 � 1%BP9%$>' � B21 � ' - 1
� 1 / $CB�6 - LXO - 6 / )�3 - LgLV$>1%B � 1%$C$C6 � 1%BqO76()�B�6 - =�' �

�  



����
�� 
 � � ���&��
k� 
�����
 ��� ����
��

� =pQ7L / � 9 � '(+ � O^L � 1 - 6HM�9%$>' � B21�$>1%B � 1%$C$C6 � 1%BqO76()�B�6 - = � '�9%$C;�) / $>9 / ) / #%$ / #%$C)�6HM�\^=P$ / #%),97'C\%O76H)e+<$>'('($>' - 179
/ )e)2L.' / # -0/E/ #7$�$>17B � 1%$C$C6!Q7'*$>' / )�+<6H$ -0/ $ - O76H)e97Q^+ / ' -0/ � '(35M � 1%B - '*OV$>+ � �R+�#eQ7= - 1 1%$C$>9X\ - 'f= - 179 -0/ $>9�lnM
/ #%$P+CL � $>1 / � N�$>' � B21�$>17B � 1%$C$C6 � 17B ' / 6 � ;�$>' / )�35)�6H=�Q7L -0/ $ / #%$qB�$>1%$C6 - LoO76 � 17+ � O^LF$>'�)21�a�# � +H# / #%$P9%$>' � B21G)�3
- 1�$>1%B � 1%$C$C6 � 1%BqO76H)e97Q^+ / \%6($CB - 6H97LF$>'H'!)�3 / #7$89 � '(+ � O^L � 1%$�\ � 'fl - '*$>9 �

Z]1�'HQ7=�= - 6(M�\ / #%$>1X\e$>1%B � 17$C$C6 � 1%B�9%$>' � B21 � ' - OV$C6(; - ' � ;�$ - + / � ; �./ M / # -0/!- O7OV$ - 6H' � 1�$C;�$C6(M�$>1%B � 1%$C$C6 � 1%B
O76()
�*$>+ / \oa�# � L.$q97$>' � B21�$>1%B � 1%$C$C6 � 1%B � ' - '(Om$>+ � �^+ql76 - 17+K#�)�3!$>1%B � 17$C$C6 � 1%B �  A1%B � 1%$C$C6 � 1%B497$>' � B21 � ' - L.'*)
#%$ - ; � L.M�97$COm$>1^9%$>1 / )21 '(Q%l �]$>+ / � ;�$�+<)217+<$CO / 'C\�'(Q7+K# - ' / # � 1%� � 1%B�O76H)e+<$>'('($>' � �:L / #7)2Q%B2# -0/*/ $>=PO / 'p# - ;�$
lV$C$>1P= - 9%$ / )j3I)�6H= - L �.w $!97$>' � B21q$>1%B � 17$C$C6 � 1%B - ' - '(+ � $>1^+<$�\ / #%$ - O7OV$ - 6 - 17+<$f)�3m; - 6 � )2Q7'C\ x Q �F/ $f9 � '*O - 6 -0/ $�\
'(+K#%)n)2Lg'�)�3 / #%)2Q%B2# / � 179 � + -0/ $>' / # -0/ 9%$>' � B21�$>17B � 1%$C$C6 � 17B � ' - 1 - + / � ; �F/ M � 1�$C;�)2L.Q / � )21v\7a�#%$C6($CleM�6($>'*$ - 6H+K#
� 'f' / � L.LX1%$C$>9%$>9 / )�L - M �F/ 'f3I)2Q7179 -0/ � )217' � 1 - l76H) - 97LFM - +C+<$CO /(- l^LF$&3I6 - =P$Ca@)�6(� �

� �98 � �&2 � #&�.+�#&2D2D��� 	 � � � � 2DF4F4+-�.#&� +
"�#%$p� - 1 - 9 �.- 1G�!)2Q717+ � LV)�3�U?6H)�35$>'(' � )21 - Lv E1%B � 1%$C$C6H'&~b���!UA !� � ' - 1 -0/ � )21 - LX)�6(B - 1 �Fw>-0/ � )214)�3oO76H) ; � 17+ �.- L
- '('*),+ �.-0/ � )21^';
 / # -0/ \ � 1 / $C6 - L �.- \ � 'H'(Q%$>'�L � +<$>17+<$>'C\ - 179 �B�"

�3� � � ��
��9 "�	�9!�� � ���/5���

��5 � ��� � �� "!#��� �6��*
� �/� �<
9��* ��5�5��1���B�1� $; "�/ 8�/ � Z]1 �$#  % \ / #%$����fUA �+<6($ -0/ $>9 / #%$:� - 1 - 9 �g- 1� E1%B � 1%$C$C6 � 1%B:��+C+<6($>9 �./(-0/ � )21
D@) - 6H94~b�! E�:D��K\ - OV$C6H= - 1%$>1 / lV),9%M&a�#7)2'*$E6H)2LF$&~b�! A��D�\��������2� � ' / #%$ - +C+<6($>9 �F/(-0/ � )21q)�3mQ7179%$C6HB�6 - 97Q -0/ $
$>1%B � 17$C$C6 � 1%B�O76()�B�6 - =�' / # -0/ O76() ; � 9%$�B�6 - 97Q -0/ $>'�a �F/ # / #%$ 5�@ �1!#!15A�����7��5�5� 8
 � ��3I)�6�6H$CB � ' / 6 -0/ � )21 - ' -
�<
9��* ��5�5��1���/ "! ���/.��#�/�(��
)�#�6$; "�/ 8�< � � # -0/ � ' / #%$Y$>1%B � 17$C$C6 � 1%BpO76()�3I$>'(' � )21 � � #%) � ' - O76()�3I$>'(' � )21 - L �
� $qa � L.L -0/*/ $>=PO /Y/ )�9%$��^1%$ / #%$q+<)217+<$CO / )�3?O76H)�35$>'(' � )21 � 1 / # � ':'*$>+ / � )21 - 179G97$ - Lsa �F/ #G+<)2=�Om$ / $>1^+<M � 1
/ #%$8'($>+ / � )21�lV$>LF) a �
��� 
 ��
 � 
 � �&� � ����� 
 ���)����
 �	� ��� � �)�	� � ��������
��
[�;�$C6 / #%$GL - ' /  �� M�$ - 6H'C\ - ' � B21 � �^+ - 1 /�- =P)2Q71 / )�3j6($>'*$ - 6K+H#X\�+ - 6H6 � $>9�)2Q / O76 � = - 6 � L.M�lnM�'()e+ � )2L.)�B � ' / '
' / Q797M � 17BGa@)�6(� B�6()2Q%O^'C\@# - '�'(#7$>9 L � B2# / )21 / #%$4+<)217+<$CO / )�3�O76()�3I$>'(' � )21 - L �Fw>-0/ � )21 � � _�$>'($ - 6H+H# )21 / # � '
/ )�O � +�# - 'PL.$>9 / ) / #%$�9%$C;�$>LF)�O^=P$>1 / )�3�; - 6 � )2Q7'q=P)e97$>L.'�)�3:O76H)�35$>'(' � )21 � d
)�6($ � =POV)�6 /(- 1 / LFM�\A#7) a@$C;�$C6>\
6($>'*$ - 6K+H#
# - '�l76()2Q7B2# /�- lV)2Q /�- '*$ / )�3�+H# - 6 - + / $C6 � ' / � +C'�B�$>1%$C6 - L.L.M '(# - 6($>9�leM - L.LvO76()�3I$>'(' � )217'>\ � 17+CL.Q79 � 1%B 	
~ UW$>=8lV$C6 / )21 - 1794UW$>179%$C6HB�6 - 3 / \ �$#�#�� � �

� � O76()�3I$>'(' � )21 � '�Q^179%$C6(B � 6K9%$>9�leM - 1�)�6(B - 1 �Fw $>9GlV)e9%M�)�3 5 � ��� �	��� @ �/� � !1�(�<."� \Va�# � +K# � 17+CL.Q79%$>'
/ #7$C)�6($ / � + - LnO76 � 17+ � O^LF$>' - 'Ja@$>L.L - ' 5 � �(� �	��� ���<

 8���9�1�7 "!	5�@ �#!#!15 � "�# � 'X'(Om$>+ �g- L �Fw $>9j�,1%) a:LF$>9%B�$E'($C6(;�$>'
- '�)21%$8'*)2Q76H+<$j)�3�LF$CB �F/ � = �.w>-0/ � )21 35)�6 / #7$&O76()�3I$>'(' � )21 �

� �kO^6()�35$>'H' � )2149%$>= - 1797' - Om$C6 � )e9�)�3�$>9^Q7+ -0/ � )21 - 1^9 / 6 - � 1 � 1%BPa �F/ #
97Q%6 -0/ � )21^'�+CLF$ - 6HLFM�9%$��^17$>9�lnM
/ #7$:O76H)�35$>'(' � )21 �F/ '($>LF3 � Z]17+<6($ - ' � 1%B2LFM�\ / # � 'A$>9^Q7+ -0/ � )21 - LR$�
eOV$C6 � $>17+<$ /(- ��$>'!O^L - +<$ � 1 - Q^1 � ;�$C6H' �./ Mq$>1,S
; � 6()21^=P$>1 /W- 179 -0/o- Om)2' / Sbl - +C+ - L - Q%6($ -0/ $!LF$C;�$>L � "�#%$ / 6 - � 1 � 1%B � 17+CL.Q^9%$>' - l^' / 6 - + /W- 179 � �/�(��
9�(�9�1�7 "!
@ �/� � !1�(�<."�  85 �?��!1!  85)� ��� �3��
9� ����� �<�/�1�7 �! 5�@ �#!1!15 �"*%� ��� �<��!1� �

�
	 �='/�&�F')�%*1#$�"!���%�"#$�%J)�&*�'�J�
 J���%LN�%H���� 	�� 
��G3�� �&����� *+*+#?��� <6>�� �"!�#$���%� �&* 	 � .=<6�&#$��������� 	 �G3 �I*+*+� H%#?<6.&#$��� �6��� �&��� �%*+*+#$��� <6>
� �"!�#$���%� �&* <�� '�� �%��*+H #?� �/.&#$*K.&*I���� �&#E.&#$*+�"!7��>?J�A8L�# <#��� �����$�� %!%�G3"� .&H�;

�'& ��#$>?�)()�%H .&#$��� <�; * �6�P.&�"�"!%!���� ')� H%J"AR�%� .R� �/.&#E.&>$�2',++��Q�Q;�.-0/�/214345�687:9�7;6�<>=@?A1�687B3�1�6�9 <�� '�C%1D<E/�3F5>GH143�I2J �&� � � �&*R.&�
K �"� D >$�2'�!���3@.&�"��<�J�.&�����&* ���I.&�"#$*1')� H%J"AR�%� .����%� >�.&� <6. .&�"��#$*+*+J"� <6.1*K.=< K � #?*8* K #$>$>$*%37*+#$��H%� K �"� D >$�2')!�� H ��AR-��&#$*+�%* ����>ML <
-N���+.&#$���F��� .&��� �&�%*+��J)�&H%�%*I�"�%�%'��2'�.&�R'��%9��%>$��- * K #$>$>$*

5�� �&�6���%*+*+#$���"<�>$#MN2<6.&#$��� #?* .&�"��-��&� H%�%*+*P.&�)�&��J�!�� D �"#$H=� <1.+�=<�')�1<6HEO J"#E�&�%* .&��� H=� <:�=<�H .&� �&#$*K.&#$H%* �6��<R-��&�6���%*+*+#$����� H �&�2<6.&#$���
��� <8�"� D -)�&����� *+*+#?���P�
;$Q"���I�2R�<6AR-">$��3/.&�"� H �&�%<6.&#$���F�6� .&�"��!%!���� #$� 0%O�<TS1>$�2'�.&�8.&�"� -)�&��� �%*+*+#$��� <6>$#UN%<6.&#$���,��� � �"!�#$���%� �&#$�"!

8 � �%A LN� �+.&����<��"'V� �%�"'�� �&!6�=<6� .I-)�&�%*+�%� .I�%#$!�� .IHG�"<6�=<�HG.&� �&#$*K.&#?H * *+�"<6�&�2' LWL�<8�/J"A LN� ���6� �&�%H%��!��"#MN%�%' -��&�6���%*+*+#$����*

���



� �!)2=�=pQ^1 �F/ M8$>179%)�6H'*$>=�$>1 / )�3 - O76()�3I$>'(' � )21plV$>+<)2=P$>'�' / 6()217B�$>17)2Q%B2#�) ;�$C6 / � =P$!'*) / # -0/o/ #%$@O76()�3I$>']S
' � )21 - +H# � $C;�$>' / #%$ - Q / )21%)2=pM �9�45�� � ����5 ��� � �(�����  �9�1���/ "! 5��� "�/�/ 8

�<5N�	�(��



�1� �<!#� �  8�7�7

�(� �
���� 8�9�1�����% "���  !1��." "!#!��:5� "�/���9�1�	����� !1�1�7���/5��#��.6�"
 �7��
��
� ���7 �
���	� 5 � 5 ��� ��� "�# � 'jL � +<$>17' � 17B
'(Me' / $>= # - ' / #%$�3I)�6H+<$�)�3vL - a � 1 / # -0/ 17)&)21%$:+ - 1�O76 - + / � +<$ / #%$ / 6 - 9%$�a �./ #%)2Q / O76H)�Om$C6E+<6($>9%$>1 / �.- L.' �

"�#7$>'*$P35$Ca +K# - 6 - + / $C6 � ' / � +C'8+CL.$ - 6HLFM � L.L.Q7' / 6 -0/ $ / # -0/p- O76()�3I$>'(' � )21 � 'Yl^Q � L / )21 - lV)e9%M
)�3E�,1%) a:LF$>9%B�$
~I3I)�6�$�
 - =�O^LF$�\7$>1%B � 1%$C$C6 � 1%BP'(+ � $>17+<$>'K� - 'fa@$>L.L - '�'*� � L.L.'@)�3 - O76 - + / � + - L - 1^94'*OV$>+ � �^+Y1 -0/ Q%6H$ �
��� 
 � 
 � ���A� 
 � �)����
 �	� � � � � 
����"
 � � ����
�� � ���	� � ���&����

Z]1 / #%$ � 6�lV)n)���)21�$>1%B � 17$C$C6H' - 179 / #%$ � 6:O76()�3I$>'(' � )21v\'�j$>=POV$C6 - 179 c - 1^9%$C6H'p~ ����� � �:)0rV$C6 - 9%$��R1 �F/ � )21�)�3
/ #%$&O^6()�35$>'H' � )21

� � ��� � �!
�� # ��� � � #�� 
 �
� �����$� ��� ��� � ��� 
��
	 � � ��� � ��
"� �������$
 � ��
�� ��
�� � 
 ���$
�������� �"# � � ��# ��� � ��
 �!
��
� � � ���!
�� �!
���� # � ��� � ��
�� � 
 ��� � � � � ��
�� ���$��� ��� � � ��	 � � � � � � 
 ��� � ����� �$
 � � 	 ��� � � ��� ��#�� � ��� � ��#
�$��� � ����# � � ��#�� 
"�$� � �	��� � 
"� ��# � ���!
�� � � ��� ��� � � � � ��
�� ���$��� � � ��� � ��� 
�� ��� 
 � 
����$������# ��� ��� ��#
�
� ��
 �
� ��� � ��
 ��
�� ����
����$#������ �����!
 � ��
 � �	��� ��� ��
�� ��# � � � � � ��� � ����������
 � ��
�� ����
"� � ����� ��
��
����� � �!� � �!
�� � �!� � �$� ����#�� � � ����
�� � 
 � ��� ��� � ��� ��
"� � � ��� �!
��
����	 ��#���	 � � ��� � � � � �!� ��#�� ���
� � #�� � ���*��� � # ��
"� ��#�� 
 � ��� � � ��� � � � ����#
� � ��� �

Z]1 �F/ '�B2Q � 9%$8)21 / #%$pO76()�3I$>'(' � )21 - LXO76 - + / � +<$p)�3�$>1%B � 1%$C$C6 � 1%B � 1�� - 1 - 9 - ~b���!UA �\ ����� � lm�K\ / #%$P� - 1 - S
9 �.- 1 �@)2Q717+ � L!)�3jUA6()�35$>'H' � )21 - L� E1%B � 1%$C$C6K'4~b���!UA !�q9%$��^17$>' / #%$
+K# - 6 - + / $C6 � ' / � +C'�)�3 / #%$GO76()�3I$>'(' � )21 )�3
$>1%B � 17$C$C6 � 1%B - ' �

� ��# ����������� ��
 � � � �	� ��#�
 � �
� ��� � �!
�� ��� ��� # ��� � � # ��� � ������
���������������������� �"!$#%�&�'�"(*)
+�,��&��-.�/�0!
,�����,/12-3�4-.+5-.�") � ���!
"� � ��#���� �!
 ����
�������� ��
�� � � � �$� ��� ��� � � ��� � � ��� � ��
 � � # ���!
 �!
�������
�� ��# � ��� � � � �
��6����$#�� ��
"��� ��7 ��� ���$#�� ��� � ��# ����������� ��
 � �!� � � ��� �$� # � � � ��� �!� � ���*� � �������!# ��# � � �����8� 
��
	 � � � ���
��
�� ��6����$#�� ��
"���
� � ���!
�� ��� � ������� ����� � � � ����
 ��� � ����#
��� ��
��*��# ����� � ��������� ��� � � � ��9 #�� �$��� �
��� ��
 ��� ��# � ��� � � � ��
"��#�� ��� ��� ��
�� � # � ��� ���:+<;:�"-3(�=���>�?:�2+��"��=2@�� � � ��� 
�� ��� 
 � � ��� # � � ��� � ��� ��� ���!#
� ��# ����#�� �

�:B - � 1X\ - 1 � =POV)�6 /(- 1 / 3I$ -0/ Q%6($�)�3 / #%$�3I)�6($CB�) � 17B
9%$��^1 �./ � )217' � ' / # -0/p- O76()�3I$>'(' � )21 � 'jl - '*$>9 )21 / #%$
- + x Q � ' �F/ � )21�)�3 - lV),9%M�)�3?'(Om$>+ �g- L �Fw $>9��,1%) a�L.$>9%B�$  85 �&��!#!  85 � ��� �B 85 ����
 � �"*- 35��(� ��*,5�@ �1!#!15  "���
�B� � �/���<5BA @ ��� � � �/� ��C �
��� 
 ��� �ED � �������)��� � �A� 
�� �)����
 �	� ��� � �)�	� � ��������
 �
���
[�;�$C6 / #%$�L - ' / ���GM�$ - 6H'�)�6�'()%\ - ' � B21 � �^+ - 1 /8- =P)2Q71 / )�3�6H$>'*$ - 6H+H#v\ � 17+CL.Q79 � 1%B / # -0/ )�3 c +H#%F)21�~ t:- 6H6 � 'C\
�$#�#�� �K\7# - ;�$ /(- ��$>1 - +<6 �F/ � + - L^L.)n)�� -0/@/ #%$�$CO � ' / $>=P)2LF)�B�MP)�3XO76H)�35$>'(' � )21 - L%O76 - + / � +<$ � �:+C+<)�6K9 � 1%B / ) c +K#%F)21X\
O76()�3I$>'(' � )21 - LvO76 - + / � +<$ � ':1%) / 3I)2Q7179%$>9G'*)2LF$>LFM�)21 / #%$C)�6($ / � + - Lb\ / $>+K#71 � + - L - 179GO76 - + / � + - LJ�,1%) a:LF$>9%B�$�\Vl^Q /
- L.'*)P)21 - '*$ / )�3�'*� � L.L.'	�


�
 � � ��� � � ��
 � � ��� � ��# �$� � � � � ��
�� ��� ��� 
 � � ���G� 
"�
	 �	��������� �IH � ��� ����� ��# ���$������� ��
 ��� ��# � ��� � ��� # ���
� � � # ����(J��KL��="+5-3M��JNO, ���P?�(J,'="+5-.=�, �8����� ���Q�R�S� �T,����U=R��>�?:�"+��2��="-.�")��$��# � � ��� �!
��V	 �!���
�"#�� � �	�$� � � 
 ��� � �!
�� ������#�� �!
 �����W����
"��� ��� ��# � ��� � ����� ��� � � � ��� ��� � ��# � � � ��� ��� � � 
�� � ��� � �	��� �
������� 
 � � ��� ��# � ��� � � � ��# �$��� ��� � ��
�� �BXG;:�2)Y�O=R��>�?:�"+��2��="-.�")Z,�(J�[=2(*-.+5-.=�,��3�4@\-.>�?:��(*+�,��]+^+��
+<;:�_����#%=R,�+5-`� �a, �����'�"Mb�"���"?�>[�"�&+^��c�?�(J��c2�")
)
-.����, ��)*�!
 ��� � � � �!� ����� ��� # ����� � ������� 
"���
�	� � � � ��� � � � � � � # ��� ��
�� � ����
���� � � ��� ��
���� ~ t�- 6(6 � '>\ �$#�#�� � �

d]e ��� D #$��!�� #$� �	<�H .&#$��� 3�>?�%<6�&�"�%'�.&���&��J"!�� �2R)-N� �&#$�%�"H%��3��&�`f"�%H .&#$���H� #?�H�	<�H .&#$��� 3 <6� '��&�`f �%HG.&#?��� �	<�LN��J�.4�	<�HG.&#?���

� �



� 1eQ7=plV$C6�)�3�) / #%$C6�6($>'*$ - 6H+K#%$C6H' � 1 / #%$ �^$>L.94)�3�O76H)�35$>'(' � )21 - L �Fw>-0/ � )21 - 179�'*� � L.L.'C\7'(Q^+H# - ' �J$pD@) / $C6(3
~ �������2�K\^'(# - 6($ / # � 'Al^6() - 9%$>1%$>9�; � ' � )21�)�3 / #%$�O76()�3I$>'(' � )21 � " - l^LF$ ����� 'HQ7=�= - 6 �.w $>'��J$�D@) / $C6(3C{�'�97$��^1 �F/ � )21
)�3 - O76()�3I$>'(' � )21 - L �

�<�K����� }8�f� ���|�:�����^���<�����
�<�����������
	:�<�<}:�^� �<}8�����<}:�
� ���^��� ����
��^�1���X��	:�<��������<�#��� �|���8�,��� �<�K�K������� ��� �����^������}:�X�����^�

���^��� ��� ���<}*���������f����� � �<�#����
�� �������<�������M���������<� �f�����
�<�#�:��� � ���

�<�#�:�����<�������S�>���]��� �����X���
����� ���������:� �<�#� � 	:� � ������<��
�	���� ��� �X� � � �����������S��� �<�X��f���<����	��>���^�<��	������^�

����� ����
:���:�%� ���<����	8� ���������X�(�X���f�����������(�:���|�X�:���
�<�S����	:��� �^� ���8�,����}������:�^��� ���]}:��� �X� }:���>��� �1���^�<��	:��� �S�

� }�� � �<��� �^���������8��� ��}:��� �����M�������^���������<�! �� "
���:��� ���^���X���#���:���%$ }:���`��� ����& '
}���� ��}:�
��
������ �(� 
�	��������<� ��}:�`�����^�>���1}���� ��� }����
���M�K�������X�%���<� � �^�����������:�������)&
��� � ����� �S�<�<���X����� ���K������������*^�%�+	:���<� � ����<����	����<��������& ���X��	:�<�������>���8�
� }:�
��
:����� �(�,&!&!& �(� � ���^��� �<����	��<����������M���-$ � ��� ���,���>�<�����-$\�����<�X� � �<�#�<���(�<}:��
���� � �.� ��	:�<����/	8���`��� ����$0���:��� ���S�����

� ��� ���������������:�
���K���:�����<���
�������#���K��������� � �<���� ���<����	8�~�������.�����<�X���>�����/�������<�! ��
�<�K�����1�[���^���<�����2� �������! � ��������������3�<�����S�����1���������S����� �<�M�<�������4� ������}:�^� ��� }:� � ��� �<�������

}:���[�<�����^����� �������M�! � �^�<���������^��<�#�:�^��� ����
��%}:���m���M���^���<�
�<��
��
��	�
#5 ��� �<�����
� �������X�B��� �4����<���^�:�X�����(���:�S���^�6� �<��	:���:���<�����X�

���K�K����� � ����� �S�<�<���������������� ��}:�.�����o���������<���X���
" - l^L.$ ����� � N�$��^1 �F/ � )21�)�3 - U?6()�3I$>'(' � )21 - L?~��v$8D@) / $C6(3�\ �������2�

�v$�D@) / $C6(3C{�'�9%$��R1 �F/ � )21 +CLF$ - 6HLFM 97$>=P)217' / 6 -0/ $>' / # -0/ \:a�# � LF$4O76H)�35$>'(' � )21 - L:O76 - + / � +<$ � '�l - '*$>9�)21�'*� � L.L.'
9%$C;�$>LF)�OV$>9�Q^' � 1%B / #%$ � 179 � ; � 97Q - Lb{�' � 1n;�$>1 / )�6HM )�3�6($>'*)2Q76H+<$>'G~I$ � B � �e17) a�LF$>97B�$�\E�,1%) a�ST#%) a&\ - O / �./ Q79%$>'C\
$ / + � �K\ �./�- L.'*) � 1n;�)2LF;�$>'�#7$C6�)�6�# � '!$>1n; � 6()217=P$>1 / ~ +<)217' / 6KQ7+ / � )21�)�3�+<)2L.LF$>+ / � ;�$8'*� � L.L.'K� �

� - ' / LFM�\ / #%$j)�lR'*$C6(; -0/ � )21 � ' / #7$&' - =P$ � 3Wa@$j6($C35$C6�l - +(� / ) / #7$p���!UA ~ ����� � lm�f97$��^1 �F/ � )21 )�3WO76()�3I$>']S
' � )21 - LV$>1%B � 1%$C$C6 � 1%BqO76 - + / � +<$ �

�����87 ��# � � � � ��� ��� ��#�� �$������� ��
 � � �$
����!
"����#�� 
��97 ��� ��
��_,��]@ ,�="+[��c\?���,��&�&-3�:�0![�'�2)
-Q�0�%:
-.�:� !_=�� >B?/��)
-3�:�0! �"Mb,���#%,�+5-3�:� ! ,'��Mb-3)
-3�:�0! (J�J?:��(*+5-3�:�0! ��-3(J��="+5-3�:�U��(P)�# ?/�"(*Mb-3)
-3�:�0!
��(_>[,���,S� -.�:� ��
 � ��� ��� � �$��# � ����� 
 ��� ��� ��� # ��� � �!# ��� ����� ��� � � � � ��� � ��
 ��� �$
����!
"���$#��!
�� �"#��!
��
��� � �	��� ��
�� ��� ��� ����
�����#�
�� ����� � � �$��� � ��# ��� 
 � ��� � � ���
� � � ��� ����� ��# �����$#�� ��� ������
"��� � ��� 
�����# �����!� �
����� � ��� � � �8	 � � � ��# �*��# ��� �*�$
�� �!# ��
 ����
 � �

�$#



� $�3I$C$>L / # -0/ �F/ � ' � =�Om)2'H' � l^LF$ / ) O^L - 1X\�97$>' � B21X\:$C; - L.Q -0/ $�\Y'HQ%OV$C6(; � '*$�\�= - 1 - B�$�\j9%),+CQ7=P$>1 /�- 179
'*)4)21 � ��� �/����� �<� �	��!1�����#��.6� �/�A�����7��5�5� 8
 � 5�@ �#!1!15N� ����� �/��
 � ���	!1!�� �"
 �< 8
��
�� �!1!�� � �<�/
0�1�/.6� �/�
����.	�1�/���(
�� 5) 8�7 8�<� �B�1�4��

 "�#�<�1�/. �

� ��� � ��)�� 2 ;>2G#&���
U?6H$C; � )2Q^'(LFM�\7a@$ � 179 � + -0/ $>9 / # -0/ O76H)�35$>'(' � )21 - LvO^6 - + / � +<$ � ':1%) / 35)2Q^179%$>9
'()2LF$>LFM�)21 / #7$C)�6($ / � + - L|\ / $>+H#71 � + - L
- 179 O76 - + / � + - LA�e1%)�a�LF$>9%B�$�\ol^Q /&- L.'*)
)21 - '*$ / )�3�'*� � L.L.' � [Y1 / #7$�) / #%$C6q# - 179X\ / # � '&6 - � '*$>' -Gx Q7$>' / � )21��
a�# -0/ � '�+<)2=POV$ / $>17+<M �

"�#7$�� # ��
�� ��� � � � ��
 
 ���!# � ���$#�� �!
����	� ��� � � ��~b[���+<$ x Q }$Cl }$>+<) � '�9%$&L - L - 17B2Q%$j356 - 1 �+ - � '*$�\ �������n�f97$��^1%$>'
+<)2=POV$ / $>17+<M - ' �

� � ����� ��� � 
��Y	 �	����������� 
��
	�� � �
	 ��
�� ���$#��$��
 ��� �!� � � # ��� �!� # ��� � �!# � � �$��#�����#�����#�� �!
�� � �����
� � ����� � � ����� ��� 	 � � � ��� � ��# � � �����������!
�� �!
 ��� �*��6��$#���� ��� ��� ��
 ����� � � ��� � ��
 �

"�# � '�B�$>1%$C6 - L�9%$��R1 �F/ � )21 # - ' / a@) � =�Om)�6 /(- 1 / 3I$ -0/ Q%6($>' � h � 6H' / )�3 - L.L|\A+<)2=�Om$ / $>1^+<M � 'ql - '*$>9 )21 -
'*$ / )�3?�,1%) a�L.$>9%B�$�\R�,1%)�afST#%) a8\ - 1^9
OV$C6H'*)21 - L �F/ M / 6 - �./ ' � c $>+<)21^97LFM�\R+<)2=�Om$ / $>1^+<M � '�1%) / =�$ - '(Q%6($>9Ga �F/ #
6($>'*OV$>+ /@/ ) - + x Q � 6H$>9��,1%) a:LF$>9%B�$ - LF)21%$�\,l^Q / 6 -0/ #%$C6!lnM - OV$C6H'*)21v{�'A+ - O - + �F/ M / )q+ - 6(6(M�)2Q /@- + / � ; �F/ � $>' � 1 -
'*OV$>+ � �^+&O76()�3I$>'(' � )21 - LvO76 - + / � +<$q+<)21 / $�
 / � Z]1 - 6($$&7$>+ / � )21
)21G$>1%B � 1%$C$C6 � 1%BP)�3?O76H)�35$>'(' � )21 - L - 179 / $>+H#71 � + - L
/ 6 - � 1 � 1%B%\^yYQ%$ClV$>+0{�'�N�$CO - 6 / =�$>1 / )�3o E97Q7+ -0/ � )21 ~|d
 !y&�@)0rV$C6($>9 - ' � = � L - 6!)�l^'($C6(; -0/ � )21 � 1�9%$��^1 � 1%B / #%$
l - ' � +:+K# - 6 - + / $C6 � ' / � +C'!)�3J+<)2=POV$ / $>17+<M�~|d
 !y�\ �������2�K\^'*)2=P$Y)�3va�#7)2'*$Y3IQ71^9 - =P$>1 /(- LR+K# - 6 - + / $C6 � ' / � +C' - 6($ �

� �!)2=POV$ / $>17+<M � ' - LFa - M,'W97$��^1%$>9  85%� �/�?�7 ��< 8� ��� � �"*< "� �#���������1�<�/ "! ��� �<� 5����3�(� �<�#��. \ 6 -0/ #%$C6
/ # - 1 / )�9%$>=�)217' / 6 -0/ $&#%$C6�)�6:# � '!�,1%)�a�LF$>9%B�$ 3

� �!)2=POV$ / $>17+<M � ' � 17'*$CO - 6 - l^LF$�356H)2= � �/� �7�	�	���('�� �"* �/

 8���9�1�7� �#� 

�� "! 5����9�� 8�9�1���/5 3
� �!)2=POV$ / $>17+<M 'H#%)2Q7L.9�lV$Y'($C$>1 - ' / #%$j6($>'(Q^L / )�3 - LF$ - 6H1 � 1%B8O^6()e+<$>'H' � 1 / $CB�6 -0/ � 1%BP; - 6 � )2Q7'@6($>'*)2Q76H+<$>'
~I�,1%)�a�LF$>9%B�$�\7�,1%)�afST#%) a8\ - O / �F/ Q797$>'C\%$ / + � � �

Z]1 # � 'jlV)n)���)21 $>17B � 1%$C$C6 � 17B4'*� � L.L.'C\ �J$�D@) / $C6(38~ ������� � / )2Q7+H#7$>'8)21 / #%$ x Q%$>' / � )21�)�3 / #%$�6($>'*)2Q76H+<$>'
1%$C$>9%$>9 / )�l^Q � Lg9�+<)2=POV$ / $>17+<M�\ � 1^' � ' / � 17B � 1 / # -0/ +<)2=POV$ / $>17+<M + - 1 )21^LFM�lV$�=P$ - '(Q76($>9 � 1 +<)21717$>+ / � )21
a �F/ #�OV$C6(3I)�6H= � 1%B - 1 - + / � ; �./ M �

�	� ��� � �$����
"�$�
� � � ����
 ��� # ��� � � ��
 ��� # ����� � # ����� � 
�� � � ��� � # ��� � � � ��� � ����� ���!
 ��� � ��
 ��� � ��
 �
# ���$� � #������ � � ��� � ��� 
"�
	 �	��������
 ��� # � ��� � # � � �$��� ���B� 
��
	 � � � ���
� �L� 
��
	�� � �
	�
�� ����� ��� � ��
��
� � ��� � 
"��������� ��#�� ����# ��� � � � ��������� ��� ��
 � ��� ��� � � ��� � ��
�� ���"� � � � � ����
 ���
� ��� � � � #���� ��� ��>�?:��:
+��"��=2@�=�,�� ���&�4@�1J� >[�R,�)
#:(J���\� -.+<;'-.�a,�� ,'="+5-3Mb-3+5@ � �

Z / � 'P1%)�a +CLF$ - 6 / # -0/ +<)2=POV$ / $>17+<M � 'Pl^Q � L / 356()2= 6H$>'*)2Q%6H+<$>' - 179 + - 1�)217L.M lV$4=P$ - '(Q%6H$>9�� � 1 / #%$
+<)21 / $�
 / )�3?O^6()�35$>'H' � )21 - LJO76 - + / � +<$ � [Y1 / #%$p) / #7$C6Y# - 179X\ / #%$ � '('(Q%$&)�3A6($>'*)2Q%6H+<$>'Y1%$C$>97$>9 / ) l^Q � L.94'*� � L.L.'
6($>= - � 17'!6($>L -0/ � ;�$>L.M�)�OV$>1 � �J$&DE) / $C6H3f~ ������� ��6($>+<$>1 / LFM�O76()�OV)2'*$>9 - +CL - '(' � �^+ -0/ � )21 - 17949%$>'(+<6 � O / � )21�)�3 / #%$
6($>'*)2Q76H+<$>' / # -0/�- 1 � 179 � ; � 9^Q - L^1%$C$>9^' � 1�)�6H9%$C6 / )�l^Q � Lg9 / #%$p'*� � L.L.'@)�3 - O76()�3I$>'(' � )21 - Lb\ - ':'(Q7=�= - 6 �Fw $>9 � 1
" - l^LF$ ��� � �
�(
����C')�%9;�%>$��-"AR�%� .�����H ��AR-N� .&�%��H%#$�%* '�J)�&#?��! J"��#$9;� �&*+#E. L .+�=<�#$��#?��! �&�EO J"#E�&�%* #$� � H%��� .&�2R/.��2')J"H2<:.&#$��� <6>P<6H .&#$9)#E.&#$�%* <�� '

��-�-N���+.&J��"#E.&#$�%*�� ��; !�; '�� *+#?!�� -)�&��� �%H .&*���.&�"<6.8<�>$>$� D .&�"��*K.&J ')�%� . .&�,'�� AR���"*K.+�=<:.&����� � ���R��#?*8<�L�#?>$#E. L .&�,-N�G�+�����&A �"�6�&A�<�>
<�HG.&#?9/#E.&#$�%*I#?�/9;��>$9;�2'�#$� .&�"� -��&�6���%*+*+#$��� <�> -��=<�HG.&#?H �

���



Z]1q'(Q7=�= - 6HM�\�$>1%B � 1%$C$C6 � 1%B:+<)2=POV$ / $>17+<M � ' - lV)2Q / lRQ � L.9 � 1%Bf)21 - '($ / )�3R6($>'*)2Q%6K+<$>'�'(Q7+H# - 'o�,1%) a:LF$>9%B�$�\
�,1%) afST#7) a&\ - 1^9�OV$C6H'*)21 - L �./ M / 6 - �F/ ' / # -0/ $ x Q � O / #7$&$>1%B � 1%$C$C6 / ) = - 1 - B�$ - LgLX' �F/ Q -0/ � )21^'!)�3WO^6()�35$>'H' � )21 - L
O76 - + / � +<$ � 1^+CL.Q79 � 17B �/��5��1.��<�#��. �<
9�������7��5N�/5 � 5 ��� �35; "��� �<
9��� �(5�5��(5 � Z�1��!# - O / $C6 �%\eaE$ � 17+CL.Q^9%$ / #%$
6($>'(Q^L / '!)�3 - L �F/ $C6 -0/ Q%6H$&'(Q%6(;�$CM )21�$>1%B � 17$C$C6 � 1%BP9%$>' � B214+<)2=POV$ / $>17+<M �

������� ���
	���
������������
� ���:�^����� ���:��� ���S����� � � 	:���:����� �������M� � }:�����������:�X� ���%�<� ��	��f�����X� �X� � ����
#$���^�1�8� � �<�#���^������� ����&

� �:��� ���^���X� w � ��� ����� ���:��� ���S��������� � � ����$� �^���������8���Z���������������M�^��� � � �������$��}:�q������}:�������������^�^�^�<}:�~��	:���^�^�S�<}:� � �������������:����<}:� �!	:� ��	:�����:������&
� �:��� ���^���X�B��� � ���#� �^��	:�<�S� � � ���:��� �<}�� � ��� ���^�#	��<�S��� �<}�� ��� �<}��������>��}:� � ����$� �^���<�^�^��� ����&
� ���#� �^��	:��������������� � � � ���:��� }:��� ��� 	8���1��� �<}�������� � �<�#���^�#	:���^�^�O������}#$�:�������X���S����������&

w ������� � x9 � �������^�X�������b�4������� � � � ���:���!}:���!�<� 	���� ��� � �������^���+���:��� ���^�:��� " ��& ��&��	:���^�>���o��} 	:�+
�'
w��#� � ��� ����������� � �����:���[}���� �<���������<�^� ���<������� � �^�����<�X�X�����~�X���K���1��<�^���*�:� ����&
{~���X�:� �����X�(��������� � � �
�<������� � ����
:�����K�^�f�<�
���S�������6�f�<�%�K��������� � � ����5 ��� �^��<�K�K���X�%�:��� � �<���X������������&
� �^���<�����������(�M�<��������� � �:� �������<�����X���<}:�X�<��	:��}6� �!	:������	�����������&

� �<}���� ���^�<��	:��� �S� " ��& ��&O�������<���������b�����<�^������������� �)' � �*�K���������M���:�! ��" � �^���<�������q����� � ����� �^���<���X����� '|����� ����<��� ���^� " ������	:���<�����6� � �^����� � �����X� �:������& '
" - l^LF$ ��� �
� _�$>'*)2Q%6K+<$>'f35)�6�l^Q � L.9 � 1%Bp+<)2=�Om$ / $>1^+ � $>'

� �



���



� �������	��
 �

� � � � � � � � � � � � ��� ��� � � ��� � � � � � ��� � �

� � � � � 
 � � � � � � � ���
	

',��� 	 ����) � 2 ;42G# ; ( 2DF>+0�.# � #&�.+�#&2D2D�
� $ - 6($ � 1 / $C6H$>' / $>9 � 1
$>' /(- l^L � '(# � 1%B - O76()��^L.$&)�3?�,1%) a�L.$>9%B�$�\X'*� � L.L.'C\7OV$C6H'()21 - L �F/ M / 6 - �F/ ' - 179Glm$># - ; � )2Q%6H'
/ # -0/ 97$��^1%$ - +<)2=POV$ / $>1 / 9%$>' � B21�$>1%B � 1%$C$C6 �

� 6($C; � $Ca )�3slV) / # / #%$&'H+H#%)2L - 6KLFM - 179 / #%$ � 1797Q7' / 6HM Sb)�6 � $>1 / $>9�L �F/ $C6 -0/ Q%6($Y)0rm$C6K' - 6 � +K# 97$>'(+<6 � O / � )21�)�3
O76()�3I$>'(' � )21 - L,$>1%B � 1%$C$C6 � 1%Bj+<)2=POV$ / $>17+ � $>' � 1qB�$>1%$C6 - L � D!Q / a:# -0/ 9%)e$>' �F/ ' - M - lm)2Q /?/ #%$�9%$>' � B21P$>1%B � 1%$C$C6��
Z]' / #%$C6($ - 9%$��^1 �./ � ;�$jL � ' / )�3�+H# - 6 - + / $C6 � ' / � +C' / # -0/ '($ / '�9%$>' � B21�$>1%B � 1%$C$C6K' - O - 6 / 3I6()2= ) / #%$C6�$>1%B � 1%$C$C6 � 1%B
O76 - + / �./ � )21%$C6H' �

� )�6 / #��:=�$C6 � + - 1�$>97Q7+ -0/ )�6H' / MeO � + - LgLFM - O7O76() - +K#�9%$>' � B21 - ' - '(Q7l^'*$ / )�3s'*� � L.L.'�3I)�6 - L.L7$>1%B � 1%$C$C6H'C\el^Q /
l - '*$>9�)21 � 1797Q^' / 6 �.- L%9%$>= - 179�~ h76 � '*$ �$� �����g\ �������2��3 / #7$C6($ - 6H$ / )e)q35$Ca � 17' / �./ Q / � )217' / # -0/ $�
,O^L � + �F/ LFM / 6 - � 1
$>1%B � 17$C$C6H'f3I)�6�9%$>' � B21�+<)2=�Om$ / $>1^+<M �

��+ - 9%$>=P$ - 179 � 179^Q7' / 6(M - 6($ � 17+<6($ - ' � 1%B2LFM�+<)2L.L - lm)�6 -0/ � 1%B / )�$>' /(- lRL � '(# - l - '*$>L � 1%$�35)�6q$>1%B � 1%$C$C6 � 1%B
9%$>' � B21�+<)2=POV$ / $>17+<M - =P)21%B $>1%B � 1%$C$C6 � 1%B�Q71797$C6(B�6 - 97Q -0/ $>' �  
 - =PORLF$>' � 1^+CL.Q79%$ - l^6() - 9%$C6�)2Q / +<)2=P$<S
)�6 � $>1 / $>9 - '('($>'('(=P$>1 / Q71797$C6 / #%$8��D@ E"  @�@S ��������6($CB � =�$>'8~ D@$>L.L|\ ������� 3VN:$$�JMe'($C6 - 179 t�- =�' /(- 9X\�������� 3
dG+ �@) a - 1 - 1^9 �&1 - O7OV$C6>\$�������2� - 'JaE$>LgL - 'J9%$>' � B21,Sb)�6 � $>1 / $>9 � 1797Q^' / 6(M�� - + - 9%$>= � + � 1 �./ �.-0/ � ;�$>'VL � ��$?"fZ]NY A 

~ N - ; � ' ����� ���g\ �$#�#  2� - 1^9G�!N�Z*[ �q~b�!6 - a�L.$CM�\ �������2� �

�:O - 6 / 356()2=�6($>+<$>1 /j� )�6 / #���=P$C6 � + - 1G$<rm)�6 / ' / ) lV)2L.' / $C6:$>1%B � 1%$C$C6 � 1%B�9%$>' � B21
+<)2=POV$ / $>17+<M�\ / #%$C6($ � '
- 3 - � 6 - =P)2Q71 / )�3�L �F/ $C6 -0/ Q76($Y)2Q / L � 1 � 1%B / #7$&9%$C;�$>LF)�O^=P$>1 / )�3W$>' /(- l^L � '(#%$>9� AQ76()�OV$ - 1�9%$>' � B21�$>1%B � 1%$C$C6 � 1%B
O76()�B�6 - =�'E~ D!Q � �(' - 179 % - LF��$>1nl^Q%6(B%\������ � �K\ � 1797Q7' / 6(M:'(Q76(;�$CMe'J)2189%$>' � B21&'*� � L.L.'?~ h76 � '*$���� �����.\�������� 3  AB�B�$C6 / \
������� 3Xh%6 � '($ �$� �����g\ ����� � �K\ � 1^97Q7' / 6(M L �F/ $C6 -0/ Q76($&)21G$>1%B � 1%$C$C6 � 1%B�+<)2=POV$ / $>17+<M ~��J$ � OV$C6 - 179 �&# - 1X\ �$#�#�# 3
� � '(LF$C6>\ ����� � � - 179�O76($<Sb$�
 � ' / � 1%B�9%$>' � B21�$>17B � 1%$C$C6 � 17BqL �F/ $C6 -0/ Q%6($�~ t Q%l7� -P- 1794 E9%$C6>\ �$#�# �2� � "�#%$>'*$j)0rV$C6
3 Q%6 / #%$C6�+CL.Q7$>' / ) / #%$ �]O76H)��^LF$	�q)�3 / #%$89%$>' � B21�$>1%B � 1%$C$C6 � 1%BP+<)2=POV$ / $>17+<M �

"�#7$ � )�6 / #��:=�$C6 � + - 1�L �F/ $C6 -0/ Q76($p9%)e$>'Y1%) / O76()�; � 97$ - +<)2=PO76($>#7$>17' � ;�$ - 179�O76($>'(+<6 � O / � ;�$p97$��^1 �F/ � )21
)�3 / #%$&$>1%B � 1%$C$C6>{�'�+<)2=�Om$ / $>1^+<M - ' - 9%$>' � B21%$C6>\%)�6 - 14$�
,O^L � + �F/ L � ' / )�3W$>9^Q7+ -0/ � )21 - LJ)2Q / +<)2=P$>'�'*OV$>+ � �^+ / )
/ #%$&O^6 - + / � +<$j)�3o$>1%B � 1%$C$C6 � 1%BP9%$>' � B21 �

_�$>+<$>1 / O - OV$C6H' / # -0/ � 97$>1 / � 3IMG97$>' � B21 - ' - 1�$>1%B � 1%$C$C6 � 1%B�9 � '(+ � ORL � 1%$ � 1 �F/ 'j)�a�1�6 � B2# / O^L - +<$�97$>' � B21
$>1%B � 17$C$C6H' -0/ / #%$ � 1 / $C6(3 - +<$ ~ D@Q � �*' - 179 % - L.��$>1 l^Q76(B%\������ � 3fh%6 � '*$ ��� � ���g\ ����� � ��)�3&'(+ � $>1^+<$�\ - 1 - LFM,' � '
~ c #%$CO^O - 6H9X\ �$#�#�# 3X ?; -0/*/ \ ����� � �K\ - 6 / ~  A97$C6>\ �$#�#�% � - 179
l^Q7' � 17$>'('8~ D!Q � �(' - 179 % - LF��$>1nl^Q%6(B%\ ����� � 3Vh76 � '*$

�I
 �=<6�"*K� � �=<�L�>?� � �/.&� !��=<6.&�%'��P�%*+#$!��"�@��!�#$�"�%�G�&#?��! �@'�J"H%<6.&#$��� ;
��!7���"H%�%#$9/#$�"!)3
�P�%*+#$!��"#$�"!)3 � AR-�>$�%AR�%� .&#$�"!�<��"' 	 -N� �=<:.&#?��!8�&�2<6>M� D ���&>?'F*DL)*K.&�%AR*M<��"' -��&�/')J"H .&*

� �



�$�������.\������ � � �
d - 1 MG$>1%B � 1%$C$C6 � 1%B�$>97Q^+ -0/ )�6H'YlV$>L � $C;�$ / # -0/ ' / Q^9%$>1 / 'Y'(#7)2Q7L.9
Q^179%$C6H' /(- 1^9
#%)�a / )�B�$>1%$C6 -0/ $q97$>' � B21

'*OV$>+ � �^+ -0/ � )217' - 179 #%) a / )�O76H)e+<$C$>9 3I6()2= 9%$>' � B21 '(Om$>+ � �^+ -0/ � )217' / ) - �^1 - L@O76(),97Q7+ / leM $>' /(- l^L � '(# � 17B
)�l��*$>+ / � ;�$>' - 179�+<6 �F/ $C6 �.- \,B�$>1%$C6 -0/ � 1%B - L / $C6H1 -0/ � ;�$>'C\7'*M,1 / #%$>' �Fw � 1%B%\ - 1 - LFM w � 1%B%\%+<)217' / 6HQ7+ / � 1%B%\ / $>' / � 1%B - 179
$C; - L.Q -0/ � 1%B
~ c #%$CO7O - 6H9v\ �$#�#�# � �

',�98 � F ;>�(@*+-+-F �&2D% ) � +�+�+0F � ��� ( 2DF>+0�"# � #&�"+-#&2D2G� F
� �F/ # / #%$jO76H$C; � )2Q^'f9 � '(+CQ7'H' � )21 )21 - +<)2=POV$ / $>1 / 9%$>' � B21�$>1%B � 1%$C$C6>\ / #7$&'*$ - 6H+H#
35)�6:'*� � L.L.' - 179 -0/*/ 6 � l^Q / $>'
)�3 - +C+<)2=PO^L � '(#%$>9�9%$>' � B21�$>1%B � 17$C$C6H'8+ - 1 lm$CB � 1 � � l76 � $C3E'(Q%6H;�$CM�)�3fO - Om$C6K' - 179 - 6 / � +CLF$>'&)�;�$C6 / #%$�L - ' /
$ � B2# / M�$ - 6H'f)0rV$C6H' - 1nQ^=8lV$C6!)�3s# � 1 / ' - ' / ) / #%$ � 1 / $>L.LF$>+ / Q - Lb\eO^6()�35$>'H' � )21 - L - 179 OV$C6H'*)21 - L �./ M�O76H)��^LF$�)�3 -
+<)2=POV$ / $>1 / 9%$>' � B214$>1%B � 1%$C$C6 �

"�# � '�6($C; � $Ca �76H' / $�
 - = � 1%$>'j'(� � LgL.' / # -0/ '*$ / 9%$>' � B21�$>1%B � 1%$C$C6K' - O - 6 / 3I6()2= ) / #%$C6&O^6 - + / �F/ � )21%$C6K' � Z /
6($C; � $Ca�'P) / #7$C6 -0/*/ 6 � l^Q / $>' / # -0/�- 6($�'*)2Q%B2# / � 1�9%$>' � B21�$>1%B � 1%$C$C6H'C\ � 17+CL.Q^9 � 1%B�$�
eOV$C6 � $>17+<$�\!Om$C6K'*)21 - L �F/ M
/ 6 - �F/ '>\%l^Q7' � 17$>'('!'*� � L.L.'C\,+<)2=�=�Q71 � + -0/ � )21^'�'*� � L.L.'C\ / $ - =paE)�6(� - 1^9 �]) / #%$C6 � / $>+K#71 � + - Ls'*� � L.L.' �

� � 
 ��
 �
� ��� �4� � � � ���&��
�� � ����� �'�&�
��� ��� 
�� �)� � �
Z]1797Q7' / 6HM - 179 - + - 9%$>=P$�+ �F/ $ - a � 9%$@6 - 1%B�$!)�3^O76H$C35$C6($>1^+<$>' � 1�35)�6H= - L%9%$>' � B21q=P$ / #%),9%)2LF)�B � $>' � � # � L.$E$ - +K#
� 179^Q7' / 6(Mq'*$CB2=P$>1 / # - ' �F/ 'A3 - ;�)2Q76 �F/ $Y9%$>' � B21 =P$ / #%),97'C\ �F/A/ MnO � + - L.LFMP'*$C$C�,'!$>1%B � 1%$C$C6K' - l^L.$ / ) � =PO^LF$>=�$>1 / �

� d
$ / #%),97' - 179 6KQ7LF$>'�3I)�6 / #%$GL - 6HB�$C6 9%$>' � B21�O76H)e+<$>'(' � 17+CLgQ79 � 1%B �GN:$>' � B21 3I)�6 i ~b[ - �eL.$CMR\ �$#�# � 3
D@)e) / #%6()�Me9 �$� �����.\ �$#�# �73 h7Q
��� � ���g\ ������� 3 DE)e) / #%6()�Me9v\ ����� � 3 D - � - � �$� �����.\ ������� 3  ?B�B�$C6 / \�������� 3 h76 � '*$
��� �����.\�������� 3 � -0/*/ � ��$C6>\������ � ��3 � 9%$>1 / � �^+ -0/ � )218)�3^+<)217' / 6 - � 1 / ' - 179�1%$C$>97'!~I$ � B � yjhWN&�E~ _ - 97+CL � rm$ - 179
t�- 6(6 � '*)21X\ �$#�# �730 ?B�B�$C6 / \��������2��3 x Q - L �F/ MY+<)21 / 6()2L2O76H)e+<$>'('($>'E~I$ � B � c � 
 c � B2= - \�"�yjd��?~  ?B�B�$C6 / \�������� 3
h76 � '*$ ��� � ���g\ �������2��3 - 1^9�Q7'*$�)�3!O76H)
�]$>+ / = - 1 - B�$>=P$>1 / ' / 6KQ7+ / Q%6($>' ~ N:$C�e��$C6>\ �$#�#  3W A;nlRQ%)2=8a - 1
��� � ���g\ �$#�#  3,�:'*lV)�6H10�]$>1 - 179 t�- = - 171v\ ������� 3eD@)e) / #%6() M,9X\ ����� � 3e ?B�B�$C6 / \ ������� 3nh%6 � '*$ �$� �����.\�������� 3
dG+ �@)�a - 1 - 179(�&1 - O7OV$C6>\ �������2��3

� 6KQ7LF$>'o3I)�6?9%$>' � B21 - 1 - L.Me' � ' - 1^9P9%$>' � B21 � =PO^6() ;�$>=P$>1 / \ $ � B � h - � L.Q%6H$fd
),9%$� �rV$>+ / �:1 - LFMe' � 'C\�O76(),97Q7+ /
/ $>' / � 1%B%\^O^6()e+<$>'H' � 1 / $CB�6 -0/ � )21X\7$ / + � ~ D@)n) / #%6H) M,9 ���������g\ �$#�# �73VuX# - 1%B%\ �$#�#�� 3V ?B�B�$C6 / \ ������� 3��J$Ca � 1
����� ���g\ �������2��3

� =�$ / #%)e9^'�3I)�6�+<6H$ -0/ � ; �./ MnSb$>17# - 17+<$>=P$>1 / \V$ � B � l^6 - � 17' / )�6K= � 1%B - 179G"�_�Z(u�~  A6 /(- ' - 179 �2)21%$>'C\ �$#�#  3
N � $ / $C6 \ ������� 3mh76 � '*$ ��� �����.\ ������� 3R AB�B�$C6 / \�������� 3m"�_�Z(uW\ �������n��3

� '(Om$>+ � �^+ / $>+K#71 � + - L,'*� � L.L.'va �F/ #�'*OV$>+ �.- L $>=�O^# - ' � ' � 1�9%$>' � B21X\ � 1^+CL.Q79 � 17B �m'*)2L � 98=P),9%$>L.L � 1%B / $>+K#71 �.x Q%$>'
~ h76 � '*$ �$� �����.\ �������2��3f+<)2=PO^Q / $C6*S - � 9%$>9 9%$>' � B21 ~b�!��Nj� ~ N - ; � ' �$� �����g\ �$#�#  3 c )�6HlnM ��� �����g\ ������� 3
 A; -0/*/ \ ����� � 3: AB�B�$C6 / \ ������� 3 �v$Ca � 1 ��� �����.\ �������2��3�B�$C)2=P$ / 6 � + 9 � =P$>17' � )21 � 1%B - 179 / )2LF$C6 - 17+ � 1%B
~b�jN �&":��~ h%6 � '*$ ��� �����.\ �������2��3A+<)2=PO^Q / $C6*S - '(' � ' / $>9�9%$>' � B21 ~b�!�:N&��~ N - ; � '
�$� �����.\ �$#�#  3W AB�B�$C6 / \
�������2��3 - 179�+<)2=�O^Q /(-0/ � )21 - L &RQ � 9�9%M,1 - = � +C'P~b�!hoN&�P~ �&Q71^97Q - 1^9�_ - B2#eQ71 -0/ # - 1X\ ������� 3WD � 6 / � B2#
����� ���g\ ������� ��3 - 179

� ) / #7$C6�9%$>' � B21 �,1%) a�L.$>9%B�$�\ � 17+CL.Q79 � 1%B&' - 3I$ / M�=P$ / #%),9%)2LF)�B � $>'&~|dG+ �@)�a - 1 - 1^9��81 - O7OV$C6>\�������� 3R ?B0S
B�$C6 / \�������� 3 t:- LF$>'>\������ � 3v�YQ w = - 1 - 1^9 % Q79%B297$>L � � - \ ����� � 3 �j$>LgLFMR\ �������n�K\V6($CB2Q7L -0/ )�6(M � '('(Q%$>'&~  AB0S
B�$C6 / \��������2� - 1^94#nQ^= - 1�3 - + / )�6K'�~  AB�B�$C6 / \�������� 3m"J)�3 / �$�������.\������ � lv\ - � �

�&�



� � 
 � 
 � � � � ����� 
 � � � 
 � � � 
�� � � � � � �

�:lm)�;�$ - L.LX) / #7$C6�'*� � L.L`STLF$C;�$>LV+<)217' � 9%$C6 -0/ � )21^'C\%9%$>' � B21�$>17B � 1%$C$C6H'!6($ x Q � 6H$Y'()2=P$8LF$C;�$>LX)�3�# - 1^97']Sb)21�+<)2=POV$<S
/ $>17+<M � 1 / #%$�Q7'*$�)�3�= - +K# � 1%$>'C\ / )e)2L.'p)�6qO76(),+<$>'('*$>'p6($>LF$C; - 1 /q/ ) / #%$ � 6 �7$>L.9 ~ t Q%l7� -�- 179  E9%$C6>\ �$#�# � 3
D@$>L.L|\ ������� 3V A; -0/*/ \ ����� � 3J���!UE �\ ����� � - 3vh%6 � '*$ ��� �����g\ ������� 3V AB�B�$C6 / \ ������� 3vh%6 � '*$ �$� �����.\ ����� � � � "�#%$>'*$
'*� � L.L.' - 6($ � 17'(Q���+ � $>1 /!- =P)21%B � )�6 / #G�:=�$C6 � + - 1�$>1%B � 17$C$C6 � 1%BPB�6 - 9^Q -0/ $>'C\7l - '($>9�)21 / #%$&3I6($ x Q%$>17+<M a �F/ #
a�# � +H# / # � ' � '('(Q%$ - O7OV$ - 6H' � 1 / #%$8L �F/ $C6 -0/ Q%6($ �

� 6($>+CQ%6H6 � 1%B / #%$>=�$&)21 / #%$ � '('(Q%$j)�3�$�
,OV$C6 � $>17+<$ � ' / #%$81%$C$>9
35)�6�=P)�6($&O^6 - + / � +<$ � 1 / #%$&$>97Q^+ -0/ � )21 - L
O76(),+<$>'(' � [�6(B - 1 �.w>-0/ � )217'JL � ��$A��D@ E" # - ;�$@= - 179 -0/ $>9&)2Q / +<)2=P$<Sbl - '*$>9q=P$ - '(Q76($>'v)�37Q71^9%$C6(B�6 - 97Q -0/ $?+<)2=qS
OV$ / $>17+ � $>'@a �F/ # � =PO^L � + �F/ +<)217'*$ x Q%$>17+<$>'!3I)�6@O76() ;�$>1�$�
,OV$C6 � $>1 / �.- L^L.$ - 6H1 � 1%B ~ N - ; � ' �$� �����g\ �$#�#  37"s6($C; � ' - 1
�$�������.\ �$#�#�� 3RD@$>L.L|\ ������� 3mN:$$�JMe'($C6 - 179 t�- =�' /(- 9v\ ������� 3mdG+ �@) a - 1 - 179(�&1 - O^Om$C6 \ �������2� �

� #%$C6($�9%$>' � B21
$>1%B � 1%$C$C6 � 1%B�'*� � L.L.'f# - ;�$�lm$C$>1 � 9%$>1 / � �7$>9 - '�'*$CO - 6 -0/ $p3I6()2= / MeO � + - Lv$>17B � 1%$C$C6 � 17B�'(+ � S
$>17+<$�\ / #%$C6($ � ' - 6($>+CQ%6(6 � 1%B
O^6 � 17+ � ORLF$�)�3:L.$ - 6H1 � 1%B0SbleMnST9%) � 1%B ~ t Q%l^� -�- 179  A97$C6>\ �$#�# �2� �  
eOV$C6 � $>1 / �.- L
+<)2=POV$ / $>17+<M � 'A9%$��^17$>9 - ' - 1 � 171 -0/ $ - l � L �F/ M - 1^9 - ' - �*'($ / )�3 � 17' / � 17+ / ' - lV)2Q /A/ #%$YL � ��$>L.Mq+<)21^'*$ x Q7$>17+<$>'
)�3�+<$C6 /(- � 14+K#%) � +<$>'�a�# � +K#�$C;�$C6(M�O76()�3I$>'(' � )21 - LV3 - +<$>'�$C;�$C6HM�9 - M � � ~ h76 � '*$
��� �����g\ ����� � � �

� � 
 ��� �(�������)� � �'����� � � � � � � ���&��
 � 
����"
 � � ����
��

U?6H)�35$>'(' � )21 - L -0/*/ �./ Q79%$ � '8a � 9%$>LFM�+ �F/ $>9 - ' - ��$CM +<)2=POV$ / $>17+<M�3I)�6q$>1%B � 1%$C$C6H' � 1 B�$>1%$C6 - Lj~ h%6 � '($ ��� �����g\
������� 3? ?B�B�$C6 / \ ������� 3 � � '(L.$C6>\ ����� � �K\ - LF)21%B�a �F/ # / #%$ - l � L �F/ M / ) - 9 - O /p/ )�+K# - 1%B�$>' � 1 + � 6H+CQ7=�' /(- 17+<$>'
~ h%6 � '*$
�$�������.\ ������� 3 � � '(LF$C6>\ ����� � � �

N�$>' � B21
$>1%B � 1%$C$C6 � 1%BqO76 - + / � +<$p'(Q,rV$C6H'f3I6()2= ; - 6(M � 1%B -0/*/ �F/ Q79 � 1 - LmO -0/ #%)2LF)�B � $>' � � � ) / S � 1 ;�$>1 / $>9,ST#%$C6H$	�
-0/*/ �F/ Q797$>'�~ � � 'HLF$C6>\������ � �K\e+<)2173IQ7' � )21�)�3R)�6 � B � 1 - L �F/ Mja �F/ #q+<6($ -0/ � ; �F/ M�~ "�#7)2= - ' - 179P��=P$�\ ����� � �K\e17) / � )217'
)�3J9%$>' � B21 - ' - 1 � 179 � ; � 97Q - L - + / � ; �F/ MG~ "�#%)2= - ' - 179 ��=P$�\ ����� � �K\ - 1^9 - 1 Q71na � L.L � 1%B21%$>'(' / )qLF$C;�$C6 - B�$ / #%$
�,1%) a�L.$>9%B�$?)�3 / $>+H#^1 � + �.- 17'v)�6 / 6 - 9%$>'H=P$>1�~  AB�B�$C6 / \��������2� - 6($A6($>+CQ%6(6 � 1%BfO76()�l^L.$>=�' - =P)21%B�1%$Ca B�6 - 9^Q -0/ $>'
)�3�Q71 � ;�$C6K' �F/ M�$>1%B � 1%$C$C6 � 1%BPO76()�B�6 - =�' �

� � 
 ��� 
 ������
 �'�&����� � � ���
"�#%$�6($>+<$>1 / L �F/ $C6 -0/ Q76($�'(Q%B�B�$>' / ' / # -0/ 1%) ; � +<$�$>1%B � 1%$C$C6H'86($ x Q � 6($ -0/ LF$ - ' /p- 1 � 1 / 6()e9^Q7+ / )�6(M�3 - = � L �.- 6 �./ M
a �F/ # lRQ7' � 1%$>'H' � '('(Q%$>' � "�#%$>'*$4'*� � L.Lg' - 6H$ � 9%$>1 / � �7$>9 - '�Om$C6 / � 1%$>1 /�/ ) - L.Lf$>1%B � 17$C$C6H'qSp1%) / �(Q7' / 97$>' � B21
$>1%B � 17$C$C6H' � t ) a@$C;�$C6>\p+CQ7' / )2=P$C6 - a - 6($>1%$>'H' � '�$>=�O^# - ' �Fw $>9 � 1 / #%$�9%$>' � B21 +<)21 / $�
 / ~ t $ - 6H1%$�\ �$#�#�� 3
�v$ � Om$C6 - 1^9(�&# - 1X\ �$#�#�# 3 � � '(LF$C6>\ ����� � � �

Z]=POV)�6 /(- 1 / l^Q7' � 1%$>'(' � '('(Q%$>'�35)�6 $>1%B � 1%$C$C6K' � 1^+CL.Q79%$ �GO76()
�*$>+ / = - 1 - B�$>=P$>1 / '*� � L.Lg'
~�� - # � 9
� � \ ������� 3
���!UE �\������ � - 3� AB�B�$C6 / \ ������� 3 � - Q7+K#%$�\������ � ��3&+CQ^' / )2=P$C6 - a - 6($>1%$>'(' 3��,1%)�a�LF$>9%B�$�)�3jl - ' � + � '('(Q7$>' � 1
l^Q7' � 1%$>'('"�^1 - 17+<$�~ +<)2' / )�3�=�)21%$CM�\E+<)�6(OV)�6 -0/ $�)�a�1%$C6H'(# � O ' / 6HQ7+ / Q%6($>' - 179 L �g- l � L �F/ � $>'K�q~b���!UE �\ ����� � - 3
dG+ �@) a - 1 - 179 �&1 - O7OV$C6>\ ������� 3A AB�B�$C6 / \ ������� 3 � � '(LF$C6 \ ����� � ��3fl - ' � +�$>+<)217)2= � +�O76 � 17+ � O^LF$>'�~�� - # � 90� � \
������� ��3 - 1 - O7O76($>+ �.-0/ � )21 35)�6 / #7$
1 -0/ Q%6($�)�3 � 1 / $C6H9 � 'H+ � O^L � 1 - 6(MG$>17B � 1%$C$C6 � 17B�O^6()�l^LF$>=�'4~ � � '(L.$C6>\ ����� � ��3
/ #%$ - l � L �F/ M / )P$C; - L.Q -0/ $&O76(),97Q7+ / 9%$C;�$>LF)�O^=�$>1 / +<)2' / '�~ D@$>L.L|\ ������� ��3^6 � '*� - 1 - LFM,' � ' - 1^9�l^Q79%B�$ / � 17B�~ h%6 � '*$
�$� �����g\��������2��3e'()e+ �.- Le'*� � L.L.' - O7O^L � + - l^LF$ / ) - =pQ^L / � +CQ7L / Q76 - L�l^Q7' � 1%$>'('J$>1 ; � 6()217=�$>1 / ~�� - # � 9
� � \ ������� 3 � � '(LF$C6>\
����� � ��3 - 1
Q71^9%$C6H' /(- 179 � 1%Bq)�3�+<)�6(OV)�6 -0/ $p+CQ7L / Q%6($ - 179 / #7$8B2LF)�l - LJ1 -0/ Q%6($&)�3�lRQ7' � 1%$>'H'Y~ N�$>=POR' / $C6*��� �����g\
����� � 3 c $C� � B2Q7+K# � �$� �����.\ ����� � 3:h%6 � '*$ �$� � ���g\ ������� 3 � � '(LF$C6>\������ � ��3 - 1 - O^O76($>+ �.-0/ � )21 3I)�6 � 1 / $>L.LF$>+ / Q - L
O76()�OV$C6 / M�~ � � '(L.$C6>\ ����� � ��3RO76H)�35$>'(' � )21 - L -0/*/ �F/ Q79%$>'p~b���!UA �\ ����� � - 3m AB�B�$C6 / \ ������� 3 � � 'HLF$C6>\ ����� � ��3R' - LF$>']S
= - 17'H# � O�~IO76($>'*$>1 /(-0/ � )214'*� � L.Lg'K��~  AB�B�$C6 / \ ������� 3 � � '(L.$C6>\ ����� � ��3 - 179 - 1 - l � L �F/ M / ) - 'H'*$>'(' / #%$Ya@)�6(�eO^L - +<$
OV$C6(3I)�6H= - 17+<$j)�3W)21%$>'*$>LF3 - 179�)�3o) / #%$C6K'8~ � � '(LF$C6>\ ����� � � �

� %



� � 
 ��� 
�� � � � 
���� � �)����
��G��� � � ���
�@)2=�=�Q71 � + -0/ � )217'Y'*� � L.L.'�aE$C6($qOV$C6H' � ' / $>1 / L.M -0/ \X)�6&1%$ - 6>\ / #%$ / )�O�)�3@9%$>' � B21�+<)2=POV$ / $>17+<MG6($ x Q � 6($>=P$>1 / '
� 1 � 1797Q7' / 6HM - 179 - + - 9%$>=P$ �  E=PO^LF)�M�$C6H'?$�
,OV$>+ / M�)2Q71%Bp$>1%B � 1%$C$C6K' / )8lV$ &RQ%$>1 / � 1 / #%$�Q7'*$�)�3X$>1%B � 1%$C$C6 � 1%B
9%6 - a � 1%B2'j~ N - ; � ' ��� �����g\ �$#�#  3^ ?B�B�$C6 / \�������� 3^h%6 � '($ �$� �����g\ �������2�K\ / )�lV$ - l^LF$ / )�9%6 - 3 / +<)2=PO76($>#%$>1^' � l^LF$�\
+<)2=POV$>L.L � 1%Bq6($COV)�6 / '8~  ?B�B�$C6 / \��������2�K\ / )�$�
,O76($>'(' / #7$>=�'*$>LF;�$>'�)�6 - L.LFM�~ N - ; � ' ����� ���g\ �$#�#  3V ?B�B�$C6 / \ ������� 3
h%6 � '*$ �$� �����g\ �������2�K\%L � ' / $>1p$<rV$>+ / � ;�$>LFM4~ N - ; � ' �$� � ���g\ �$#�#  2�K\ - 179 / )jlV$ - l^LF$ / ) �*'*$>LgL �j+<)217+<$CO / 'C\nO76(),97Q7+ / '
- 179 / #%$>=�'($>LF;�$>'4~  ?B�B�$C6 / \ ������� 3 � � '(LF$C6>\ ����� � � / ) / #%$ / $>+H#^1 � + - L.LFM ' - ;e;nM - 'Pa@$>L.L - ' / ) / #7$4L - M,= - 1
~ N - ; � ' ����� ���g\ �$#�#  2� �

� � 
 ��� � � � � � �	� � ��� � � ���

 ?;�$C6HM�+<)2=PO76($>#%$>1^' � ;�$�L � ' / )�3f$>1%B � 1%$C$C6 � 1%B4+<)2=POV$ / $>17+ � $>' � 17+CL.Q797$>' / #%$ - l � L �F/ M / )
a@)�6(��$<rm$>+ / � ;�$>LFM � 1
/ $ - =�' � "EMnO � + - L.LFM�\ / $ - =paE)�6H��'(� � LgL.'�6H$>+<$ � ;�$ / #%$�# � B2#7$>' / O76 � )�6 �./ M - =P)217B49%$>' � B21�$>1%B � 1%$C$C6 � 1%B�+<)2=POV$<S
/ $>17+ � $>'�~ h76 � '*$ �$� �����.\ ������� 3  AB�B�$C6 / \ �������2� ��� $ / \ 97$>'*O �F/ $ / #%$ � =POV)�6 /(- 1^+<$E)�3 / $ - =8a@)�6(� - 179�) / #%$C6?'*),+ �.- L
'*� � L.L.'>\ / #%$CM - 6($j1%) /�- '('*$>'('($>9�'*Me' / $>= -0/ � + - L.LFM � 1 / #%$YO76(),+<$>'('!)�3J$>97Q^+ -0/ � 1%BP9%$>' � B21�$>1%B � 17$C$C6H'&~b�@) a:9%6() M
- 179 � � L.L �.- =�'C\ ������� 3 � - Q7+H#%$�\������ � � �

N�$>' � B218$>1%B � 1%$C$C6K'J=�Q7' / lV$ - lRLF$ / )�3I)�6H= / $ - =�'C\ - 179&a@)�6(�ja �./ # - =�Q7L / � +CQ^L / Q%6 - L a@)�6(�n3I)�6H+<$Y~�� - # � 90� � \
������� 3 � � '(LF$C6>\ ����� � � � 1 - 1 � 1 / $C6H9 � '(+ � O^L � 1 - 6(M�$>1n; � 6()217=P$>1 / ~ N - ; � '���� �����g\ �$#�#  3 � � 'HLF$C6>\������ � � �  E1%B � S
1%$C$C6H'�=pQ7' /�- L.'*)�lV$j'*� � L.LF$>9 � 1�+<)21�& � + / = - 1 - B�$>=P$>1 / ~ h76 � '*$
��� �����g\ �������2� �

� - 6H$>1 � - Q7+K#%$�~ ����� � �K\V)�3 / #%$8��1 � ;�$C6K' �F/ M )�3?�:lm$C6K9%$C$>1X\7# - ' � 9%$>1 / � �7$>9�'*$C;�$C6 - L � =POV)�6 /(- 1 / +<)2=�=�Q,S
1 � + -0/ � )217' - 179
O76()
�*$>+ / = - 1 - B�$>=P$>1 / '*� � L.Lg'&~ h%6 - 1%��$>1nlV$C6(B�$C6 - 179
D - 9%��$<S c +K# - Q%lv\ �$#�#�� 3 � - Q7+K#%$ ��� �����g\
����� � 3E�@)�a�9%6()�M - 179 � � LgL �.- =�'C\ �������2�p3I)�6 / #%$ 97$>' � B21 O76(),+<$>'('C\ � 17+CL.Q^9 � 1%B ��1%$CB�) / �.-0/ � )21 a �F/ # +CL � $>1 / '63
O76()�lRLF$>=qST'*)2LF; � 1%B73 - +C+<$CO /(- 17+<$P)�3�6($>'*OV)217' � l � L �F/ M53 � 1 / $C6(OV$C6H'*)21 - LJ'*� � L.L.'637ORL - 171 � 17B73%$�
,+K# - 1%B � 1%B � 1%3I)�6H= - S
/ � )21 3n+<)n)�6H9 � 1 -0/ � 1%B - + / � ; �F/ � $>'63 - 'H'*$>'(' � 17B�+ - O - l � L �F/ � $>'J)�3^) / #%$C6K'632a@)�6(�eL.) - 9P= - 1 - B�$>=P$>1 / 3 / $ - =klRQ � L.9 � 1%B
- 1794+<)2LgL - lV)�6 -0/ � )21 �

� � 
 ��� � ��� � 
���� �
�j� � � � �"�
"�#%$C6H$ � 'EL �F/*/ LF$ - O7O - 6($>1 / +<)217+<$C6H1�) ;�$C6 / #%$�LF$C;�$>LR)�3v+<)2=POV$ / $>17+<M�3I)�6@9%$>' � B21�$>1%B � 1%$C$C6H' � 1�= -0/ #%$>= -0/ � +C'C\
l - ' � +f'(+ � $>17+<$>' - 1^9P$>1%B � 1%$C$C6 � 1%B&'(+ � $>1^+<$>'�~b���!UE �\ ����� � - 3, ?B�B�$C6 / \ ������� 3eh%6 � '*$ �$� �����.\������ � � � - L / #%)2Q%B2#
B�6 - 97Q -0/ $>'8= - M�# - ;�$ / 6()2Q7l^LF$ - O7O^LFM � 1%B / #%)2'*$�'*� � L.L.' / )4O76()�OV$C6 / $>+K#71 � + - L?97$>' � B21 - 1 - LFM,' � '�~ N�$>=POR' / $C6
�$�������.\������ � � �

"�#7$��:1 � ;�$C6H' �F/ Mp)�3 � � 1797'*)�6>{�' �*UA6(),97Q7+ /  E1%B � 1%$C$C6 � 1%B�UA6(),+<$>'(' �&'(Q76(;�$CMp)21�=P$>+H# - 1 � + - L7$>1%B � 1%$C$C6 � 1%B
'*� � L.L.' � 1qB�$>1%$C6 - L � 17+CL.Q^9%$>' - 1 - LFM,' � ' - 179 / $>' / � 1%B&'*� � L.L.'f~ ho A�p\ N&[Y �\2=�$>+H# -0/ 6()21 � +C' - 179�+<)21 / 6()2L|\nO76(),+<$>'('
� =PO^6() ;�$>=P$>1 /o/ )n)2Lg'C\2' /(-0/ � ' / � + - LnO^6()e+<$>'H'W+<)21 / 6()2L|\�OR# M,' � + - L / $>' / � 1%BYO76H)e+<$>'('($>'K� - 179p'($C;�$C6 - L%'*OV$>+ � �^+E= - 1,S
Q%3 - + / Q%6 � 17B�'*� � L.Lg'�~ h%6 � '*$��$�������g\ �������2� � ��6($ - ' � 9%$>1 / � �7$>9�35)�6 � =�O76() ;�$>=�$>1 /�- =P)217B�� - 1 - 9 �.- 1 $>1%B � 1%$C$C6H'
� 17+CLgQ79%$�B�$C)2=P$ / 6 � +p9 � =P$>17' � )21 � 1%B - 179 / )2LF$C6 - 1^+ � 1%B%\7O76H$>+ � ' � )21�=P$ - '(Q76($>=P$>1 / \ - 1794'(#7)�O%S &7)e)�6�'*� � L.L.' �

��'WO76($C; � )2Q7'(LFMj=P$>1 / � )21%$>9v\ / $>+H#71 � + - Le'(� � LgL.'X6($>L -0/ $>9 / ) � 1 / $C6(O76H$ / � 1%B - 179q+<6($ -0/ � 1%BY$>1%B � 1%$C$C6 � 1%B�9%6 - afS
� 1%B2' - 6($�+<6 �./ � + - L.LFM � =POV)�6 /(- 1 / � "�#%$C6($ � 'C\?#%)�aE$C;�$C6 \@'*)2=�$ ; - 6 �.-0/ � )21 )21 / #%$�Om$C6K+<$ � ;�$>9 1%$>+<$>'(' �F/ M 3I)�6
1%)�; � +<$�$>1%B � 1%$C$C6H' / )�# - ;�$4'HQ%l^' /(- 1 / �.- L@$�
eOV$C6 / � '*$�a �F/ # '(Om$>+ � �^+��f�:N ���!�Yd O - +(� - B�$>'G~ N - ; � ' �$� �����g\
�$#�#  3X ?; -0/*/ \ ����� � 3X AB�B�$C6 / \ �������2� � c )2=P$pO76()2'*OV$>+ / � ;�$&$>=�O^LF) M�$C6K'�; � $Ca &RQ%$>17+<M - ' - ��$CM
'*� � L.L 3%) / #7$C6H'
- 6($q)217LFM�+<)217+<$C6H1%$>9�a �F/ # / #%$qB�6 - 97Q -0/ $>'C{vQ^179%$C6H' /(- 1^9 � 1%B�)�3 / #%$PQ71797$C6HLFM � 1%B�3 Q7179 - =�$>1 /(- L.'�)21�a�# � +H#
�!��N ���!��d � '�l^Q � L / ~  ?B�B�$C6 / \��������2� �

�@),9%$>' - 179 ' /(- 179 - 6H9^' - 6($�=P$>1 / � )21%$>9 � 1 � 1797Q7' / 6(M�'HQ%6(;�$CM,' ~b���fUA �\ ����� � - 3? ?B�B�$C6 / \ ������� 3?h76 � '*$
�$� �����g\ �������2� � � 17'()�3 - 6 - 'j17) ; � +<$P$>1%B � 1%$C$C6K'�'H#%)2Q7L.9GlV$p3 - = � L �g- 6:a �./ #
O76H)e97Q^+ / ' /(- 1^9 - 6H97'P~I$ � B � � � c Z \

�� 



� c �p\7� �W�K\ / $>' / � 1%B�' /(- 179 - 6H97'8~I$ � B � � c ":d��K\7O^6()e+<$>'H'�' /(- 179 - 6H97'&~I$ � B � Z c [8� - 1794' /(- 179 - 6H97'f)�3WO76()�3I$>']S
' � )21 - LX+<)21797Q7+ / ~I$ � B � UA ![ �@)e97$j)�3?�!)21797Q7+ / � �

',��� 	 F5F42DF4F") 2G#"; �(#&% � <�� +-!&�=; +0�"#
� ��� ��
 �&
���������� � �)����

"�#%$C6H$ � ' - 1%$>+<$>'(' - 6(M�6($>L -0/ � )217'(# � O�lV$ / a@$C$>1 / #%$�9%$C;�$>L.)�O^=P$>1 / )�3 - L � ' / )�3V+<)2=POV$ / $>17+ � $>'>\ - 179 / #%$�Q7'($@)�3
/ # -0/ L � ' / 3I)�6 / #76($C$8O^Q76(OV)2'*$>' �A' / Q^9%$>1 /�- '('*$>'('H=P$>1 / 3mO76()�B�6 - = $C; - L.Q -0/ � )21 3 - 179G+CQ%6(6 � +CQ^L.Q7= 9%$>' � B21 - 179
6($<Sb$C; - L.Q -0/ � )21 � Z 3�\%35)�6�$�
 - =PORLF$�\%O76()�l^L.$>= � 9%$>1 / � �^+ -0/ � )21 � 'f'($>LF$>+ / $>9 - ' - +<)2=�Om$ / $>1^+<M�\^$ - +H# � 179 � ; � 9^Q - L
' / Q797$>1 / )�6EB�6()2Q%O�+ - 1PlV$ - '('($>'('*$>9�3I)�6 - L.$C;�$>L%)�3 - +H# � $C;�$>=�$>1 / � 1 / # -0/ +<)2=POV$ / $>17+<M � � O76H)�B�6 - = + - 1�lV$
$C; - L.Q -0/ $>9�)21 / # -0/ +<)2=POV$ / $>17+<MP35)�6 - +C+<6($>9 �F/(-0/ � )21�O^Q%6HOm)2'($>'�)�6 � 1 / $C6H1 - LgLFM83I)�6 x Q - L �F/ M � =PO76()�;�$>=P$>1 / lnM
- '('*$>'H' � 1%B / #%$ - ;�$C6 - B�$�L.$C;�$>Ln)�3 - +H# � $C;�$>=�$>1 / )�;�$C6 - L.Le' / Q79%$>1 / ' � 1 / #7$EO76H)�B�6 - = � c � 17+<$E$ - +H#�+<)2=POV$ / $>17+<M
a � LgLvlV$�'($>LF$>+ / $>9 - ' - +<)2=�Om)217$>1 / )�3?)21%$q)�6&=P)�6H$pO76H)�B�6 - = - + / � ; �./ � $>'P~ '(Q7+H# - 'Y+<)2Q%6K'*$>'Y)�6YO76()
�*$>+ / 'K�K\
/ #%$�)�;�$C6 - L.Lf+CQ%6(6 � +CQ7L.Q7= + - 1 lV$�Om$C6 � )e9 � + - L.LFM�$C; - L.Q -0/ $>9 / )�=P)21 �F/ )�6Pa�#%$ / #%$C6 �F/ +<)21 /(- � 17' - 'HQ �F/(- l^LF$
LF$C;�$>LX)�3o$�
,OV)2'(Q%6($ / ) - L.L.) a 3I)�6 / #%$897$C;�$>LF)�O^=P$>1 / )�3 / # -0/ +<)2=POV$ / $>17+<M � 1�' / Q^9%$>1 / ' �
� ��� � 
 � �)� � �'
���� ��� �'�&� � � 
��
"�#%$�97$��^1 �F/ � )21 - 179 - '('*$>'('(=�$>1 / )�3 - L � = �F/ $>9q1eQ7=8lV$C6�)�3X' / Q797$>1 / +<)2=POV$ / $>17+ � $>' � 1P' / Q^9%$>1 / 6H$COm)�6 / ' - 179
9%$>' � B21�O76()
�*$>+ / ' � '&6($>L -0/ � ;�$>LFM�+<)2=�=P)21 � 1�$>1%B � 1%$C$C6 � 1%B�O76()�B�6 - =�' � c Q7+K# - '('*$>'('H=P$>1 / 'p)�3 / $>1 /(- ��$ / #%$
3I)�6H= )�3o6HQ%l76 � +C'�� 6KQ7LF$>'!3I)�6�'(+<)�6 � 1%B / #7$ x Q - L �F/ M�)�3 - ' / Q79%$>1 / {�'faE)�6H� Q71^9%$C6f'*OV$>+ � �^+Y+ -0/ $CB�)�6 � $>'C\Ra �F/ #
$�
,O^L � + �F/ $C; - L.Q -0/ � )21�L.$C;�$>L.'�9%$��^1%$>9q3I)�6?$ - +K#�+ -0/ $CB�)�6(M � h7)�6A$�
 - =PO^LF$�\26KQ%l76 � +C' - 6($f3I6($ x Q%$>1 / LFMpQ7'($>9 � 1 / #%$
- '('*$>'H'(=P$>1 / )�3f' / Q79%$>1 / 'C{va�6 �F/*/ $>1�+<)2=�=�Q71 � + -0/ � )21�'*� � L.L.' �  E=PO^LF)�M � 1%B�9%$>' � B21 x Q - L �F/ � $>' - '8+ -0/ $CB�)�6 � $>'>\
"�#%)2=�O^'*)21�~ ����� � �p3IQ%6 / #%$C6pB�$>17$C6 - L �Fw $>9 / #%$�Q7'*$ )�3�6HQ%l^6 � +C' � 1 / #%$�+<)21 / $�
 / )�3 - 'H'*$>'(' � 17BG$>1%B � 1%$C$C6 � 1%B
' / Q797$>1 / 9%$>' � B21�O76()
�*$>+ / ' / )qOm$C6K= �F/ ' / Q^9%$>1 / ' / ) / 6 - 9%$Y)0rG'*$C;�$C6 - Lm9 � rm$C6H$>1 /!- O7O76() - +K#%$>' / )P9%$>' � B21�~I$ � B �
- 1 � 1^1%) ; -0/ � ;�$&l^Q / # � B2#,Sb6 � '(� - O7O76() - +K#4;�$C6H'HQ7' - +<)217'($C6(; -0/ � ;�$&l^Q / LF)�afSb6 � '(��=P$ / #%),9R� �

d
)�6($&$�
 / $>17' � ;�$&97$��^1 �F/ � )21^' - 179
=P$ - '(Q%6($>=�$>1 / )�3o+<)2=POV$ / $>17+ � $>'�# - ;�$ - L.'()Plm$C$>1�Q^'*$>9 � 1 l76($ - � � 1%B
9%)�a�189%$>' � B21&O76H)
�]$>+ / ' � 1 / ):9 � 'H+<6($ / $AO76H)
�]$>+ / ' / $CO^'s)�6sO^# - '*$>' � N - ; � ' ��� � ���7~ �$#�#  2� � 97$>1 / � �^$>9 / #%$A6H$>L -0/ � ;�$
� =POV)�6 /(- 1^+<$j~I$ � B � O76 � = - 6HM�\0'($>+<)2179 - 6(M7�s)�3^$ � B2# / +<)2=POV$ / $>17+ � $>' / ) / #%$ � �YO^# - '*$>'o)�3 - O76()�OV)2'*$>9qO76()
�*$>+ / �
"�# � ' � 1%3I)�6H= -0/ � )21�a - ' � 1 �F/ �g- L.LFM4O76H)�Om)2'($>9 / ) - 'H' � ' / � 1 / #%$�O76()
�*$>+ / ST'*$>LF$>+ / � )21 O76(),+<$>'(' � D@M -0/*/(- +H# � 1%B
- 9%$��^1%$>9�LF$C;�$>Ls)�3 - +H# � $C;�$>=P$>1 /j/ ) $ - +H#�+<)2=�Om$ / $>1^+<M�\vN - ; � '*��� �����?~ �$#�#)� ��L -0/ $C6YO76()�OV)2'*$>9 / # -0/Y/ #%$>'*$
LF$C;�$>L.'v35)�6H= / #%$?l - ' � 'V35)�6 / #7$ - '('*$>'('H=P$>1 / )�3e' / Q^9%$>1 / ' / #%6()2Q%B2#j'($C;�$C6 - L =P$ - 1^'A~I$�
 - = � 1 -0/ � )21X\09 � 'H+CQ7'(' � )21v\
)�l^'*$C6H; -0/ � )21 - 179�O76(),97Q7+ /f- '('($>'('(=P$>1 / � �

h%)�6p+<$C6 /(- � 1�+<)2=POV$ / $>17+ � $>' � 1 / $ - = OV$C6(3I)�6H= - 17+<$�\VOV$C$C6Y$C; - LgQ -0/ � )217'j# - ;�$PlV$C$>1�Q^'*$>9 - ' - O - 6 / )�3
/ #%$�' / Q^9%$>1 / $C; - L.Q -0/ � )21qO^6()e+<$>'H' � D@Me6H9 - 179 t Q79%B � 1^'W97$>'(+<6 � lV$ - '*$>1 � )�6�9%$>' � B21P+<)2Q%6H'*$!O76()
�*$>+ / � 1qa�# � +H#
/ # � '!3I)�6H=P$>9 � ��� )�3 - ' / Q79%$>1 / {�'�= - 6(��~ D@Me6H9 - 179 t Q797B � 17'C\ �$#�#�% � �

� / c #%$C6Hl76()e)���$���1 � ;�$C6H' �./ M�\?LF)�B�lV)e)�� - 179 Om$C$C6q$C; - L.Q -0/ � )21^' - 6($�Q7'*$>9 � 1 ' / Q79%$>1 / 'C{o= - �*)�6q97$>' � B21
O76()
�*$>+ / ' � "�#%$�LF)�B�lV)n)�� � '�Q7'*$>9 / ) $C; - L.Q -0/ $ / #%$�a@)�6(��9%)21%$�lnM $ - +H# / $ - = =P$>=8lV$C6>\�a�# � LF$
OV$C$C6
$C; - L.Q -0/ � )217' - 6($&Q7'*$>9 / )�aE$ � B2# /�/ #%$8) ;�$C6 - L.LJ+<)21 / 6 � l^Q / � )21�)�3o$ - +H#G=P$>=plm$C6 / ) / #%$ / $ - = $<rm)�6 / �
� ��� ��� � �)�M�	� ��� � 
 �
��� �'�)����

"�#%$�O^6()�35$>'H' � )21 - L!$>1%B � 1%$C$C6 � 1%B - 'H'*)e+ �g-0/ � )21 � 1 / #7$
�:1 �F/ $>9 � � 1%B297)2= 9%$��^1%$>' - L � ' / )�3 - +C+<6($>9 �./(-0/ � )21
/ )�O � +C'p~I$ � B � �,1%) a:LF$>9%B�$�\^9%$>' � B21X\ - 1 - LFM,' � 'K�Ea �F/ #�1%)�$�
,OV$>+ / $>9
LF$C;�$>LX)�3 - +K# � $C;�$>=P$>1 / � "�#%$jO76()�B�6 - =�' � 1
$ - +H# � 17' / �F/ Q / � )21 - 6($?$C; - L.Q -0/ $>98lnM - +C+<6($>9 �F/(-0/ � )21&)�6HB - 1 �Fw>-0/ � )217' � 1 / #%$?; - 6 � )2Q^'Xl76 - 17+K#%$>'X)�3,$>1%B � 17$C$C6 � 1%B �
Z]1 / #7$���1 �F/ $>9 c /(-0/ $>'C\7��D! A"�# - 'f+<)2=PO � LF$>9 - L � ' / )�3s)2Q / +<)2=P$>'f)�3J' / Q79%$>1 /@/ 6 - � 1 � 1%B � "�#%$>'($:)2Q / +<)2=�$>'

� �



- 6($j1%) /�- L.LmL � 17��$>9 / ) - LF$C;�$>LV)�3 - +H# � $C;�$>=P$>1 / � 1 - '*OV$>+ � �R+ /(- '*� - 179X\%#%$>1^+<$�\e6H$ x Q � 6($ � 1 / $C6(O^6($ /(-0/ � )21 lnM
$ - +H# � 17' / �F/ Q / � )21 � h%)�6p$�
 - =PO^L.$�\ / #%$��:D! A" )2Q / +<)2=P$ �*�:1 - l � L �./ M / )
3 Q717+ / � )21�)21 / $ - =�' �G9%)n$>'p1%) /
O76()�; � 9%$ - LF$C;�$>LX)�3o$�
,Om$>+ / $>9
O76()��^+ � $>17+<M�\%$ �F/ #%$C6 � 1 / #%$j) ;�$C6 - LgL - + / � ; �F/ M�)�6 � 1 / #%$8'(Q%l /(- '*�e' �

UA6()�B�6 - = $C; - L.Q -0/ � )21 -0/ � - LFlV)�6(B���1 � ;�$C6H' �F/ M�\Xa@$>L.Lo�,1%) a�1�3I)�6 �F/ ' �]O^6()
�]$>+ / )�6HB - 1 �Fw $>9 ��$>9^Q7+ -0/ � )21
'*M,' / $>=�\�# - ' lm$C$>1 � 1 / $C6H1 - LgLFM�+ - 6(6 � $>9 )2Q / leM =P$ - 17'�)�38' / Q79%$>1 / 'HQ%6(;�$CM,'�~byjNj�j A c \ �$#�# �2� � "�#%$
' / Q797$>1 / '(Q%6(;�$CM�\ - LF)21%B8a �F/ # - '(Q%6(;�$CMq)�3XB�6 - 97Q -0/ $>'A)�3 / #%$:O76()�B�6 - =4\ 3I)�6H=P$>9 - O - 6 / )�3 / #%$�l - +H�nB�6H)2Q7179
3I)�6 - �$#�# � � 1 / $C6K1 -0/ � )21 - L^6($C; � $Ca )�3v ELF$>+ / 6 � + - Lm A1%B � 1%$C$C6 � 1%B& E97Q7+ -0/ � )21 -0/ � - LFlV)�6(B��:1 � ;�$C6H' �F/ M � [Y1%$�)�3
/ #%$ - O7O76() - +K#%$>' /(- ��$>1 � 1 / #%$�'(Q%6(;�$CMPa - ' / )�$C; - L.Q -0/ $ / #%$�OV$C6H+<$ � ;�$>9�LF$C;�$>L - 179 / #%$Y9%$>' � 6($>9�LF$C;�$>LR)�3 / #%$
O76()�B�6 - =�{�'p+<)21^+<$>1 / 6 -0/ � )21 )21 +<)21 / 6 - ' / � 1%B - + / � ; �F/ � $>' ~I$ � B � / #%$C)�6(M ;e' � O76 - + / � +<$�\ � 179 � ; � 97Q - LW;,' � B�6()2Q%O
a@)�6(�%� � � '*$>+<)2179 $C; - L.Q -0/ � )21 - O7O^6() - +H# /(- ��$>1 a - ' / ) - '*� / #%$4' / Q79%$>1 / ' / )�'(Q%B�B�$>' /�- LF$C;�$>Lp~ =P)�6($�\
LF$>'('>\ - 9%$ x Q -0/ $��Y)�3f9%$>' � 6($>9�+<)21 / $>1 / � 1�; - 6 � )2Q7'&+<)2Q%6H'($�+ -0/ $CB�)�6 � $>'�~I$ � B � O^#nM,' � +C'C\v$>17B � 1%$C$C6 � 17B�'H+ � $>17+<$�\
$>+<)21%)2= � +C'K�!+<)2=PO - 6H$>9 / ) / #%$jO^6($>'*$>1 / LF$C;�$>L �
� ��� ��� 
 ���)��� � � �"� � ��� ���=��
 � 
��k� 
 �
��� � ������

�k+<)2=PO76($>#7$>17' � ;�$j$<rV)�6 /�/ ) 9%$��^1%$ - '*$ / )�3�+<)2=POV$ / $>17+ � $>' - 6()2'*$&3I6()2= / #%$&a@)�6(��)�3?�!6 - a�L.$CM�~ ����� � � / )
9%$��^17$ - �H�!N�Z([ c MeLgL - l^Q7' � �GZ]1 / # � '@aE)�6(�m\ - L � ' / )�3 �$� B�) - L.' -0/ �!N�Z([ LF$C;�$>L`S ��~Ia �F/ #�$>LF$>=P$>1 / '�'(Q^+H# - '
/ $ - =paE)�6(�7�:a - 'j'*$>LF$>+ / $>9 - 179�+<)2=PO - 6H$>9Ga �F/ # - 1eQ7=plm$C6�)�3?$>97Q^+ -0/ � )21 - LWB�) - L.'Y)�6Y6($ x Q � 6($>=P$>1 / 'P~I$ � B �
��D@ E"j\7D@)n$ � 1%B%\^d4Z]":� � � L � ' / )�3 �7;�$8'*OV$>+ � �R+ - '('($>'('(=P$>1 / LF$C;�$>L.'>\%6 - 1%B � 1%Bq3I6()2= � / )�# - ;�$&$�
,Om$C6 � $>17+<$>9
)�6jlV$C$>1�$�
eOV)2'*$>9 / ) � / ) � / )
lm$ - l^L.$ / )
L.$ - 9G)�6 � 171%)�; -0/ $ � 1 � a - 'C\ / #%$>1v\v+<6($ -0/ $>9 � "�#%$qL � ' / )�3@B�) - L.'
a - 'f'*$>1 / )2Q /!/ ) - 1nQ7=plV$C6A)�3W' /(- ��$<ST#%)2L.9%$C6K'Y~ - LgQ7=�1 � \n$>=PO^LF)�M�$C6H'C\,$ / + � �K\7a�#7)pa@$C6($ - '*��$>9 / )q6 - 1%��$ - +K#
B�) - L - B - � 17' /@/ #%$ �7;�$ - 'H'*$>'('(=P$>1 / LF$C;�$>L.' � 1�)�6H97$C6 / )�)�l /(- � 1 - 1�$�
,OV$>+ / $>9 - ;�$C6 - B�$&LF$C;�$>LR)�3 - +K# � $C;�$>=P$>1 /
� 1�$ - +K#G+<)2=POV$ / $>17+<M �

"�#7$qL � ' / a - ' / #%$>1�$�
,O - 1797$>9 / )� � �fN:Z([ LF$C;�$>L`S � -0/*/ 6 � l^Q / $>'P~I3I)�6&$�
 - =�O^LF$ / $ - =8a@)�6(��+<)21 /(- � 1%$>9
�]3I)�6H= � 1%B�$<rV$>+ / � ;�$ / $ - =�' �,\ � / $ - =�)�OV$C6 -0/ � )21 �,\!$ / + � � � "�#%$4' /(- ��$<ST#7)2L.9%$C6H'�aE$C6($ - '*��$>9 / ) 6 - 1%� / #%$
6($>L -0/ � ;�$ � =�Om)�6 /(- 17+<$:)�3J$ - +H#4LF$C;�$>LFS � +<)2=�Om$ / $>1^+<M�6($>L -0/ � ;�$ / ) / #%$YO76($C; � )2Q7'HLFM S - 'H'*$>'('*$>9 - ;�$C6 - B�$8L.$C;�$>LR)�3
+<)2=POV$ / $>17+<M -0/ LF$C;�$>LFS � �

� 3 Q%6 / #7$C6�$�
,O - 179%$>9��!N�Z*[ LF$C;�$>L`S � L � ' / a - ' / #%$>1�+<)217' / 6HQ7+ / $>9X\V+<)21 /(- � 1 � 1%B�'*$>1 / $>17+<$>' / # -0/ 6($CO76($<S
'*$>1 / $>9 / #%$Y$�
,Om$>+ / $>9
LF$C;�$>LV)�3 - +K# � $C;�$>=P$>1 / \^l - '*$>9�)21�D!LF)n)2=4{�' /(- 
e)21%)2=pM�)�3sLF$ - 6K1 � 1%B�~ D!LF)n)2=4\ �$#�%  2� �
"�#%$>'($4'*$>1 / $>1^+<$>'�3I)�6H=P$>9 - =�)�6($49%$ /(- � LF$>9 L � ' / )�3 � �  �+<)2=POV$ / $>17+<M -0/*/ 6 � l^Q / $>' �  �
 - =PO^LF$>' � 17+CL.Q79%$ �
�]$C; - L.Q -0/ $Y'(Q%O7OV)�6 / � 17Bj$C; � 97$>17+<$	�,\ � 1�a�# � +H# / #7$:;�$C6(l 	 / )�$C; - L.Q -0/ $�{ � '@+CL - '(' � �7$>9PleM�D!LF)n)2= - '@6($ x Q � 6 � 17B
- # � B2#4LF$C;�$>LJO76()��^+ � $>1^+<M�\ - 179X\ �]6($>+<)�B21 �Fw $�O - 6 / 1%$C6K'(# � O^' - 1^9 - L.L �g- 17+<$>' �,\ � 14a�# � +K# / #%$8;�$C6Hl 	 / ) 6($>+<)�B0S
1 �Fw $�{ � 1^9 � + -0/ $>' - 6H$ x Q � 6($>=P$>1 / 3I)�6�LF) a�STLF$C;�$>LX+<)2=POV$ / $>17+<M -0/*/ 6 � l^Q / $>' � UA6()�OV)2'*$>9 35)�6 / #%$ � 1 / $>179%$>9 /(- '*�
)�3:+CQ76(6 � +CQ7LgQ7= 9%$��R1 �F/ � )21X\ / # � 'p$�
 / $>17' � ;�$�L.$C;�$>L`S � L � ' / )�3�OV)2'(' � l^LF$�+<)2=�Om$ / $>1^+ � $>' - O7OV$ - 6H' / )�lV$�;�$C6(M
LF)21%Bq3I)�6�$ �F/ #%$C6�' / Q79%$>1 /�- '('*$>'('(=�$>1 / O^Q76(OV)2'*$>'@)�6f35)�6�O^6()�B�6 - = 6($C; � $Ca leM ' /(- ��$<ST#7)2L.9%$C6H' �  ?;�$>1�3I)�6 / #%$
O^Q%6HOm)2'($j)�3o+CQ76(6 � +CQ7LgQ7= 9%$��^1 �F/ � )21X\ / #%$8L � ' / a - ':6($>97Q^+<$>9�lnM
d - L.= x ; � ' / �$� �����o~ �������2� / ) � % )�3 / #7$  �
LF$C;�$>L`S � -0/*/ 6 � l^Q / $>' � 1
�@6 - a�LF$CMm{�'faE)�6H� �
� ��� ��� � ��� � � ��������

"�#%$�O^Q%6HOm)2'($8)�3 / #7$ - 'H'*$>'('(=P$>1 /&- 179 / #%$ / )e)2L �F/ '*$>LF3?a � L.LJ97$ / $C6H= � 1%$ / #%$P9%$ /(- � LW)�3 / #%$PL � ' / )�3E+<)2=POV$<S
/ $>17+ � $>' - 179 / #%$q+<)�6(6($>'*OV)2179 � 1%B�+<)2=PO^6($>#%$>17' � ;�$>1%$>'(':)�3 / #%$q+<)2=POV$ / $>17+<M
9%$��^1 �F/ � )217' � h7)�6j$�
 - =PORLF$�\ � 3
$>=PO^L.) M�$C6H' - 6H$ / )4lV$ - '*��$>9 / )G+<)2=PO^LF$ / $ - 'HQ%6(;�$CM - lm)2Q /j/ #%$P$<rm$>+ / � ;�$>1%$>'('p)�3 - O - 6 / � +CQ7L - 6jO^6()�B�6 - =
� 1 / 6 - � 1 � 1%BPB�6 - 97Q -0/ $>'�# � 6($>9 � 1 / #%$pL - ' / �7;�$pM�$ - 6H'C\ �F/ � ':1%) / O76 - + / � + - L / )�6($ x Q7$>' /�/ # -0/:/ #%$CM�$C; - L.Q -0/ $
- 1�$�
 / $>17' � ;�$�L � ' / )�3@+<)2=POV$ / $>17+ � $>' � ��1�$�
,O - 179%$>9�L � ' / )�3!+<)2=POV$ / $>17+ � $>'8= - M�\W#%) a@$C;�$C6>\JlV$PQ7'*$C3 Q7L / )
9%$>' � B21�)�6�6($>9%$>' � B21 - O76()�B�6 - = �

� �



� �������	��
 �

� � � � � � � � � � � � ��� ��� � � ��� � � � � � ��� � �

� � � � � � 
 


� O^6()�OV)2'*$>9�97$>' � B21�+<)2=POV$ / $>17+<M�=�)e9%$>L � '@)0rV$C6($>9 � 1 / # � '!+H# - O / $C6 � ��' � 179 � + -0/ $>9 � 1 / #%$ � 1 / 6(),97Q7+ / � )21X\
/ #%$�=P),9%$>L � ' � 1 / $>1797$>9 / ) O76()�; � 97$ � 1^'*O � 6 -0/ � )21 35)�6�$>1%B � 1%$C$C6 � 1%B '(+H#7)n)2L.' - 179 / ) - + /�- ' - 6($>'()2Q%6H+<$
� 1 / #7$�+<)21 / � 1nQ7$>9 - 9%; - 17+<$>=P$>1 / � 1�$>1%B � 17$C$C6 � 1%B49%$>' � B21�$>97Q^+ -0/ � )21 � "�#%$�O^6()�OV)2'*$>9 =P),9%$>L?'H#%)2Q7L.9�lV$
+<)217' � 9%$C6($>9 - ' % $C6H' � )21 � \0a �./ # / #%$@$�
eOV$>+ /(-0/ � )21 / # -0/ �F/ a � L.L0$C;�)2LF;�$ - 179 / # -0/ B�6($ -0/ $C6�9%$CO / #pa � L.L�97$C;�$>LF)�O
) ;�$C6 / � =P$ 
 �

� ��� � #&�.+�#&2D2D� +-#&� ( 2DF>+0�"# � ��) � 21;42G#&��� � �.� � +�+ � #&�"+-#&2D2D� +�#&� ( +0F4�D+ �
�*+�+-#&2DF

" - l^LF$ %���� O76H) ; � 9%$>' - '(Q^=�= - 6(M )�3 / #%$�O^6()�OV)2'*$>9 9%$��^1 �./ � )21 )�3:$>1%B � 1%$C$C6 � 1%B�9%$>' � B21 +<)2=POV$ / $>17+<M - '
- O7O^L � + - l^LF$ / ) - LgL:9 � '(+ � O^L � 1%$>' � "�#7$�L � ' / � '�3I)2L.LF)�aE$>9 leM - 1 $�
eORL - 1 -0/ � )21X\�$�
eO - 1^' � )21 - 179 $�
 - =�O^LF$>'
)�3�+<)2=POV$ / $>17+<M - 6($ - 'q'*OV$>+ � �^+ - L.LFM�6($>L -0/ $>9 / )�$>1%B � 17$C$C6 � 1%B
97$>' � B21 � c Q �F/(- l^LF$�6($C35$C6H$>17+<$>' - 179 L � 1%�,' / )
6($>'*)2Q76H+<$>' � 1�$ - +H#�)�3 / #%$p+<)2=�Om$ / $>1^+<M - 6($ - ':# - ;�$�lm$C$>1
O76()�; � 97$>9X\7a�#%$C6H$&OV)2'(' � l^L.$ �  �
,O - 17' � )21�)�3 / #%$
+<)2=POV$ / $>17+ � $>' - 'f6($>L -0/ $>9 / )�B�$>1%$C6 - Lv�e1%)�a�LF$>9%B�$ � '�1%) / O76()�; � 9%$>9 �

"�#7$&L � ' / � '�+<)21^' � ' / $>1 / a �F/ # / #7$&)�l��*$>+ / � ;�$>'�' /(-0/ $>9 � 1 / #%$ � 1 / 6H)e97Q^+ / � )21X\ / # -0/ � '>\ - L � ' / 3I6()2= a�# � +H#
- 1 � 17' / �F/ Q / � )21 - 179�O76()�B�6 - = = - M�9%6 - a � 17'*O � 6 -0/ � )21 � Z / � 'f1%) / $�
,OV$>+ / $>9 / # -0/�- ' � 1%B2L.$:B�6 - 9^Q -0/ $j)�6 - 1
$>1%B � 17$C$C6 � 1%B�O76H)�B�6 - = a@)2Q7L.9�lV$�+<)2=POV$ / $>1 / � 1 - L.L�)�3 / #%$�L � ' / $>9 �F/ $>=�' � Z / � '8#7)�Om$>9 / # -0/&/ #%$�L � ' / � 1%B
- 179 / #%$G'HQ%O7OV)�6 / � 1%B�97$>'(+<6 � O / � ;�$
= -0/ $C6 �.- L:a � LgL!O76() ; � 9%$GB2Q � 9 - 1^+<$ � 1 +CQ76(6 � +CQ7LgQ7= 9%$C;�$>LF)�O^=�$>1 /�- 179
- '(' � ' / � 1 ' / 6H$>1%B / #%$>1 � 17B / #%$ l76($ - 9 / # )�3�+<)2=POV$ / $>17+ � $>' / # -0/P- 6($�' / 6 � ;�$>9 3I)�6qlnM ' / Q79%$>1 / 'C\?O76H)�B�6 - =�'
- 179 � 17' / �F/ Q / � )217' �

��1 � 179 � ; � 97Q - L@$>1%B � 1%$C$C6 � 1%B 9 � '(+ � ORL � 1%$�= - M�)�O /�/ ) l^Q � L.9 )21 / # � '�aE)�6(� / ) O76H) ; � 9%$
'*OV$>+ � �R+49 � S
=P$>17' � )217' / # -0/�- 6($ - O^O76()�O76 �g-0/ $P35)�6 / # -0/ 9 � '(+ � O^L � 1%$ � � $ L.$ - ;�$ / # � ' /(- '*��$ �./ #%$C6 / ) / #%$�3 Q / Q%6($P)�6 / )
) / #%$C6H' �

� 
��"� �)J�A8LN� � �6�">$#$�"�%* -��&�:9/# ')�2' #$��.&��#$* 9;� �&*+#$����*+����J">?' �"�6. LN�@#?� .&� �&-)�&� .&�2' <6* <���#$� '�#$H2<:.&#$�������).&�"� �&�%>?<6.&#$9;�7#$AR-N�6�+.=<��"H �
��� <��F#E.&�%A

� #



������� ���
	���
������������ � ��� � ���
� 
 �����������	� � � 	�� ���
� ��� �
	
� �f��}:���K���<�.��� � ���:�^����
|������
:������{ �����!	:��	8��������� $

� ���������<� ���Mx�� 	����<�������^� � ����
8��
:�������(���w������<� � �����^��� v 	:���������^��� � � �<}��������
� ���<�<� ��� �B�����^�<�^�X������� x�� 	��f�����X������ ����&

� ����������� ���:��� ��$
�^�:��� � � 	:�����^����������� �

� }:�^�:����������� �H��������	#$�f�����X� � � � ����
����^�1� �
� ��� ���^�����������

� ���<��� w#���6$�������^�
{~}:����� � �����X� � } �����.���^� � ���X���X�����xz������}1w#�����^��� �X�:� ����&

xq�:�X�������������:�
w#� ������� �^� � ����}8���:�.���^� � �f�<�^�<� ��� �^���H��	:��� � �-$

��}��������^����{~�����-	�� ����� � }:�^�<�����#��������$���^�����|�S�f� � �������4� ���S� � ����� � �������(� �^�^�

 	������K�f�����X� ��� ����&

w � ����� ��� ���:��� ��$
�^�:��� ��� �
� ����� �S�<�<���X��������������<�X�:�������

� � ���:��� �<}:� ������}#$
�:�������X���S���[�<}:� ��	:���S���
�<}:�@���������:�����:�^�0�<}:�
�-	:����	��<�X�:� ����&

� �)��}:�:�X���X�����^�^� � �������������:��� �<�^��	:� �f�����X����� �<��� � �(������ ��
������ �(�X�~�����<�^������� ��	���� � ��� � ���<�(���z���<}:�.���^� �<�X���*����<}:�
�<�#� ��� �(�
� �:��� ���^���X� ���
� ���#� �^��	:�<�S�

� � ���:��� �<}:� � ���#� �!$�#	:���^�^����}:����� �<}��������
�<}:� � �<�#� �S�<�<�^�^��� ���

� �����#	�� �z�:�����^��� � ������� � ���#� �^���^�����:�X�������������:�`���-$������� � �<�#���^�����|�^�:�����:�^�������:� ���^�<�����m������� � " �����4$�����(���^�<�^������} ���
	:��� �<���������O�����������<���^�����]� � � 	:�X}
"���� � ! ' �"� � x�

�|{#
�� �|{#
Bx|�>���^�<����� � �X�����X���
����� ���X���>�S� �����K���<����� ��������& '

� � �����f�<�����8�������������� � � ���:��� }:��� ���
	��<� ��� �<}�������� � ���#� �!$�#	:���^�^���<�)��}:�:�X���X�����^�^�
� ����&

� �[}�� ��� �! ����-	:�<�^������� � ����� �<�.� �S� �<}:� ���^�<���X�
� ��� ���^���

x9 � �������^���<� �������������� � �����:��� }:��� ����	��<�
����� ��� ������� ���S�����

���S��������
 �(��������� ����� �(�X�^���S��������
 �B�- � �^�<������� ���S� ����&
� � ���:��� }:��� �<�$��� �($�<�^� ���<� ����� � �����f�<�X�:����~�X���,���*�M�<�S���*��� ���

� �S�����~�X���Z���������+	��:���^�f�����X����� ���^�X��������}�� � �S�:�^����$�<� �f�����X� � � ����� �S�<�<���X������� ���
w��#� � ���%$ � �����<������������������

� �:���<� �f�<�����X�%�<}:�X�<��	:��}6�
�-	:������	��^��� ����& � �S�����~�X���Z���������+	��:���^�f�����X����� ���^�X��������}�� � �S�:�^����$�<� �f�����X� � � ����� �S�<�<���X������� ���
� � ���������X� ���:�! ���� � ���6� � " � �������X���������� � ����� �S�<�<���������.' ��<� � �^��� " ���X��	:���<����� �
� �^����� � �����X� �:������& '

� �S�����~�X���Z���������+	��:���^�f�����X����� ���^�X��������}�� � �S�:�^����$�<� �f�����X� � � ����� �S�<�<���X������� ���

{~���X�:���<�����%�4������� � � � ���X���X� � �<��
:�����K����<�M���^�<���X� ���<� ���������X�
� � ����5 ��� �^���<� �K���X����������<����� �:������&

� �����:��� ���:�! �
������� ���f�<�����8���6�<� � ���^���<�X� �<���������
�f����}:� 
:��� � ��� ��	:�����%�������������X� � �<��5 ��� ��� " ���#$� ��	������:�#��}:� ����� �����K�|�^�:�����:�^�������:� � ����� � �)� �<�����1' ��<�#���^���<�1}:���V�<�#���^���<�6���<�K�K���8�����`���#� �X�<�K�f�����X�
����� ���:��� ���^���X���X�<�K��� �8�:�`� � ����
����^�1�������:� ���:�
� ���<�^�X������� ���X��	:�<�������^���<�M���S������� ����� � �X� � �- � �����6$������������� �K���8�����B�<�S����	:��� �^�^����� �����X�B��������� " �<� ����$
�K�������������^�X� '

" - l^LF$ %���� � U?6()�OV)2'*$>9�N�$��^1 �F/ � )21�)�3 / #%$&N�$>' � B21G A1%B � 17$C$C6 � 1%B��@)2=POV$ / $>17+<M

� �



����
���
 �
� ��� �4� � � 
�� � ��������� ��
 � � �)�	� � ��������
 �
�:� 
 
����)��
 � � 
��
"�# � 'f'*$>+ / � )214O^6() ; � 9%$>'fOV$C6H'(Om$>+ / � ;�$>'!)21
9%$>' � B21�+<)2=POV$ / $>17+<M - '�6($>L -0/ $>9 / ) / #%$8l76() - 94+<)21 / $�
 / )�3W$>1%B � S
1%$C$C6 � 1%B�O76 - + / � +<$ � Z / � '�$>'('($>1 / �.- L / # -0/�- +<)2=POV$ / $>1 / 9%$>' � B214$>1%B � 1%$C$C6�6($>+<)�B21 �Fw $ / #7$8$>1%B � 17$C$C6>{�'�6()2L.$ � 1
'*),+ � $ / M - 179 / #%$ 	�6HQ7LF$>'>{ / # -0/ # - ;�$&lV$C$>1�$>' /(- l^L � '(#%$>9 / )�#%$>L.O � 1 / #%$jOV$C6(3I)�6H= - 17+<$j)�3 / # � '!6H)2LF$ �

� 
 ��!1� �#������� �1�(� �
Z]1 / #%$ja@)�6H97'�)�3 / #7$p� - 1 - 9 �.- 1��@)2Q717+ � Lm)�3oU?6()�3I$>'(' � )21 - LX A1%B � 1%$C$C6H'8~b���fUA �\ �$#�#)� � �

�	� ��
 � ��� ��
 ��
�� � 
"����#�� ��# ��� � � � �	� � � �$#�� � � � � � � � � ��
����*��� ��� � ��� �!� � ��� � � ��� ��� # � � ��� �����
��# � ��� �����
� # ��� � ��
 ��� � � � ��
��
�"#�� � # ����������� ��� � � � � ��� � ��
 ��� ��
�� � 
"����#�� 
 �
��#�� 
"�$� � �	��� � 
 �����
� � � � ��� ����
 ����6 � � �

�HyjQ - L �F/ M )�3YL � 3I$	� � ' - l76H) - 9 / $C6H= / # -0/ 6($>+<)�B21 �.w $>' / #%$ � =POV)�6 /(- 1^+<$�)�3�$>+<)21%)2= � +0\@'*),+ �.- L - 179
$>1n; � 6()217=P$>1 /(- Lo9%)2= - � 1^' / # -0/Y- 6H$ - LgLs$>'H'*$>1 / �g- Lo35)�6Y6($ - L �.w � 1%B - # � B2#G' /(- 179 - 6H9�)�3EL � ; � 1%B � "�#%$>'*$
97)2= - � 17' - 6($ / #7$�O � L.L - 6H':)�3!'(Q7' /(- � 1 - l^LF$q9%$C;�$>LF)�O^=P$>1 / ~b�@)2=�= � '(' � )21G)21� E1 ; � 6()217=�$>1 /Y- 179�N�$<S
;�$>L.)�O^=P$>1 / \ �$#��)� � � �! E�:D - +C+<6($>9 �F/(-0/ � )21�B2Q � 9%$>L � 1%$>'@' / 6($>'H' / # -0/ �,1%) a�L.$>9%B�$j)�3 / #7$jO76 � 17+ � O^LF$>'?)�3
'HQ7' /(- � 1 - lRLF$j9%$C;�$>LF)�O^=P$>1 / � '!$>'H'*$>1 / �g- LX35)�6 - L.LX$>1%B � 17$C$C6H'&~b�! A��D�\ �������2� �

� �� 8* � � �
"�#%$�O76 - + / � +<$�)�3�$>1%B � 1%$C$C6 � 1%B � '�3IQ^179 - =P$>1 /(- L.LFM - lV)2Q /�/ #%$�O^6() / $>+ / � )21 )�3pO^Q%l^L � +
' - 3I$ / M � ��'
97$>' � B21%$C6H'>\eB�6 - 97Q -0/ � 1%B�$>1%B � 17$C$C6H'!'(#%)2Q7L.9 # - ;�$jlm$C$>1 $�
,OV)2'*$>9 / ) - 179�# - 9�'*)2=P$Y$�
,Om$C6 � $>17+<$Ya �F/ #
)217$G)�6�=P)�6($G)�3 / #%$G+CL - 'H' � + - L / $>+H#71 �gx Q%$>' / ) � 9%$>1 / � 35M - 179 6($>97Q7+<$�' - 35$ / M�6 � '(�e' � t�-0w>- 6H9 - 179
[YOm$C6 - l � L �F/ M c / Q79 � $>'�~ t �YuJ[YU c �K\fh - � L.Q%6($�d4),9%$ - 179� �rV$>+ / ��1 - LFM,' � '�~ hodG A�j� - 179�h - � L.Q%6($
"s6($>179
�:1 - L.Me' � 'Y~ ho"W�Y� - 6($ / #%6H$C$&+<)2=�=P)21 / $>+K#71 �.x Q%$>' �

� + � �<�1�75
d
)�6(6 � '*)21 - 179 t Q7B2#%$>'&~ ����� � �!O76H) ; � 9%$ - LF$ - 9 � 1%B�6($C3I$C6($>17+<$j)21 / #%$j$ / # � + - L - '*OV$>+ / '!)�3�� - 1 - 9 �.- 1
$>17B � 1%$C$C6 � 17B�O^6 - + / � +<$ �
c )2=P$ '(+K#%)n)2Lg'�# - ;�$ � 1 / 6H)e97Q^+<$>9 - +<)e9%$�)�3P+<)2179^Q7+ / 35)�6 / #%$ � 64Q71797$C6(B�6 - 97Q -0/ $�' / Q79%$>1 / ' - ' -
=�$ - 17' / ) � 1 / 6(),97Q7+<$ - 179 � 1 / $CB�6 -0/ $!$ / # � + - L,+<)217' � 97$C6 -0/ � )217' � 1 / ) / #%$ � 6WQ71^9%$C6(B�6 - 97Q -0/ $E$>1%B � 1%$C$C6 � 1%B
- + / � ; �F/ � $>' �

� � �1 ����1!#��� �
��179%$C6K' /(- 179 � 17B�#7) a / ) 97$>' � B21�'*) / # -0/ M�)2Q%6�$>=�O^LF) M�$C6 \EM�)2Q%6�+CL � $>1 / \ - 179 / #%$4B�$>1%$C6 - L�O^Q%l^L � +
- 6H$&O76() / $>+ / $>9 - 9%$ x Q -0/ $>LFM � ' - 1%$>+<$>'(' �F/ M / # -0/ 3I)2L.LF)�a�'!3I6()2= / #%$&3 Q7179 - =P$>1 /(- LV6H$>'*OV)217' � l � L �F/ MP3I)�6
'($>17' � l^L.$�O^Q%lRL � +�' - 35$ / M '(# - 6($>9 lnM - L.L@O76()�3I$>'(' � )21 - LA$>1%B � 1%$C$C6H' � "�#%$�1%$C$>9 / )�+<)217' � 97$C6qL �.- l � L �./ M
- 6 � '*$>'@lV$>+ - Q7'*$�$>1%B � 1%$C$C6H'!+K#%)n)2'($ / #7$Y97$CB�6($C$Y)�3J' - 3I$ / M - O7O76()�O76 �.-0/ $�3I)�6!$ - +H#�O76H)e97Q^+ / )�6f'*$C6(; � +<$�\
- 1^9 � 3 � 1 - O7O76()�O^6 �.-0/ $�\ / #%$>1 / #%$j6H$>+<)2Q%6H'*$&)�3 / #%$ - rV$>+ / $>9 � 179 � ; � 97Q - L � 'fL � ��$>LFM / )�lV$&L �./ � B -0/ � )21 �
[Yln; � )2Q7'(L.M�\ � 17+<6($ - '*$>9q�,1%) a:LF$>9%B�$f)�3 / #7$f6 � '*�,' - 179 / #%$�9%$C;�$>LF)�O^=�$>1 / )�3m' - 35$ / Mq35$ -0/ Q%6H$>'�+<)2=P$ -0/?-
O^6 � +<$ 3,$>1%B � 1%$C$C6K'@=�Q7' /!/ #eQ7'!= - ��$&9%$>+ � ' � )217' - lm)2Q /@/ #7$ - O^O76()�O76 �g-0/ $:l - L - 17+<$Ylm$ / aE$C$>1�+<)2' / ' - 179
' - 35$ / M&97Q%6 � 17B / #7$A9%$>' � B21YO^6()e+<$>'H' � Z]1 - 979 �./ � )21X\ O^6()e9^Q7+ / ' / # -0/J- 6($E'*)2L.9 � 189 � rV$C6($>1 / $>1n; � 6()217=P$>1 / '
- 6H$�'(Q%l��*$>+ /�/ )89 � rm$C6($>1 / O^# � LF)2'*)�O^# � $>'s)21�O76() / $>+ / � )21P)�3 / #%$�O^Q%l^L � + � h%)�6A$�
 - =PO^L.$ � 1�� - 1 - 9 - \ / #%$
+<)21^' / �F/ Q / � )21 - L7= - 179 -0/ $�35)�6?B�)e),9PB�) ;�$C6H1^=P$>1 / � 'o6($ - L �Fw $>9 � 1qO - 6 /?/ #%6()2Q%B2#�+<)e9%$>' - 179�' /(- 179 - 6H97'
/ # -0/�- 6($�$>1%35)�6K+<$>9 / )�O^6() / $>+ /P/ #%$�B�$>1%$C6 - L!O^Q7l^L � + � Z�1 +<)21 / 6 - ' / \E$>1%B � 1%$C$C6 � 1%BGO^6 - + / � +<$>' � 1 / #%$
��1 �F/ $>9 c /(-0/ $>' - 6($@)�3 / $>1 / #7$E6($>'HQ7L / )�37O^6()e9^Q7+ / STL �.- l � L �F/ M�L �F/ � B -0/ � )21 - 179 / #%$ - '('*),+ �.-0/ $>9�O76($>+<$>9%$>1 / '
)�3YL - 6(B�$ - a - 6K97'�= - 97$ � 1 �*Q%6HM / 6 �.- Lg' � Z]1 / #%$�B2LF)�l - Lf= - 6(��$ / O^L - +<$�\!$>1%B � 1%$C$C6H'P=�Q7' / # - ;�$ / #%$

� �



+<)2=�Om$ / $>1^+<M / )�Q7179%$C6K' /(- 179 / #%$&6 � '*�,' - '('*),+ �.-0/ $>9
a �F/ # / #%$ � 6�97$>' � B217'�'() / # -0/ '*$>1^' � l^LF$j9%$>+ � ' � )217'
- lV)2Q / ' - 35$ / M4' /(- 179 - 6H9^' - 1794+<)�6(OV)�6 -0/ $&$�
,OV)2'(Q%6($&+ - 14lm$&= - 9%$ �

� $&���/��5N���  �� 5� "�/� 
 ��.��<!1 �9�1���/5
�!)e9%$>'>\vL - a�' - 179�6($CB2Q7L -0/ � )21^' � 1�&^Q%$>1^+<$ - L.LW$>1%B � 1%$C$C6 � 1%B�9%$>' � B21 - 179�)�3 / $>1�6($CO76($>'*$>1 / = � 1 � =pQ7=
' /(- 179 - 6H97' / # -0/ =�Q7' / lV$j$>17'(Q%6H$>9 �
�:1797$C6 / #%$G� - 1 - 9 �.- 1 �@)217' / �F/ Q / � )21 ��+ / \ / #%$�6($>'*OV)217' � l � L �F/ M�35)�6�6($CB2Q7L -0/ � 17B�l^Q � L.9 � 1%B2'&6H$>' / '

a �F/ #4O76H) ; � 17+ �.- L - 1^9 / $C6(6 �./ )�6 �.- LvB�)�;�$C6H17=P$>1 / 'C\Vl^Q / � '�)�3 / $>1 / 6 - 17'*3I$C6(6($>9 / )�=�Q71 � + � O - L �F/ � $>' � "�#%$
��-0/ � )21 - LA_�$>'*$ - 6H+K# �@)2Q^17+ � Ls)�3f� - 1 - 9 - # - 'j9%$C;�$>LF)�OV$>9�=�)e9%$>Lo+<),9%$>' / # -0/ + - 1�lm$ - 9%)�O / $>9�9 � S
6H$>+ / LFM&leMj$ - +H# �*Q76 � '(9 � + / � )21Y)�6W=�)e9 � �7$>9 / )�; - 6HM � 17B�9%$CB�6($C$>' / ) - 979%6($>'('sLF),+ - L � 'H'(Q%$>'E~ � _���\��������n� �
 E1%B � 1%$C$C6K'E'(#7)2Q7L.9�# - ;�$j+<)2=POV$ / $>1 / �,1%) a:LF$>9%B�$�)�3 / #%$���$CM�+<),9%$>'C\%L - a:' - 1^9�6($CB2Q^L -0/ � )217' / # -0/f- 6($
6H$>LF$C; - 1 /�/ ) / #7$ � 6�9 � '(+ � O^L � 1%$ �
"�#%$ � )�6(�eO^L - +<$ t�-0w>- 6H9%)2Q^'�d -0/ $C6 �.- L.'�Z]1%3I)�6H= -0/ � )21 c Me' / $>= ~ � t d4Z c �K\7$>' /(- l^L � '(#7$>9 � 1 �$#��)� \

# - '�lV$>+<)2=P$�3IQ^L.LFM � 1 / $CB�6 -0/ $>9 � 1 / ) / #%$P� - 1 - 9 �.- 1
aE)�6(�eO^L - +<$ � �:L.LJB�6 - 97Q -0/ � 1%B�$>1%B � 1%$C$C6H'�'H#%)2Q7L.9
lV$j�,1%) a:LF$>9%B�$ - l^LF$j)�3 ��t d
Z c - 179 �F/ ' � =PO - + / )21 / #7$ � 6�9%$>' � B21^'8~ � t d
Z c \��������n� �

� � �� "�/�< 8
9�<5

��*��� �$# ��	 �$# � 
�� ��� ��
�� ��#�� � �$	 ��	 � � �	� �$����
 
���� � ��� ��� � ��
�� ��#�� � � ��� � ��
 �$
���#��*� ���
����
 � #�� � ��� � ��
 � � �*����� � � � � ���!� ���
� � # � ��������� ��� ��� � � ��� ����#�� ��������
�� ��� � � ����
 � #�� ����� � ��

� � �!
�� � ��� � � � � 
�� � � 	 � ��
 ������# �%� � ��
 � ���$��
"��� � � ��� ��
�� ��# � � ��� ���*��� �$� # �!� ����#�� ��
����
� � �$#�� � � ��� � ����� ��� ��# ��6 ����� � �
� � � � � # ��� ���$��#�� ��# � �$�$#�� ��� ��# ��� � � �!����	 ����� ��
 
����
� � ��� 	 � �$
 ��� ��� � � #�
 � ��� � ����� ��� � � ��#Z� � ��� � � ��� � � 
�� � 	 ��� ��# � � 
�������� ��� � � � � 	 � ���
��� � � ������
 � 	 � � � # � � ��� � � ���
����# � � 
 # � � � � � � � ��# � ��
�� ��# � � � ��� � ��
���# ��� � ���!� �����$� � � #
��6�������� ��� � ��
�� ��	 � ����
"� � � � �
��� ��� � � �$��#
� # ��
���� � ��� � ��# � � � � ��� � � � 
 �
	 ��# � ��� �����
# ��� � � ����� � � ��� ��� ��
"� ��# � � � 
 # ��� ���!
�� � ����� � � ����� � ��� � � ����� �����$� ��� # � � � � ��� � �!� ��� �	� ��� �$
��$�
��
�� �!
 ����# ��� ��
���� � ��� � � � �
� ���$	 � � � � � �!
 ��#�� � � ��� 
 � � � ��� ����
 ��	 �!� � � ��
 � ����
���� � � ��� ��� ���
~IZ c [�\ �������n� �

 E1%B � 1%$C$C6K'f6($>LFM�)214' /(- 179 - 6K94+<)2=POV)21%$>1 / ' / )�9%$>' � B21 - 179�l^Q � L.9 +<)2=PO^LF$�
�'*M,' / $>=�' � "�#%$CM 'H#%)2Q7L.9
�,1%)�a a�#7$C6($ / )�LF)e)�� / ) �^1^94' /(- 179 - 6K9
'*OV$>+ � �^+ -0/ � )217'�3I)�6 - lV)2L / )�6 - O � Om$ � "�#%$CM�'(#%)2Q7L.94�e1%)�a
/ )�+CQ7' / )2= �Fw $8)217LFM a�#%$>1�1%$>+<$>'(' - 6(M �
� $Ca 9%$>' � B217' - 179�O76(),97Q7+ / '!)�3 / $>1
=�Q7' / =P$C$ / +<$C6 /(- � 14' /(- 179 - 6K97' - 179�3I6($ x Q%$>1 / LFM�6H$ x Q � 6($&+<$C6*S

/ � �^+ -0/ � )21 �  A17B � 1%$C$C6H'j'(#7)2Q7L.9�lV$ - a - 6($�)�3!' /(- 179 - 6H9^' - O7O^L � + - l^LF$ / ) / #%$ � 6ja@)�6(� - 179�)�3 / $>' / � 1%B
- 1^94+<$C6 / � �^+ -0/ � )21�O76(),+<$>'('*$>' �
N�Q7$ / ) / #%$j'(Q7+C+<$>'('f)�3 / #%$jZ]1 / $C6H1 -0/ � )21 - Lv[�6(B - 1 �.w>-0/ � )21�35)�6 c /(- 179 - 6H9 �.w>-0/ � )21�'*$C6 � $>' � 1 x Q - L �F/ M

= - 1 - B�$>=P$>1 / ~IZ c [ # ����� � - 179�$>1n; � 6()217=P$>1 /(- LX= - 1 - B�$>=�$>1 / ~IZ c [ � ������� �K\V' / Q797$>1 / $�
,OV)2'(Q%6($ / )
/ #7$>'*$8' /(- 179 - 6H97'fa �./ # � 1 / #%$&$>1%B � 17$C$C6 � 1%BP+CQ%6(6 � +CQ7L.Q7= � 'f1%$>+<$>'H' - 6(M �
"�#%$&Z]1 / $C6K1 -0/ � )21 - Ls[Y6(B - 1 �Fw>-0/ � )21435)�6 c /(- 179 - 6H9 �Fw>-0/ � )21�~IZ c [�\ �������n� - 179 / #%$P� - 1 - 9 �g- 1 c /(- 1,S

9 - 6H97' �:'('()e+ �.-0/ � )21 ~b� c �8\ �������n� - 6($ / a@) � =POV)�6 /(- 1 / ' /(- 179 - 6K97'�)�6(B - 1 �Fw>-0/ � )217' 3I)�64� - 1 - 9 �.- 1
$>17B � 1%$C$C6H'63%#%)�aE$C;�$C6 \ / #%$C6($ - 6($�= - 1 M�=�)�6($ � "�#%$Y"J6 � �:1 � ;�$C6H' �F/ M���6()2Q%O�~ "��j�&�A)�3JL � l76 - 6 � $>'�)0rV$C6
- 3 - � 6HL.M�$�
 / $>1^' � ;�$j'*$ / )�3WZ�1 / $C6H1%$ / L � 17�e' / )�' /(- 179 - 6H97'@)�6(B - 1 �Fw>-0/ � )217' - 179�a�6 �./ � 1%B8lV),9 � $>'j~ "��j��\
�������n� �

� ���	�9��!#!1�(�7�9�� �! � 
9��� �(
9� �
N�$>' � B21�$>1%B � 1%$C$C6K'Ea � L.LmQ7'*$Y$�
 � ' / � 1%B � 1 / $>L.LF$>+ / Q - LVO76H)�Om$C6 / MG~IZ]U@� � 1 / #%$&97$C;�$>LF)�O^=P$>1 / )�3W'*)2LgQ / � )217'
- 1^9 'H#%)2Q7L.9�$�
eOV$>+ /@/ )q+<6H$ -0/ $&1%$CafSbZ]U )�;�$C6 / #%$Y+<)2Q%6H'*$�)�3 / #%$ � 6@+ - 6($C$C6 � �@)2=POV$ / $>17+<M�' /(- 6 / '!a �F/ #

� �



6H$>'*OV$>+ / 35)�6�$�
 � ' / � 1%BqZ�U - 179�6($>+<)�B21 �F/ � )21�)�3o1%$CafSbZ]U�O76H) / $>+ / � )21 �
��6 - 97Q -0/ $>'j'H#%)2Q7L.9
lm$ - a - 6($P)�3 / #%$p; - 6 � )2Q^':3I)�6H=�'�)�3 � 1 / $>L.L.$>+ / Q - LJO^6()�OV$C6 / M ~IO -0/ $>1 / 'C\ / 6 - 9%$<S

= - 6(�e'>\,+<)�OeMe6 � B2# /@- 179 � 179^Q7' / 6 �.- L^9%$>' � B217' � � "�#%$C6($ - 6($ - 1eQ7=8lV$C6@)�3vB�)e)e9 Z]1 / $C6H17$ / ' �F/ $>'AO^6() ; � 9,S
� 1%B�9%$>'(+<6 � O / � )217'!)�3 / #%$8; - 6 � )2Q7'f3I)�6H=�'�)�3oZ]U - 1^94O76()�; � 9 � 1%BqO -0/ $>1 / '*$ - 6K+H#�+ - O - l � L �./ � $>'&~b�@Z]U@[�\
�������73o AQ76()�OV$ - 1�U -0/ $>1 / [ ��+<$�\ �������73s� c UE":[�\ �������73 � Z]U@[�\ �������n� � d
)2' / Q71 � ;�$C6H' �F/ � $>'Y# - ;�$
- 1 � 1 / $>L.LF$>+ / Q - LvO76()�OV$C6 / M�)���+<$ / # -0/ + - 14lV$ - 1 � =POV)�6 /(- 1 / 6($>'*)2Q%6K+<$ � 1
'HQ%O7OV)�6 / )�3 / #%$p+CQ76(6 � +CQ,S
LgQ7= � "�#%$&��1 � ;�$C6K' �F/ M )�3?d - 1 �F/ )�l - # - ' - +<)2Q%6H'*$ / # -0/ Q7'*$>'�$�
 � ' / � 1%B���1 � ;�$C6H' �./ M Z�U / )�=P) / � ; -0/ $
$>17B � 1%$C$C6 � 17B�9%$>' � B217' � h � 1 - L`SbM�$ - 6�lRQ7' � 1%$>'H' - 1^9�$>1%B � 1%$C$C6 � 1%B / $ - =�' -0/�/ #%$8��1 � ;�$C6H' �F/ M )�3�DE6 �F/ � '(#
�!)2L.Q7=pl �.- O76()�OV)2'*$�\�O76H) / ) / MeOm$ - 179PO76($CO - 6($ - l^Q7' � 1%$>'('WO^L - 1q3I)�6A1%$Ca�O^6()e9^Q7+ / 'Wl - '*$>9P)21�= - 6(��$ /
- 1^9�O -0/ $>1 /(- l � L �F/ M �

� � ��� �<�/��!1�".	����5
��L.LRB�6 - 97Q -0/ � 1%Bp$>17B � 1%$C$C6H'!=�Q7' / # - ;�$ - a - 6($>1%$>'H' - 179 '*)2=P$ / $>+H#71 � + - LVQ7179%$C6H' /(- 179 � 1%B8)�3 - l76() - 9
6 - 1%B�$!)�3 / $>+H#717)2LF)�B � $>'WlV$CM�)2179 / #7)2'*$!)�3 / #%$ � 6W$>1%B � 1%$C$C6 � 1%B:9 � '(+ � O^L � 1%$ � "�# � 'Jl76($ - 9 / #p)�37�,1%) a:LF$>9%B�$
� '�1%$>+<$>'(' - 6HM / ) '(Q%O7OV)�6 /�/ #%$
9%$C;�$>L.)�O^=P$>1 / )�3j+<6($ -0/ � ;�$
'*)2LgQ / � )217'C\ / ) Q71797$C6H' /(- 179 $>1%B � 1%$C$C6 � 1%B
'(Me' / $>=�' - 179�+<)2=POV)21%$>1 / 'C\ / )�aE)�6(� � 1�+<6()2'H']ST9 � '(+ � O^L � 1 - 6HM / $ - =�' - 179v\7Q7L / � = -0/ $>L.M / )�LF$ - 9
L - 6(B�$C6
$>17B � 1%$C$C6 � 17B�O^6()
�]$>+ / ' �
DE$>L.) a a@$&O76H) ; � 9%$ - '(Q%B�B�$>' / $>9
L � ' / )�3 / $>+K#71%)2LF)�B � $>' / # -0/�- 6($86($>LF$C; - 1 / 3I)�6 - L.LV$>17B � 1%$C$C6H' �
��� _�$>' � ' / )�6K'C\7+ - O - + �F/ )�6H'>\ / 6 - 17' � ' / )�6H'C\%9 � )e9%$>'
� � d
) / )�6H'
���  E1%B � 1%$>'
� � t $ -0/ $�
%+H# - 1%B�$C6H'
%�� _�$C356 � B�$C6 -0/ � )21
 �  ELF$>+ / 6 � + - LvB�$>1%$C6 -0/ � )21 ~I356()2= +<) - L / )�'*)2L - 6 �
� � "s$>LF$>+<)2=�=�Q71 � + -0/ � )217'
��� "�#%$C6H=P)2' /(-0/ '
#�� D@6 � 9%B�$>'
� � � c $CaE$C6H'
����� � -0/(- LFM / � +&+<)21 ;�$C6 / $C6H'�~ - ' - 1�$�
 - =PO^LF$j)�3o+<)2=�=P)21G+H#%$>= � + - LXO76(),+<$>'('*$>'K�
� � � D@6($Ca@$C6 � $>'�~ - ' - 1�$�
 - =PO^L.$j)�3W+<)2=�=�)214l � )2L.)�B � + - LVO76(),+<$>'('*$>'K�

"�#%$ - lV) ;�$�L � ' / � '&+<)2=POV)2'*$>9�)�3 ����$CM / $>+H#717)2LF)�B � $>'p356()2= ; - 6 � )2Q7'j$>1%B � 1%$C$C6 � 1%B49 � '(+ � O^L � 1%$ 3 / $>+K#,S
17)2LF)�B � $>' / # -0/@- 6H$:O - 6 / )�3X$C;�$C6(M,9 - M '*),+ � $ / M43 - 179 / $>+K#71%)2LF)�B � $>' / # -0/E- 6($�O - 6 / )�3v$C;�$C6(M�$>1%B � 1%$C$C6>{�'
6H)2LF$ � 1�' - 3I$ / M - 179
'(Q7' /(- � 1 - l^LF$Y9%$C;�$>LF)�O^=P$>1 / � [Yln; � )2Q7'(L.M�\ / # � 'fL � ' / � 'f17) / $�
,# - Q7' / � ;�$ �

����
�� 
 � 
�� � ��������� �	� � �)� � ��������� �
�@)2=POV$ / $>17+<M�=�Q7' / ' /(- 6 / a �F/ #��,1%) a:LF$>9%B�$&)�3oO76(),+<$>97Q%6H$>'C\,l^Q / �,1%) a�L.$>9%B�$ �F/ '*$>L.3 � '�17) / '(Q���+ � $>1 / 3I)�6 -
+<)2=POV$ / $>1 / 9%$>' � B21
$>17B � 1%$C$C6 � �81%) a�L.$>9%B�$8)�3 / #7$p9%$>' � B214O76(),+<$>'(' - 179G; - 6 � )2Q7'�9%$>' � B21 / )e)2L.' � '��(Q7' /:/ #%$
' /(- 6 / � 1%BPOV) � 1 / �

� 24��5��1.�� � 

���7��5�5

���



"�#%$�9%$>' � B21 O76(),+<$>'(' � 'q9%$>'H+<6 � lV$>9 � 1 ; - 6(M � 1%B�9%$ /(- � L@leM 1eQ7=P$C6()2Q7'�6($C3I$C6($>17+<$>' � "s$�
 / lV)e)��e'P3I)�6
$>17B � 1%$C$C6 � 17B
9%$>' � B21 $>97Q7+ -0/ � )21 � 1^+CL.Q79%$
~  A6 /(- ' - 179 �2)21%$>'C\ �$#�#  3oN � $ / $C6 \ ������� 3���L.L.= - 1X\ �$#�#)� 3
% )2L - 179X\ �������n�K\ - =P)21%B�) / #%$C6K' �
Z�1 / #%$!�R1 - L - 1 - LFM,' � 'C\e�e17) a�LF$>97B�$j)�3 / #%$j9%$>' � B21�O76(),+<$>'('!$>17+<)2=PO - '('*$>' / #%$ / 6 - 1^' �F/ � )21 3I6()2= - 1

� 9%$ - \ - ; � ' � )21�)�6 - O76()�lRLF$>= / ) / $>+K#71 � + - L@'*OV$>+ � �^+ -0/ � )217'j)�3 / #%$�O^6()e9^Q7+ / \JO76H)e+<$>'('8)�6�'()2L.Q / � )21 �
Z]=PO^L.$>=P$>1 /(-0/ � )21 � ' / #%$�+<)21^+CL.Q7' � ;�$�' / $CO � 1 / #%$:9%$>' � B21qO76H)e+<$>'(' � Z]1 / #%$fa@)�6H97'?)�3VUW$ / 6()2'(� � ~ �$#�# �2�K\
�*N�$>' � B21 � '!B�$ /*/ � 17B�356H)2= #%$C6($ / ) / #%$C6($	� �
�&1%) a:LF$>9%B�$ � 1^+CL.Q79%$>'@a�#%$C6H$&_ �jN�\ / $>' / � 1%B%\7O76() / ) / MnOV$>' - 179�O � LF) / '(+ - LF$ - + / � ; �F/ � $>'�+ - 14OV) / $>1,S

/ �g- L.LFM"� / � 1 / ) / #7$fO76(),+<$>'(' � �&1%)�a�LF$>9%B�$f$>17+<)2=�O - '('*$>'�6H$>+<)�B21 �F/ � )21 / # -0/?/ #%$fO76(),+<$>'(' � '�=P)2' / )�3 / $>1
�./ $C6 -0/ � ;�$ �
�:1 � =�Om)�6 /(- 1 / $>LF$>=P$>1 / )�3A�,1%) a�L.$>9%B�$�+<)2=�Om$ / $>1^+<M � '�lV$ � 1%B�aE$>LgLs;�$C6K'*$>9 � 1 / #%$ / $C6H= � 1%)2L.)�B�M

- 'H'*)e+ �g-0/ $>9�a �F/ # / #%$�9%$>' � B21�O76(),+<$>'(' � �@)217+<$CO / Q - LR97$>' � B21X\n35$ - ' � l � L �F/ M�' / Q79%M�\ O^6($>L � = � 1 - 6(Mp97$>' � B21X\
�R1 - L?9%$>' � B21X\J9%$ /(- � L.$>9�9%$>' � B21v\J+<)217+CQ%6(6H$>1 / 97$>' � B21 - 179�$>=plV)e9 � =P$>1 / 9%$>' � B21 - 6($ - L.L / $C6H=�' / # -0/
- 6H$8Q7'*$>9 / )�9%$>'(+<6 � lV$�OV)�6 / � )217'!)�3 / #%$&9%$>' � B21�O76(),+<$>'(' �

� 24��5��1.�� � ����!15
N�$>' � B21 / )e)2L.' / # -0/ '(Q%O7OV)�6 /�/ #%$P9%$>' � B21
O76(),+<$>'('Y+<)2=P$ � 1
= - 1nM43I)�6H=�'C\X9%$COV$>179 � 1%BP)21 / #%$q' /(- B�$
)�3 / #7$
O76(),+<$>'(' - 179 / #7$G1 -0/ Q%6H$
)�3 / #%$�9%$>' � B21 O76()�l^LF$>= � "s)n)2Lg' � 1^+CL.Q79%$�OV$C)�O^LF$ - '�6($>'*)2Q76H+<$>'
3I)�6YO76()�l^L.$>= 9%$��^1 �F/ � )21 - 1^9G9 -0/(- B -0/ #%$C6 � 1%B � � � l76 - 6 � $>'8~ - / $C6H= $>17+<)2=PO - '(' � 1%B - L.L � 1%3I)�6H= -0/ � )21
'()2Q%6H+<$>'K� - 6($fO76 � = - 6(M / )e)2L.' � 1 / #%$!$ - 6HLFM � 1%35)�6K= -0/ � )21,SbB -0/ #%$C6 � 1%B:' /(- B�$ � �&1%) a:LF$>9%B�$f=pQ^' / � 17+CL.Q797$
- a - 6H$>1%$>'('4)�3 / #%$�; - 6 � )2Q^' / MeOm$>'�)�3P'*)2Q76H+<$>' ~ / $�
 / lm)e)��,'C\ - 6H+H# � ; - LjL �./ $C6 -0/ Q%6($ � \YO -0/ $>1 / 'C\YB�6 - M
L �F/ $C6 -0/ Q%6($�\^aE$Cl�' �F/ $>'C\m' /(- 179 - 6K97'C\^+<),9%$>'C\R6($CB2Q7L -0/ � )21^' - 179
Om$C)�ORLF$�� - 179 / #7$86($>+<)�B21 �./ � )21 / # -0/�- L.L
'()2Q%6H+<$>' - 6H$ � =POV)�6 /(- 1 / �
 A1%B � 17$C$C6 � 1%B8976 - a � 1%B2' - 6H$:$>'('($>1 / �.- LV9%$>' � B21 / )e)2L.' � c ��$ / +H#%$>'C\%B�$>17$C6 -0/ $>9�lnM�Om$>1^+ � L - 179�O - OV$C6>\

- 6H$ / #7$q=�)2' / 356($ x Q%$>1 / lV$CB � 1^1 � 1%B � 1 / #%$q9%$>' � B21GO^6()e+<$>'H' � �:' - 9%$>' � B21G= -0/ Q76($>'C\X'*)�O^# � ' / � + -0/ $>9
�f�: '*)�3 / a - 6($�lm$>+<)2=�$>' � 1 / $CB�6 - L / ) / #%$:O76(),+<$>'(' � �&1%)�a�LF$>9%B�$�=P$ - 17' / # -0/E/ #7$�$>1%B � 17$C$C6 � ' - a - 6($
)�3 / #%$j6H)2LF$j)�3o$>1%B � 1%$C$C6 � 1%BP9%6 - a � 1%B �
 A1%B � 17$C$C6 � 1%B
+ - Lg+CQ7L -0/ � )217' - 6($ - L.'*)���$CM 9%$>' � B21 / )e)2L.'C\�3I6()2= - O7O76H)	
 � = -0/ � )217'8a�6 �F/*/ $>1 )21 / #%$

l - +(��)�3 - 1 $>1n;�$>LF)�OV$ / )�'*)�O^# � ' / � + -0/ $>9 �f�: k'*)�3 / a - 6($�\?a�# � +H# + - O / Q%6($>' / #%$ � N - 179 / 6 - 17' � $>1 /
+<)2=�O^LF$�
 �F/ M4)�3 - '*Me' / $>= � �&1%)�a�LF$>9%B�$q=P$ - 17' / # -0/Y/ #%$�$>1%B � 17$C$C6 � ' - a - 6H$P)�3 / #%$q$�
 � ' / $>17+<$ - 179
+ - O - l � L �F/ � $>'!)�3 / #%$>'($ / )n)2Lg' �

� � ��
9* �"
 �3 "�/�7� 	 5�5���5�5 �B���	� 	 .� "�#��5 � $;

������
0��  ���� $;���/5 ��

 "�#�	��5
UA6()�l^LF$>= 9%$��^1 �F/ � )21
Q^'(Q - L.LFM � 9%$>1 / � �7$>' - O7O76H)�O76 �.-0/ $�+<)217' / 6 - � 1 / 'P~ / #%$q=pQ7' / 'K� - 1^9�97$>' � 6($>9G+<6 �F/ $<S
6 �.- ~ / #%$4a � 'H#%$>'K� � "�#%$4+<)217' / 6 - � 1 / '�=pQ7' / $ - +K# lV$ - +H# � $C;�$>9 � "�#%$4+<6 �F/ $C6 �.-�- 6($49%$ - L / a �F/ # � 1
- +<)2L.LF$>+ / � ;�$�l - L - 17+ � 17B - + / � yYQ - 1 / � 3IM � 1%B�$ - +H# )�3 / #%$ � 9%$>1 / � �7$>9�3 - + / )�6H'p$ - '*$>' / #%$�'(Q%lR'*$ x Q7$>1 /
97$>+ � ' � )21,ST= - � � 17Bq' /(- B�$ �
�@)2' / � ' - L.a - Me' - 3 - + / )�6 � 1�$>1%B � 1%$C$C6 � 1%BP9%$>' � B21X\,a �F/ # �F/ '�$>' / � = -0/ � )214lm$>+<)2= � 1%B - 1 � =�Om)�6 /(- 1 /

�^$>L.9 )�3 �F/ '@) a:1 � �@)2' / $>' / � = -0/ � )21 � '!1%$>+<$>'(' - 6(M -0/ ; - 6 � )2Q7'@' /(- B�$>'�)�3 / #7$Y97$>' � B21 O76(),+<$>'('C\,6($>LFM � 1%B
)21�$�
,Om$C6 � $>17+<$ - 1^9�9%$COV$>179 � 1%BY)21�$>=PO � 6 � + - L%6H$>L -0/ � )217' � "�#7$�+H#%$>= � + - L^$>17B � 1%$C$C6 � 17B �7$>L.9�# - '?a@$>L.L
97$C;�$>LF)�OV$>9 $>=�O � 6 � + - LA6($>L -0/ � )21^' / )�'(Q%O^Om)�6 / +<)2' / Sb$>' / � = -0/ � 1%B�~ UW$ / $C6H' - 179 " � =�=�$C6H# - Q7'C\ �$#�# � � �
"�#%$ c )e+ � $ / M�)�3E��Q / )2=P) / � ;�$� E1%B � 1%$C$C6K'q~ c �: !�:O76() ; � 9%$>' - ' / 6KQ7+ / Q%6($>9�3I)�6H= -0/ )21�+<)2' / $>' / � = - S
/ � )21P35)�6 / #%$�' / Q79%$>1 / h%)�6H=�Q7L - c �: �+<)2=�Om$ / �./ � )21
~ D@) a�= - 1 - 179Ph - 6H6>\ ������� � � "�# � 'W35)�6H= -0/ +<)2Q7L.9
lV$j$<rV$>+ / � ;�$>LFM�Q7'*$>94a �F/ # � 1 - 1�$>17B � 1%$C$C6 � 17Bq+CQ76(6 � +CQ7LgQ7= �
c - 35$ / M � ' - L.'() - 1 � =POV)�6 /(- 1 / 3 - + / )�6 � 1 - LgLX9%$>' � B217' � t �juv[YUW\^h�dG A�p\^ho"s� - 17946 � '*� - 1 - LFM,' � '

� 9 �%*+�2<:�&HG� � ��J)�&� <�>$* ;

� �



+ - 1 - L.LslV$pQ7'($>9 / ) - '('*$>'(' / #%$q' - 3I$ / M
)�3 - B � ;�$>1�9%$>' � B21 � �@)2=PO - 6 � '*)21
a �F/ #G$�
 � ' / � 1%B�+<),9%$>' - 179
' /(- 179 - 6H97' � ' - L.'*) - 1 � =POV)�6 /(- 1 / ' / $CO �
 A1n; � 6H)217=P$>1 /(- LfOV$C6(35)�6K= - 17+<$ � ' - 1%) / #%$C6 +<)2=�=P)21 3 - + / )�6 � � � 3I$
+<Me+CL.$ - 1 - LFM,' � '>\ - '($C6 � $>'�)�3

=�$ / #%)e9^'p3I)�6q$>1 ; � 6()21^=P$>1 /q- '('*$>'H'(=P$>1 / )�3:9%$>' � B217' / # -0/ � '�B�6()�a � 1%B � 1 � =POV)�6 /(- 17+<$�\?'(#7)2Q7L.9�lV$
- 1G$>LF$>=P$>1 / � 1 - L.LJ$>1%B � 1%$C$C6K'C{^�,1%) a:LF$>9%B�$8l - '*$ � �@)2=PO - 6 � '*)21
)�3 - 9%$>' � B21 / ) $�
 � ' / � 1%B�+<),9%$>' - 179
6H$CB2Q7L -0/ � )217' � ' - 1 � 1 / $CB�6 - LXO - 6 / )�3 - 9%$>' � B21�$>1n; � 6()217=P$>1 /(- L - '('*$>'H'(=P$>1 / �
"�#%$qL �F/ $C6 -0/ Q%6H$p)21�$>1%B � 17$C$C6 � 1%B 9%$>' � B21 - 179 �F/ '�O76 - + / � +<$P# - ' � 1 / 6(),97Q7+<$>9 / #%$ / $C6H=�' � �*N:$>' � B21

3I)�64�@)2' / �,\ �*N�$>' � B21 35)�6 _�$>L �g- l � L �F/ M
�,\ �*N�$>' � B21 35)�6 / #%$G E1 ; � 6()21^=P$>1 / �,\ - 179 ) / #%$C6H'�~b�@)�6(lV$ /*/ \
�$#�# � 3%NY# � LgLF)21X\ �$#�#�# 3%UW)2L � \������ � 3%_�)2Q7'*$�\ �$#�# � 3 � _���\��������73%� c  AUV�p\��������n� � Z]17+<6($ - ' � 1%B2LFM�\ / #%$>'*$
/ $C6K=�' - 6($�+<)2LgLF$>+ / � ;�$>LFM�6H$C35$C6(6H$>9 / ) - ' �*N:$>' � B21 35)�6!i � � '*$C$jNYhsi / $C6H= � 1%)2L.)�B�MG~|d � B2L � )�6($�\ �������n� �
"�#%$ � 1 / 6(),97Q7+ / � )21 )�3 / #%$>'*$�+<)217+<$CO / '�6($CO76($>'($>1 / ' - 1�$<rV)�6 /�/ )�3I),+CQ7'�9%$>' � B21 -0/*/ $>1 / � )21 )21 )21%$
O - 6 / � +CQ7L - 6@+<6 �F/ $C6 � )21 � "�#%$CM � =PO^LFM / # -0/ 9%$>' � B21 -0/*/ $>1 / � )21 3I)�6Ei # - 'AlV$C$>1�L - +(� � 1%B � "�#%$:3 - + /@/ # -0/
/ #7$C6($ - 6($�'*)G= - 1 M�iY'j6($$&7$>+ / ' / #%$�9%$>' � B21�+K# - L.LF$>17B�$�)�3@' � =pQ^L /(- 1%$C)2Q7'(L.M4)�O / � = �.w � 1%B�1nQ7=�$C6()2Q7'
+<6 �F/ $C6 �.- �

� 24��� �15��1��� ���  8@ �#��.
N�$>+ � ' � )217' - 6($ - 1 � 1 / $CB�6 - LVO - 6 / )�3 / #%$&9%$>' � B21�O^6()e+<$>'H' � d - 1nM 35)�6H= - Lm97$>+ � ' � )217' - 179�= - 1 M =P)�6($
� 1%35)�6K= - LV)21%$>' - 6($p= - 9%$ / #%6()2Q7B2#%)2Q /f/ #%$&O^6()e+<$>'H' �
h%)�6H= - L!9%$>+ � ' � )217'j)�3 / $>1 )e+C+CQ%6 -0/�/ #%$�+<)217+CLgQ7' � )21 )�3 / #%$�+<)21^+<$CO / Q - L|\oO76($>L � = � 1 - 6HM - 179��^1 - L

97$>' � B21q' /(- B�$>'C\ - 'oO - 6 / )�3^6($>+<)2=�=P$>179 � 17B / #%$f1%$�
 / ' / $CO - 179P'*$C$C� � 1%BYl^Q^9%B�$ /(- 6(M - O7O^6() ; - L / )jO76()0S
+<$C$>9 / ) / #%$P1%$�
 / ' /(- B�$ � U?6H)e+<$>97Q76($>'Y# - ;�$PlV$C$>1�9%$C;�$>LF)�OV$>9 / )�3I)�6H= - L �Fw $ / # � 'Y9%$>+ � ' � )21,ST= - � � 1%B
O^6()e+<$>'H' - 'qO - 6 / )�3�35)2' / $C6 � 1%B�)�l��]$>+ / � ; �F/ M � [�l��*$>+ / � ; �F/ M � ' � =�Om)�6 /(- 1 / � 1 - LgLE'*$ /*/ � 1%B2'C\?l^Q / �F/ � '
O - 6 / � +CQ7L - 6KLFM � =POV)�6 /(- 1 / � 1 / #%$�O^Q%l^L � +�'*$>+ / )�6 � "�#7$�97$>+ � ' � )21,ST= -0/ 6 � 
 =P$ / #7)e9 � '�)21%$4+<)2=�=P)21
3I)�6H= - L �Fw $>9 - O7O76H) - +H# / # -0/ � '�6($>L -0/ � ;�$>LFM�' � =PO^LF$ / )�$�
,$>+CQ / $�~ �:LgL.= - 1X\ �$#�#)� � � t ) a@$C;�$C6>\ �F/ � ' � =qS
OV)�6 /(- 1 / 3I)�6�' / Q797$>1 / ' - 179�$>1%B � 17$C$C6H' / )�6($>+<)�B21 �Fw $ / # -0/ '(Q%l��*$>+ / � ; �F/ M x Q � +(�,LFM�lV$>+<)2=P$>' - O - 6 / )�3
/ #7$89%$>+ � ' � )21,ST= -0/ 6 � 
 - O7O76() - +K# / #76()2Q%B2# / #%$p'*$>LF$>+ / � )21�)�3�+<6 �./ $C6 �.- a@$ � B2# / � 1%B2' - 179
'(+<)�6 � 1%B�6HQ7LF$>' �
Z]1%3I)�6H= - Lm9%$>+ � ' � )217' - 6($Y= - 9%$ - L.=P)2' / +<)21 / � 1nQ7)2Q7'(LFM � 1 / #%$�9%$>' � B21�O76(),+<$>'(' �  ?;�$C6HM / # � 1%Bp3I6()2= - ']S
'HQ7=PO / � )21^'v= - 9%$ � 1 - 9%$ /(- � LF$>9&+ - L.+CQ7L -0/ � )21 / ):a�# -0/ )�O / � )217' / ):O^Q%6H'(Q7$W3I)2L.LF)�a � 1%B - l76 - � 1^' / )�6H= � 17B
$�
,$C6H+ � '($ � 1n;�)2LF;�$>'89%$>+ � ' � )21,ST= - � � 1%B � "�#%$�+H# - LgLF$>1%B�$ � ' / )G= - ��$ / #%$>'($�+H#%) � +<$>'8+<)217'(+ � )2Q7'(LFM - 179
- '�)�l��*$>+ / � ;�$>LFM - '�OV)2'(' � lRLF$:a �F/ #%)2Q / B�$ /*/ � 1%B�lm)�B�B�$>9G9%) a:1 � 1 - 1 - LFM,' � '>\ - ' ������� �/� �  "�/ "!�� 5��15
!1�� 8�<5���� �< 8

 "!�� 5��15 �
N:$>+ � ' � )21,ST= - � � 1%B�leM�+<)21^'*$>17'(Q7' � ' - 1 � =POV)�6 /(- 1 / '*� � L.LJ3I)�6&$<rV$>+ / � ;�$ / $ - =�' ~��v$C; � \ ����� � � � �]Z /

/(- ��$>' / � =�$�\7$>1%$C6(B�M - 179
'*� � L.L / )�6($ - +K#G+<)21^'*$>17'(Q7'�l^Q / +<)217'*$>1^'(Q7'�97$>+ � ' � )217'f# - ;�$ - B�6($ -0/ $C6jL � ��$<S
L � #%)e)e9 )�3olV$ � 1%B � =PO^L.$>=P$>1 / $>9 leM / #%$ / $ - = � �

����
���� � � � � �'�)����
 �
�8��� � � ���
[�OV$C6 -0/ � )21 - L^'*� � L.L.' - 6H$�+<6 �./ � + - L / ) - +H# � $C; � 17B - 179 9%$>=P)217' / 6 -0/ � 1%B8+<)2=�Om$ / $>1^+<M � "�#%$>'*$�'*� � L.L.'�OV$C6 /(- � 1 / )
/ #%$ - l � L �./ M / ) 97)�'*)2=P$ / # � 1%B73 � 1
$>17B � 1%$C$C6 � 17B�9%$>' � B21 / $C6H=�'C\m)�OV$C6 -0/ � )21 - LW'*� � L.L.'�Om$C6 /(- � 1 / ) / #%$ - l � L �F/ M
/ )�9%)�'()2=P$ / # � 1%B � 1 - 6($ - Lv'*$ /*/ � 17B � "�#%$Y�,1%) a�L.$>9%B�$j)�3oO76(),+<$>97Q%6($>'f+ - 1�lV$&9%$>L � ;�$C6($>9 � 1 - LF$>+ / Q76($ - 179
- '('*$>'H'*$>9�)21 - 1�$�
 - = � [�OV$C6 -0/ � )21 - L�'*� � L.L.'�+<) ;�$C6 - L.Lo)�3 / #%$�' - =P$ / )�O � +C' - 179�9%)2= - � 17'C\Xl^Q / =�Q7' / lV$
$�
,Om$C6 � $>17+<$>9 � 1�9%$>' � B21�O76()
�*$>+ / ' - 179
+ - 14)217LFM�lV$ - '('*$>'('*$>9 � 1�O76 - + / � +<$ �

"�#76()2Q%B2#%)2Q /A/ #%$�$>1%B � 1%$C$C6 � 1%Bp+CQ%6(6 � +CQ^L.Q7=�\�' / Q797$>1 / '@1%$C$>9 - 1�)�O7OV)�6 / Q71 �F/ M / )8$>17B - B�$ � 1 / #%$:97$>' � B21
O76(),+<$>'('C\XQ7'($ / #%$P9%$>' � B21 / )e)2L.'C\V$C; - L.Q -0/ $ / #%$ � 6 � 9%$ - '>\V= - ��$�9%$>+ � ' � )21^' - 179X\XQ7L / � = -0/ $>LFM�\m; - L � 9 -0/ $ / #%$ � 6
a@)�6(� / #76()2Q%B2# � =�O^LF$>=P$>1 /(-0/ � )21 �

��%



d - 1 M $>1%B � 1%$C$C6 � 1%B '(+K#%)n)2Lg'�O^L - +<$ / # � '�$�
eOV$C6 � $>17+<$ � 1 / #%$GL -0/*/ $C6 O - 6 / )�3 / #%$�+CQ%6(6 � +CQ7L.Q7= 3�'*)2=P$
9 � '(Om$C6K'*$ �./�/ #76()2Q%B2#%)2Q /q/ #%$4+CQ76(6 � +CQ7LgQ7= 3 - 1^9X\A'*)2=P$�$C;�$>1 # - ;�$ - 1 $>' /(- l^L � 'H#%$>9 '*$ x Q7$>17+<$4)�3:97$>' � B21
+<)2Q%6H'($>' �  - +H#�)�3 / #%$>'*$ - O7O^6() - +H#%$>'E9 � ; � 9%$>' / #%$�O76(),+<$>'(' � 1 / )&'(= - L.L.$C6>\ = - 1 - B�$ - lRLF$�\n' � 1%B2LF$f+<)2Q%6H'*$�l �F/ ' �

d
$>+H# - 1 � + - L? A17B � 1%$C$C6 � 17B -0/j/ #%$P��1 � ;�$C6H' �./ M
)�3 c #%$C6(l^6()n)���$�~b�!# - 6H6()21 �$� � ���g\ �������2�Y# - ' - Q71 �gx Q%$
=�Q7L / � ST+<)2Q%6K'*$P'*$ x Q7$>17+<$ / # -0/ 97$>L � ;�$C6H' / #%$P$�
,OV$C6 � $>17+<$ � 1 - ' � 1%B2LF$ � 1 / $CB�6 -0/ $>9 O - +(� - B�$ � "�#%$�' / Q79%$>1 / '
' /(- 6 /:-0/ O76()�l^L.$>= 9%$��^1 �F/ � )21 - 1^94+ - 6(6(M �F/�- L.L / #%$8a - M / #76()2Q%B2# / ) � =PO^LF$>=P$>1 /(-0/ � )21 �

����
���� � � � � ����� 
��)� �
�j� � � � �"�
 A17B � 1%$C$C6 � 17B�9%$>' � B21�9%6 - a�'s)218$�
,OV$C6 � $>17+<$ � "�#%$@+<)2L.LF$>+ / � ;�$@$�
eOV$C6 � $>17+<$A)�37$>17B � 1%$C$C6H' � 'W+ - O / Q%6($>9 � 1p' /(- 1,S
9 - 6H9^' - 1798+<),9%$>'C\�L - a�' - 1^9&6($CB2Q7L -0/ � )217'C\ / $�
 / lV)e)��e' - 179X\ � 17+<6H$ - ' � 1%B2LFM�\ # � B2#7L.M:'*OV$>+ �.- L �.w $>9&'*)�3 / a - 6($�\�$ � B �
+<),9%$p3I)�68�!hoN�\mho A�p\X+<)2=PO^Q / $C6 - LFB�$Cl^6 - \m'H+ � $>1 / � �^+p1eQ7=P$C6 � +&+ - L.+CQ7L -0/ � )217'C\V' � =�Q7L -0/ � )21v\^)�O / � = �Fw>-0/ � )21X\
/ )�1 - =P$ �(Q7' /f- 3I$Ca �  �
,OV$C6 � $>17+<$ � ' - L.'*)P+ - O / Q76($>9 � 1 / #%$jO76(),97Q7+ / '@)�3s$>1%B � 1%$C$C6 � 1%B�97$>' � B21 / # -0/ $C;�$C6(MnS
)21%$8Q^'*$>'�$C;�$C6(M,9 - M�\R$ � B � / ) - ' / $C6>\ / $>LF$CO^#%)217$�\ / ) � LF$ / \m+ - 6 - 179G+<)2=PO^Q / $C6>\ - 179 / #%$8$>1%B � 1%$C$C6($>9
O76(),97Q7+ / '
/ # -0/8- 6H$ � 1 / #%$�l - +(�eB�6()2Q7179�)�3!)2Q%6pL � ;�$>'C\v$ � B � $>LF$>+ / 6 � + - L?B�$>1%$C6 -0/ � 1%BG' /(-0/ � )21X\sa - ' / $Ca -0/ $C6 / 6($ -0/ =P$>1 /
O^L - 1 / \ - 179 / #%$q$>=8lV$>979%$>9�+H# � O�+<)21 / 6()2L.L � 1%B / #7$�$>L.$C; -0/ )�6 � UW$ / 6()2'(� � ~ �$#�# �2��O76H) ; � 9%$>' � 17' � B2# / � 1 / ) / #%$
6($>L �g- 17+<$j)�3s$>17B � 1%$C$C6 � 17Bq97$>' � B21�)21 / #7$j$�
eOV$C6 � $>1^+<$j)�3W3 - � L.Q76($>' �

Z]1 - 979 �F/ � )21 / )�+<)2L.LF$>+ / � ;�$P$�
eOV$C6 � $>1^+<$�\m$ - +K#�9%$>' � B21%$C6Y6($>L � $>'�)21�#%$C6Y)�6&# � '�OV$C6H'*)21 - LJ$�
,OV$C6 � $>17+<$ � 1
/ #%$j9%$C;�$>LF)�OR=P$>1 / )�3J#7$C6@)�6�# � 'E97$>' � B217' � "�# � ' � 179 � ; � 97Q - L,$�
,OV$C6 � $>17+<$�)�3 / $>1�+<)2=P$>'f9%) a:1 / ),�(Q79%B2=P$>1 / �
�*N�$>' � B21PO^6()
�]$>+ / ' � 1PQ71 � ;�$C6H' �F/ � $>'sB�)8'*)2=�$�a - M / )&9%$C;�$>LF)�O / # � 'o$>1%B � 1%$C$C6 � 1%B �*Q797B2=P$>1 / ��~ t�- B�$C6>\ �$#�#)� � �
�2Q^9%B2=P$>1 / � ' / #%$ - l � L �F/ M / )�+<)217' � 9%$C6 - L � ' / )�3 - L / $C6K1 -0/ � ;�$>' - 179 = - ��$ - 9%$>+ � ' � )21
� a�#7$ / #%$C6E'*)2=�$ / # � 1%B
+ - 1Glm$p3 - l^6 � + -0/ $>9X\R)�6 � '�$ - '*M / )�Q7'*$�\m' - 35$p)�6:O^6 - + / � + - L � �!)�6(lV$ /*/ ~ �$#�# � ��O76()�; � 97$&B2Q � 9 - 1^+<$ � 1497$>' � B21
3I)�6�= - 1eQ%3 - + / Q76($ � _�)2Q^'*$�~ �$#�# � � - 1^94"J)�3 / ���������W~ ����� � lm�fO^6() ; � 9%$ � 17' � B2# / ' � 1 / )�#eQ7= - 1�3 - + / )�6H' �

c / Q^9%$>1 / '�1%$C$>9�)�O^Om)�6 / Q71 �F/ � $>' / ) 9%$>' � B21 356H)2=�\ - 179 / )%\Y+<)e97$>' - 179�' /(- 179 - 6H9^'C\ / ) 9%$>' � B21 3I6()2=
$>' /(- l^L � '(#%$>9
6($>+ � OV$>' - 179 / )�= - ��$ �*Q797B2=P$>1 / ':3I)�6 / #7$>=�'*$>LF;�$>' � "�#%$CM41%$C$>9�$�
,OV$C6 � $>17+<$pa �F/ #43 - � L.Q76($ � 1
/ #%$ � 6�97$>' � B217' �

����
���� � � � � �
��� � � ������
 �
�j� � � � �"�
��' - 6($>'(Q7L / )�3 / #%$�+<)2=�O^LF$�
 �F/ M )�3 / ),9 - Mm{�' '*Me' / $>=�' - 1^9 / #%$�+<)�6(6($>'*OV)2179 � 1%B�9 � ;�$C6K' �F/ M )�3j$�
,OV$C6 / � '*$
6($ x Q � 6($>9 / ) /(- ��$ - 1 � 97$ -q/ ) 	 = - 6(��$ / {F\R$>1%B � 1%$C$C6 � 1%BP9%$>' � B21�6($>L � $>'f#%$ - ; � LFM )21�OV$C)�O^LF$�{�'�'*� � L.L.' �

� � �� �� �?�"

@
c / 6()21%B / $ - =paE)�6(��'(� � LgL.' - 6H$49%$C;�$>LF)�OV$>9 / #%6()2Q7B2# $�
eOV$C6 � $>1^+<$ 3!#7) a@$C;�$C6>\fUs)2#^LF$�
eOV$C6 � $>17+<$ - LF)21%$
a � L.Lv1%) /�- Q / )2= -0/ � + - LgLFM4= - ��$ - 1 � 179 � ; � 97Q - L - 1G$<rm$>+ / � ;�$ / $ - = O^L - M�$C6 � [YO7OV)�6 / Q71 �F/ � $>'!35)�6Y+<)21,S
' / 6HQ7+ / � ;�$ 6($$&7$>+ / � )21 - 6($ $>'('*$>1 / �.- L � 3!'(� � LgL.' - 6($ / )GO76H)�B�6($>'(' � _�$$&7$>+ / � )21 6($ x Q � 6($>' - 1 - a - 6($>1%$>'H'
)�3 / $ - =pa@)�6(��3IQ^179 - =P$>1 /(- L.' � d - 1nM�$>1%B � 1%$C$C6 � 1%B�9%$>' � B21 / $�
 / '>\^$ � B � \�~ N � $ / $C6>\�������� �K\VO76()�; � 9%$ � 1,S
' � B2# / � 1 / ) / $ - =paE)�6(� � "s$ - =8a@)�6(� � 'A1%) / Q71 �.x Q%$ / ) / #%$�$>1%B � 1%$C$C6 � 1%B"�7$>L.9X\ - 1nQ^=8lV$C6A)�3X$�
%+<$>L.LF$>1 /
6H$C35$C6($>1^+<$>'�)21�$<rV$>+ / � ;�$ / $ - =�l^Q � L.9 � 1%B%\ $ � B � \W~��v$C; � \ ����� � 3 � $>' / ��� �����g\ ����� � �K\RlV$ � 17B - ; - � L - l^LF$ �
c / Q79%$>1 / 'J'(#7)2Q7L.9jlV$ - a - 6($!)�3 / #%$@+CL - '(' � + - L / $ - =qSTL � 35$@+<Me+CLF$Y~��JQ7=�'(9 - � 1%$ - 1^9"�JQ^=�'(9 - � 17$�\ �$#�#�% �

� 1�)�6H9%$C6 / )�6H$>+<)�B21 �Fw $ / # -0/�/ #%$8+H# - L.LF$>1%B�$>' / #7$CM�3 - +<$&a �F/ # � 1 / #%$ � 6 / $ - =�' - 6($&1%)�6H= - L � c / Q79%$>1 / '
'H#%)2Q7L.9P�,1%)�a / #%$�+H# - 6 - + / $C6 � ' / � +C'E)�3XB�)e)e9 / $ - =�' - 179 / #7$ � 179 � + -0/ )�6H'�)�3 -8/ $ - = � 1 / 6()2Q%lRLF$8~��v$C; � \
����� � � �
�v$ - 6H1 � 1%BG' / MeL.$>'p9 � rm$C6�356H)2= )21%$�' / Q797$>1 /p/ ) / #%$�1%$�
 / � �sQ7=�'(9 - � 1%$ - 179 �JQ7=�'(9 - � 1%$�~ �$#�#�% �

O^6() ; � 9%$�$�
,+<$>L.L.$>1 / � 17' � B2# / � 1 / # � ' - 6($ - \�O - 6 / � +CQ7L - 6HLFM � 1 / #%$ +<)21 / $�
 / )�3�$>1%B � 1%$C$C6 � 1%B - 179 $>1%B � S
17$C$C6 � 1%B�$>97Q7+ -0/ � )21 � c / Q79%$>1 / 'p~ - 179G3 - +CQ7L / M7��'(#%)2Q7L.94lm$�= - 9%$ - a - 6($q)�3 / #%$>'*$q9 � rV$C6($>17+<$>'C\ / #%$ � 6

�  



OV) / $>1 / �.- L � =PO - + / )21 / #%$q9%Me1 - = � +C':)�3 / #%$ � 6j9%$>' � B21 / $ - =�\ - 1^9 - 9%; - 1 /(- B�$>' - 179�9 � ' - 97; - 1 /(- B�$>'
)�3 / $ - =�' / # -0/�- 6($p+<)2=POV)2'*$>9�)�3 � 179 � ; � 97Q - L.'?a �./ #�9 � rV$C6 � 1%BqLF$ - 6H1 � 1%BP' / M,LF$>' �
 ?; - L.Q -0/ � )21 - 179�6($Ca - 6H97' - 6($q+<6HQ7+ �.- LW+<)2=POV)21%$>1 / 'Y)�3 / $ - =8a@)�6(� � � l - L - 17+<$�=�Q7' / lV$p' / 6HQ7+(�

lV$ / aE$C$>1 � 179 � ; � 9^Q - L`S - 1^9 / $ - =qSbl - '($>9 6($Ca - 6H97'>\s3I)2' / $C6 � 17B - +<)2=�= �./ =P$>1 /p/ ) / #%$ / $ - =�{�'pB�) - L.'
- 1^9 / #%$ / $ - = �F/ '*$>LF3:a�# � LF$ -0/�/ #%$G' - =P$ / � =�$�O76() ; � 9 � 1%B - 1 � 17+<$>1 / � ;�$ / ) / #%$ � 179 � ; � 97Q - L - 179
/ #7$ � 179 � ; � 97Q - Lb{�'oOm$C6H35)�6H= - 17+<$�~��J$C; � \ ����� � � � Z�1�$>97Q7+ -0/ � )21 - Lm'($ /*/ � 1%B2'C\ / # � 'El - L - 1^+<$ � '!1%) / $ - ' � L.M
- +K# � $C;�$>9 �
�@)21�& � + / = - 1 - B�$>=P$>1 / � ' - 1 � =POV)�6 /(- 1 / 9 � =P$>17' � )21 )�3j$<rm$>+ / � ;�$ / $ - = '*� � L.L.' � �@)21�& � + / � ' -

17$>+<$>'(' - 6(MGO - 6 / )�3 / #%$q9%$>' � B21GO^6()e+<$>'H'63v#%) a@$C;�$C6>\J17) /Y- LgLW+<)21 & � + / � '�B�)n),9 � c / Q797$>1 / 'Y'(#%)2Q^L.9
lV$
- a - 6H$�)�3 / #7$8; - 6 � )2Q7' / MnOV$>' - 179
+ - Q^'*$>'�)�3?+<)21�& � + / � � $>' / �$�������?~ ����� � ��O76()�; � 97$>'�' / 6 -0/ $CB � $>':3I)�6
$<rV$>+ / � ;�$�+<)21�& � + / 6($>'()2L.Q / � )21 �

� $&��� � �/�<�1�7 �9�1����� @ �#!#!15
"s6 - 9 �./ � )21 - L.LFM�\ - l^L.Q%$CO^6 � 1 / a - 'A" t  $>1%B � 1%$C$C6 � 1%B&9%$>' � B21�+<)2=�=�Q71 � + -0/ � )21 / )n)2L � � # � LF$�9%6 - a � 1%B2'
+<)21 / � 1eQ%$ / )plV$ - +<6 �F/ � + - L - '*OV$>+ / )�3W+<)2=�=pQ^1 � + -0/ � )21 � 1�$>1%B � 1%$C$C6 � 1%B89%$>' � B21X\ - +<)2=POV$ / $>1 / 97$>' � B21
$>17B � 1%$C$C68'(#7)2Q7L.9�lV$P�e1%)�a�LF$>9%B�$ - lRLF$P)�3 / #%$P; - 6 � )2Q7'&+<)2=�=�)21�9%6 - a � 1%B�3I)�6H= -0/ ' - 1^9�+ - O - l^LF$P)�3
6H$>+<)�B21 �Fw � 1%B � =POV)�6 /(- 1 / +<)21n;�$>1 / � )21^' - 179�'*M,=plm)2Lg' - +<6()2'(' - L.L^$>1%B � 1%$C$C6 � 1%B89 � '(+ � O^L � 1%$>'f~ - 6($>' � ' / )�6>\
- +<)21 / 6H)2L�; - LF;�$�\ - a@$>L.9%$>9 �*) � 1 / \!$ / + � � � �:L.L�$>1%B � 1%$C$C6H'�'(#%)2Q7L.9 # - ;�$ - �76H' / STLF$C;�$>L�+ - O - + �F/ M / )
6H$ - 9�l^L.Q%$CO^6 � 1 / 'C\VO76(),+<$>'(' &7)�a 9 �.- B�6 - =�'C\vO76(),+<$>'(' - 1^9 � 17' / 6HQ^=P$>1 /(-0/ � )21�9%6 - a � 1%B2'C\ - 179 + � 6H+CQ �F/
976 - a � 1%B2' �  A1%B � 17$C$C6H'p'H#%)2Q7L.9 # - ;�$ - # � B2#%STLF$C;�$>LE+ - O - + �F/ M / )�6H$ - 9 9%6 - a � 1%B2'p6($>LF$C; - 1 /�/ ) / #%$ � 6
9 � '(+ � O^L � 1%$ - 179 - 1 - +C+<$CO /(- l^L.$�+ - O - + �F/ M / )�+<6($ -0/ $�9%6 - a � 1%B2'p'(Q �F/(- lRLF$ / ) / #7$ � 6p9 � '(+ � O^L � 1%$PQ7' � 1%B
+CQ76(6($>1 / '*)�3 / a - 6H$ ~ ��Q7' / � 1X\ �$#)��# 3 ��$>17'($>1X\ �$#)��# � �
� 6 �F/*/ $>1 +<)2=�=pQ^1 � + -0/ � )21 $�
 / $>1^97'8lV$CM�)2179 9%6 - a � 1%B2' / )�9%$>' � B21�6($COV)�6 / '>\ / $>+K#71 � + - L@'*OV$>+ � �^+ - S

/ � )217' - 179�9%$>' � B21 - O^Om$>1^9 � +<$>' � d - 1nM � 1 / 6(),97Q7+ / )�6(M�$>1%B � 1%$C$C6 � 1%B&9%$>' � B21 / $�
 / lV)e)��e'AO76()�; � 97$fB2Q � 9,S
- 1^+<$ � 1 / $>+H#71 � + - Lea�6 �F/ � 17B - 1798$>17B � 1%$C$C6 � 17B�6($COV)�6 / '!~ N � $ / $C6>\�������� 32��179%6H$Ca�' ��� �����g\������ � 3 % )2L - 179X\
�������n� �
�@)2=POV$ / $>17+<M�9%$C;�$>LF)�O^=P$>1 / � 1�a�6 �F/*/ $>1�+<)2=�=�Q71 � + -0/ � )21�6($>L � $>'&)21�O76 - + / � +<$�\ x Q - L �F/ MG35$C$>97l - +(�

- 1^9 / #%$&)�O7OV)�6 / Q^1 �F/ M / )�6($Ca�6 �./ $ �
N:$>' � B21�LF)�B�lV)n)��,'j~I)�6�1%) / $ClV)n)��,'K� - 6($ - 1�$>'('*$>1 / �.- LV3I)�6H= -0/ 3I)�6 / #7$Y97)e+CQ7=�$>1 /(-0/ � )21�)�3 - 1 � 179 � S

; � 97Q - L|{�'o9%$>' � B21q9%$C;�$>LF)�OR=P$>1 /�- 179P97$>+ � ' � )21,ST= - � � 17Bq~ ��L.L.= - 1v\ �$#�#)� � � �Y)n),9 �$� �����R~ ����� � ��9 � '(+CQ7'('
/ #7$&OV$>9 - B�)�B � + - LXlV$>1%$�� / '!)�3oQ7' � 1%Bq$>LF$>+ / 6()21 � + �*)2Q%6H1 - L.' - ' - =P$ - 17' / )�$>17+<)2Q%6 - B�$ - 179 - '('*$>'H'f6($<S
&^$>+ / � ;�$�L.$ - 6H1 � 1%B � "�#%$C6($ - 6H$ - 1nQ7=plV$C6�)�3j$�
 - =PO^LF$>'�)�38LF)�B�lV)e)���Q7'*$ � 1 $>1%B � 17$C$C6 � 1%B 97$>' � B21
+<)2Q76H'*$>'p~ hoLF)�6 � 9 - � / L - 1 / � +&��1 � ;�$C6H' �./ M�\ �������73m�:1 � ;�$C6H' �F/ M�)�3WZ�LgL � 1%) � ' -0/ �!# � + - B�)%\ �������n�
[�6 - L�+<)2=�=�Q71 � + -0/ � )21 /(- ��$>'8)21�= - 1 M�35)�6K=�' � 1 / #%$PO76 - + / � +<$�)�3E$>17B � 1%$C$C6 � 17B 9%$>' � B21 � N:$>' � B21

6H$C; � $Ca:'C\!O^Q%l^L � + =�$C$ / � 1%B2'�a �F/ # 3I)�6H= - L�6KQ7LF$>'P)�3Y)�6H9%$C6 \@)217$<Sb)21,Sb)21%$�$�
,+K# - 1%B�$>'�~ � 17+CL.Q^9 � 1%B � 1,S
/ $C6H; � $Ca:'K�K\ - 1^9 � 179 � ; � 97Q - L - 179 / $ - = O76($>'*$>1 /(-0/ � )217' � ��L.L@)�3 / #%$>'*$�3I)�6H= -0/ '�+ - 1 lV$ a �F/ # - 179
a �F/ #%)2Q /@/ #%$&Q7'*$Y)�3s; � 'HQ - L - � 97' � % � '(Q - L - � 97'!+ - 1 � 1^+CL.Q79%$ - 1 � = -0/ $Y)�l��*$>+ / 'C\7L - 6(B�$<Sb3I)�6H= -0/ 97$>' � B21
976 - a � 1%B2'C\7OV)2' / $C6H'>\^) ;�$C6K#%$ - 97' - 179
+<)2=�O^Q / $C6�O76()
�*$>+ / � )21
'*M,' / $>=�' � �@)2=POV$ / $>1 / $>1%B � 1%$C$C6K'�=�Q7' /
# - ;�$P$�
,Om$C6 � $>17+<$>9 / # � 'Y9 � ;�$C6K' �F/ M
)�3E+<)2=�=�Q71 � + -0/ � )21�'($ /*/ � 1%B2'C\vQ71^9%$C6H' /(- 179 / #%$P' � = � L - 6 �F/ � $>' - 179
9 � rm$C6H$>17+<$>' - 179 lm$�+ - O - l^LF$�)�3!O76($CO - 6 � 1%B�$<rV$>+ / � ;�$�O76H$>'*$>1 /(-0/ � )217' - 179�; � 'HQ - L - � 97' � � Q7=�$C6()2Q7'
6H$>'*)2Q%6H+<$>' - 6($ - ; - � L - l^LF$ / )PO76()�; � 9%$:B2Q � 9 - 17+<$P~ h%),9%)�6 - 179�_�)0rm$<S c / $ � 1%6() /*/ $C6>\ �$#�#�� 3m�Y)n),9 �$�������g\
����� � ��3V#%)�aE$C;�$C6>\R)217LFM�$�
eOV$C6 � $>1^+<$ja �F/ #�3I$C$>9%l - +(��a � L.LV9%$C;�$>LF)�O
+<)2=POV$ / $>17+<M �
Z�1�lV) / #�a�6 �F/*/ $>1 - 179�)�6 - L�3I)�6H= -0/ 'C\ �F/ � '&1%$>+<$>'H' - 6(M / )
= -0/ +K# / #%$�+<)2=�=pQ^1 � + -0/ � )21�a �F/ # / #%$

17$C$>97'�)�3 / #7$ - Q79 � $>17+<$ � "�#%$�+ - O - + �F/ M / ) +<)2=�=�Q71 � + -0/ $
)2Q%6�9%$>' � B21^' / ) / $>+K#71 � + - L - 179 1%)21,S
/ $>+K#71 � + - Ls+CL � $>1 / ' � ' - 1 � =POV)�6 /(- 1 / 9 � =P$>17' � )21 - '('()e+ �.-0/ $>9
a �F/ #�+<)2=POV$ / $>1 / 9%$>' � B21�$>1%B � 1%$C$C6K' �

�)�



� � �� 8�/��

5 �/���
�*��LF$ - 97$C6 � '?'*)2=�$C)21%$ / # -0/ + - 1 � 1�&^Q%$>1^+<$ - 1�)�6(B - 1 �Fw $>9�B�6()2Q%O / )�a - 6H9 - +C+<)2=PO^L � '(# � 1%B �F/ '�B�) - Lg' � �
~|dG+ � - 6 / #nM - 179 t�-0/ +H#%$C6 \ �������2� � [�OV$>1,Sb$>179%$>9�9%$>' � B21�O76()
�*$>+ / '&6($ x Q � 6($ / $ - =paE)�6H�R\o+<)2=�=�Q71 � S
+ -0/ � )21 - 1^9 97$>+ � ' � )217'>\ - 179 - 6($ - 1�$<rV$>+ / � ;�$&=P$ - 17'@)�3X$>=plV$>979 � 1%BpLF$ - 9%$C6H'(# � O�$>97Q^+ -0/ � )21 � 1 / ) / #%$
+CQ76(6 � +CQ7LgQ7= ~|dG+ � - 6 / #nM - 179 t�-0/ +H#7$C6>\��������2� �
�v$ - 9%$C6H'H# � O � ' - 1 � =POV)�6 /(- 1 / '(� � LgL - 1^9 +<)2=P$>' � 1 = - 1 M ' / MeLF$>'G~|d4$>L.L.)%\ �$#�#�# 3EN � $ / $C6>\ ������� 3

c �: �\ �������n� � c )2=P$ - 6(B2Q%$ / # -0/ $<rV$>+ / � ;�$�LF$ - 9%$C6H'�# - ;�$ / #%$
&7$�
 � l � L �F/ M / )�Q^'*$ / #%$ - O7O76H)�O76 �.-0/ $
' / M,LF$ / ) � /o/ #%$�+<)21 / $�
 / ~ c �: �\ �������n� � �!Q%6H6($>1 / a@$>' / $C6H1PLF$ - 97$C6H'(# � O / #%$C)�6 � $>'oOV) � 1 /o/ )&9%$>L.$CB -0/ � )21X\
$>=�Om)�aE$C6K=P$>1 /&- 1^9
OV) a@$C6*ST'(# - 6 � 1%B�' / M,LF$>'63v#7) a@$C;�$C6>\ / # � ' / MnOV$q)�3ALF$ - 9%$C6K'(# � O � 'Y1%) / Q71 � ;�$C6H' - L.LFM
'HQ7+C+<$>'('*3 Q7L?~|d
$>L.LF)%\ �$#�#�# � � c )2=P$8+CQ^L / Q%6($>' - 6($p=P)�6($ - +C+<$CO / � 17B�)�3 - Q / )e+<6 -0/ � +&LF$ - 9%$C6K'(# � O�~|d
$>L.LF)%\
�$#�#�# � �
� / $ - = $>1 ; � 6()21^=P$>1 / )�3 / $>146H$ x Q � 6($>' - 3 - + � L �F/(-0/ � ;�$&L.$ - 9%$C6>\7'*)2=P$C)217$&a�#%) � ' - l^LF$ / )�$>' /(- lRL � '(#

- +<)2L.LF$CB �g- L - 179�)�OV$>1�$>1n; � 6()217=P$>1 / \,$>17+<)2Q%6 - B�$ - '(Q%O7OV)�6 / � ;�$ - 179 +<)2#%$>' � ;�$�B�6()2Q%Ov\,=P) / � ; -0/ $ - 179
O^6() ; � 9%$�B2Q � 9 - 17+<$�\Wa�# � L.$P$>17'(Q%6 � 1%B�O76()�B�6($>'(' � 'jlV$ � 17B
= - 9%$ / )�a - 6K9 / #7$ / $ - =�'C{sB�) - L.'�~ N � $ / $C6>\
������� 3 % )2L - 179v\ �������n� � N � rV$C6($>1 / LF$ - 9%$C6H'H# � O�' / M,LF$>'fa � L.L � 1�&^Q7$>17+<$j+<6($ -0/ � ; �F/ M�~ � )2Q71%B%\ ������� � �
h - +CQ7L / M )�3 / $>1 6($>+<)�B21 �Fw $�' / Q79%$>1 / '�a:#%) - 6($G1 -0/ Q%6 - L�LF$ - 97$C6H'63�#%)�aE$C;�$C6 \�$>97Q7+ -0/ � )21 =pQ7' / B�)

lV$CM�)2179 / # � '�6($>+<)�B21 �F/ � )21 - 179 #7$>LFO - L.L�' / Q79%$>1 / ' / ) lm$>+<)2=�$G=P)�6($
$<rm$>+ / � ;�$�LF$ - 97$C6H' � _ - Q7'(+K#
~|d
$>L.L - # � \ ������� �&)0rm$C6H' / #%6($C$�B2Q � 9%$>L � 1%$ x Q%$>' / � )217' / # -0/�- L.L?= - 1 - B�$C6H'p'H#%)2Q7L.9�+<)217' � 9%$C6 � 1 / #%$ � 6
a@)�6(� � "�#%$>'($ x Q%$>' / � )217'!+<)2Q7L.9�lV$>1%$�� / $>1%B � 1%$C$C6 � 1%BP' / Q79%$>1 / ' � 1 / a@)�a - M,' � "�#7$ x Q%$>' / � )217'!+<)2Q7L.9
#7$>LFO ' / Q79%$>1 / ' / ) +<)217' � 9%$C6 / #7$GO76H)�l^LF$>=�lm$CM�)21^9 / #%$ / $>+H#^1 � + - LY9%)2= - � 1 - 179 a � L.L:#%$>LFO / #%$>=
97$C;�$>LF)�OGLF$ - 97$C6H'(# � O�'*� � L.Lg' � _ - Q7'(+K#X{�' x Q%$>' / � )217' - 6($ �

� � � # -0/ $>L.'($Y+<)2Q^L.9 aE$&9%) / )P= - ��$&'(Q76($ - L.Lm)2Q%6f' /(- ��$<ST#%)2L.9%$C6K'fa � L.LRL � ��$�a�# -0/ a@$ - 6($j9%) � 1%B%\
- 1^941%)21%$ja � L.L / #%6() a 6() - 9%l^LF),+(�,' � 1 / #7$&a - M�\^)�6�' �F/ )21 / #%$ � 6:# - 1797'C\,a - ' / � 1%B / � =P$ �	�

� � � # -0/ $>L.'*$�9%) a@$ # - ;�$ / ) +<)217' � 9%$C6 / ) = - ��$ '(Q%6($�$C;�$C6(M�)217$ � 1n;�)2LF;�$>9X\ � 17+CLgQ79 � 1%B / #%$
'HQ%O7O^L � $C6H'C\2+CL � $>1 / 'C\ +CQ^' / )2=P$C6H'C\ / #%$:O^Q%l^L � +0\ - 179�M�$>'C\e$C;�$>1 / #%$ - 9%;�$C6K' - 6 � $>'C\n�e17) a a�# -0/?/ #%$CM
'H#%)2Q7L.9 �,1%) a&\ - 179 / # -0/P/ #%$CM + - 1 9%)�a�# -0/�/ #7$CM '(#7)2Q7L.9 9%) � '*)�LF$>'H' / � =P$ � '�a - ' / $>9 � 1
3 Q7=pl^L � 17B%\n)21G= � ' /(- ��$>'C\ - 179 � 1 - 17'*a@$C6 � 17B x Q%$>' / � )217' � �

� � � # -0/ $>L.'($�'(#7)2Q7L.9�a@$ / # � 1%� - lV)2Q / \,lV$C35)�6H$:a@$:B�) - #7$ - 9X\ / )q= - ��$Y'HQ%6($ / # -0/ a:# -0/ a@$ - 6($
97) � 1%B&a � L.L,lV$>' / B�$ / Q^' / )8a:#%$C6($�a@$�a - 1 /E/ )8B�)%\ - 179�17) / # - ;�$�Q7'?a - ' / $ / � =P$ w � B w>- B�B � 1%B�� �

����
���� 
��M��
 ���)��
 ����� � � ���
�@)�B21 �./ � ;�$�'*� � L.L.' � 17+CLgQ79%$ / #%$�+ - O - + �./ M / )89%)8O76()
�*$>+ / 'C\n'*)2L.;�$�O76()�l^L.$>=�'C\29%$��^17$�+<6($ -0/ � ;�$:' / 6 -0/ $CB � $>'C\ /(- ��$
6 � '(�e'&~I6 � '*��= - 1 - B�$>=P$>1 / � - 179 / )�+<)21^' � 9%$C6�$>+<)217)2= � +0\7l^Q^' � 1%$>'(' - 179
= - 6(��$ / � 1%B�+<)21^+<$C6H17' �

� � 
9��������� �  "�/ 8.�� �B���	�
 ?rm$>+ / � ;�$f$>1%B � 1%$C$C6 � 1%B:9%$>' � B2186H$>L � $>'W)21�$<rm$>+ / � ;�$f)�;�$C6 - L.L,O76H)
�]$>+ / = - 1 - B�$>=�$>1 / � � - 1 /*/ +H# - 6 / ' - 179
/ #7$�+<6 �F/ � + - L�O -0/ # =�$ / #%)e9 ~b�!UEd�� - 6H$�)�3 / $>1 Q7'*$>9 � 1 / #%$ '(Q%O7OV)�6 / )�3�9%$>' � B21�O76()
�*$>+ / ORL - 171 � 17B
- 1^94'(+H#7$>97Q7L � 17B�~  A6 /(- ' - 179 ��)21%$>'C\ �$#�#  3R��179%6($Ca�' ��� �����g\������ � � �

� � 
9���<!1� � � ����!����#��.
 ?rm$>+ / � ;�$AO76()�lRLF$>=qST'*)2LF; � 1%BfQ7'($>'XlV) / #&+<6($ -0/ � ;�$ - 179&+<6 �./ � + - L / # � 17� � 17B � � N � ;�$C6HB�$>1 /o- 179&+<)21n;�$C6(B�$>1 /
/ # � 1%� � 1%B - O7O76() - +K#%$>'p~IZ]' - �,'*$>1 ��� �����.\ �$#�# �n�f+<)2=PORLF$>=P$>1 / $ - +H#
) / #%$C6 �

5�! �&#E.&#$H2<�> .&�"#$� K #$�"! � <6*M.&�1'�� D #E.&�(<6� <�> LHN%#$�"!)3 �%9�<�>$J"<6.&#$�"!R<6� '�'��%9;� >?��-"#$�"!8��-�.&#$���"*

���



� $&
9�� �9����� �	�9
9 �9�(.	����5
� +<6($ -0/ � ;�$Y$>1%B � 17$C$C6 � 1%B�'*)2L.Q / � )21 =�Q7' / lm$YQ71 �gx Q%$ - 179�=pQ7' / '*)2L.;�$ / #7$�O^6()�l^LF$>= � �*D@$ - = =P$YQ%Ov\
c +<) /*/ M�� � � ':+<$C6 /(- � 17LFM - +<6($ -0/ � ;�$ � 9%$ -�/ )�)2Q%6 / 6 - 17'*OV)�6 /(-0/ � )21G+H# - LgLF$>1%B�$>'63Rl^Q / �./ � '�17) / \ -0/ LF$ - ' /
� 1 / #%$&3I)�6($>'*$C$ - l^LF$83IQ / Q76($�\ - aE)�6H� - l^L.$j$>1%B � 1%$C$C6 � 1%BP'*)2L.Q / � )21 �
D@6 - � 17' / )�6H= � 1%B � '�+<)2=�=P)217L.M � 1 / 6(),97Q7+<$>9 � 1 / #%$f$>17B � 1%$C$C6 � 17BY97$>' � B21P+CQ%6(6 � +CQ7L.Q7= - 179 � 1^+CL.Q79%$>9 � 1
= - 1 M � 1 / 6(),97Q7+ / )�6(M�$>1%B � 17$C$C6 � 1%B�9%$>' � B21 / $�
 / '@~  A6 /(- ' - 179 �2)21%$>'C\ �$#�#  30N � $ / $C6>\�������� � � � Q7=�$C6()2Q7'
/ $>+K#71 �.x Q%$>'f# - ;�$jlV$C$>1�9%$C;�$>LF)�OV$>9 / )P) ;�$C6H+<)2=�$8=P$>1 /(- LVl^LF),+(�,'f'(Q7+H# - ' c �!��dGUA E_ ~ '(Q%lR' / �F/ Q / $�\
+<)2=pl � 17$�\ - 9 - O / \R=P)e9 � 35M�\^O^Q /f/ ) - 17) / #%$C6:Q7'($�\^$>L � = � 1 -0/ $�\%6($C;�$C6H'($��K\ / #%$pQ7'*$&)�3 - 1 - LF)�B � $>'C\ - � � � - �
'(Me1%$>+ / � +C'�~b��)�6H9%)21X\ �$#  �� �K\ - 179 / #%$PQ7'*$q)�3A6 - 179%)2= � 1%O^Q / '�~ N � $ / $C6>\ ������� � � "�_�Z*u ~ "�#%$C)�6HM4)21
Z]1n;�$>1 / � ;�$GU?6()�l^L.$>= c )2LF; � 1%Bn�p= - M lV$ - 1 $<rV$>+ / � ;�$G=P$ - 1^'P)�3 / 6 � B�B�$C6 � 1%B�+<6H$ -0/ � ;�$
'*)2L.Q / � )217' / )
+<)2=�=P)214$>1%B � 1%$C$C6 � 1%BP9%$>' � B21�+<)21�& � + / 'p~ N � $ / $C6>\�������� 3m"�_�Z(uW\ �������n� �
�!6($ -0/ � ; �F/ M�=�Q7' / lV$�O76 - + / � +<$>9 � "�# � ' � 'j6($>+<)�B21 �.w $>9 � 1 / #7$ - 6 / ' - 179 - 6H+H# �F/ $>+ / Q%6($�lRQ / � 'j)�3 / $>1
L.)2' / � 1�$>1%B � 1%$C$C6 � 1%B � D!L - +H�R{�'&+<6H$ -0/ � ; �./ M�+H# - L.L.$>1%B�$>'�~ D!L - +(�m\ �������2�j# - ;�$�= - 1nM x Q � +H�
' / 6 -0/ $CB � $>'
/ # -0/ + - 14lV$&Q7'*$>9 � 1 - 14$>1%B � 17$C$C6 � 1%BP9%$>' � B21�+<)21 / $�
 / �
�!6($ -0/ � ; �F/ M�9%$COV$>179^'P)21 - '(Q%O7OV)�6 / � ;�$�$>1 ; � 6()217=�$>1 / � 3I$ - 6�)�3j3 - � L.Q76($ � ' - = - �*)�6 9%$ / $C6H6($>1 / / )
+<6H$ -0/ � ; �./ M �  A17B � 1%$C$C6 � 17B�'(+H#%)e)2L.':1%$C$>9 / ) LF)e)�� / ) - 6 / 'C\ - 6H+H# �F/ $>+ / Q%6($ - 1794) / #%$C6Y9%$CO - 6 / =P$>1 / ' / )
97$C;�$>LF)�OG+<)2Q%6K'*$ - 179�B�6 - 9 � 1%B - O7O76() - +K#%$>' / # -0/ B�$>1nQ � 1%$>LFM�35)2' / $C6�+<6($ -0/ � ; �F/ M �

� 
 �15�@ ���  "�/ 8."� �3���	�
"�#%$jO^Q%6(OV)2'*$Y)�3W6 � '*�nST= - 1 - B�$>=�$>1 / ~ � � 9%$>= - 1X\ �$#�# �2� � ' / ) �

� c Om$>+ � �^+ - L.LFM � 9%$>1 / � 35MG3 - + / )�6K' / # -0/p- 6($�L � ��$>LFM / ) � =PO - + /&/ #7$�)�l��*$>+ / � ;�$>'8)�3 - O^6()
�]$>+ / a �F/ #
6H$CB - 6H9 / )�'H+<)�Om$�\ x Q - L �./ M�\ / � =�$ - 179�+<)2' / 3

� yjQ - 1 / � 35M / #%$&L � ��$>L.M � =PO - + / )�3W$ - +K#43 - + / )�6 3
� � � ;�$ - l - '($>L � 1%$Y3I)�6�O76()
�*$>+ / 1%)217+<)21 / 6()2L.L - l^LF$>'63
� d �F/ � B -0/ $ � =PO - + / 'fleM�$�
e$C6K+ � ' � 1%B � 1 &^Q%$>17+<$Y) ;�$C6:O76()
�*$>+ / +<)21 / 6()2L.L - l^L.$>' �

� +-�7�	�����B�1�75�� >?�/5��#�/�(5�5  "�/� �  8

@"�(�9�#��.
"�#%$ - l � L �F/ M / )G9%$>' � B21 - O76(),97Q7+ / )�6pO76(),+<$>'('&9%)e$>'817) / 1%$>+<$>'(' - 6 � LFM�$>17'(Q%6($ - '(Q7+C+<$>'('*3 Q7L�6H$>'(Q7L / �
Z]1G; � 6 / Q - L.LFM - L.Ls$>1%B � 1%$C$C6 � 1%B�O76()
�*$>+ / 'C\ / #%$q'*)2L.Q / � )21
=�Q7' / lm$ - rm)�6K9 - l^LF$ / ) / #7$p+CL � $>1 / � � �$# / #,S
+<$>1 / Q%6(M4+ � ; � Lv$>1%B � 1%$C$C6>\m��6 / #nQ%6Yd � � $>L.L � 17B / )21X\ � ':+<6($>9 �F/ $>9
a �F/ #�)217$p9%$��^1 �F/ � )21�)�3�$>1%B � 1%$C$C6 � 1%B
lV$ � 17B � / #%$ - 6 / )�3�9%) � 1%B / # -0/ a@$>L.L�a �F/ # )21%$�9%)2L.L - 6�a�# � +H# - 1nM l^Q717B2LF$C6�+ - 1 9%) a �F/ # / a@) �
~ _ - Q7'(+K#X\ �$#�#�# � � t $>1^+<$�\?$>1%B � 1%$C$C6 � 1%BG97$>' � B21 +<)2=POV$ / $>17+<M � '�1%) / +<)2=PO^LF$ / $�a �./ #%)2Q /p- 3 Q7179 - S
=�$>1 /(- LWQ7179%$C6K' /(- 179 � 17B�)�3o$>1%B � 1%$C$C6 � 1%BP$>+<)217)2= � +C' � N�$>' � B21G9%$>+ � ' � )217' - 6($8#7$ - ; � LFM � 1�&^Q7$>17+<$>9�lnM
$>+<)217)2= � +�3 - + / )�6H'!'(Q7+K# - ' � 1n;�$>' / =P$>1 / + - O �F/(- Lb\n9%$CO76H$>+ �.-0/ � )21X\2)�OV$C6 -0/ � 1%B - 179�= - � 1 / $>1 - 17+<$:+<)2' / 'C\
6 -0/ $�)�3�6($ / Q%6K1X\?O - Mnl - +H� OV$C6 � )e9X\�'*$>1^' �F/ � ; �F/ M - 1 - LFM,' � 'C\ - 179 / #%$ / � =P$�; - L.Q%$�)�3�=P)21%$CM � "�#%$>'*$
- 6H$:1%) /E/ #%$�= - +<6()0Sb$>+<)217)2= � + � '('(Q%$>' / MeO � + - L.LFMP+<)�;�$C6($>9 � 1PB�$>1%$C6 - LRQ71 � ;�$C6K' �F/ M�$>+<)21%)2= � +C'E+<)2Q%6K'*$>'C\
lRQ /j- 6($ � 9%$ - L.L.M
LF$ - 6H1%$>9 � 1 - 1�$>17B � 1%$C$C6 � 17B +<)21 / $�
 / \ - 179 - 6($P$�
 / 6($>=P$>L.M � 1�&RQ%$>1 / �g- LJ3 - + / )�6H'&3I)�6
'HQ7+C+<$>'('*3 Q7LX9%$>' � B21 �
�@)2' / Sb$>' / � = -0/ � )21 � ' - L.'() - ; - L.Q - lRLF$�'*� � L.L�3I)�6 / #%$�+<)2=POV$ / $>1 / 97$>' � B21�$>17B � 1%$C$C6 � Z]1 / #7$�$ - 6HL.M

' /(- B�$>'q)�3 / #%$�9%$>' � B21�O76H)e+<$>'('>\WO^6 � )�6 / ) / #%$�+<)2=PO^LF$ / � )21 )�3f$>1%B � 1%$C$C6 � 1%B
9%6 - a � 17B2' / # -0/ + - 1 lV$
Q^'*$>9�35)�6fORQ%6H+H# - ' � 1%B x Q%) /(-0/ � )217'C\%$>17B � 1%$C$C6H'f=�Q7' / = - ��$897$>' � B21�9%$>+ � ' � )217'@l - '*$>9�)21 - 1�$>' / � = -0/ $
)�3W+<)2=POV)21%$>1 / )�6!O76H)e+<$>'('!+<)2' / ' �  �
,OV$C6 � $>17+<$�\ea�#%$ / #%$C6 � 1 � 179^Q7' / 6(Mq)�6 - '!O - 6 / )�3 - 1�Q71^9%$C6(B�6 - 9,S
Q -0/ $89%$>' � B214O76()
�*$>+ / \ � ' - ' � B21 � �^+ - 1 / 3 - + / )�6 � 1�9%$C;�$>LF)�O � 1%BP+<)2' / $>' / � = -0/ � )214'*� � L.Lg' �

��#



N:$>' � B214$>1%B � 1%$C$C6H' - 6($&)�3 / $>1 � 1 ;�)2LF;�$>9
356H)2= / #%$&+<)217+<$CO / Q - LJ' /(- B�$p)�3 - O76()
�*$>+ /�/ #%6()2Q%B2# / ) �F/ '
� =PO^LF$>=P$>1 /(-0/ � )21 � D - ' � +�l^Q^' � 1%$>'('q'*� � L.Lg'C\ � 17+CL.Q^9 � 1%B
= - 6(��$ / '(Q%6H;�$CMe'C\E35),+CQ7'qB�6()2Q7O^'C\ - 1^9 +<)2=qS
OV$ / �F/ � ;�$�O76H)e97Q^+ / lV$>17+H#^= - 6(� � 1%B%\ - 6($ ; - LgQ - l^LF$ - '('*$ / ' � � #%$ / #%$C6 /(- � � 1%B�9 � 6H$>+ / 6($>'(Om)21^' � l � L �F/ M
3I)�6 / #%$>'*$ - + / � ; �F/ � $>'C\ma�# � +K#G= - M4lV$ / #7$�+ - '*$q3I)�6 - 1�$>1%B � 1%$C$C6 � 1 - '(= - L.Ls+<)2=PO - 1nM�\V)�6�a@)�6(� � 1%B
+<)e)�OV$C6 -0/ � ;�$>LFM�a �./ #�) / #%$C6H' � 1 - =�Q7L / � 9 � '(+ � O^L � 1 - 6(M / $ - =�\ / #7$ - l � L �./ M / ) Q7179%$C6K' /(- 179�+CQ7' / )2=�$C6H'C{
17$C$>97' - 179�O^6($C35$C6H$>17+<$>'C\ - 1^9�+<)217' � 97$C6 -0/ � )21�)�3@) ;�$C6 - L.LAl^Q7' � 1%$>'('Y' / 6 -0/ $CB�M - 6($�; - L.Q - l^LF$P'*� � L.L.' � 1
$<rV$>+ / � ;�$p$>1%B � 1%$C$C6 � 1%BP9%$>' � B21 �

���



� �������	��
 �

� ��� � 
�� � ��� � �

���������	�
���
���������
�	�������	�	�����
������������������� �!���"�������#�%$	&��	� 9 ���'$	��� 9 � � �
��$	�����(��� � ����� � 
 ��������������
���� �*)+� =-,
�.��$
���
��/'������� = �0��� 
 ��� 9 �
� ���1��&
� 932 /���$4�����	�"�"��� ; ���
�5���6$	��$7/'$	�%�#$8� ; ��� ; ���498��$	�'�%�	���1��� �	�����
���3�%� ����$	�������
: �;�������!������� �����'�	�������
���<�����>=.� 9 � � ��� 9 ����$	���?=.� 9 /@���+AB���C98��� 9 ���"$	�
�#$��������0�4$	�
�<��������������� � � 9 $	���
�.���	����� = ���
���D�E�
�#� ����$
��� ���	$	�����<���F�G��� ; ���H�#�	$	���I����$ 2 $	�
���J���������������E����� 9 ���	����� = ��/K=.� 9 � � ��� 9 ���"$	���
=.� 9 /L���M�
� �B�����	�	���8=B/(98�
���E�D$	���5��������������� � � 9 �N$	�
�5�#�	$	���I����$O$	�
�#$ 9 ���!� ; ��� �N$	��� 9 ���	��� � 9 �.���	����� = ���
�����
: $+���������C98�;$	�
�#$����
��� ; �#$	�����"=.����� = ���P$	���F�
���#�E� �(����������9Q�#�	$	���I����$	�P�1�	� = =.��$	�R���������������E�����5� �������
���F��� 9
���������
����� ����� 9 ���	����� �DS4�	$	���I����$��!��&
�
� 9 �����	�R�����T&
�
� ; ���E�	���U$
��� = $
�V� = =.� 9 /W$	��� 9 ��� �����X�%�	� 9 &
��$��#$
��� = ���	$N� ; ���	/D��� ; ��� 2 ���%����& 9 ���
�5��� = �.�������6$ 2 �
/Y�
$
� ='2 ���8�
�	�Y�����	���

Z � 9 ��� �	$	��� 9 �����T�������������
����� ����� 9 ���	�����K��� = �.��$
���
��/[�������	�
���6$	�����+=\��$	�[$
�W$
� ��� AX$	���(� ; ����&�$	�����]���
�
�	�������	�	�����
���Y���������������E�����F�
� ����$	�!���4��� 9 $
���
��������$;A���/?����� = ���6$	�^�����^$	���8� 9 &
���#$	�����"���\�%� ����$	��$	���������E���M_����
$	�����
�<�!�G��� 9 &
�	$
�	/D��� 9 ����� 9 � = �L98���'�#�	�<�
$	�#A�� , �
��� 9 ��� �`�!�G���a$
���E�
�#$	�����
������/@��� = �.��$	��$	� ; �?�������!������� �����
� 9 &
���#$	����� 2 $	���5AB�
�b98��� 9 �������M�	��cB&
���	� 9 ��� = �.��$
���
��/D��� ; �����4��� = =%�!��� 9 98��$	�D�
$	�#$
� , ��� , $	��� , �#�	$`�
/Y�a$	�
���	���
�
�	�Y�����	�
���;���U��� &%�����������?��� 9 ���^$
�`��&
� 9 �N$	���8�����6$	���B&���&
�^� = �
�	� ; � = ���a$;��� 9 � 9%; ���
��� = ���6$^���.�������!������� �����
� 9 &
���#$	����� �dSO� 9 �!�	��&
�	�
� 9 ���*$	�%��� 9 �Y��& = ���6$ 2 9 ��� �����F��� = �.��$
���
��/F�����`�
� � ; � 9 ��$	���^��������� �	�#�	/*�1��&%� 9 �#$	�����
������$	���L�������������D� ������9+���^����&
� 9 ��� ��� � 9 &
�#$
�"��&
�	� ����&
�!�R�!�G���������������E����� 3 ���b9+� ; ��� 2 $	�����	�R���`�T����� 9 �����
)P���
� 9 �����'&
�
� ; ���E�	��$	�����+$
�"&��%��� � 9 �F$	������&
�	�	���6$�c6&
���!��$7/L��� 9 ���	�����'��� = �.��$
���
��/��

���
�-&%�
�?���+� 97; ���
��� 9 �	��e������ , ��� 9Y, ���
$	� = ��e��#$	�����V$
�6�����F�!� 9 ���	�����W�
� �B�����	�	���F���*$	��&����6$����W� ; ���	/V��� ,
�����������E����� 9 �!�	�����%���!���F���V)P���%� 9 � � : �M�����-�����
�	� 9 ��� ��$	�����	�5$
�B�����O���4$	�
���
�5���;���6��AY�?f�98���R�
�	� 9 &
���`���6� 9
�����O$	�
� = ��� �
���Eg 2 $	�����W� �����I�<f�98���(���	���#$
� 9 �����!�����������Eg8�#�	�5$	�
���
�-98���L&%�
�5$	�
���
�5�%�	�B����� �
���O$
�Rh0� 9 A���/
���
�
� ; �#$	�����
� 2 $	�
���
�`$	�
�#$ 9 � � ; �`$	�
������&
�6$
�	/0ij�4��������� = �!�`��� = �.��$	��$	� ; ������� ��k+�8�����#=.� ; ��� 
 � = ���
�#$	�����'���
$	���<���
����������� ���
� 9 ���	�����>��� = �\��$
���%��/>�	&��������
$	�5$	�
�#$-)N���
� 9 �����G���
����������� ���
�D�	� ���B�����5����� 9 $
� 9 � ; �������
= ���	�"$
�6�����`�1�����E�����I� 2 $	�
�#$5��� 2 �
AY�����!�4�����`$	�����	�"���#�%�#=%���"���;�
� � 9 &%�������RA���/W�!�
��� ; �#$	�����
�`$	�
�#$`98���!�l�I&����
�	&
������� �8���($	���F������=%��� = �#�	A���$
�0��������k

m ��� n$!,;>!&� 2po �.� �
���
�!� 9 �Y��& = ���6$ 9 ��� ��&
�	�
� 9 ��qY$
���
�	� ; ����/ 9 ���	�����"���������������E�����`��� = �.��$
���
��/"��� 9 � 9 ���6$	��h
� 9 $	���8AY���b94��� 9 ���
��� 9 �
AY�������8�	��cB&
���	� 9 �1���`��� = �\��$
���6$F��� 9�9 ���	����� , �	��� 9 /D�������!������� �����R��� � 9 &%�#$
����k��d�(� = �%��� = ���6$ 9 ���	�����
��� = �.��$
���
��/D���@��&��	�	���6$8��� 9 ��&�$	&
�	�F���������������E�����?�
�	�����E� = � 2 �L�6& = =.�������U���	� &�������� 9 �E�
���������
����� = &
�
$
=.��� 979 �	��� �
� 932 98�
�!� � = �b/-$
��&
� �"$	��� ; ���	/-�1��&%� 9 �#$	�����-���3&
�
� ; ��� �	��$r/`$
� � 9 ��$	�����
�M��� 9 ���.��� �#$	�����%��kM�������
�
���
���!& 9 ��$	�
�-��&
�	�	���6$O&
�%� ; ��� �	��$r/D�	��9P�#� 9 �.������������� 2 $	���?����� 9 � = �!�-�
�	����� � = 9 � ; ������� = ���a$F��� 9 �#�%�
�	� ; ���
�
�	�Y�����	�
��� 2 $	���@$
� � 9 ��$	�����
���8��������������� �!���>� 9 &
���#$	����� = � 9 ����� 2 $	�
�@���������
����� �����X������� � 9 ��$	�#$	�����s�	��cB&
���	� ,

t
u



= ���6$	�8��� 9 �%�	�B����� �
��� 2 $	���`����� 9 � = ���`��&
��$	&��	�`���@)P���%� 9 �����(���������
����� �����?�	�E���6���!� 2 ��� 9 �
�"���3k
: $ � ����&
� 9 =\�;�	���������
��e�� 9 $	�%�#$ �O�	�����
��h%�����a$d� � ��� $��%���d=.����� = � 9 �+=6/5)N���
� 9 �����5���������������E�����4� � ���B�����

���@�
�	� = ��$	���
�"c6&%������$7/D��� 9 ��q������������
���-���D���
����������� ���
�?� 9 &
���#$	�����3k4�l� � 9 ��$	�����
������/ 2 $	�������%�
���
��� = ���6$4���
cB&
������$r/��������������������E�����O� 9 &
���#$	�����<�%����=\�����-���E�
��� ; � 9 =B/��
� � ; � 9 �����*�
����� , c6&
���!��$7/`���%�
$
� &
��$	����� 2 ��q������������6$
���#=.��� �#$
���	/V�I����������$	����� 2 ��� 9 �	����� ; ���a$F$	&
$
��� �������`��� 9 ���	�	����� = ���a$	��k : = �
� � ; � = ���6$��
��� = �����
��/D� ������� 9 ���
��� 9 � ; � 9 &
���^����� 9 � = ������iU94���������
�������	����� 9 �#=%������$7/X$
� 9 ����� ; ���<cB&
������$r/[�!�
�
$
� &
��$	�����[��� 9 ���J$	���D�	�E���B��� ij�
��&
��$	&
�	�O��� 9 � ���
��&�� ������k��4�b9+� ; ��� 2 $	���F� = �%��� = ���a$	�#$	�����L���l$	�
�O���
����������� ���
� 9 ���	�����R��� = �\��$
���%��/ = � 9 ���
���R$	���F��&��	� ���a$P���������
����� ������� 9 &
���#$	�����'�	/B�
$
� = 9+��&
� 9 �E�
�������������`����� 9 � = ���-��� 9 9+��&
� 9 �	��cB&
���	�*� = &
�E�
=
�	��� 9 ��� 9 ��=%�#$
�?���^$	���-�I&
� 9 � = ���a$	��� ; ����&����*���^$	�
�-����� 9 � = ���-�
/Y�
$
� = k��G�<���!��� = $	�
�#$F$	���?� 9 ���6$	��h
� 9
���������
����� �����(��� = �.��$
���
��/WAB�
�b98��� 9 ���<��� 9 �
AY�������O�����
����$F=.�-� � ����$	� ; ����/W$	��&����a$5��� 932 �����	�	���	�\��� 9 ��������/ 2
9 � ; �������.� 9 ���R$	���F$
�E� 9 ��$	�����
���.������� �
�	�B� = �
��$
$	����� 2 ���N� ; ���'94��$	�
���L$	���`��&��	� ���a$P�
�	�����E� = ��k;)+���6$
���a$	����&
�
���	� &���� = &
�
$-=.�R$	�����	��&����
��/>��qY� = ����� 932 �	&%� �K�����(&
�
� ; ��� � ��$7/G�	��9P�#� 9 �.������������� 2 ���
����& 9 �����'$
���B&��	�'��� 9
�
�	� = ��$	����� 3 �	���
���#� �E�>��q������������
��� ; ���E�	&
� 9 ��� �����>���
�
� ; �#$	�����>��� 9�9 � ; ������� = ���6$ 3 ��� �������
����� ���
���#� � �]��� 9
�
����� , c6&
���!��$7/*���
�%&
=%�������#$	�����%� ; ��� �	&
� ���
�
� ; �#$	� ; �;�%�	� 9 &
��$	� 2 �
�	�Y�����	�
������� 9 �
/B�	$
� = � 3 ��� 9 � ; � 9 &
���#$
����� �%�����
��q������������
��� ; ��� � &
�*$	���?���	���#$	�����G���+���
��� ; �#$	� ; �?� 9 &
���#$	�����
��� �
� ����� � = �*98��$	�W� = &
��$	� , $
�����E�
����� 2 ��qY�.��� � ,
���6$	�����%�����#�E�
�����`��� 9 ��qB�.���	$;������� �
���
������� = �#$ 3 ��� 9 � ; � 9 &%���6����&��E�
�8�C98����� �	�%���<��� 9 ��������&%�a$	�#=%�!����$7/ ; ���E�	&
�
$
��� = $
�����E�
�����T��� 9 �	���
�.���
�	��=%������$r/ 3 �
�.����������$7/ ; ���E�	&
�F=
� ��� 9 �����	� 3 �(�1��&
� , /����#���
� ����� � = ; ��� �	&%�F�'h ; � ,
/����#�<�
� ����� � = 98��$	�K���6$
��� �
�	�%���[��� 9 ���a$
�����E�#$
� 9 ��� � 9 &
�#$
�D��� 9 &%� 9 ���	��� � 9 &
�#$
�(�
�	����� � = � 3 ����� 9 � = ���
�.���	����� = ���
��� ; ��� � &
���
$	& 9 ���a$���� ; ��� ; � = ���6$8��� 9�2 �
�<���D��� 9 �
�?�1��� $	�3k

� ��9 $	�
����AY�����T$
�b9P�#� 9 �?���
����������� ���
�T� 9 &%���#$	����� 2 $	���'����� 9 � = ���'�
/Y�
$
� ='2 ��� 9 � ���
���#� � �H��� 9 ���
��� ,
; �#$	����� = ��/[=.�R����� 9 � 9 $
�W� � ����$	� ; ����/ 9 � � ; �L$	���@)P���
� 9 �!���X�������!������� �����V� 9 &
���#$	�����]$
�G�W����9 = � 9 ���
$	�
�#$498�����.�
� � 9 &%���F��������������� �!���?��� � 9 &
�#$
���498���L�#�	� 9 ��� ����� , �	��� 9 /(���
�
� ; �#$
��� �8��� 9 ���������������<�����6$	���B&���&
�
�����#� �
��� ��98��$	�[$	���(�	��cB&
���	� 9 ���������������E�����W��� = �.��$
���
��������k[�������
�(��� � 9 &%�#$
���-98�����;=.�L�	��� 9 /X�����?������=%���
��� = �.��$	��$	�����H��� 9 98�!���N�
� ; �T$	���T�#=0������$r/]��� 9 $	���T���#�%������$7/J$
�]����� 9 )P���
� 9 ����� ��� 9 &
�
$
�	/]$
�X� � ����$	� ; �
�%�#�	$	�!�����%�#$	�����'���($	�
�F9;��� � 94= �#�	A���$
�%�!������k

���
� �
	���
 )��O���	����� � �
����������� ���
�`)N�
����� ���*�	��&��"94���	�����M$	�%�#$^$	�
��� 9 ���	�����L��� = �.��$
���
��/?9;��� A<�
��� ; �
���-�@=0���	���`�����-������������� 9 ��=%�#$
���-��� 9���������������� �"!��#�$!%��&'�(��)$!*&+!,)$�-!�&'&'./�-!,)0&��1�,�32�4����$!*25!��6��! �
!,��7�2�4/� �"! � 4/8�&9����:���& � ��&+!"4;��&<7"&'=��5>1?#&'!"4@�5AB!,&�CD&+!,)$�-!�&'&'./�-!,)0�<�,.�.E���<�,=�202$!��*>�./�5)5./25?#��2
���
�	$	��$	&�$	�����
���6�	������� = �M��� 9 �0&�=%�����^�	���������
��$	�����-���0$	����� �����
��h%�����%���;��� 9 ���	�������������!������� �����*$
�F���
� &��	�P$	�
�#$
)P���
� 9 ���������
����������� ���
�4��� � 9 &
�#$
�����.���	�
���	� $	���P���#�%�#=%���!��$7/���� 9 ���#�0������$7/�$
�F����� 9 ��������������� �!���4���%��� ; �#$	�����
���($	���GF u �
$8�����6$	&��	/'��� 9 =.��/���� 9 k

���
� ; ����98�4��qB�.���
� 9 ����� ���#�	�?���%����&
�	� ; �5���@$	�%�#$O$	�
��/D�.���	$	�����T$
�(���!�l�������!������� ����� 9 ���	�����%����������k8�����
��� = �.��$
���
��/ ��$
� = �($	�
�#$(9+�W�%� ; �G�%&�$(�����	$	� �#�	�G���6$
��� 9 � 9 ���'�[=%��&����
�E���a$"�1���D� )P���
� 9 ����� 9 ���	�����
��&��	�E����&
��& =D2 $
� �	��� ; �G���'�]� ���1���	���%���>�
��&�� ���W�����R���
����������� ���
�]� 9 &%���#$
��� � 2Y9 �������	����� ,T= �#A���� �(��� 9 $	���
�
$	�#A�� , ����� 9 ��� �8�#$4���#�	����k

t F



� ��� �������
	�� � 
��

S�� � � 2 F���� u 2�� )P� ��$
��� ���[�����@SO�����	� 9 ��$	���
� � �������������E�������U�	�����E� = � 2 � � ����$	� ; �>����� � ; ����&
�#$	�����
� �*&�� ,
���
�<$	���GF����3F , F������DS4�����	� 9 ��$	�#$	�����G)+/B������k0SO�����	� 9 ��$	�#$	�������+���#� 9 �1��� � �����!������� �����<��� 9 �d��� �
����������/ 2��
Z 
�� �! " # %$'&�(*),+�$.-,/#02143#5#(7628"9,&�+78�-�:<;=$?>2+�@A6�k

SO��$	��� 2 �Fk 2 F������ 2��CB ��� �%���
������� � �����!������� ����� � 9 &
���#$	����� ��� 9 
 ���
���#� �E� ��� Z 	 ��� 9 �O��� = ��� Z �
� ,
; ��� � ��$	����� 2���D%E'FHGJI �KF�EMLJNMO#FQP
F'RTSUO2VXWYVZE\[^]�_a`bGZcdVe_AG\VgfhF�i#_AGZcUj72 )+���������
� 2 �*��� = ���6/ 2lk �
��k 2
Z 
�� �#:m;Z@2 # # %$.)�:*0�$n-�>A8�-!o2;4+2&�+2)p$.),q�5b1H@A)29r>7o"),q�57o�53k

SO� 9 �	��98� 2 ��k )Ok 2 S4�%��� ; ��� � 24s k(��k 2 _�� ���
��� 2 
 kCS�k VHSm]�jtI!2 F������ 2,u\_7S?E'FHv�i*GrS?c?F�_wSdFYD%E'F.RHVQNMNQc?F�_b]�j,x%_"y�cz_mVMVeEQcU_"y
cU_{fh]�_b]�v�]%2 � ���#� �	��� � 9 &
���#$	�����T)P���%� 9 � : �%�#k 2 �l���	���6$
��k

SO�
=.��� �4|
��� 2�} kPS�kN��� 9 �O� = ���
� 2 
 k s k 2 F������ 2~� �l�C9+�#� 9 � Z �
��h%� 9 	 /Y�
$
� = � � �������������E����� � 9 &
��� ,
$	����� 2���u'x�xpx��*E.]�_*Ne]�GrS?c?F�_*NYF�_^`*�4NQS�VZ[�N\�b��]�_�]�_bv^f��,�MVZE\_AVHS?c?GZNM�bDY]�EQS�fh�#��P�PAj�c�GM]�S?c�F�_2NQ�.]�_bv��d�YVe�Jc�VZ�=N#2
� ��� kA��� 2 � ��k"F 2 �
��k ur� kr� uH� FBk

SO&
�
$	��� 2 ��k"��k 2 uH����� 2%f�O!VZ[�c?G\]�jmx�_"y�cU_AVMVZE\cU_"y���E.]��hcz_"yw`7�4[��MF�j�N�2<s ���
� � ������/w� 	 ���%� 2 � ��9¡ U���	A\k
�P�J|
�J| 2 S5k 2 �O�E���
�
=.���	� 2 ��k5��k%��� 9 �*�	����e 2bB k5��k 2 F����3F 2%� ���#� � = ��$
� ��� � �
$	� = �#$	�����?����� �O���	�����V)P���
$	� 2��
�*E.]�_2NeI��¢��f£x¤u\_7SdI!2 � ��k t,¥ 2 �
��k � 	 �Fk�� � k�� u�u � � 	 �Fk�� � k�� ¥ k

�+����&��I����$ 2 _+k 2 uH����� 2�� �+���
$��^� ����$	������� 	 & =�= �#�	/ �s��� AB�	�
���%� 2 �P&
��� 9 ����� � � ����$	� ; � : � 9 &
�
$
� /2¦ SO��� 9 � = �
�;�#�	$	����� �	�%���%�4�1��� � ������������� �!��� � 9 &
���#$	����� : �
��� ; �#$	����� 2���D%E'FHGrI�x�_"y�cU_AVMVZE\cU_"y§xYv�i*G\]�S?c?F�_¨u\_*_AF��4]�SdF�EMN
fhF�_rRZVZE'VZ_bG\Va2 S4� �����
��$
��� 2 � S5k

�+����� 2 �`k � k 2 F������ 2=� �U� � ; ��� 	 AB���!�����l���
� � ��9� ^�#� 9 �
$	��� A������ 	 �E���B����� 2���u'x�xpxl`�P2VMGHS?EQi#[@2 � ��� k#� � 2 � ��k � 2
�
�lk ¥ � � ¥�� k

�P���	$	����� 2 S5k 2 �+���	A 2 �5k 2 �*����=.���	$ 2 � k VHS©]�jªI�2 F������ 2«� )P_1� �!� 9 ���?�E��� = ���	�E����� � ���	�I�����	���
�	$
��� �
�
��AX��&
�
��� 9 &
�
$
� ����������� 	 ��� �6$[f )N_�� ��� � �
� = �������5��������������� �!���J�1� � = ��� ��� 9 &
�	$
� �����*�
$	��� 9 �.�����6$Eg 2��gf�O!VZ[«cdVe�
u\_"y#Ve_*cdVei!E��AVCGZO,_*czL02 � ��� k � F 2 � ��kA� 2 �
��k ur� kr� uH� �Bk

�P�����	A 2 F����3F 2�� 
 ��=.���	$�SO�����¬�P����� A0ij�*)+�	���#$	� ; ��$7/@)P�%��������������� 2��

 k
S�k7�P����� A Z 
¢� �2 # " �$M94/2)"­�:*0�$M9�-4@m1,®#®#128J:2q!),¯�$C;r>2+4@m6�k

�P���B� ='2 �4k 	 k 2 � 9 k 2 uH� k ¥ 2��7]r°,F�_bF�[«�±F.R�xYv�i*G\]�S?c?F�_b]�jY²��?³HVCGrS?cz��VQNZ�¬�´O!V�f�jª]4N\N\c µ�GM]�S?c�F�_¶F.R©xYv�i*G\]�S?c?F�_b]�j
W�FH]�j�N\�h·�]�_bv,�MFHF4L§¸,��fhFCy�_*c?S?cU��V¹�«F�[^]�cU_d2 � ����� = ���
� 2 � ��9º U���	A0k

�+�6��$	�
�	�b/ 932 ��k 2 F���� u 2�� � �a/ �*_ B�»r�w��VeN\cªy�_¬x%_"y�cz_AV\VeEQcz_#y\2 � ��k 	�� � 2 �
��k u kr� uH¥ k
�+�6��$	�
�	�b/ 932 ��k 2 �O��98�B&�� �
$ 2 � kB��� 9w¼ �
�����6$ 2 � k 2 uH��� t 2AD%E'FHv�i*GHS=��VQN\cªy�_�ReF�E��½]�_*ieRe],GHS?i!E'V�]�_bv��¹NMNZVZ[��
�Zj��02bB �#�E����� �O��A6A���� 2 � ��9¡ U���	A\k

t �



�+��� 9 �����
� 2=s k 2 uH����� 2��CB �#AY�����T)P���
������$	�����
���O���
� 
 �����?��� � �������������E�F��� 9 � �����!������� ����� � 9 &%���#$	����� 2��
�´O!V���EQc?vry"V¹��E'GeO,cU��VeNM�I2 � ��� k$F � 2 � ��k u 2 �%��k u�u � uH¥ k

�+�b9 = ��� 2 �4k\S�k.��� 9 _
�#�	� 2£s k � k 2 F������ 2Y� � = =.� 979 ���
� � ��� 9 ��� � �
���T�!�V)P� ; ��� � ������������� �!��� � 9 &%���#$	����� 2��
� I£D%E'F.RHVQNMNQc?F�_b]�j£uMNMN\i7VeN�cU_�x%_"y�cz_mVMVeEQcU_"y�xYv�i*GM]�S?c?F�_½]�_bv�D%E']�GHS?c�G\Va2 � ��� k u F ¥ 2 � ��k u 2 �
��k uH¥ � F��Yk

�+� �����6$ 2 S5kl��� 9 �^�
�!�������%� 2<s k 
 k 2 uH����� 2¹� ����� �4�#� ; ��/ B & 979 � �������
����� �����@)P���!�
���#k<�^���
$ 2 �U� ���
���a$���� 9
_�&�$	&�� � 2�� � I£x�_"y�cU_AV\VeEQcz_"y�x�v�i*GM]�S?c�F�_ 2 � ��� k ��� 2 � ��k$F 2 �
��k uH��� � uH� t�� F t � � F t,¥ k

�P&
� |	� 2*s k
��� 9 � ����A����a=0&��	� 2 
 k 2 F������ 2�� �d����� �
���
� � ��� �#$ �O���1$ Z �
� ; ��� �	��$r/"�����l���E�
����������/ 2��~u\_7SdI�fhF�_*�
RHVeECVe_bGQV�F�_�x%_"y�cz_mVMVeEQcU_"y��«VeN\cªy�_¬u�f£xp��� �	�l2 uH¥�� t�: ) � ����� 2 u �?�%��k 2 ) � , 
 }¹B>2 	 $
�Y�	AY����� = k

�P&
����� 2bB k 2 uH��� � 2<x�PbczNQS�
VZ[�F�jtFCy�c�Va2mB �������!��� 2 ���#� ����k
�P&
�	� 2 � k 2 uH� t kB2£`bGZcdVe_AG\V
�A�´O!V¢x�_bv!j VQN\N��<E.F�_bS?c�VZE62 Z �
��$
� 9 	 $	�#$
��� �O� ; ��� � = ���6$Y�U�E���a$	�!��� }�� ��� 2 �>��� � ,

���
��$
��� 2 ��k )Ok
�+/6� 932ms k 	 k\��� 9 �4& 9 �����
� 2ms k � k 2 uH��� kB2Y� �d��� = ���
�R���@$	��� �4��� ����� � �#=.��� �#$
���	/ 2�� � I�x%_#y�cU_AVMVZE\cU_"y�x�v�i!�
G\]�S?c?F�_d2 � ��� k � t 2 � ��k t 2 �
�lk7��� kr� � t
u k

)�)%� � 2 uH����� 2�� S � ���	�����V�����`$	��� � ������������� �!���w�^�	�������	�	�����G���>)P���%� 9 �Ykd)P���
� 9 �!���G)P��&
�
����� ���%�U�	������� ,
�	�����
��� � �����!������� � 27} $
$	�b9+� 2�� Z 
¢� �2 # # %$M9"9J37)p$M9�&
k

)�)%� � 2 F���� u � 2�� F������ � �����!������� ����� � ���	A]��� )P���%� 9 � 2 	 ����$
��� ���8_d�Y��&
�B�O� ��&��%� 	 /Y�a$	����� ��� 
 ���.���	$ 2��
�d��� �3k 
 ����k 2 �%��k u�u � u F 2 )P���%� 9 �����@)+��&
�%�����.�����^�	�������	�	�����
��� � �������������E� 2b} $
$	��9P�Yk

)�)%� � 2 F���� u = 2�W�i#c�v,VZj�cU_AV�F�_¨SUO!V¹D�E.F.RHVQN\N\c�F�_b]�j£x%_#y�cU_AVMVZE\cU_"y�D%E']�GHS?c�G\V�cU_¶fh]�_b]�v,]
2 )P���
� 9 �����@)P��&
�
�����
���=�U�	�������	�	�����
��� � �����!������� ��k

)�)%� � 2 F������ 2�� )N���
� 9 ����� � �����!������� �U�����P�l� = ��� �	�b9`kB�l� ��� 9 �+��� � �
����������� ���
� � ��� ����� = ���6$U��� 9 �4����� �����
S49+�#� 9 � 932�� Z 
�� �! " # %$M9#9r37)p$M9,&�k

)�)%� � 2 F���� t 2�� S4�����	� 9 ��$
� 9 � ������������� �!���«�^�	����� � = � 2�� Z 
¢� �2 # # %$M9"9J37)p$M9�&
k
) � S¢� 2 F����3F 2A�¢GMGHE'VMv�cUSd]�S?c?F�_lf�EQc?S�VeEQc?]§]�_bv�D�E.FHGQVCv�i!ECVQN�2 )N���
� 9 ����� � ������������� �!���5SO�����	� 9 ��$	�#$	�����¬�+���#� 932
} $
$	�b9+�Yk

)P�
�#� �	��� 2 _+k 2 �O��&
����$ 2 � k 2*B ��� ��� 9 ����� 2  �k VZSh]�jªI�2 F����3F 2�� �O���	�����§�^�	�4| ����$	�P���L$	��� B ���E�
���
������� � �
����������� ,
���
��)P&��	�E����&
��& = �#$ 	 �����	=%�	�6��A�� Z �%� ; ��� �	��$r/ � �����
$ 2 �U� ���
���a$P��� 9 _
&�$	&��	� 2��^D�E.FHGJI��������^�¹`#x�x���_*_*i*]�j
fhF�_rRZVZE'VZ_bG\V�]�_Av^x�°QP2F4N\c?S?c?F�_b���´cz��V���� cU_"y�
Ve_*cdVei!EB27B ���6$
�	����� 2 �%��k t
u k � � t
uH¥�� k

) : � }�2 F���� t 2�� )P���
� 9 �!��� : �6$
����������$	&%���<�U�	���.���	$r/ }�� ��� 2�� Z 
�� �! # # %$M9"8J37-p$n0*9h$M9�&
k
)+���#$
��� 2£s k0_+k 2 F������ 2Y� : �
��� ; �#$	�����T���@$	���5_%&�$	&��	�5��� � �����!������� ����� �O���	����� 2��{�AVCGZO,_bF�jªFCy�c?G\]�j��£F�ECVCG\]4NQS?cU_"y
]�_Av�`AFHGZc�]�j�f�O!]�_"y"Va2 � ��� k ¥ t 2 �
�lk u F u � u � FBk

)+� =�= ���	�	�����(��� � � ; ��� ��� = ���6$ 2 � k0��� 9 �O� ; ������� = ���a$ 2 uH����� 2�²%i!E�fhF�[�[^F�_��<i2S?i#ECVa2m} qY����� 9 Z �
� ; ��� ,
�	��$7/§�U�	���	� 2b} qB����� 9 k

)+���	=.��$
$ 2�s k 2 uH���Yu 2��«VeN\cªy�_�RZF�E±�½]�_*ieRZ]�GHS?i!ECVH� `7S?E']�S�Vdy�c�VeNM�~D�E\cU_bGHc�Pbj VQN{]�_bv �AVCGZO,_*c��Zi7VQN�2 S 9^9 ���
��� ,
�G���	����/ 2 �G��AY����� 2 Z ¼ k

t�t



)+� ; � 2 ��k 2 F������ 2£D�VeE\NeF�_b]�j�fhF�[�[�i!_*c�GM]�S?c�F�_ 2 	 �E���B���3���MS8� �E�
��$
����$	&�� � 2bB �(�F����� Z �
� ; ��� �	��$7/ 27B ���a$
�	����� k
)+�C9 9 �	�C/ 2 
 kP��� 9 � �!������� = � 2 S5k 2 F����3F 2w� S4�	�	���	�	����� �O���	����� S4��$	� ; ��$r/$� : �	� &����L��� 9 SO��$	�����
� 2�� D%E'FHGrI
`AVZ��VZ_7SUO�u\_7SdI´��VQNQcty�_ fhF�_HRHVeECVe_AG\Va2 �
�lk t � � t,� k

)+� �b98����/ 2 � k 2 F���� u 2�� �8���L) � : } 	 /Y�����#=%&
���OS 	 $	�#$
� = ���6$���� �O�����!�`����� Z � 9 ���	��� � 9 &
�#$
� � �����!������� �����
� 9 &
���#$	����� 2�� �d��� ��k 
 ���lk 27B : � ) � : }�2 �O���
$�k
����S8��� ���
��&�$	�����4��� 9 S4�	$
�	���
��&�$	����� 2 )P� = =
� � 9 ��� 2*B S�k

)+� �b98����/ 2 � k 2 F����3F 2¹� )+� ���#$	�����D$	���() � : } 	 /B���!�#=%&
� 2 � Z �
� ; ��� � ���U�l� = �%���#$
�?����� � �
����������� ���
� � 9 &
��� ,
$	����� 2���D%E'FHGrI �mE'F�_7S?cdVeE\N�cz_�x�v�i*GM]�S?c�F�_lfhF�_HRHVeECVe_AG\Va2 �
��k
_h�#_+k � � _h�#_+k u FBk

) 	 S 2 F���� t 2�� )N���
� 9 ����� 	 $	��� 9 �#� 9 �NSO�	�
�Y�����#$	����� 2�� Z 
¢� �2 # " �$M9#;�&�$M9,&�k
�*� ; ��� 2 �5kY)Ok 2 )+� ���!� 2,s k 
 k � k 2 )P����AY���
� 2 ��k � k VZS=]�jtI!2 uH����¥ 2h� )+� = �.��$
���
��/ , �P���
� 9 � �������������E�����
�4��� �����
�^�	�4| ����$	� 2��w�©`#xpx¤��_*_*i*]�j�fhF�_HRHVeECVe_bGQV�2 �>���	�
������$
��� 2 �`) 2 �
��k � k � � ��� k k

�*� ; ��� 2 ��k�)Ok 2 )+�E����� 2 
 k � k 2 �l�	� ; ���	��� 2�B k 	 k VZS�]�jtI!2 uH����� 2w� )P�#$
������� �����'��� 9 � � ; �����R��� �4��h0�
�����
� ������������� �!���#�O���	�������^�	����� � = } &
$	��� = ��� 2��ºD%E'FHGrI¹�©`#xpxX��_*_*i*]�j�fhF�_HRHVeECVe_bGQVa2¹B ����9P��&�A���� 2 � : k
Z 	 S 2 �
���	�	�����K� k ��� 2 u �?�
�lk

�O�¹�;��� 2 	 k 2 �G������� 2 ��k 2 )P�
�#������� 2*s k, -k VHS�]�jªI�2 F����3F 2�� � ������������� �!���5SO�����	� 9 ��$	�#$	�����R�!�()P���%� 9 �5��� 9 : $	�
)P&
�	�	���6$�)N�
��������������� 2���D%E'FHGrI �������w�©`#xpx � `#x ��u � ��� �ºu\_bSdIYfhF�jUjtF �Hi!czi![D2 �+��� �!��� 2 �
��k t,� � u � t,� � � k

�O��A6A���� 2 �5k � k 2 uH����¥ 2£� �������*� � ���	���
�����;��$r9;������� } �\��� , � � 9 � 9 �^�	�4|
����$	��iC��� 9 � �O���	�������^�	�4|
����$	��i 2���D%E'FHGrI
u'x�xpx�� ����SUOw��_*_*i*]�j�fhF�_HRZVZE'VZ_bG\Vr� �mE'F�_7S?cdVeE\N�cU_�xYv�i*GM]�S?c?F�_ 2 �;���	���#$	��9P��/ 2 � k s k 2 �%��k u F k � � u F k � k

�O� � /Y�
��� 2 
 k 
 kl��� 9 �O� = �
$	� 932hB k 2 F������ 2��M} &�$	��� = ���«�P���
� 9 SO�	�
��� � = ���6$���� 9 � 	 &
�������	�
�I&
�MS�� � �
F������*SO�����	� 9 ��$	�#$	�������#$ $	��� Z �
� ; ���E�	��$7/*���5�O��� ; ��� 2���D�E.FHGJI ����SUO¹�©`#x�x � u'x�xpx �<E.F�_bS?c�VZEMN�cU_«xYv�i*G\]�S?c?F�_
fhF�_rRZVZE'VZ_bG\Va27¼ ���%�	���4)P��$r/ 2 �
��k
� u S � � � � u S � ¥ k

�O� = �%�
$
��� 2 � k 2 �4�����%� 2!s k6��� 9 	 $	��� AB����� 932"B k 2 F���� u 2h� _������!�����F$	��� �*�#� , � �����!������� ����� �O���	�����LSO�
����/Y�	���
� ��$	�
���G� B ���E�
���
������� � �������
����� �����D)P&��	�E����&
��& =D2��~D�E.FrGrIpu\_7SdI�fhF�_HRHVeECVe_bGQV§F�_½x%_"y�cz_AV\VeEQcz_#y§��VeN\cªy�_
u�f£x�� � ��¸l2 � ��� k t ���4��� �����DS4�
�%�������#$	�����'��� : � 9 &
�
$
�	/L��� 9 � 9 &
���#$	����� 2 �*�!���
���b9`k

�O���a$
��� 2 �5k,��k 2 uH����� 2��CB &%��$	� 9 ��� �����%�����%�#�	/L�N��� =?, �+���	� 9 �U� �4| ����$ � ���	A"�©�^�����%�
�����R_ ����$
���E� 2��±��VeN\cªy�_
`7S?i*v�cdVQN�2 � ��� k uH� 2 �
�lk u k�kr� ur� �Yk

�O���a$
��� 2 � k � k���� 9 �O&�$
e���� 2 � k s k 2 F������ 2�� � ���a$	&
� ����� : �a$
� � �����#��� = ���6$ 2��wD�E.FHGJI � ��� ��f£u'x©f¡fhF�_HRZVZE\�
VZ_bG\Va2 � &
���
��� 2 S4� ��e����%� 2 �
��k u F � u k k

�*�
��������� 2 �Ok 	 k 2 uH����� 2b�«VeN\cªy�_w��Vej c?],�Zczj c?S?�����<i!_bv�]�[�Ve_bSd]�j�N�]�_bv«�%P�Pbj c�GM]�S?c�F�_2N�2 ) 
 ) �U� ���	� 2 �;�Y��� 
 �#$
��� 2
_ � k

�*����$
��� 2 �-k � k 2 F������ 2<x%_"y�cz_mVMVeEQcU_"y��«VeN\cªy�_ 2 � � 9 � 9 k 2AB �(�O�E��9 , �O����� 2 � ��9� U���	A\k
� 9 ��� 2 � k � k 2 uH��� kB2=� � �
����������� ���
�
�O���	����� � S8� $ 2 	 �������%������� 9 
 ���!�#$	�����
�	�
���%� 2��©��VQN\cªy�_w`7S?i*v�cdVQN�2 � ��� k uH¥ 2

�
�lk u�ur� � u F � k
� ������� $ 2 
 k s k 2 F����3F 2�� 
 ���
�.���
�
�'� �#=%���������	� = : � 9 &
�
$
�	/ B � = =\���E�5���OS 	 B � ij� �4��� ����� � �����!������� �����

�*� ; ���	�����'��� 9 $	��� B ���B&��I����$	&�� ����� � �������������E����� �*� ; ���	����� � � �������������E����� �4��� ����� � 9 &
���#$	����� � 	 &�� ; ��/Y�
���1�O� = ��� 9 ��� 9 	 &��
�0��/ 2�� Z 
�� �<9�-")�:�$d(7-28!;�)7;4+2&�+!)�$.),q�571�/2),0"0#),/"+21	��
!®"1��2)*;,8�0�:�
452/��#)��b;�$�>2+�@�k

t k



� � $	��� 2 S�k3��� 9¨s ���
��� 2£s k�)Ok 2 uH����¥ 2��´O!V«x%_"y�cz_AV\VeEQcz_#y���VQN\cªy�_±D%E'FHG\VeNMN�2 F#� 9 � 9 k 2 � ������/K� 	 ���
� 2 : �
�#k 2
� ��9� U���	A\k

� &
�	���.�����~� �#$
���6$ } � ��� 2 F���� t 2 Z 
¢� �! # " �$n)�52/!-�3*)!&�:7o�37&�+2)�:2+2o"-����78,9�)p$.-�/!00k
� ; �#$
$ 2*B k�S5k�)*k 2 F���� u 2p� : � 9 &%�
$
� �����
�d� �����%������� B ���	�8$	�%��� s &
�
$��G��� A � qY�.��� �����
��� »r��D%E'FHGrI<u\_7SdI�fhF�_*�
RHVeECVe_bGQV�F�_�x�_"y�cU_AV\VeEQcz_"y���VQNQcty�_�u�f£xp��� ��¸l2 � ��� k t ���O���	�����?S4�
�%�!�����#$	��������� : � 9 &%�
$
�	/`��� 9 � 9 &
���#$	����� 2
�G�
9+��=
�%�#�����\¦/�O� B � ¦ t k � , � ; �#$
$�kj�6$ = � 2 ) � , 
 }¹BX2 �*�����	���b9`k

� ; =%&�� = 9P��� 2 � k 2 	 � ; �����������
�#$	�
��� 2 	 k���� 9 s ��=
= 2 S�k 2 uH����¥ 2¹� 	 &�� ; ��/W��� �O���	����� �^�
�������
���%�
����� 2´B � 9Y,
����� 27B ��$	��� 9 ����� 9 	 /Y�
$
� = � 2���D�E.FrGrI´u\_2NeS?cUS?i2S?c�F�_½F.R�� VCGZO#]�_*c�GM]�jmx%_"y�cz_AV\VeE\NM�=D�]�EeS?����� � I£x%_"y�cz_mVMVeEQcU_"y
�½]�_*ieRe],GHS?i!E'Va2 � ��� k$F u �@f?� t g 2 �
�lk7��� u � � F��Yk

_������ � 9 � SP$	�!���a$	��� Z �
� ; ��� �	��$r/ 2 F���� t 2 � � �������
����� ����� �O���	����� � ����=.�6��A �*&
� 9 ����������� 2��
Z 
�� �! " # %$.)�:20�$��2&�5�$.),q�5b1,)�:20#q!)*;"8�0�:b1�)"q 6,-"0 0�5m8�q!)*;=$d>!+�@�k

_�� 9 ��� 2 � k B k+��� 9 
 � � � , 	 $
������� ��$
$
��� 2 ��k 2 uH����� 2�� 
 ������� ����� � ��� 9 ��� �	�
��� 	 $7/Y���T��� 9 )+�	���#$	� ; ��$r/ 2�� � I
�YVeNZVM]�E.GZO�cU_~D¢VeE\NeF�_b]�j�c?S?�%2 � ��� kb� F 2 �%��k F�� ¥ � F t FBk

_�� ���
A����a=.���	����� 2 � k^��� 9 �P� 9 A�� , 	 � �
��&�= 2 �dk 2 uH����� 2�u\_7S�Vdy�E.]�S?c�F�_¡F.R W�E.F�iJP7��u\_bv�cz�Jc?v�i*]�j�]�_bv¨x�°,S�VeEQ_b]�j
u\_���i7Ve_bGQVQN©cU_�SUO2V¹�«VeN\cªy�_¬D%E'FHG\VeNMN�2 	 �
� ���
����� 2 � ��� 9 ���3k

_�� �!�
� 2 �dk 
 k 2 
 ����� ��&���� 2 ��k � k 2*B ���
�#A���� 2 �Ok#� k VZS�]�jtI!2 F������ 2p� : 9 ���a$	����/Y�����`$	���
�O���	�����§�+� 9 /<��� ¼ ���C98� ,
� 9 ��� 2��~D%E'FHGJI�u\_7SdI¢fhF�_HRHVeECVe_bGQV^F�_Kx�_"y�cU_AV\VeEQcz_"y��«VeN\cªy�_�u�f£xp��� �	�d2 uH� F �C: ) � ����� 2 � �
��k 2 ) � , 
 }¹BX2
	 $
�Y�	AY����� = k

_�� �!�
� 2 � k 
 k 2 	 ��� ��e�e���$
$	� 2#B k'��k 2 �*���
�0�#� 2 
 k+�-k VHS�]�jtI!2 F����3F 2��CB ���E�
���
������� � ������������� �!��� 	 AY������� � ��� 9 �P���
)P���%� 9 ����� : � 9 &
�
$
� / 2���D%E'FHGrI¢fh]�_b]�v�c�]�_¨`bFrGZcdVZS?��ReF�E��½VCGZO#]�_*c�GM]�jmx%_#y�cU_AVMVZE\cU_"y �£F�E\i![D2 � ��_ 
8: k � 9 � 2 �
�
�lk 2 ) � , 
 }©B>27¼ �������
$
��� 2b} �a$	�#� ����k

_
& 2  -k 2 �*��9+��A �#� 2 )P�#=.��e���� 2 ��k VHS´]�jªI�2 F������ 2�� �U�	�Y�����	� �O���	����������� $	�
� � � ; ���	��� = ���a$��dS B &%��$	� , ��=!|
����$	� ; �
_��E� = ��9;��� A Z � 9 ��� Z �
����� $	�����a$r/ 2�� f�j VC]�_KD�E.Frv�i*GHSUN«]�_Av^D%E'FHG\VeNMNZVeN�2 � ��� k$F 2 �
��k � F � u � � k

�*�#$
$	��A���� 2 �`k\_+k 2 F������ 2Y� S*�4��� 9 � , ���VS8�
�0�������#$	�����@�1���*�l�����E�
����� �O���	�����T�1���O$	��� � � ; ���	��� = ���6$�f-�O� � g
�^� ���
�����0����� 2����%i2]�j�c?S?���½]�_b]Hy#Ve[�Ve_7S � F�i!E\_b]�j72 � ��� k u � 2 � ��k t 2 �
�lk2� F � � � k

�*������� 2 ��k � k 2 uH���Bu 2%�´O!V¹��VQNQcty�_±F'R���VQN\cªy�_ 2 )P� = =
� � 9 ��� Z �
� ; ���E�	��$7/§�U� ���	� 2 )P� = =
� � 9 ����k
�O�B� 9�2�s k B k 2 �4�����%��� 2 ��kC��� 9 �O�����%��� 2 ��k 2 F���� u 2´� )P�#�%$	&�� �����¢�U�	��=%��� =-, 	 ��� ; ����� 	 AY���������.�8��� : �a$
�����E�#$	�����

��� � ������$
�	���
�!� s ��&
� �
������98��$	�[)N���
� 	 $	& 9 / : �
�
$
� &
��$	����� 2��¤WYVZ_AVeE']�jpxYv�i2G\]�S?c�F�_d2 � ��� k k � 2 � ��k F 2 �
��k
u�t
u � u k�k k

�O��� 9 ��� 2 � k 2 uH��¥ � 27`*��_AVMGHS?c�GeNZI��´O!V���Ve��VZjtFQPb[�Ve_7S�F.R�f�E'VM]�S?cU��V�fh]\P!],GZc?S?�%2 �4�#�	�.���M��� 9 
 �b9 2 � ��9{ U���	A\k
�O��� = ��� 2*B k � k 27s ���
�
�
��� 2 � k 2 �;��� , S8� ����� 2 �5k VHSp]�jªI�2 F���� u 2p� �d� ���
�	�1��� = ������$	�
� � �������������E�����-)N&��	� ����& ,

��& = � � ���	�	���
� � ���#�E��� 9 ���	� = � 	 & =�= ���`�#$��+�B������� 2�� � I�x�_"y�cU_AVMVZE\cU_"y~xYv�i2G\]�S?c�F�_d2 � ��� k � � 2 � ��k u 2
�
�lk u�t � � u�t,���?u k � �-u k � � ur¥�¥ k

�O� ; ��� � = ���6$J���V)P���
� 9 � 2 F����3F 2l� � �#$	�����
��� 	 & =�= ��$>��� : �
��� ; �#$	����� ��� 9 � ���#�E�
������� 	 & =�= �#�	/ 2��
Z 
�� �! " # %$M8J:":7- �*&�+78�-�:<;4+"/*&�+2)"0��%$ 079h$'9,& 2 ��$
$	��9P�Yk

t,¥



�O�	�����	��� 2 � k 2 uH����� 2�� �O���	�����
�����L)+���6$
���
$	�8�1���8�d����� �%����� ��� �O���	����� 2��wu\_7SdI � I£x%_"y�cz_AV\VeEQcz_#y�x�v�i*GM]�S?c�F�_ 2
� ��� k u�t 2 � ��k kB2 �
��k7� ¥�� � � �Ct k

�O� �!�a$
��� 2 � k � k 2 uH� k�kB2w� 
 ���.���	$"���*$	���G)+� =�= ��$
$
���@��� � ; ���!&
�#$	����� ��� � �������������E����� � 9 &%���#$	����� 2�� � I
x�_"y�cU_AVMVZE\cU_"y�xYv�i2G\]�S?c�F�_d2 � ��� k t,¥ 2 � ��k u 2 �%��k5F kr� ¥ �Yk

�*&�e = ��� 2 �Ok���� 9 � & 9 � 9 ����� |	� 2¢s k 2 F������ 2§� � ����� � � ����$D��� 9 	 ����i : �	�3i $ �O�B� 9 � �
��&���� �]S4�
�%��/B���
�
�OS�� } �H�#$ �*��������=%� 2����½FHv,VZE\_�DYF���VeE©`*�4NeS�Ve[«NM�I2 � ��� k"F�� 2 � ��k u � 2 �
��k*��� � � � k

�O�#����� 2 �dk s k 2 uH����� 2b��VQNQcty�_*cz_#y^]�_bv«�«VZj�cU��VZE\cU_"y�`AGZcdVe_7S?c µ�Ge���AVCGeO"_*c?G\]�j���]�_bv��½]�_b]Hy#VeEQc?]�j7D�E'VeNZVe_bSd]�S?c?F�_2N�2
� ������/~� 	 ���
� 2 : �
�#k 2 � ��9º U��� A0k

�O������� 2 ��k 2 F������ 2�� 
 ���
�.����$ �O���	�����s��� � qB�.����$ �O�!�	���
$
����� � D�E.FHGJI¢u\_7SdI�fhF�_HRHVeECVe_bGQV±F�_ x%_"y�cz_mVMVeEQcU_"y
��VQNQcty�_~u�f£x���� �	�d27¼ ��/Y����$
� 	 �\�����E� 2 ) � , 
 }¹BX2 	 $
�Y�	AY����� = k

�O�#�	� ��� 2 : k 2 uH��� � 2�� � ��9 � qB�.����$	�#$	�����%�*�1���¹�U� ���1���	� �����
���M)+� = �.��$
���
��� 2�� ��� � kl)P&��	� / 2ms k$�G���	���!� 2 ��� 9
SO�	�
�Y�����#$
��� 2 � 9 ��k 22xYv�i*GM]�S?cz_"y�D%E'F.RZVeNMNQc?F�_A]�j�NZ���YVQN�P!F�_bv�cU_"y�SdF���VZ�½x�°QP*VCGHSd]�S?c?F�_*N�RZF�E«fhF�[¢P2VHS�Ve_bGQV©]�_Av
�¢GMG\F�i!_7Sd],�ecUj cUS?�02 �
��k ur� �#k F 2ms ���	�	��/ , �P���	���^&�=0�����	�����E� 2 	 ���@_�� ���
����� ��� 2 )PS5k

�4���#� ��� 2 
 k � k 2 uH����� 2h�CB ��� �8���<$	�
� � �������%�
��$
� � ������������� 2����½VMGeO#]�_7c?G\]�j2x�_"y�cU_AV\VeEQcz_"y\2 � ��� k u F�� 2 � ��k kB2
�
�lk ¥ 2 � k

�O&�=
A#� 2 � k%��� 9 � 9 ��� 2 � k � k 2 uH��� F 2<��VeN\cªy�_�`bGZcdVe_bGQVa2 	 �
� ���
����� , � ��� ���#� 2 � ��� 9 ���3k
: �a$
����� �#$
� 9 � ���#�E�
�����")+���6$
�	� 2 F���� t 2 Z 
¢� �!>2+"+,3��.1#1"&�3#3m;"9"8h$	��57)")�:<;H5Y$C9�&"128,6#9,1�k
: �	�#AB�	��� 2 	 k+��k 2 �O��� ; ��� 2!¼ k"�OkB��� 9 �d�	� � ������� 2 ��k s k 2 uH��� t 2pf�ECVC]�S?cz��V��%P�PbE'FH]�GeO2VQN�SdF�D�E.F,�ZjªVZ[ `bF�j �rcU_"y\2
¼ ��� 9 �����z¦/�O&
�6$%�;&�=%���!�	�
�����-)+� = �%���6/ 2 �*&�=%&
cB&�� 2 : S�k

: 	 }�2 F���� t 2�� : �6$
��� �
�#$	�����
��� } �	�����
��e��#$	�����'�1��� 	 $	��� 9 �#� 9 ��e��#$	����� 2�� Z 
�� �! " # %$M8!;�-�$C9J>3k
s ���%�
��� 2 )Ok �5k 2 uH����� 2£u\_7S�VeE�PbECVZS?cU_"y�x%_#y�cU_AVMVZE\cU_"y���E.]��hcU_"y�N#2 � ��� � ���
$
� ��� 9 
 �����
�
��� 932 � ��9¡ U���	A0k
¼ ������/ 2 ��k 2 F���� t 2�� 
 � 9 &%������� 
 ���
A]��� 9 S4���P���%�#$G�OS�� 2��{`b].RHVZS?�½]�_bv�·�VM]�jtSUO¨D%E']�GrS?cUS?c�F�_AVZE62 � ��� k�F F 2

� ��kb� 2 �
�lk5F ¥ � � u k
¼ � = �.��� 2´s k �5k���� 9 	 ��� 9 ��� � 2 �Ok 
 k 2 F���� u 2hx�_"y�cU_AV\VeE\N�]�_Av �´O!VZczE�D�E.F'RZVeNMN\c�F�_ 2�k $	�G� 9 k 2�} qY�1��� 9 Z �
� ,
; ��� � ��$7/~�U� ���	� 2b} qY�1��� 9 k

¼ ���
� 2 �`k 2 uH��� kB2w�CB �!����9�� �����a$	�-$
� B ���E�
�#$
�	���
�!�����G����� B ��� ��$	�"��� B &%��$	� ,T9 ��� �����%�����%�#�	/ � �������
����� ����� 2��
� VCGeO!]�S?E.F�_*c?GZN�2 � ��� k kB2 �
��k � kr� u�u k k

¼ &
� 9 & 2 S5k ¼ k\��� 9 
 �#���6&
�%�#$	�
��� 2 	 k 2 F������ 2�� S �^�	���.���	��$	�����'��� �O���	����� � 9 &
���#$	�����D98��$	�@��� ��$
���6$	�����
���@)P� =�= ��� ������� � ���6$	&��	�5��� 	 = �����3SO��� ���E�#�1$ B ���6&
������$	&�� � 2��w��cUE.GHE.]'RQSh��VQN\cªy�_ 2 � ��� kb� 2 �
��k5F ¥Yu � F � �Bk

� ���%� 9 |	� 2 �Ok 2 F������ 2�� )+� = �.��$
���
�������O��� B ���B&�������$	&
� ����� � �������������E�����<�d��� �
����������/��U�	�����E� = �����	� = � =-,
�%���b/�����ij��� �����6$P��� � ����9 2��^D%E'FHGJI ����E'v^��_*_*i*]�j�fhF�_HRHVeECVe_AG\V«]�_bv�x�°eP!F4N\c?S?c�F�_b��x�_"y�cU_AVMVZE\cU_"y�xYv�i*G\]�S?c?F�_
��Ve��F�_Av�SUO2V¹�±cUjzj Ve_*cUi![D2 S 	+��� 2 �>���	�
������$
��� 2 �`) 2 �
��k u�t � u � u�t � � k

� ��&%� ��� 2m¼ k 2 F������ 2Y� � ��� , �d��� �%�
������� 	 AY�������N�d� �����
�!���?�1���
�O���	���������E� 2��§D�E.FrGrI=u\_7SdI¢fhF�_HRZVZE'VZ_bG\V�F�_Kx%_#y�cU�
_AV\VeEQcz_#y^�«VeN\cªy�_¬u�f£xp��� �	�l2 uH¥�¥�� : ) � ����� 2 u �?�%��k 2 ) � , 
 }¹B>2 	 $
�B� AB�
��� = k

t"�



� ��&%� ��� 2p¼ k 2�B��&%������� 2h¼ k 
 kM��� 9�B =%��$	� 2h¼ k 2 F���� u 2«� Z � 9 ��� �	$	��� 9 �����V��� 9 	 &��
�.���	$	�!��� : �%��� ; �#$	�����J���
�d��� = � 2��ºD%E'FHGJI�u\_bSdIwfhF�_HRZVZE'VZ_bG\V F�_�x%_"y�cz_AV\VeEQcz_#y ��VQNQcty�_¤u�f£xp��� ��¸�2 � ��� k u ���O���	����� 
 ���
���#� �E� �
���
����� ����� 2<B ��$	�
� 9 ������������� 2 ��� 9 �^�	� 9 &
��$ B � 9 ���������
� 2 �G�09+��=
�%�#�����Q¦/�4� B � ¦ u�t,� , � ��&
� �
��kj�a$ = � 2 ) � ,

 }¹BX2 �*�����	���b9`k

� ���;��$
��� � 2 �-k 2 F������ 2 ��� cU_"y�
Ve_*cdVeEQc�V�v,VeN�GMF�[¢P 
VHS�Ve_bGQVQN�2 �� 9 ��$	�����%� 9 i } �	�����
��� �#$	����� 2 ���#� ����k
� �w�+��$
���	� 2 �-k 2 F����3F 2�� 
VZ��VejªF\P�P*VeEwjt]¨G\F�[¢P 
VZS�VZ_bG\V�v,VQN¹PAE.F.RHVQN\N\c�F�_*_AVZjzj VQN � fhF�_2NQS?EQi!czECV�jªVeN¹P!]�E'GMF�i!E\N~v"V
PbE'F.RHVQN\N\c�F�_*_b]�j czNe]�S?c�F�_ 2 �� 9 ��$	�����
� 9 i } �	�����
�!�	�#$	����� 2 ���#� ����k

� �����\��� 2¢} kN��� 9 ¼ �
��� 2 �Fk 2 uH����� 2~� S )+� = �.��$
���
��/ , �P���
� 9 	 /Y�
$
� = �1���'SO�	�
���	� = ���a$ 2 �d� �����
���
�X��� 9
�O� ; ������� = ���a$4��� � ������������� � 2���D%E'FHGrI´u\_*NQSdIYf�cU�4I´x�_"y�E\NeI �¢f�cU�rcUjbx%_"y�cz_AV\VeEQcz_#y\2 � ��� k u � F 2 �%��k u k u � u k�k k

� � ; � 2 ��k 2 F���� u 2�W�E.F�irP±����_b]�[�c�GeN�RZF�Ew�AVC]�[«N�2 	 �#�����^&
=%�����	�
��� � : �
�#k 2 ���
��&
�	��� 9�} �#AY� 2 )PS5k
� ��94��� 2 ��k 
 k 2 	 ��� 9 ��� 2 � k���k^��� 9 	 � 9 ��� 2�s k���k 2 F����3F 2^� : �6$
����� �#$
� 9 �^�	�Y�����	� �O���	����� : �
�
$
�E&
��$	����� 2��
fhF�[¢Pbi2S�VZEMN«]�_bv¨f�O!Ve[�c�GM]�j<x%_"y�cz_mVMVeEQcU_"y\2 � ��� k$F ¥ 2 � ��k$F 2 �%��k5F � kr� ��� ¥ k

� & = � 9 �����
� 2 � k^��� 9 � & = � 9 ������� 2�B k 2 uH��� kB2�f�E'VM]�S?cU��V~D%E'F,�ZjªVZ[
`bF�j �rcU_"y"�¤�´O,cU_2L4cz_"y�RZF�E�] f�O#]�_"y�cz_#y
� F�E\jªv\2AB �(�O� �b9 , �4�!��� 2 � ��9º U���	A\k

B ��� = c ; ���	$ 2´s k 2  U��&
��� 2 �dk � k 2 �} �
$	�!&
� 932 	 k VZS�]�jtI!2 F����3F 2¢� 	 ��$
$	����� �O�������*����� �O���	����� � 9 &
���#$	����� � SO�
S4�
�
�	�����E���P���
� 9 ����$	���8) � : } 	 /Y�����#=0&
� 2�� ��F�E'vr��VQNQcty�_ �����������£czN\c�F�_2N�]�_bv��*]�i!j i7VQN%cz_^x%_"y�cz_mVMVeEQcU_"y
��VQNQcty�_d2 � � �OZ � � ���	9+��������� Z �
� ; ���E�	��$7/R��� 	 �������
���`��� 9 �l���E�
����������/ 2 �l� ��� 9 ����� =D2 � ���	9P��/ 2 �%��k u�t �
uH¥ k

B �b)P�#�	$	�6/ 2 � k0��� 9 �O�#$	� ����� 2 )Ok 2 F����3F 2<D�E'VeNZVe_bSd]�S?c?F�_½`2L4czjUj�NZ�¹SUO!V©x%NMNHVe_7S?c�]�j�W�i!c�v,V�RZF�E�`bS?i2v"Ve_7SUN�2 	 �#���
�;&�=%�������#$	�����
� 2 ������&
�	��� 9�} �#AB� 2 )PS�k

B �b)+�b9P��� 2�s k��5k+��� 9¶¼ �%�#�
�.��� 2 )Ok ¼ k 2 F����3F 2�� S4� : �6$
����� �#$
� 9 ��� 9 )P� = �
�	�������%�	� ; �DS4�
�
�	�����E� $
�
� ������������� �!���L)P&��	�E����&
��� 2 ���#�	$ } ��� � } =!|
����$	� ; ���8��� 9 �O�������E���lS4�
�
�	�����E� 2��§u\_bSdI � I´x%_"y�cz_mVMVeEQcU_"y�xYv��
i*GM]�S?c?F�_ 2 � ��� k uH� 2 � ��k ¥ 2 �
��k ¥ ��� � ¥ � � k

B ���������
� 2<¼ k 2 F������ 2�� ���
�<�l�����E�
�����'��� � ��� 9 ���E�	�
���V��� Z ¼gB �PS �U�	�����E� =�= �����FS )+� ��$	��������SO�
����/Y�	���
_�� � = ��� : �a$
���E�
�#$	�����
���£� ��� �	�\����$	� ; � 2�� � I£�½]�_b]Hy#Ve[�Ve_bSh��VZ��VejªF\Pb[�VZ_7S 2 � ��� k uH� 2 �%��k F ��� � ��� � k

B ������� 2¹s kNS�k 2 uH����� 2¬� 
 ����� � = �!��� 
 ��� 9 ��� � �
��� �d� 9 �#������/ �����	��&���� B � 9 ���F��� 9 ���������	/¤�+&%��� 9 ���
� 2��
fh]�ECVMVZE���Ve��VejªF\Pb[�Ve_bS=u\_7S�VZE\_A]�S?c?F�_b]�j72 � ��� k t 2 �
��k uH¥ � � uH¥�� k

B ��� 2 F����3F 2 ��� cU_"y�
VZ_*cdVeEQc�Vwv,V�jª]�ReF�EQ[^]�S?c�F�_±PbE'F.RHVQNMNQc?F�_*_AVejUj V¬VZS�S�VCGZO,_*c��Zi7Va2�B ���
���
$�����	� 9 �"� i �� 9 &
���#$	�����
9 & � & ���=\��� 2 � &���=.����)P��$r/�k

B �����������	� 2 �5k 2 F���� t 2�� �4��� �����D�����
	 2�� Z 
¢� �! # " �$M9�)*9#;=$d32q#¯�$.)"q�53k
B ���	� ���
��� 2 )*k.��� 9 �O&�������� 2 �dk 2 F������ 2hD%E'F.RHVQNMNQc?F�_b]�j�x%_#y�cU_AVMVZE\cU_"y§D%E']�GHS?c�G\Vr��x�SUO"c?G\]�j´��N�P2VCGrSUN#2 � � 9 � 9 k 2
B �(�O� �b9 , �4�!��� 2 � ��9º U���	A\k

� 
 ) 2 F���� t 2�� )P���%� 9 �����T)+� 9 ���8)+���6$
�	� 2�� Z 
¢� �#>2+"+,3 �'1#1!8�/79h$d:!/b9�o29J:!/b9=$n079=$M9�&�k
} �#AY����/ 2*B k 2 uH��� � 2b��VeN\cªy�_w�½]�_b]Hy#Ve[�Ve_7Sd�Y� ·�]�_bv,�MFHF4L�F.R�uMNMNQi7VQN©]�_bv�� VZSUO#Frv4N�2 �P�����	AB9;���!� 
 ���1��� ���
��� 2
�P���	���<�P����� A69+����� 2m} qB����� 9 k

t,�



}�� ��� c6& ���= ��������!� 9 � �!� ��������&�� �1�E������������
� 2 F���� t 2�� �´V�W�E.]�_bv v�c�GHS?c�F�_*_b]�cUECV S�VZE\[�cU_bF�jªFCy�c��Zi7V�2��
Z 
�� �! " # %$n0"/2&�:2q#q78"9�+78�-�:":b&!8�/2)p$M9�-4@lk

} ���!� 2 F������ 2©�M} �!���[)+���!���������P&
�	AY�-�l�E� 9 ��$	�����
��� � �������
����� ����� � 9 &
���#$	����� 2 �+���
$
���{�P&
�	���
���	� s ��&
� �
��� 2��
Z 
�� �#>!+#+�3��'1"1�(*-7;4+!-�:�$d(m8 ��� -�52/�:b&"6*;=$'9�-J@A14(7-*;J+!-�:b1!;4+!-�/78�)*;�1������
	!1
���41��

#1 �!-*9H5<;�­p$�>2+�@A6�k

} ���!� 2 F���� t 2%�M} ���!�')P�����������F��� � �����!������� ����� 2�� Z 
�� �2 " # �$n-!6!8J:Y$n)"q�53k
� � = =.���	$
��� 2�s k B k;��� 9 � ��� 9 ���	���E�#�1$ 2 � k } k 2 uH����� 2^� �d�b9P�#� 9 �])+� 9 �'��� � $	�
������� 	 �B������� 
 ����� ; ���
���

��� 9 $	�����U�	�������	�	�����
������e��#$	�����"��� 
 ������� 9 � B ���
�#��� = ���6$ 2����YVMGMF�E'v4N��½]�_b]Hy#Ve[�Ve_7S �%i2]�EQS�VZE\j �%2 � ��� k2� F 2
� ��k t 2 �
�lk k u �#k � k

� ��$
��� � 2"B k 	 k���� 9 ��� =�= ��� �
��&
� 2�¼ k ��k 2 uH���Yu 2!D�jt]�_7SA��VQNQcty�_w]�_Av�x�GMF�_bF�[«c�GeN£RZF�E�f�O!VZ[�c?G\]�j#x%_#y�cU_AVMVZEMN�2
B �(�O� �b9 , �4�!��� 2 � ��9º U���	A\k

� ��$
�	���
AY� 2 �5k 2 uH��� F 2^�7F�x%_"y�cz_mVMVeEwczN^·©i![�]�_b�¶�´O!Vw��F�j V�F.R �´]�czj i!E'V�cU_¶`*i*GMGQVQN\NzRQi#jp��VQNQcty�_d2 � ���6$	�#���
�+�B��AB� 2 �   2 � ��9º U���	A\k

� ����� 2 )Ok 2 F���� u 2��«VeN\cªy�_{RZF�E¨�½]�_*ieRZ]�GHS?i!EQcz_"y"� � `7S?EQi2GrS?i!E'VMv �%P�PbE'FH]�GeO.2 �P&�$
$
���	9+���	$	� , �4������� = ���
� 2
�+���
$
��� 2AB S5k

�^&
��� 2 	 k 2 uH����¥ 2�f�ECVC]�S?cU_"yKu\_7_bF��4]�S?cz��V^D%E'FHv�i*GHSUN �´NQcz_"y¶�bF�Sd]�j���VQNQcty�_b���´O!V �=cU�rcU_"y���Vdy,],GZ�¨F.R^`7S?i*]�EeS
D�i�y�O\2 S 979 �!�
��� , �G���	����/ 2 �+���
$
��� 2AB S�k

� � � ��� 	 2 uH��� F 2<��N\NZVQN\N\[�Ve_bS�F.R�x%j VCGHS?E'F�_*c�G©x%_#y�cU_AVMVZE\cU_"y�`7S?i*v���D�E.FMy�E']�[�[^VeN�]�Sh�¢]�jª�MF�E�y ��_7cz��VeE\N\c?S?�%2
SO����=.���	� Z �
� ; ��� �	��$7/ 2 SO����=.���	� 2 �O��� = �#�	A\k


 � 9 ����� � � 2 ��k�_+k
��� 9 �4�#� � ���
��� 2 � k 2 uH��� t 2p� �d� ���
�
����� = �!���G�O���	�����~�U� ����$	�����F���(� 	 = ����� B ���B&�������$	&
� �����
� �a$
���	�%� ���
� 2���D�E.FHGJI<`*cª°�SUO��©`#��x{u\_7SdIpfhF�_HRHVeECVe_bGQV�F�_��«VeN\cªy�_��´O!VCF�E\��]�_bv©� VZSUO#FHv,F�jtFMy��%2*B ���
�����#�.� ,
���!� 2 �
��k �Yu � ��� 2m9 � , ¥�� k


 ��&%�	� � 2 � k 2 uH����� 2�� S � ��9 ���#� � 9 ��� = ����� � ��� 9 ��� �	�
���;�O� ; ������� = ���6$�� 	 � = �0��� �*&
� 9 ��������� � &����	$	�����
�
���%�#$ 	 ��� ; ����� 
 � = �!� 9 ��� �P��� : � �	&����N$
�')+���
�	� 9 ������� � ; ���	/ �O�������	����� 2��½fh]�ECVMVZE¹��Ve��VejªF\Pb[�Ve_bS=u\_7S�VZE\�
_b]�S?c?F�_A]�j72 � ��� k t 2 � ��kb� 2 �%��k ur� �Yk


 ��/ 2 S�k%��� 9 
 ��/ , �O��=\� ; � 2ms k 2 uH���Yu 2 ��V�D�VZS?c?Sh��F,�MVZEQS�¸l2 � ��� �O�!��$	�����
�
����� ��� � � 
 ��=\��� $ 2 � �#�E����k

 ��&%�
� 2 � k 2 uH���Yu 2b�«VeN\cªy�_¹RZF�E�`7i2G\G\VeNMNe��� ·¹i![^]�_*�Zf�Ve_7S�VZE'VMv��%P�PbE'FH]�GeO~SdF���VQNQcty�_*cU_"y�`*i*GMGQVQN\NzRQi#j2D%E'FHv��
i*GHSUN�]�_Avw`*�4NQS�Ve[«N�2As ���
� � ������/~� 	 ���
� 2 : �
�#k 2 � ��9º U���	A\k

	 S � 2 F���� t 2�� _���� = &
��� 	 S �9
 &
����� 2�� Z 
�� �2 # " �$M;�&")p$.-�/!0212;4+�5*q!)�:2+b;�1 �7;�&�),/�576,)7;=$?>2+�@lk
	 ��AY����&
�E�
� 2 	 k 2mB ��e�&
��� 2b¼ k 2 �O��� ����� 2 	 k VZS�]�jªI!2 F���� u 2�� �O���	����� 	 AB�!�����N��� 9 � 9 &
���#$	�����D��� � ��9 � = �%���C/ ,

����� 2���D�E.FrGrI£u\_7SdI�fhF�_rRZVZE'VZ_bG\V«F�_~x%_"y�cz_AV\VeEQcz_#y«��VQNQcty�_§u�f£x�� � ��¸l2 � ��� k t 2 �G�B9+��=
�%�#�����Q¦/�4� B � ¦ t�t"� ,
	 ��AY����&
�E�
� kj�6$ = � 2 ) � , 
 }¹BX2 �*�����
���C9`k

	 �����%�%�#� 932 	 k ��k 2 uH����� 2¢� �O���	�����>����)P��� ����� �
$
���
����� 9 )N�#�%�
$
����� 2���� VCGeO!]�_*c�GM]�j�x�_"y�cU_AV\VeEQcz_"yw��VQN\cªy�_*�
	 &
�
�%��� = ���6$+$
� � VCGZO#]�_*c�GM]�j<x%_"y�cz_mVMVeEQcU_"y\2 � ��� k u F u 2 � ��k u�u 2 �
��k t�t � t"� k

	 ���	=B/ 2 	 klS�k 2 �>����A���� 2 ��k 2  ^����� 2hB k VHS�]�jtI!2 F������ 2¹�CB � 9 ��� �
��e��#$	�����>���+$	�
� B ���E�
���
������� � �����!������� �����
)P&
�	� ����&
�!& = ��� 9 �*&
� 9 ���!�������M�����8)+� = �%&�$
��� , S4� 9 � 9 � ������������� �!��� : �
�
$
� &
��$	����� 2��KfhF�[¢Pbi2SdI£�%P�PbjªI<x%_"y"I
x�v�i*GrI!2 � ��� k � 2 �
�lk5F k F � F ¥ �Yk

t,�



����� = ��� 2 )Ok
��� 9 S = � 2 � k 2 F������ 2�� )P&
��$	� ; �#$	���
� �O���	�����V)+� = �.��$
���
��� � } �
�����
� 	 &��
�.���	$+�1�����;�����!�
�
�����
�O���	����� 	 $	& 9 ��� 2�����i!SdF�[�]�S?c?F�_±cU_¶fhF�_2NQS?EQi*GHS?c�F�_ 2 � ��� k � 2 �
��k � � � �Yu k

����� = �%�
��� 2 �4k � k 2 F���� u 2´� 	 $	& 9 ����� � 9 �#������/`����� � �������
����� ����� �O���	����� 2��¹u\_bSdI � I#x�_"y�cU_AVMVZE\cU_"y�x�v�i*GM]�S?c�F�_ 2
� ��� k uH� 2 � ��k u 2 �
��k7� � � t,� k

�d���1$ 2  -k 2 �4�b9P�#� 932 �dk���� 9^s ���	�����
�
��� 2 �5k 2 F������#� 2�� )P�%�����������¹���#� � 9 ��� = �d�������U� ���1���	� �����
��� � �����!������� �����
�^� ����$	�����N�l�C9+�#� 9 � 	 �#�1� �O���	����� � SO�-S4&%�
$
� ���������«� ��� �
�.����$	� ; � 2���`b]'RZVHS?�¹`bGZcdVe_bGQVa2 � ��� k t
u 2 �
��k/F ��¥ � � ¥ �Bk

�d���1$ 2  �k 2 �8�C9+�#� 9�2 � k0��� 9�s ���	�����%�
��� 2 ��k 2 F������ = 2�� �O& = ��� , �����a$
�	� 9 � �
����������� � � S B � 9 ���3�1��� �8���!���
$	���
: �a$
��� 9 ���	�����0�����
�#�	/H)+� =�= &
�%�����#$	����� ��� 9 �U� ���1���	� �����
���¹�U�E����$	����� 2��ºu\_7SdI � I¹u\_bv�i#NeS?E\c�]�j¢x%E�y,F�_bF�[�c?GZN�2
� ��� kA� u 2 �
��k uH� kr� F��3FBk

�d�	� ; �!�	��� 2hB k 	 k 2 �O� ; �!� 2 �5kU)Ok 2 )+� ����� 2 
 k�� k VZS¹]�jªI!2 uH����� 2�� �4� ; �������%�����V��� 9 SO�	�
���	� ����� 	 $	�#$
��98� 9 �
)+� = �\��$
���%�������P�1��� � �������
����� ����� �O���	����� 2�� � I£x%_#y�cU_AVMVZE\cU_"y�xYv�i*G\]�S?c?F�_d2 � ��� k ��� 2 � ��k$F 2 �
�lk uH� kr� uH� �Yk

� 
8: � 2 F���� t 2�� ���������	/R��� : � ; ���6$	� ; ���U� ��=%��� = 	 ��� ; ����� s ��&�� �
��� 2�� Z 
�� �! " # �$�+#/78 � o � -�52/,:7&#6�$M9�-J@lk
� Z � 2 F���� t 2�� �l� � Z �
� ; ��� �	��$r/ �O�	��&
�D��� � ��=
� �#�E����� 2�� Z 
¢� �2 # # %$ +�5*0�$.628r(Y$d5# 7&�+2),/26"-"-�$M9�&
k
Z ��� = ��� 2 ��k"��k 2 uH����� 2%�´O!V¹� VCGeO!]�_*c�GM]�j<�«VeN\cªy�_¬D%E'FHG\VeNMN�2 F#� 9 � 9 k 2bB �(�O� �b9 , �4�!��� 2 � ��9º U���	A\k
Z �
� ; ��� �	��$7/O��� : �������
�����0�#$�)P�
�����#��� 2 F���� t 2 Z 
¢� �e # " �$�5m8#9=$.),q�5b1"6#&4(<;�1!8�q#)!6#1�����	���� 

���"1J@A)J@A- 6,-"0 (7-#-���$�3*q �%k
Z �
� ; ��� �	��$7/O��� B ���
��$
��=%� 2 F���� t 2 Z 
¢� �e # " �$d5�@m&4:m8�+!-�(7&p$M9�&#1 �2&29r5b6�+b8�)*;�1"&,0�/b8"9J5*6�+,5!/2&"6 &�:*q �!-"-"q ;"9"8�)�:m9�)*;�1
(m8�-7; �b;4+!)4@´; )�:*0*8J:7)"),/78J:*0%k

Z 	+� �.S 2 F���� t 2 � Z 	 � � ; ���	��� = ���6$	��� �U� ��$
����$	����� S4�����
��/ 2 �O���	����� �1��� $	��� � � ; ���	��� = ���a$ 2��
Z 
�� �#>!+#+�3��'1"1� " # �$n)�37&p$n0#-��21,q �#)!1!8J:*q")"¯�$�>!+�@�k

Z 	 �^� }-2 F���� t 2%� Z 	 �^�#$
���6$ }�� ��� 2�� Z 
¢� �2 # # %$d5m;r32+!-�$ 0!-��0k
� ������� 9�2 ��k 2 F���� t 2£x%_"y�cz_AV\VeEQcz_#y§�Z����VQNQcty�_d2 F#� 9 � 9 k 2 � ���#� �
���K�U�	���6$	�������O����� 2*B ���	�	��� �B&
�
��$
$	��k
�>����A���� 2 ��k 2 uH����� 2�f�ECVC]�S�V�x%_"y�cz_AV\VeE\N�2 S4��� 9 � = / � 9 ��$	�����
� 2 � ��� 9 ���3k
�G��=%�
$
��� 2¢B k 2 uH����� 2��½VeEQEQc?]�[ � VJ�QNQS�VZE�� N fhF�jUjªV�y�c�]�S�V¬��c�GHS?c�F�_b]�EQ�%2 u �#$	�s� 9 k 2 �.�������^&�=0�����	�
�!��� : �
�#k 2

	 �%� ������h
��� 932#B S�k
�G���
$ 2hB kdS�k 2 ��| ��� ; ��� 932 ��kl��� 9 	 = ��$	� 2£¼ k 2 � 9 ��k 2 F������ 2�u\_bS�VeEQ_b]�S?c�F�_b]�jh·�]�_Av,�CFHF�L�F.R�²%E�y,]�_7c
	r]�S?c?F�_b]�j
�AVC]�[��pF�E\L§]�_bv±fhFHF\P2VZE.]�S?cU��V � F�E\LJcU_"y\2bs ���
� � ������/w� 	 ���
� 2 : �
�#k 2 � ��9� U���	A\k

� � B : 	 2 F���� t 2 Z 
�� �2 " # �$�>m9�o*;"9=$n0*9h$M9�&#14>7)*9#;�o2;�)2;"9,1� ,>�@£8";�1!8J:!q!)"¯�$�>!+�@3k
� � 9 � = ��� 2 
 k B k 2 � 9 k 2 uH��� F 2���czNML���]�_b]ry"Ve[�VZ_7SU��� W�i!c�v,V^SdFw��]�_A]Hy�cU_"y§D%E'F.³ZVMGHS���czNMLJN�]�_Av�²�P�P!F�E\�
S?i!_*c?S?c�VeN�2 �U�	�4|
����$ B ���
�#��� = ���6$ : �
�
$	��$	&�$
� 2 �O�	��qB�����4���!� 2 �.S5k

� : � }�2 F���� t 2�� �G���E� 9 : �a$
����������$	&
���£�U� ���\��� $7/ } �	�����
��e��#$	����� 2�� Z 
¢� �2 # # %$� b8J37-p$.-�/!00k
� ���	����� 2 ��k3)Ok 2 F������ 2Y� � ������������� �!����� � �
�#$� U��& �O���3i $ � �������	� �#� ����/ � ���#� �W��� 	 �E���B��� 2��§D�E.FrGrIh�¹`!��x
�*i!EZ�MF�xp°QP!F
2 � ��� k u 2 �
��k � k � � ��¥�� k

k �



 U��&
��� 2 �Fk B k 2 F������ 2£� S4��� ��� �#��$,�O���	����� � 9 &
���#$	�����`�#$ Z �
� ; ��� � ��$	�������<�+������h
$	� ��� 9 �*� � ��&%��$	����� 2��¹��cUE.GHE.].ReS
��VQNQcty�_d2 � ��� kb� 2 �
��k F�� � � F u k k

�.�
���
� 2 ��k 2 uH����� 2�� : ������� = �#$	����� , �P���
� 9 � �����!������� ����� �O���	�����X��� 9 $	���<S�� � �6F������ 2�� � I�x%_"y�cz_mVMVeEQcU_"y
]�_Av��%P�Pbj cdVCvw`bGHc�VZ_bG\Va2 � ��� k$F 2 �
��k ��� t � ����� k

k u


